© L E5H

LINMAS HMCT GROUP

tH & M 458 L R

The Directory of Domestic Sales Network

& W U o W R B
| RRREANAEAFTREEAANHESI AT KREHNEHKMFERHI4S 150040 0451-82625311
: BREEANASHAFRIEAALMEHEP D EPATH B X IR E37-15 110021 024--25624348
BRREEANASHAFRBEEATAILRHEN AR EEHAXRBAEBEILIRIS 102600 010--63510535
: BRREEANESAFREEAAARHES ARHIHRW R3S 710048 029--82484745 G b
. BRREANASHAFRIEATERHER D EXMMEER=BXE6S5H1S 400039 023--67188736 ‘B .'f_éu‘ 7] *ﬁ
. BRREAVNASHAARIEARAFEMHES FETHRERE743-25 250022 0531-87971452 .
. BRREANASHAARIEATIREEP D ARNERER2S-7 210029 025--86647773 m- Z-I;g 11_L 7] E_
BRRREANAEHAAREEAALBHES AT IBETERREEEINMSYEFF#203= 200001 021--63239501
| W /R R R L 7) B 6 B PR R 4E 4 A LM AR 85 BN 7 SUHE 25168-63 5k & EIFFAE502 % 310014 0571-85332674 PRECISION HOLDERS
| BAREATASAETREEAARTHE L RNHNOKEK118S 430022 027--85825943 INDEXABLE CUTTING TOOLS
| BRAREANAEAFREFEAIAKIDHEN AR Kb E M 68 S 410001 0731-82182155
| BRREEANASAFRIEAAHEL AR H#HEON MB/RETHFERLS 150040 0451-86792177
| RRREANEEAAREEARAHELAAFEENHE M /REH T IRS 150040 0451-86792159
| BREEANASARREEAAHELAARIENAHES M/RETHFERLS 150040 0451-86792534
| BRRREANASAARBEATAHE LA U E B IR RETHHFRRI44S 150040 0451-86792698
| BRREEANAEAFREEAAHELAAEMNHES M/RIETFERR4S 150040 0451-82641836
| BREREHZZERAAE KBIRRTHMFRE64S 150040 0451-86792674
| BREEANASAFRIELAAMELAAEEHRIE MB/RETHFERLS 150040 0451-86792179
| BRREANASHAAREEAAHELAADLE WB/RRTHMTRLS 150040 0451-86792735

BREEETEEAERSEAS

Harbin Measuring & Cutting Tool Group Co.,Ltd

sk MRRIRHFERMLS

Hi%: 86-0451-82648853(R & #4k)
86-0451-86792588( iR & 4k)
86-0451-86792589( R £ #:4%)
86-0451-86792590( iR & #4k)

{£H . 86-0451-82607698

B4 : 150040

http://www.links—-china.com

E-mail:links@links-china.com

Add: NO.44 Heping Road Harbin China

Tel: 86-0451-82648853(Service hotline)
86-0451-86792588(Service hotline)
86-0451-86792589(Service hotline)
86-0451-86792590(Service hotline)

Fax: 86-0451-82607698

Postcode: 150040

http://www.links—china.com

E-mail:links@links-china.com

2013F4HENH|

RREERTIAERABRIFELF

Harbin Measuring & Cutting Tool Group Co ., Ltd



IBeEH HImTIAA TG =B BE%HA
LNVAS HVCT GROUP NCN Tools INTRODUCTION CONTENTS [NVAS HMCT GROUP

#Hi=TNEARE N

\H

o

BREEETNEEAFTREELA-HEINELQTE, B1987FH =L
k, BR25FEWHE., RERNRREEFHETIENS L,

FEFRE: 1.TSGEAXEHREXTEZRS; 2. TMG21EHRNEH
KTEHZRS; B.AHMBZENTIFL; A FEAMSKT]; 5. AHMBZEET];
6.CZG (VDI ) FHI7IE; 7.8E=WIKMGE; 8.EEKBREELTIE; 9.8
NEEAKEKIREFR, RXENERTAFR, AUEMRHMH EHLF
E R @TALKE,

“+—F” HiE, REERAMETNAATHIT T AMBENTEARAKE,
WETH+EEENAMSHEEERK, B, Lﬁ#%*EﬂWAT Ed
TEHRGFENEFARREFTTZ, SR CHKEANTH, BEITE RS
FREIMMAERE. LABEEFITEFAERBEETEERS, EMT
HMERELLFMHSKEMBAXERXTERZSE, XENITERSET R, K
FHERE, FRREEK,

EERAHFETEAT, EHFRNEBEINWS 2N ERTIFHFE
WgEH, BOMRTEEDRAECTNENTEL, XTTEATTEREMN. |
BRWEE, EFRAHKMLTENEREG, SHRALWEZTIEH#NE, BEF

B & R
RINATWMENERRE, SERWNENATIRIG, TURES
PR SERE, TEXHMERER, BEFNEENIHRLFE, S A J
K 3 j] -
HTEGIERGTSMIET 2%, BRNENE4F4EEMIE * K KO1-K38

BAFRREE, HTENSRTAFLAOKE, ROEERNDGHAIE
R4k, FER RIS A ST AT 7] l~lJN—L5d




BEEH TSGR EG A TR RS TSGR X TE RS BEEH

/NVKS HMCT GROUP BORING AND MILLNIG BORING AND MILLNIG /IMKS HMCT GROUP

TSGEMARNERXIERS TSGEMFXERXTIRRZEEIE

TSCEAXERXTRERS, TEATEREHEVN/RMEHE NI F

DR, REMEERARE: NERARGXEN, SVKMNER, EAXRA7: 24 “ER ¢ FR- N 73R
W, FILZASEGRIMERE., SHRE, KAEERERFERTEIVEK, —
IR ERERTEEEVHINIEK. MAZREETUSEMREE. . 8. F. $%iIX
“ESHYEMT, E—EFERENMITARS, & ¢—Eﬂ-
7: 24%WE AT EBATAEZISO, GB, JIS(MAS). ASME(ANSI). DIN,
FrOCTZ S MARAFB0, 40, 50, 6OSZLMAMME, HEMIREMMAE B s ¢&
mARPREITE,
HSK-A, HSK-CEI4%#, BATE A% AMNE50, 63, 100=HuM%, d -
BTHRASDSHORHAMN, RARSTRIERPNERETRERT, - ¢
BFHENHEMIIHIZERENTNAERE, AR ATHITHRMHLIET,
e THEMEEAERNES, Ak, EREEERERS, . #

) [ e




BEEH JTIRTSGR A4t % T AR5t ITHRTSGR At gk T B R 5 BEEH

[/NAS HMCT GROUP JT-TSG Tooling System For Boring And Milling JT-TSG Tooling System For Boring And Milling [NMAS HMCT GROUP

— — [ PR/ HEAR

Taper Shanks International Type EBx 1ISO 7388/1, GB10944-2006 %31 F1&E DIN 69871-1-1995

A JTHTSGEGR EHLTERS Ny — A

. ; #fﬂ TED | -
EBRARAELEAT . UG T veeervrrvrnrnneeerrnnnnnnnnnnnns AO1 / - ‘ i

2
D1

ERE%;’%%HW ....................................... A02
Eﬁwiijj*ﬁ .......................................... AO4 ----------
S R B R FL TIHR v veeeerrrereeeenrneeeennnnns AO5
JT30 31.75 46.05 47.80 16.40 19.0 16.10
TRRBERBEHEFLIIME ooeereeeerreeeesnees A06 JT40 44.45 63.55 50 M16 68.40  22.80 25.0 185  16.10
BTk T Ao eereseeeeeseens e 707 JT50 69.85  97.50 80 M24 10175 3550 377 300 2570
JT60 107.95 155 130 M30 161.8 54.5 59.3 49 25.70
%in*ﬁ ................................................ A08
— —_— Ay I ;
ESE Sk TTA e eeeeeeeeeseereeneseenenee e A10 E PRFrEABRLET
Pull Stud International Type A ElBR 1ISO 7388/2-1984 ( E )
00 AW T T EL TJA e eeeeereereereeneeneenens A1
éu:FﬁlJIEjjm ....................................... A2 - »
R = U A4 . NI
gl al JI-— 77,X7 - al 8
ERY L B TI e A15 i
S EIE =L L SNy S I
e ----------
AL B T EEAT oo eeeer oo eerneernnnnn snnesneanns A19
499.0002.293 LDA30 0.04
ﬁ]’ijﬁ%%j}m .......................................... A20 499.0002.292 LDA40 M16 17 19 23 54 26 20 0.08
499.0002.291 LDA50 M24 25 28 36 74 34 25 0.23
BB A B TE LTI vvvveeerrnneresneesireeenneennnnes A21
499.0002.290 LDAGO M30 32 40 52 90 40 30 0.51
= BREREBERLET
Pull Stud International Type B EBx 1SO 7388/2-1984 ( E )
L
L1
,,,,, TeniDRNES
| 77:&: Hi
499.0012.293 LDB30 13.35 16,5 31.8 11.80 8.15 0.04
499.0011.292 LDB40 M16 17 18.95 22,5 44.4 16.40 11.15 0.07
499.0010.291 LDB50 M24 25 29.10 37.0 65.55 25.55 17.95 0.24
499.0009.290 LDB60 M30 32 37.25 50 88.15 38.15 27.65 0.51

11



JTHRTSGEFEHRLXTER S

JT-TSG Tooling System For Boring And Milling

@ KEEH

LNVAS HMCT GROUP

EE R ERIET

Pull Stud Type of Germany {&[E DIN 69872 -FormB

A “

D
D
I

!

1

|
i
Dz
D3

45 ““5‘{5'

499.0001.293 M12 0.05
499.0001.292 D40 M16 17 19 23 54 26 20 0.08
499.0001.291 D50 M24 25 28 36 74 34 25 0.23
499.0001.290 D60 M30 32 40 52 90 40 30 0.51

ER38 5 33k T4

ER Collet Chucks

T
T 1 o e =
— [ - =
‘_‘_‘-‘____‘_h'—h-__\__ — ' 1 1
o |
15
L
HRC53-58
698.0261.292 JT40-ER11-63 18.5 131
698.0262.292 JT40-ER11-100 100 - 18.5 19 - 18 M6 168 10 1.0
698.0251.292 JT40-ER16-63 63 - 28 28 - 27 M12 131 10 1.0
698.0252.292 JT40-ER16-100 100 = 28 28 = 27 M12 168 10 1.1
698.0253.292 JT40-ER16-160 160 46 28 28 85 27 M12 228 10 1.5
698.0251.291 JT50-ER16-100 100 - 28 28 - 27 M12 202 10 2.9
698.0252.291 JT50-ER16-160 160 78 28 28 85 27 M12 262 10 3.8

i % ER#BAHITDING499RR#E ;
¥ ERFERERMITE, HAHEBS;
¥ TIHAFHRORHE, FERMITHER- ----CEN % L ZIZEMZHELE, ERHES

A

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

@

g i

LNVAS HMCT GROUP

ERGEE 323k T4

ER Collet Chucks

HRC53-58

640.0103.040
640.0186.040
640.0187.040
697.0250.292
697.0255.292
640.0188.040
697.0251.292
697.0253.292
640.0189.040
697.0252.292
697.0254.292
640.0190.040
640.0191.040
640.0192.040
640.0193.040
640.0194.040
640.0195.040
640.0196.040
640.0197.040
640.0198.040
640.0199.040
697.0252.291
697.0253.291
640.0200.040
640.0234.040
640.0235.040
640.0236.040
640.0237.040
640.0238.040
640.0239.040

JT40-ER20-70

JT40-ER20-100
JT40-ER20-160
JT40-ER25-70

JT40-ER25-100
JT40-ER25-160
JT40-ER32-70

JT40-ER32-100
JT40-ER32-160
JT40-ER40-80

JT40-ER40-120
JT40-ER40-160
JT50-ER20-70

JT50-ER20-100
JT50-ER20-160
JT50-ER25-70

JT50-ER25-100
JT50-ER25-160
JT50-ER32-70

JT50-ER32-100
JT50-ER32-160
JT50-ER40-80

JT50-ER40-120
JT50-ER40-160
JT60-ER25-100
JT60-ER25-160
JT60-ER32-100
JT60-ER32-160
JT60-ER40-100
JT60-ER40-160

iE: % EREBSHIITDINGAOOIRAE ;

¥ ERFEFERMITL, HIHAS;

* TIRATHOARER, FEAMITWER

100
160
70
100
160
70
100
160
80
120
160
70
100
160
70
100
160
70
100
160
80
120
160
100
160
100
160
100
160

34
34
42
42
42
50
50
50
63
63
63
34
34
34
42
42
42
50
50
50
63
63
63
42
42
50
50
63
63

34
34
36
36
36
40
40
40
58
58
58
34
34
34
36
36
36
40
40
40
58
58
58
36
36
40
40
58
58

CRIMG R ZBFEFI LI LE, #FRHAS -

M12
M12
M12
M16
M16
M16
M16
M16
M16
M16
M16
M16
M12
M12
M12
M16
M16
M16
M16
M16
M16
M16
M16
M16
M16
M16
M16
M16
M16
M16

138
168
228
138
168
228
138
168
228
148
188
228
172
202
262
172
202
262
172
202
262
182
222
262
262
322
262
322
262
322

10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10

1.5
1.7
1.3
1.5
2.1
1.3
1.7
2.4
1.3
2.3
3.2
3.4
3.8
4.5
3.3
3.8
4.4
3.5
3.9
4.8
3.6
4.0
5.3
13.8
14.3
13.2
14.7
13.5
14.8

o3 lil]A



JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

o BREEHA

LNVAS HMCT GROUP

@ BEEH

LNVAS HMCT GROUP

=E 715t TR

Side Milling Cutter Arbor

whEERKEH#L I

Adaptor Sleeves for Morse Taper with Tang

454.0001.292 JT40 - M1 - 1 12.065 118
440.0001.000  JT40-XS16- 75 4 3J-310-16 50 1.29 440,0002.050 JT40-M1 - 120 1 120 25 12.065 188 12
4400002000  JT40-XS16-105 16 26 105 46 4  3J-310-16 50 1.46 454.0002.292 JT40-M2 - 50 2 50 32 17.780 118 09
4400003000  JT40-XS22-75 22 34 75 51 6  3J-310-22 63 147 440.0004.050 JT40-M2- 120 2 120 3 17.780 188 16
4400004000  JT40-XS22-120 22 34 120 51 6  3J-310-22 063 1.95 454.0003 202 JT40-M3 - 70 3 70 40 23.825 138 1.1
4400005000  JT40-XS27-75 27 40 75 55 7  3J-310-27 ©80 201 440.0006.050 JT40-M3 - 135 3 135 40 23.825 193 22
4400006000  JT40-XS27-120 27 40 120 55 7  3J-310-27 080 265 454.0004.292 JT40-M4 - 95 4 % 63 31.267 163 1.9
4400007000 JT40-XS32-90 32 46 90 60 8  3J-310-32  ©100,0125 2.52 440.0008.050 JT40- M4 — 165 4 165 63 31.267 233 28
4400008000  JTS0-XS16-90 16 26 90 46 4  3J-310-16 ©50 311 454.0001.291 JT50 - M1 - 45 1 45 25 12.065 147 27
440.0009.000  JTS0-XS16-120 16 26 120 46 4  3J-310-16 ©50 342 440.0010.050 JT50 - M1 - 120 1 120 25 12.065 222 45
4400010000  JTS0-XS22-90 22 34 90 51 6  3J-310-22 063 354 454.0002.291 JT50— M2 - 60 2 60 a2 17.780 162 27
4400011000  JT50-XS22-135 22 34 135 51 6  3J-310-22 ©63 386 440.0012.050 JT50-M2- 135 2 135 32 17.780 237 37
4400012000  JT50-XS27-90 27 40 90 55 7  3J-310-27 080 393 454.0003.291 JT50-M3 - 65 3 65 40 23.825 167 28
4400013000  JTS0-XS27-135 27 40 135 55 7  3J-310-27 080 446 440.0014.050 JT50- M3 — 150 3 150 40 23.825 252 43
4400014000  JT50-XS32-90 32 46 90 60 8  3J-310-32  0100,0125 551 454.0004.291 JT50 - M4 - 95 4 % 28 31.267 197 3.1
4400015000 JT50-XS32-135 32 46 135 60 8  3J-310-32  ©100,0125 557 440.0016.050 JT50-M4 - 180 4 180 48 31.267 282 54
4400016000  JT50-XS40- 90 40 55 90 66 10 331040 ©160,0200 5.34 454.0005.291 JT50— M5 - 105 5 105 63 44.399 207 3.2
440.0017.000  JT50-XS40-135 40 55 135 66 10  3J-310-40  ©160,0200 5.6 440.0018.050 JT50-M5 - 210 5 210 63 44.399 312 6.3
440.0090.000  JTS0-XS50-90 50 68 90 85 12  3J-310-50  ©200,0250  6.10 440.0019.050 JT60-M3 - 190 3 190 40 23.825 352 101
4400091000 JTS0-XS50-135 50 68 135 85 12  3J-310-50  ©200,0250 6.5 440.0020.050 JT60-M3 - 250 3 250 40 23.825 412 103
4400018000  JT60-XS40-135 40 55 135 66 10  3J-310-40  ©160,0200 14.69 440.0021.050 JT60 - M4 - 210 4 210 50 31.267 372 106
440.0019.000  JT60-XS50-135 50 68 135 85 12  3J-310-50  ©200,0250 1480 440.0022.050 JT60-M4 - 270 4 270 50 31.267 432 108
4400020000 JT60-XS60-135 60 84 135 105 14  3J-310-60  ©250,0315 15.42 440,0023.050 JT60 - M5 - 240 5 240 63 44399 402 12.4
440,0024.050 JT60 - M5 - 300 5 300 63 44.399 462 13.0
S % MESMITEN, AAHE, SH61, SHIEDO16-040N T, BEFEAHNI, 5. 7. 8, 10, 12, #40.0025.050 JT60-M6 - 170 6 170 %0 63.548 %%z 125
440,0026.050 JT60 - M6 - 310 6 310 % 63.348 a72 15.4

B E R AO50~D60R) TIHE, REEEARIA4, 6. 8, 10, 12, 15,
E: % EREANTERDBNEREE, FEGB/T1443 FHHE, HEAEMITATIR.

_ Allllos oslil]A



JTHRTSGEFIESRLXTER S

JT-TSG Tooling System For Boring And Milling

JTHRTSGEFEESRLXTER S

JT-TSG Tooling System For Boring And Milling

@ BEEH

[NAS HMCT GROUP

> IBEEH

[/VAS HMCT GROUP

TRERREEFL IR

Adaptor Sleeves for Morse Taper Without Tang

EX LTI

Shell End Mill Arbors

A

440.0001.001

JT40 - XM16 - 75

1.22

458.0001.292 JT40 - MW1 - 50 1 12.065 118
458.0002.292 JT40 - MW2 — 50 P 50 32 17.780 118 M10 1.0 440.0002.001 JT40 - XM16 - 120 16 32 120 17 8 M8 ®40 1.55
458.0003.292 JT40 - MW3 = 70 3 70 40 23.825 138 M12 1.1 440.0003.001 JT40 - XM22 - 75 22 40 75 19 10 M10 ®50 1.49
440.0004.055 JT40 - MW4 — 95 4 95 63 31.267 163 M16 2.0 440.0004.001 JT40 - XM22 - 120 22 40 120 19 10 M10 ®50 1.97
458.0001.291 JT50 - MW — 45 1 45 o5 12.065 147 M6 27 440.0005.001 JT40 - XM27 - 75 27 48 75 21 12 M12 ®63, ©80 1.86
458.0002.291 JT50 - MW2 — 60 P 60 30 17.780 162 M10 o8 440.0006.001 JT40 — XM27 - 105 27 48 105 21 12 M12 ®63, ©80 2.25
458.0003.291 JT50 - MW3 — 65 3 65 40 23.825 167 M12 29 440.0007.001 JT40 - XM32 - 75 32 58 75 24 14 M16 ®100 2.22
440.0010.055 JT50 - MW4 - 70 4 70 63 31.267 172 M16 3.4 440.0008.001 JT50 -XM16 - 75 16 8 75 17 8 M8 ®40 3.07
440.0011.055 JT50 - MW5 - 100 5 100 78 44.399 202 M20 4.2 440.0009.001 JT50-XM16-120 16 2 120 17 8 M8 ®40 3.88
440.0012.055 JT60 - MW3 - 100 3 100 40 23.825 262 M12 9.7 440.0010.001 JT50 - XM22 - 75 22 40 75 19 10 M10 @50 3.30
440.0013.055 JT60 - MW4 — 100 4 100 50 31.267 262 M16 9.9 440.0011.001 JT50 - XM22 - 120 22 40 120 19 10 M10 ®50 3.77
440.0014.055 JT60 - MW5 — 100 5 100 70 44.399 262 M20 9.9 440.0012.001 JT50 — XM27 - 75 27 48 75 21 12 M12 ®63,080 3.66
440.0015.055 JT60 = MW6 — 100 6 150 90 63.348 312 M24 12.1 440.0013.001 JT50 - XM27 - 105 27 48 105 21 12 M12 63,080 4.05
440.0014.001 JT50 - XM32 - 75 32 58 75 24 14 M16 ®100 3.84
440.0016.001 JT50 - XM50 - 75 50 90 75 30 18 M24 160 5.45
440.0017.001 JT60 - XM32 - 75 32 58 75 24 14 M16 ®100 13.19
440.0018.001 JT60 — XM40 - 90 40 70 90 27 16 M20 ®125 14.70
440.0019.001 JT60 — XM50 - 120 50 90 120 30 18 M24 ®160 14.80

o7 JIf]A




@ BEEH

MNAS HMCT GROUP

@ BEEHA

LNVAS HMCT GROUP

JTHTSGEAEXEHETE RS

JT-TSG Tooling System For Boring And Milling

JTHTSCGEAXEHREXTE RS

JT-TSG Tooling System For Boring And Milling

P T4 ¥ 5t T 4

A

Face Mill Arbors A

Il

=

dl

Mo

dz

Ll Face Mill Arbors

|
4l

42

579.0205.292 JT40—XD16 - 35 120 SK-00210-2 540.0028.004 JT40 — XD40 — 60P ©66.7 Mi2  M20 SK-00210-6 2.4
579.0201.292 JT40-XD22- 35 22 35 50 19 122 10 M10  SK-00210-3 1.1 540.0037.004 JT50-XD40- 75P 40 75 90 27  ®66.7 16 M12  M20 SK-002106 5.9
540.0023.004 JTA0-XD22- 90 22 90 50 19 177 10 M10  SK-00210-3 1.9 540.0038.004 JT50-XD40— 105P 40 105 90 27  ®66.7 16 M12  M20 SK-002106 6.3
579.0202.292 JT40-XD27- 35 27 35 50 21 124 12 M12  SK-00210-4 1.1 540.0039.004 JT50-XD60- 75P 60 75 140 40  ®101.6 254 M16 - - 6.1
540.0025.004 JT40-XD27- 90 27 90 50 21 179 12 M12  SK-00210-4 2.4 540.0040.004 JT60-XD40—- 75P 40 75 90 27  ®66.7 16 M12  M20 SK-002106 21.8
579.0203.292 JT40-XD32- 50 32 50 80 24 142 14 M6  SK-00210-5 1.7 540.0041.004 JTB0-XD60- 75P 60 75 140 40  ®101.6 254 M16 = - 215
540.0027.004 JT40-XD32- 90 32 90 80 24 182 14 M16  SK-00210-5 2.7 540.0042.004 JT60-XD60— 758 60 75 220 40 O101.6+0177.8 25.4 M16+M20 - - 220
579.0204.292 JT40-XD40- 50 40 50 89 27 145 16 M20  SK-00210-6 1.9
579.0201.291 JT50 - XD22 - 35 22 35 50 19 156 10 M0 SK-00210-3 2.9 K TFURFRRESSMITH.
540.0089.004 JT50-XD22- 90 22 90 50 19 226 10 M10  SK-00210-3 3.8
540.0031.004 JT50-XD22- 150 22 150 50 19 271 10 M10  SK-00210-3 4.3
579.0202.291 JT50-XD27- 40 27 40 60 21 163 12 Mi2  SK-00210-4 3.1
540.0033.004 JT50-XD27- 90 27 90 60 21 213 12 Mi2  SK-00210-4 5.3
540.0034.004 JT50-XD27- 150 27 150 60 21 273 12 M12  SK-00210-4 5.9
579.0203.291 JT50-XD32- 50 32 50 80 24 176 14 M16  SK-00210-5 3.9
540.0036.004 JT50-XD32- 120 32 120 80 24 246 14 M16  SK-00210-5 5.8
579.0204.291 JT50-XD40- 50 40 50 90 27 179 16 M20  SK-00210-6 4.0
579.0205.291 JT50-XD50- 50 50 50 120 30 182 18 M24  SK-00210-7 4.7

H: ¥ FPRRFEERAEMITE,

_ Allllos

A

oo lil]A



@ BEEH

MNAS HMCT GROUP

$hk TR

Drill Chuck Arbors

JTIRTSGR A4t % T AR5t BEEH

JT-TSG Tooling System For Boring And Milling [/NAS HMCT GROUP

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

w2° RIHI|FAI T E JI4E (DIN69871-1 Form AD/B )

Adaptors For Flatted Parallel Shanks A

A

L2

|/10.005]4A]

B.No

|/10.005]4A]

440.0001.071 JT40-210- 45 10.094 145 B10 0.92 420.0151.292 JT40 - XPD6 — 50 119 +0.005
440.0002.071 JT40-210- 90 10.094 90 35 145 B10 1.20 420.0152.292 JT40 - XPD8 - 50 8 50 28 119 +0.005 1.0
440.0003.071 JT40-712- 45 12.065 45 35 185 B12 0.93 420.0153.292 JT40 - XPD10 - 50 10 50 35 119 +0.005 1.0
440.0004.071 JT40-2Z12- 90 12.065 90 35 185 B12 0.94 420.0154.292 JT40 - XPD12 - 50 12 50 42 119 +0.005 1.1
440.0005.071 JT40-2716- 45 15.733 45 5 24 B16 0.97 420.0164.292 JT40 - XPD14 - 50 14 50 44 119 +0.005 1.1
440.0006.071 JT40-216- 90 15.733 90 5 24 B16 1.22 420.0155.292 JT40-XPD16 - 63 16 63 48 132 +0.005 1.3
440.0007.071 JT40-2718- 45 17.780 45 5 32 B18 1.03 420.0168.292 JT40 - XPD18 - 63 18 63 50 132 +0.005 1.4
440.0008.071 JT40-2718- 90 17.780 90 5 32 B18 1.37 420.0156.292 JT40 - XPD20 - 63 20 63 52 132 +0.007 1.3
440.0009.071 JT50-210- 45 10.094 45 35 145 B10 2.70 420.0157.292 JT40 - XPD25 - 100 25 100 65 169 +0.007 2.3
440.0010.071 JT50-210-105 10.094 105 35 145 B10 3.08 420.0158.292 JT40 - XPD32 - 100 32 100 72 169 +0.007 25
440.0011.071 JT50-212- 45 12.065 45 35 185 B12 2.72 420.0151.291 JT50 - XPD6 — 63 6 63 25 165 +0.005 2.8
440.0012.071 JT50-212-105 12.065 105 35 185 B12 3.10 420.0152.291 JT50 - XPD8 - 63 8 63 28 165 +0.005 2.8
440.0013.071 JT50-216 - 45 15.733 45 5 24 B16 2.80 420.0153.291 JT50 - XPD10 - 63 10 63 35 165 +0.005 2.9
440.0014.071 JT50- 216 - 105 15.733 105 5 24 B16 3.12 420.0154.291 JT50 - XPD12 - 63 12 63 42 165 +0.005 3.0
440.0015.071 JT50-2718- 45 17.780 45 5 32 B18 2.82 420.0164.291 JT50 - XPD14 - 63 14 63 44 165 +0.005 3.0
440.0016.071 JT50-Z18 - 105 17.780 105 5 32 B18 3.11 420.0155.291 JT50 - XPD16 - 63 16 63 48 165 +0.005 3.1
440.0017.071 JT60-216- 105 15.733 105 5 24 B16 12.47 420.0168.291 JT50 - XPD18 - 63 18 63 50 165 +0.005 3.1
440.0018.071 JT60-218-105 17.780 105 5 32 B18 12.46 420.0156.291 JT50 - XPD20 - 63 20 63 52 165 +0.007 3.1
420.0157.291 JT50 - XPD25 — 80 25 80 65 182 +0.007 3.8

% ERESE S A TUHER S o 420.0158.291 JT50 - XPD32 - 100 32 100 72 202 +0.007 45
420.0159.291 JT50 - XPD40 - 100 40 100 80 202 +0.007 48

K1



A

@

IBRE5A

MNAS HMCT GROUP

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

@

g v

LNVAS HVMCT GROUP

HIFEE TR 714

Adaptors For Flatted Parallel Shanks

|/10.005]4A]

420.0251.292
420.0260.292
420.0252.292
420.0261.292
420.0253.292
420.0262.292
420.0254.292
420.0263.292
420.0258.292
420.0264.292
420.0255.292
420.0265.292
420.0259.292
420.0266.292
420.0256.292
420.0267.292
420.0257.292
420.0268.292

JT40 - XP6 - 50
JT40 - XP6 - 100
JT40 - XP8 - 50
JT40 - XP8 - 100
JT40-XP10- 50
JT40-XP10- 100
JT40-XP12- 50
JT40-XP12- 100
JT40 - XP14 - 50
JT40 - XP14 - 100
JT40-XP16 - 63
JT40-XP16 - 100
JT40 - XP18 -63
JT40-XP18 - 100
JT40 - XP20 - 63
JT40 - XP20 - 100
JT40 - XP25 - 100
JT40 - XP32 - 100

6
6
8
8
10
10
12
12
14
14
16
16
18
18
20
20
25
25

100
50
100
50
100
50
100
50
100
63
100
63
100
63
100
100
100

25
28
28
35
35
42
42
44
44
48
48
50
50
52
52
65
72

81
31
81
31
81
31
81
31
81
44
81
44
81
44
81
81
81

119
169
119
169
119
169
119
169
119
169
132
169
132
169
132
169
169
169

+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.007
+0.007
+0.007
+0.007

1.1
1.0
il
1.0
1.3
1.1
1.3
1.1
1.6
1.3
1.8
1.3
1.9
1.3
1.9
2.3
2.5

HIFER T R IIH

Adaptors For Flatted Parallel Shanks

|/10.005]4A]

420.0251.291
420.0271.291
420.0252.291
420.0272.291
420.0253.291
420.0273.291
420.0254.291
420.0274.291
420.0264.291
420.0275.291
420.0255.291
420.0276.291
420.0268.291
420.0277.291
420.0256.291
420.0278.291
420.0257.291
420.0279.291
420.0258.291
420.0259.291
440.0020.009
440.0022.009
440.0023.009
440.0024.009
440.0025.009
440.0026.009

JT50 - XP6 - 63
JT50 - XP6 — 100
JT50 - XP8 - 63
JT50 - XP8 — 100
JT50 - XP10 - 63
JT50 - XP10- 100
JT50 - XP12 - 63
JT50 - XP12 - 100
JT50 - XP14 - 63
JT50 - XP14 - 100
JT50 - XP16 - 63
JT50 - XP16 - 100
JT50 - XP18 — 63
JT50 - XP18 - 100
JT50 - XP20 - 63
JT50 - XP20 - 100
JT50 - XP25 - 80
JT50 - XP25 - 100
JT50 - XP32 - 100
JT50 - XP40 - 100
JT50 - XP50 - 125
JT60 - XP25 - 100
JT60 - XP32 - 100
JT60 - XP40 - 100
JT60 - XP50 - 125
JT60 - XP63 - 150

6
6
8
8
10
10
12
12
14
14
16
16
18
18
20
20
25
25
32
40
50
25
32
40
50
63

100
63
100
63
100
63
100
63
100
63
100
63
100
63
100
80
100
100
100
125
100
100
100
125
150

25
28
28
35
35
42
42
44
44
48
48
50
50
52
52
65
65
72
80
100
65
72
90
100
130

81
44
81
44
81
44
81
44
81
44
81
44
81
44
81
61
81
81
81
106
81
81
96
106
131

165
202
165
202
165
202
165
202
165
202
165
202
165
202
165
202
182
202
202
202
227
262
262
277
287
312

+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.007
+0.007
+0.007
+0.007
+0.007
+0.007
+0.009
+0.007
+0.007
+0.007
+0.009
+0.011

2.9
2.8
3.0
2.9
3.2
3.0
3.4
3.0
3.4
3.1
3.5
3.1
3.6
3.1
3.6
3.8
4.2
4.5
4.7
5.3
13.2
141
15.1
15.3
1529

s lil]a



@ BEEH

MNAS HMCT GROUP

@ BEEH

LNVAS HVMCT GROUP

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

=59, ®RIW

Shell Boring and Reaming Cutters Arbors

Tap Adaptors

A

ZH | ==

dl

< Jaig2nm | GiFsinn

L1

o

A

440.0001.292 JT40-G3- 60 63.55 128.4 G3-(M3-M12) 3.18 440.0051.081 JT40-KJ13 - 90 ®25- ®35 25 - ®30 1.30
440.0101.161 JT40-G3- 120 63.55 188.4 120 19 36 7.5 6.5 G3-(M3-M12) 4.74 440.0052.081 JT40 - KJ13-150 13 150 45 24 28 ©25- 035 ®25 - ®30 1.45
440.0002.292 JT40-G8 - 98 63.55 166.4 98 31 53 15 8.5 G8-(M8-M20)  4.08 440.0053.081 JT40 - KJ16-100 16 100 50 31 31 ®36- D45 »©32- d35 1.34
440.0103.161 JT40-G8 - 150 63.55 2184 150 31 53 15 8.5 G8-(M8-M20) 5.40 440.0054.081 JT40-KJ16 - 185 16 185 50 31 36 ©36- Dd45 ®32- d35 1.83
440.0104.161 JT50-G8 - 84 975 18575 84 31 53 15 8.5 G8-(M8-M20)  11.11 440.0055.081 JT40 - KJ19-120 19 120 56 35 35 D46 - P52 D36 - D42 1.60
440.0105.161 JT40-G8 - 150 97.5 25175 150 31 53 15 85  G8-(M8-M20) 14.81 440.0056.081 JT40 - KJ19 - 200 19 200 56 35 40 ©®46- 052 36— ©42 2.20
440.0106.161 JT50-G14 - 139 97.5 240.75 139 48 78 23 15 G14-(M14-M33) 12.90 440.0057.081 JT40 - KJ22 - 130 22 130 63 40 40 »55- D62 D45 - 50 2.03
440.0107.161 JT40-G14 - 200 97.5 301.75 200 48 78 23 15 G14-(M14-M33) 17.21 440.0058.081 JT40 - KJ22 - 225 22 225 63 40 46 ®55- ©62 D45 - ®50 2.72
440.0059.081 JT40 - KJ27 - 150 27 150 71 50 50 ®65-®75 ®52 - 60 2.62

i X BLAL%ERENEIELHEBS; 440.0060.081 JT40 - KJ27 - 225 27 225 71 50 56 ©65- 75 ©52 - ®60 3.50
HRALEREREE DRI 440.0061.081 JTA0-KJ32-120 32 120 80 54 54 ©80-090 62— 070  2.67
440.0062.081 JT40 - KJ32 - 200 32 200 80 54 60 ®80- ®90 ®62- 70 4.03

440.0075.081 JT50 - KJ13-100 13 100 45 24 24 ©25- 035 »25- ®30 2.96

440.0076.081 JT50 - KJ13-185 13 185 45 24 28 ©25-035 ®25- 030 3.14

440.0077.081 JT50-KJ16 - 100 16 100 50 31 31 D36 - D45 »32- D35 3.68

440.0078.081 JT50-KJ16-185 16 185 50 31 36 ©36-Dv45 ©32- 035 4.50

440.0079.081 JT50-KJ19-120 19 120 56 35 35 ®46- 052  ®36- D42 4.78

440.0080.081 JT50-KJ19-200 19 200 56 35 40 ©46- 052  B36- D42 4.98

440.0081.081 JT50 - KJ22 - 130 22 130 63 40 40 »55- D62 D45 - 50 5.10

440.0082.081 JT50 - KJ22 - 225 22 225 63 40 46 ®55- ©62 D45 - ®50 5.82

440.0083.081 JT50 - KJ27 - 150 27 150 71 50 50 ®65-®75 ®52 - 60 6.04

440.0084.081 JT50 — KJ27 - 225 27 225 71 50 56 ®65- 075 52 - ©60 6.80

440.0085.081 JT50 - KJ32-120 32 120 80 54 54 ®80- ®90 »62- D70 7.06

440.0086.081 JT50 - KJ32 - 200 32 200 80 54 60 ®80- ®90 ®62- 070 8.70

440.0087.081 JT60 - KJ32 -120 32 120 80 54 54 ®80- ®90 »62- D70 11.21

s lif]a



@ BEEH

MNAS HMCT GROUP

R B T4

Angular Mounting Square Bits Boring Bars

@ BEEH

LNVAS HVMCT GROUP

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

HATVHEE T

Mounting Square Bite Boring Bars with Radial Adjustment

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

MlS M2

A

44 1.022 T40 - TQC25 -1 ®25- 0 1 22 T 45-L M6x1 M TZC8-20-90-L
0.0001.0 JT40 - TQC25 - 135 °-©38 135 8 QC8-30-45- 6x13 6x6 146 440.0041.023  JT40-TZC25-135 ®25-®50 135 22 8 M6x15 M6x6
440.0002.022 JT40-TQC30-165 ®30- ®42 165 24 26 8 TQC8-37-45-L M6x13 M6x8 1.34 TZC8-29-90-L
440.0003.022 JT40-TQC38-180 ®38-®50 180 30 33 10 TQC10-48-45-L M8x13 M8x10  1.69 TZC10-32-90-L
440.0042.023  JT40-TZC38-180 ®38-®70 180 30 33 10 M8x15 M8x10 1.79
440.0004.022 JT40-TQC42-210 ®42- 056 210 34 37 10 TQC10-53-45-L M8x13 M8x10  2.15 TZC10-49-90-L
440.0005.022 JT40-TQC50-180 ®50- ®65 180 40 44 13 TQC13-63-45-L M10x13 M10x12 2.38 TZC13-43-90-L
440.0043.023  JT40-TZC50-180 ®50-®90 180 40 44 13 M10x15 M10x14  2.61
440.0006.022 JT40-TQC50-225 ®50- ®65 225 40 44 13 TQC13-63-45-L M10x13 M10x12 2.78 TZC13-64-90-L
440.0007.022 JT40-TQC62-180 ®62- ®90 180 56 16 TQC16-79-45-L M12x13 M12x15  2.97 TZC13-43-90-L
Q %0 Q X X 440.0044.023  JT40-TZC50-225 ®50-®90 180 40 44 13 M10x15 M10x14  3.00
440.0008.022 JT40-TQC62-240 ®62- ®90 240 50 56 16 TQC16-79-45-L M12x13 M12x15  4.11 TZC13-64-90-L
440.0009.022 JT40-TQC72-180 ®72- ®110 180 60 66 19 TQC19-90-45-L M12x13 M12x18  3.41 TZC16-53-90-L
440.0045.023  JT40-TZC62-180 ®62-d115 225 50 56 16 M12x15 M12x18  3.42
440.0010.022 JT40-TQC72-240 ®72- ®110 240 60 66 19 TQC19-90-45-L M12x13 M12x18  5.36 TZC16-80-90-L
440.0011.022 JT40-TQC90-180 ®90- ®125 180 66 19 TQC19-116-45-L M12x13 M12x24 4.9 TZC16-53-90-L
Q & Q X X 440.0046.023  JT40-TZC62-225 ®62-®115 180 50 56 16 M12x15 M12x18  3.94
440.0024.022 JT50-TQC25-135 ®25- ®38 135 20 22 8 TQC8-30-45-L M6x13 M6x6 2.94 TZC16-80-90-L
440.0025.022 T50-T -1 ®30- 042 1 2 T —37-45-L M6x1 M . TZC19-62-90-L
0.0025.0 JT50 - TQC30 - 165 30 65 24 6 8 QC8-37-45 6x13 6x8 3.14 440.0047.023  JT40-TZC72-180 ®72-®135 225 60 66 19 M12x15 M12x22  4.36
440.0026.022 JT50-TQC38-180 ®38-®50 180 30 33 10 TQC10-48-45-L M8x13 M8x10  3.51 TZC19-90-90-L
440.0027.022 JT50-TQC42-210 ®42- 056 210 34 37 10 TQC10-53-45-L M8x13 M8x10  3.83 TZC19-62-90-L
440.0048.023  JT40-TzZC72-225 ®72-®135 180 60 66 19 M12x15 M12x22  4.83
440.0028.022 JT50-TQC50-180 ®50- ®65 180 40 44 13 TQC13-63-45-L M10x13 M10x12 5.25 TZC19-90-90-L
440.0029.022 JT50-TQC50-240 ®50- ®65 240 40 44 13 TQC13-63-45-L M10x13 M10x12  4.73 TZC19-79-90-L
440.0049.023  JT40-TZC90-180 ®90-®150 225 75 66 19 M12x15 M12x30  5.60
440.0030.022 JT50-TQC62-195 ®62- ®90 195 50 56 16 TQC16-79-45-L M12x13 M12x15 5.30 TZC19-113-90-L
440.0031.022 JT50-TQC62-270 62— ®I0 270 56 16 TQC16-79-45-L M12x13 M12x15 5.64 TZC19-79-90-L
Q 50 Q X X 440.0050.023  JT40-TZC90-225 ®90-®150 180 75 66 19 M6x15 M12x30  6.74
440.0032.022 JT50-TQC72-195 ®72- ®110 195 60 60 19 TQC19-90-45-L M12x13 M12x18  7.18 TZC19-113-90-L
440.0034.022 JT50-TQC72-285 ®72- ®110 285 60 60 19 TQC19-90-45-L M12x13 M12x18  8.99 TZC8-20-90-L
440.0063.023  JT50-TZC25-135 ®25-®50 225 20 22 8 M8x15 M6x6 2.94
440.0035.022 JT50-TQC90-210 ®90-®125 210 75 80 19 TQC19-116-45-L M12x13 M12x24  9.05 TZC8-29-90-L
440.0036.022 JT50-TQC90-300 ®90- ®125 300 80 19 TQC19-116-45-L M12x13 M12x24 11.98 TZC10-32-90-L
Q & Q X X 440.0064.023  JT50-TZC38-180 ®38-®70 135 30 33 10 M10x15 M8x10  3.57
440.0075.022 JT60-TQC50-240 ®50- ®65 240 40 44 13 TQC13-63-45-L M10x13 M8x10  14.6 TZC10-49-90-L
440.0076.022 T60-T 2-270 ©62-0 27 1 TQC16-79-45-L M12x1 M12x1 . TZC13-43-90-L
0.0076.0 JT60 - TQC6 0 6 %0 0 80 56 16 TQCI6-79-45 x13 x15 1465 440.0065.023  JT50-TZC50-180 ®50-®90 180 40 44 13 M10x15 M10x14  4.28
440.0077.022 JT60-TQC72-285 ®72- ®110 285 60 60 19 TQC19-90-45-L M12x13 M12x18 16.53 TZC13-64-90-L
440.0078.022 JT60-TQC90-300 ®90- ®125 300 75 80 19 TQC19-116-45-L M12x13 M12x24 18.4

i % TQCIRARIEAESE 71 H

_ Allllte

Eibo

7] A



A

@

LNAS

g ki

HMCT GROUP

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

JTARTSGEFXEHRLXTER S

JT-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

HAZHEETIH

Mounting Square Bite Boring Bars with Radial Adjustment

440.0066.023

440.0067.023

440.0068.023

440.0069.023

440.0070.023

440.0071.023

440.0072.023

440.0073.023

440.0074.023

440.0037.023

440.0038.023

440.0039.023

440.0040.023

JT50 - TZC50 - 240

JT50 - TZC62 - 195

JT50 - TZC62 - 270

JT50 - TZC72 - 195

JT50-TZC72 - 285

JT50 - TZC90 - 210

JT50 - TZC90 - 300

JT50 -TZC105 - 195

JT50 - TZC105 - 285

JT60 - TZC62 - 270

JT60-TZC72 - 285

JT60 - TZC90 - 285

JT60 - TZC105 - 300

O50- 90

®62- 115

®62- 0115

®72- 135

O72- 0135

®90- ®150

D90 - ®150

®105- ®190

®105- ®190

®62- 115

O72- 0135

®90- ®150

®105- ®190

195

270

195

285

210

300

195

285

270

285

300

300

50

50

60

60

75

75

90

90

50

60

75

90

13

16

16

19

25

25

16

19

25

44

56

56

66

66

80

80

90

94

56

66

80

94

L

M2

TZC13-43-90-L

TZC13-64-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-79-90-L

TZC19-113-90-L

TZC19-79-90-L

TZC19-113-90-L

TZC25-91-90-L

TZC25-136-90-L

TZC25-91-90-L

TZC25-136-90-L

TZC16-53-90-L
TZC16-80-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-79-90-L

TZC19-113-90-L

TZC25-91-90-L

TZC25-136-90-L

M10x15

M10x15

M12x15

M12x15

M12x15

M12x15

M12x15

M12x15

M16x15

M16x15

M12x15

M12x15

M16x15

M10x14

M12x18

M12x18

M12x22

M12x22

M12x30

M12x30

M16x34

M16x34

M12x18

M12x22

M12x30

M16x34

5.54

6.57

6.74

9.1

9.63

12.94

10.53

15.4

15.92

18.45

22.29

24.75

i X TZCEMAEVESE T WHERSY ;
¥ AMEAFTZWARRIAE T, RHERS;

_ Allllie

R B R 2 AT

Angular Mounting Micro—adjustable Boring Bars

440.0004.031
440.0005.031
440.0006.031
440.0007.031
440.0008.031
440.0009.031
440.0010.031
440.0011.031
440.0012.031
440.0013.031
440.0034.031
440.0035.031
440.0036.031
440.0037.031
440.0038.031
440.0039.031
440.0040.031
440.0041.031
440.0042.031
440.0043.031
440.0044.031
440.0045.031
440.0370.031
440.0371.031
440.0372.031
440.0373.031
440.0374.031
440.0375.031

JT40-TQW38 - 150
JT40-TQW38-210
JT40 - TQW48 - 150
JT40-TQWwW48 - 210
JT40-TQW62 - 150
JT40-TQW62 - 210
JT40-TQW82 - 150
JT40-TQW82 -210
JT40-TQW105 - 150
JT40-TQW105-210
JT50 - TQW38 - 165
JT50 - TQW38 - 195
JT50 - TQW48 - 165
JT50 - TQW48 - 255
JT50 - TQW62 - 240
JT50 - TQW62 - 300
JT50 - TQW82 - 240
JT50 - TQW82 - 315
JT50 - TQW105 - 240
JT50 - TQW105 - 315
JT50 - TQW135-210
JT50 - TQW165 -210
JT60 - TQW48 - 255
JT60 - TQW62 — 300
JT60-TQW82 - 315
JT60 - TQW105 - 315
JT60 - TQW135-315
JT60-TQW165 - 315

i % TQWHRDASE 1 HER S -

®38- ©50
®38 - ®50
®48 - ©65
48 - ©65
®62- 085
®62 - ©85
®82- 110
®82-d110
®105- ®140
®105- ®140
®38 - ®50
®38 - ©50
D48 - ©65
48 - ©65
®62- ©85
®62 - 085
®82-d110
®82- d110
®105- ®140
®105- ®140
®135- ®170
®165 - ®200
48 - ©65
®62 - ©85
®82- ®110
®105- ®140
®135- ®170
®165 - ®200

150
210
150
210
150
210
150
210
150
210
165
195
165
255
240
300
240
315
240
315
210
210
255
300
315
315
315
315

35
41
41
54
54
68
68
85
85
35
35
41
41
54
54
68
68
85
85
114
144
41
54
68
85
114
144

38
44
45
53
56
60
60
60
60
37
38
44
45
55
56
72
74
920
90
90
920
44
55
72
90
90
920

TQW38
TQW38
TQW48
TQW48
TQW62
TQW62
TQWS82
TQW82
TQW105
TQW105
TQW38
TQW38
TQW48
TQW48
TQW62
TQW62
TQWS82
TQWS82
TQW105
TQW105
TQW135
TQW135
TQW48
TQW62
TQW8S82
TQW105
TQW135
TQW135

M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15
M6x15
M6éx15
M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M5x12
M5x12
M6x15
M6x15
M6x15
M6x15
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15

M6x10
M6x10
M6x12
Méx12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M6x10
M6x10
M6x12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M10x30
M10x30
M6éx12
M6x12
M8x15
M8x15
M10x20
M10x20

1.66
2.06
213
201
2.99
4.10
3.92
5.24
4.96
6.70
3.70
3.80
4.07
4.80
6.40
7.90
8.50
11.8
12.4
14.8
14.5
17.4
13.42
15.75
17.85
21.75
23.85
26.75

o)A



> BEEH

MNAS HMCT GROUP

AR K TI 4 58 J15E R K TR

Adjustable Shanks of Boring Heads Strong Chuck Holder for Boring and Milling

JTIRTSGR A4t % T AR5t BEEH

JT-TSG Tooling System For Boring And Milling [/NAS HMCT GROUP

JTIRTSGEFXEHRLXTERS

JT-TSG Tooling System For Boring And Milling

A

L

|/10.005]4A]

: X ERARTFEERMITE;

X WRAIFEMIIRNRERR Z4h6;

X EREARTREERIEN, FTRATEREESHITE;

¥ L=3d4b1Z [ BkBN#E E <0.007mm,

740.0321.111 JT40-XJT20-110 110 55-62
740.0322.111 JT40-XJT20-160 4o 20 58 160 55-62
740.0323.111 JT40-XJT20-200 40 20 58 200 55-62
740.0324.111 JT40-XJT25-110 40 25 65 110 68-72
740.0325.111 JT40-XJT25-160 40 25 65 160 68-72
740.0326.111 JT40-XJT25-200 40 25 65 200 68-72
740.0327.111 JT40-XJT32-110 40 32 73 110 55-62
740.0329.111 JT40-XJT32-200 40 32 73 200 55-62
440.0009.020 JT40 - TK16 - 150 150 TD1-16;TD2-16;TD3-16;TD4-16 740.0330.111 JT50-XJT20-110 50 20 58 110 55-62
440.0007.020 JT50-TK16 —150 90 16 150 TD1-16;TD2-16;TD3-16;TD4-16 ;ig-ggg;-m jigg—ijgg—;gg :g ;g :g ;gg 2:—‘65;
440.0031.020 JT60 - TK16 — 150 90 16 150 TD1-16;TD2-16:TD3-16;TD4-16 2400333 111 50X JT25_110 50 o5 65 110 6870
740.0334.111 JT50-XJT25-160 50 25 65 160 68-72
740.0335.111 JT50-XJT25-200 50 25 65 200 68-72
;¥ $ETITD1-16% —RIEHITEE O 8 —068, %= HIEHITEE HO56-0124; 740.0336.111 JT50-XJT32-110 50 32 73 110 68-72
% §TITD2- 165 —REEHITEE AP16-076, % REHIEEAG72-0132; 740.0337.111 JT50-XJT32-160 50 32 73 160 68-72
e N e _ 740.0338.111 JT50-XJT32-200 50 32 73 200 68-72
* #71TD3-16% —RHAIEEHGI0-000, H=REAIEEHE6-0146; 740.0339.111 JT50-XJT40-120 50 40 88 120 78-85
% $2 71 TDA-1652HI5E B hd145-0320; 740.0340.111 JT50-XJT40-160 50 40 88 160 78-85
% BEFASS T) DHEDS o 740.0341.111 JT50-XJT40-200 50 40 88 200 78-85
740.0285.111 JT50-XJT50-120 50 50 105 120 100-110
740.0342.111 JT50-XJT50-140 50 50 105 140 100-110
740.0343.111 JT50-XJT50-160 50 50 105 160 100-110
740.0344.111 JT50-XJT50-200 50 50 105 200 100-110
740.0345.111 JT60-XJT20-130 60 20 58 130 55-62
740.0346.111 JT60-XJT20-160 60 20 58 160 55-62
740.0347.111 JT60-XJT20-200 60 20 58 200 55-62
740.0348.111 JT60-XJT25-130 60 25 65 130 68-72
740.0349.111 JT60-XJT25-160 60 25 65 160 68-72
740.0350.111 JT60-XJT25-200 60 25 65 200 68-72
740.0351.111 JT60-XJT32-130 60 32 73 130 68-72
740.0352.111 JT60-XJT32-160 60 32 73 160 68-72
740.0353.111 JT60-XJT32-200 60 32 73 200 68-72
740.0354.111 JT60-XJT40-130 60 40 88 130 78-85
740.0355.111 JT60-XJT40-160 60 40 88 160 78-85
740.0356.111 JT60-XJT40-200 60 40 88 200 78-85
740.0357.111 JT60-XJT50-140 60 50 105 140 100-110
740.0358.111 JT60-XJT50-160 60 50 105 160 100-110
740.0359.111 JT60-XJT50-200 60 50 105 200 100-110

Bl




= S gals Lpb Sl S gals Lpb Sl =5
15 = [ BTATSGRR AT AR BTATSGRAREHAT ARG B EEH
[/NAS HVICT GROUP BT-TSG Tooling System For Boring And Milling BT-TSG Tooling System For Boring And Milling [/NAS HMCT GROUP
B 2R SRR

Taper Shanks Type of Japan HZ< MAS 403 BT &3 FJIS B 6339-1998

BTHTSGERFERXITERS

A ZRARELEAT . FIET - eeeereeererreemerneeneeneenens B 01
ERUAZEFESL TIAT - vveeerevveeeramenneeeineenunennnns B 02
T ----------
HE e B PC B4 FL TIAT - v vvvvememnmmmemmmnnnnnnnns B 05
BT30 31.75 48.4 13.6 16.3 2 16.1
TREERBEIHEFLIIHR - eeereereermreeeeneies B 06 BT40 44.45 63 M16 65.4 25 16.6 22.6 2 16.1
BT TIAT eeeeeeereerrerrereeraenaenaenaanaenaenn B 07 BT50 69.85 100 M24 101.8 35 23.2 354 3 257
BT60 107.95 155 M30 161.8 45 28.2 60.1 3 25.7
%Ilj;ég(ﬂ*ﬁ ............................................. B 08 _ . .
) A AR R 5T L
uﬁ%ﬂm..“...............................................Bog Pu|| Stud Type of Japan EZKJIS B6339—1998 |
L1
HEDO AL T T T B T A --wvv covernnnnneeeeeeenes B 11
I |
BB T B TJAT - eeeeereremmnrnneesensenseeennnenns B 12 H / by
= e ] R | [N [ae)
) [=] a X |\( a [=1
R ok O B13 = \
E;—:t;f-\ %fijjﬁﬁ ....................................... B14 Lo
N —
(I BYRHEE TIFF -« ovoeevererremnenn e, B 15 15
B EUFAGE TIRF oo eeveennneereeneemnaneneeenineeeens B 16
TS LY E1 g < SRR B 18 ----------
o 499.0007.293 12,5 16.5 23.4 18.4 0.04
ﬁ]’ﬁ%%ﬂ*ﬁ .......................................... B 1 9 e e 40P M16 17 19 o3 54 09 o3 0.07
T o Ty 5 TR B 21 499.0007.225 50P M24 25 28 38 74 34 25 0.25
499.0007.290 60P M30 31 36 48 98 48 36 0.52
HZMAS403 BT I8!
Pull Stud MAS403 BT | Type of Japan
L
Lt
alal - INEAR
— 1
L2 . \(“.
499.0011.293 P30T | 12,5 16.5 0.02
499.0001.265 P40T | M16 17 15 23 60 35 28 0.07
499.0002.225 P50T | M24 25 23 38 85 45 35 0.25
499.0008.290 P6OT | M30 31 32 56 115 65 53 0.52

o lil]s



BEEHA BTIRTSGEA % T ARG BTIRTSGRA L% T A RS BEEH

/NAKS HMCT GROUP BT-TSG Tooling System For Boring And Milling BT-TSG Tooling System For Boring And Milling INAS HMCT GROUP
HZAMAS403 BT 113! EREE XTI ’
Pull Stud MAS403 BT Il Type of Japan ER Collet Chucks
L
L1
alal #4—- --— __\230.‘. 2
- L2 \(/‘W

|/10.005]4A]

499.0010.293 P30T Il Mi2 125 165 43 0.02
499.0002.265 P4OT Il M16 17 15 23 60 35 28 0.07
499.0005.225 P50T I M24 25 23 38 85 45 35 0.25
o o i i i im T T
640.0123.040 BT40-ER20-70 M12 136
ERz 5 3 5L 714 640.0240.040 BT40-ER20-100 100 34 34 M12 166 10 15
640.0241.040 BT40-ER20-160 160 34 34 M12 226 10 18
ER Collet Chucks 640.0242.040 BT40-ER25-70 70 42 36 M16 136 10 1.3
) 697.0033.265 BT40-ER25-100 100 42 36 M16 166 10 15
| 697.0043.265 BT40-ER25-160 160 42 36 M16 226 10 2.2
pmm——— { . A 640.0243.040 BT40-ER32-70 70 50 40 M16 136 10 13
] oy - [ al = 697.0031.265 BT40-ER32-100 100 50 40 M16 166 10 1.7
— [ I = 697.0041.265 BT40-ER32-160 160 50 40 M16 226 10 25
Sal 697.0002.265 BT40-ER40-80 80 63 58 M16 146 10 18
- 697.0032.265 BT40-ER40-120 120 63 58 M16 186 10 2.3
" 697.0042.265 BT40-ER40-160 160 63 58 M16 226 10 3.2
: 640.0244.040 BT50-ER20-70 70 34 34 M16 172 10 35
640.0133.040 BT50-ER20-100 100 34 34 M16 202 10 3.9
640.0245.040 BT50-ER20-160 160 34 34 M16 262 10 43
640.0246.040 BT50-ER25-70 70 42 36 M16 172 10 3.6
) : 640.0135.040 BT50-ER25-100 100 42 36 M16 202 10 3.9
- = ' '_': S s 640.0247.040 BT50-ER25-160 160 42 36 M16 262 10 45
" ' - 697.0001.225 BT50-ER32-70 70 50 40 M16 172 10 37
640.0137.040 BT50-ER32-100 100 50 40 M16 202 10 3.9
------------ T S TR S—T—
698.0001.265 BT40-ER16-63 Mi2 128 697.0002.225 BT50-ER40-80 80 63 58 M16 182 10 3.8
698.0002.265  BT40-ER16-100 100 = 28 28 = 27 M12 166 10 1.2 640.0249.040 BT50-ER40-120 120 63 58 M16 222 10 4.2
698.0003.265 BT40-ER16-160 160 46 28 28 85 27 M12 226 10 13 640.0250.040 BT50-ER40-160 160 63 58 M16 262 10 55
698.0001.225  BT50-ER16-100 100 - 28 28 - 27 M12 202 10 3.8 640.0251.040 BT60-ER25-100 100 42 36 M16 262 10 13.8
698.0002.225 BT50-ER16-160 160 78 28 28 85 27 M12 202 10 40 640.0252.040 BT60-ER25-160 160 42 36 M16 322 10 143
. o 640.0253.040 BT60-ER32-100 100 50 40 M16 262 10 132
i igg;ﬂgggg;ﬁﬁhgm s, 640.0254.040 BT60-ER32-160 160 50 40 M16 322 10 147
¥ TIAFROAER, EESMITHER. --CRIRS R EIZIEfEE 28, ERHES . 640.0255.040 BT60-ER40-100 100 63 58 M16 262 10 13.5
640.0256.040 BT60-ER40-160 160 63 58 M16 322 10 148

iE: % EREBSIHLITDINGAOIARAE ;
X ERFEFEBRMITE, BRHES;
¥ TIAF RO AR, FEHRMITHMER. ----CRIN X R ZIZEFZHRE, FRHAS,

E I3 1



@

IBRE5A

MNAS HMCT GROUP

BTWRTSGEMHFXESLTE RS

BT-TSG Tooling System For Boring And Milling

BTARTSGEMANEHRLXTE RS

BT-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

=Wk TIR

Side Milling Cutter Arbor

W EERKEHEFL IR

Adaptor Sleeves for Morse Taper with Tang

640.0021.000 BT40-XS16- 75 3J1-310-16 ®50 1.29 454.0001.265 BT40-M1-50 1 12.065 116
640.0022.000 BT40 - XS16 - 105 16 26 105 46 4 3J1-310-16 ®50 1.46 440.0028.050 BT40-M1-120 1 120 25 12.065 188 1.2
640.0023.000 BT40-XS22 - 75 22 34 75 51 6 3J1-310-22 ®63 1.17 454.0012.265 BT40-M2-50 2 20 32 17.780 116 1.1
640.0024.000 BT40 - XS22 - 120 22 34 120 51 6 3J1-310-22 ®63 1.95 440.0030.050 BT40-M2-120 2 120 32 17.780 188 1.6
640.0025.000 BT40 - XS27 - 75 27 40 75 55 7 3J1-310-27 ®80 2.01 454.0013.265 BT40-M3-70 3 70 40 23.825 136 1.2
640.0026.000 BT40 — XS27 - 120 27 40 120 55 7 3J1-310-27 ®80 2.65 440.0032.050 BT40-M3-135 3 135 40 23.825 193 2.2
640.0027.000 BT40 - XS32 - 90 32 46 90 60 8 3J1-310-32 ®100,0125 2.52 454.0014.265 BT40-M4-95 4 95 63 31.267 161 2.1
640.0028.000 BT50 - XS16 - 90 16 26 90 46 4 3J1-310-16 ®50 3.11 440.0034.050 BT40-M4-165 4 165 63 31.267 233 2.8
640.0029.000 BT50 - XS16 - 120 16 26 120 46 4 3J1-310-16 ®50 3.42 454.0011.225 BT50-M1-45 1 45 25 12.065 147 3.6
640.0030.000 BT50 — XS22 - 90 22 34 90 51 6 3J1-310-22 ®63 3.54 440.0036.050 BT50-M1-120 1 120 25 12.065 222 4.5
640.0031.000 BT50 — XS22 - 135 22 34 135 51 6 3J1-310-22 ®63 3.86 454.0002.225 BT50-M2-60 2 60 32 17.780 162 3.6
640.0032.000 BT50 — XS27 - 90 27 40 90 55 7 3J1-310-27 ®80 3.93 440.0038.050 BT50-M2-135 2 135 32 17.780 237 3.7
640.0033.000 BT50 - XS27 - 135 27 40 135 55 7 3J1-310-27 ®80 4.46 454.0013.225 BT50-M3-65 3 65 40 23.825 167 3.6
640.0034.000 BT50 — XS32 - 90 32 46 90 60 8 3J1-310-32 ®100,® 125 5.5 440.0040.050 BT50-M3-150 3 150 40 23.825 252 4.3
640.0035.000 BT50 - XS32 - 135 32 46 135 60 8 3J1-310-32 ®100,0125 5.57 454.0014.225 BT50-M4-95 4 95 48 31.267 197 3.8
640.0036.000 BT50 — XS40 - 90 40 55 90 66 10 3J1-310-40 D 160,200 5.34 440.0042.050 BT50-M4-180 4 180 48 31.267 282 5.4
640.0037.000 BT50 — XS40 - 135 40 55 135 66 10 3J1-310-40 ® 160,200 5.66 440.0015.225 BT50-M5-105 5 105 63 44.399 207 3.8
640.0092.000 BT50 — XS50 - 90 50 68 90 85 12 3J1-310-50 ®200,9250 6.10 440.0044.050 BT50-M5-210 5 210 63 44.399 312 6.3
640.0093.000 BT50 — XS50 - 135 50 68 135 85 12 3J1-310-50 ®200,0250 6.55 440.0045.050 BT60-M3-190 3 190 40 23.825 352 10.1
640.0038.000 BT60 — XS40 - 135 40 55 135 66 10 3J1-310-40 160,200 14.69 440.0046.050 BT60-M3-250 3 250 40 23.825 412 10.3
640.0039.000 BT60 - XS50 - 135 50 68 135 85 12 3J1-310-50 ®200, ®250 14.80 440.0047.050 BT60-M4-210 4 210 50 31.267 372 10.6
640.0040.000 BT60 — XS60 - 135 60 84 135 105 14 3J1-310-60 ®250, ®315 15.42 440.0048.050 BT60-M4-270 4 270 50 31.267 432 10.8
440.0049.050 BT60-M5-240 5 240 63 44.399 402 124
440.0050.050 BT60-M5-300 5 300 63 44.399 462 13.0
e % BEBEMITRR, RAME, 8461, THERAP16~0400714, REEESFIH3, 5. 7. 8. 10, 12, 440.0051.050 BT60-M6—-170 6 170 90 63.348 332 12.5
SHE R A O50~O60RI TIHE, HEEEARA4, 6, 8, 10, 12, 15,
440.0052.050 BT60-M6-310 6 310 90 63.348 472 15.4

E: % EREANTEMBUERESE, FEGB/T1443-HHME, EHQIERITATIR.

oslil]B




@ BEEH

MNAS HMCT GROUP

@ BREEHA

LNVAS HVMCT GROUP

BTHRTSGEMANEHRRXT AR

BT-TSG Tooling System For Boring And Milling

BTARTSGEMANEHRLXTE RS

BT-TSG Tooling System For Boring And Milling

EX LRI

Shell End Mill Arbors

ZTREERKEH#FL I

Adaptor Sleeves for Morse Taper Without Tang

MT.No

.

-

|/10.005]4A]

|/10.005]4A]

440.0020.001  BT40-XM16— 75 040 122
440.0021.001  BT40-XM16-120 16 32 120 17 8 M8 ©40 156
440.0022.001  BT40-XM22- 75 22 40 75 19 10 Mi0  ®50  1.49
4580001 265 BTA0-MWA _50 ] 12065 116 440.0024.001  BT40-XM27- 75 27 48 75 21 12 Mi2  ©63 ©80 1.86
458.0012.265 BT40-MWE-50 » 50 a5 17780 116 0 440.0025.001  BT40-XM27-105 27 48 105 21 12 Mi2 ®63 080 225
458.0013.265 BT40_MW3_70 5 20 20 03,805 136 11 440.0026.001  BT40-XM32- 75 32 58 75 24 14 Mi6  ®100 222
4400024055 BT40-MWA_95 4 o5 63 1267 161 20 440.0027.001  BT50-XM16- 75 16 32 75 17 8 M8 ©40  3.07
4580011295 BT50_MW1_45 ] 45 o5 12065 147 57 440.0028.001  BT50-XM16-120 16 32 120 17 8 M8 ©40  3.88
458.0025.555 BT50MWE60 5 660 a5 17780 165 o8 440.0020.001  BT50-XM22- 75 22 40 75 19 10 M0 ®50  3.30
458.0003.905 BT50_MW3_65 5 o5 40 03,805 167 59 440.0030.001  BT50-XM22-120 22 40 120 19 10 M0 ©50  3.77
440,000,055 T80 MWALT0 4 20 - 567 175 a4 440.0031.001  BT50-XM27- 75 27 48 75 21 12 Mi2 ®63 B8O 3.66
440.0031.055 BT50_MW5-100 5 100 78 44.30 002 4o 440.0032.001  BT50-XM27-105 27 48 105 21 12 Mi2 ®63 ®80 4.05
4400032055 BT60-MWE-100 3 100 20 03,805 o6p 07 440.0033.001  BT50-XM32- 75 32 58 75 24 14 Mi6  ©100 3.84
440.0033.055 BT60_MWA-100 . 100 50 1 267 062 99 440.0034.001  BT50-XM40—- 75 40 70 75 27 16 M20 125 536
440.0034.085 BTE0-MW5-100 5 100 20 44399 o6p 0.9 440.0035.001  BT50-XM50- 75 50 90 75 30 18 M24  ©160 545
440.0035.055 BT60-MW6-150 5 150 % £3.348 12 121 440.0036.001  BT60-XM32- 75 32 58 75 24 14 Mi6  ®100  13.19
440.0037.001  BT60-XM40— 90 40 70 90 27 16 M20  ®125  14.71
% BREANTRMHORKEE, FAGBT1443 - HNRE, FRARHTATIR; 440.0038.001  BT60-XM50-120 50 90 120 30 18 M24  ©160  14.80

% BT40-MW4-90FE ER B HHLET: 40P-113 (JIS B 6339-1998 )
5 P40T | -119 (MAS403 BT | #)
g, P40T 11 -119 ( MAS403 BT Il &)
LRSTEEEPRMITE,

o7 lil]s




BEEHA BTIRTSGEA % T ARG BTIRTSGRA L% T A RS BEEH

[/NAS HVICT GROUP BT-TSG Tooling System For Boring And Milling BT-TSG Tooling System For Boring And Milling [/NAS HMCT GROUP

3k TR I 5% T4

Drill Chuck Arbors Face Mill Arbors

A LI
L2
—l
_:_——-_—E‘i _Hl——|~———|—}|— = s 9
L T :Ui
. B.No )
L
|/10.005]4A] |/10.005]4A]
*EE--FFF 579.0001.265 BT40-XD22-35 120 M10 SK-00210-3

440.0020.071 BT40-2Z10- 90 10.094 90 35 14.5 B10 1.20 540.0002.004 BT40-XD22-90 22 90 50 19 185 10 M10 SK-00210-3 1.9
440.0021.071 BT40-2Z12 - 45 12.065 45 35 18.5 B12 0.93 579.0002.265 BT40-XD27-35 27 35 60 21 122 12 M12 SK-00210-4 1.2
440.0022.071 BT40-2Z12 — 90 12.065 90 3.5 18.5 Bi2 0.94 540.0004.004 BT40-XD27-90 27 90 60 21 177 12 M12 SK-00210-4 2.4
440.0023.071 BT40-2716 - 45 15.733 45 5 24 B16 0.97 579.0003.265 BT40-XD32-50 32 50 80 24 140 14 M16 SK-00210-5 1.9
440.0024.071 BT40-2Z16 — 90 15.733 920 5 24 B16 1.22 540.0006.265 BT40-XD32-90 32 90 80 24 180 14 M16 SK-00210-5 2.7
440.0025.071 BT40-2Z18 — 45 17.780 45 5 32 Bi8 1.03 579.0004.265 BT40-XD40-50 40 50 89 27 143 16 M20 SK-00210-6 2.0
440.0026.071 BT40-2Z18 — 90 17.780 90 5 32 B18 1.37 579.0001.225 BT50-XD22-50 22 50 50 19 171 10 M10 SK-00210-3 3.8
440.0027.071 BT50-Z10 — 45 10.094 45 35 14.5 B10 270 540.0088.004 BT50-XD22-90 22 105 50 19 226 10 M10 SK-00210-3 3.8
440.0028.071 BT50 - Z10 — 105 10.094 105 3.5 14.5 B10 3.08 540.0010.004 BT50-XD22-150 22 150 50 19 271 10 M10 SK-00210-3 4.3
440.0029.071 BT50 —Z12 - 45 12.065 45 35 18.5 B12 272 579.0002.225 BT50-XD27-35 27 50 60 21 173 12 M12 SK-00210-4 3.9
440.0030.071 BT50-Z12 - 105 12.065 105 35 18.5 B16 3.10 540.0012.004 BT50-XD27-90 27 90 60 21 213 12 M12 SK-00210-4 5.3
440.0031.071 BT50 —Z16 — 45 15.733 45 5 24 B16 2.80 540.0013.004 BT50-XD27-150 27 150 60 21 273 12 M12 SK-00210-4 5.9
440.0032.071 BT50 - Z16 — 105 15.733 105 5 24 B16 3.12 579.0003.225 BT50-XD32-50 32 50 80 24 176 14 M16 SK-00210-5 4.1
440.0033.071 BT50 —Z18 — 45 17.780 45 5 32 B18 2.82 540.0015.004 BT50-XD32-9120 32 120 80 24 246 14 M16 SK-00210-5 5.8
440.0034.071 BT50-2Z18 — 105 17.780 105 5 32 B18 311 579.0004.225 BT50-XD40-55 40 55 90 27 184 16 M20 SK-00210-6 45
440.0035.071 BT60-2Z716 -105 15.733 105 5 24 B16 12.47 579.0005.225 BT50-XD50-55 50 55 120 30 187 18 M24 SK-00210-7 5.3
440.0036.071 BT60 -Z18 - 105 17.780 105 5 32 B18 12.46

. PR IS S AR IE T HER S i % T PERFEERPEMITS,




@

IBRE5A

MNAS HMCT GROUP

BTHRTSGEMANEHRRXT AR

BT-TSG Tooling System For Boring And Milling

BTHRTSGEMANEHRRXT AR

BT-TSG Tooling System For Boring And Milling

@

g v

LNVAS HVMCT GROUP

I 55t 7] 4

Face Mill Arbors

540.0007.004
540.0016.004
540.0017.004
540.0018.004
540.0019.004
540.0020.004
540.0021.004

BT40-XD40-60P
BT50-XD40-75P
BT50-XD40-105P
BT50-XD60-75P
BT60-XD40-75P
BT60-XD60-75P
BT60-XD60-75S

40
40
60
40
60
60

75
105
75
75
75
75

20
90
140
90
140
220

27
27
40
27
40
40

156
171
201
217
264
277

277 ©101.6+0177.8 25.4 M16+M20

©66.7
®66.7
D66.7
®101.6
©66.7
®101.6

16
16
25.4
16
25.4

M12
M12
M12
M16
M12
M16

M20  SK-00210-6
M20  SK-00210-6
M20  SK-00210-6
M20  SK-00210-6

5.8

6.3

6.1
21.8
21.5
22.0

oK+ PRATRE

BERBEMITE,

w2° #E|ERTERIIE

Adaptors For Flatted Parallel Shanks

420.0506.265
420.0508.265
420.0510.265
420.0512.265
420.0514.265
420.0516.265
420.0518.265
420.0520.265
420.0525.265
420.0532.265
420.0606.225
420.0608.225
420.0610.225
420.0612.225
420.0614.225
420.0616.225
420.0618.225
420.0620.225
420.0625.225
420.0632.225

BT40-XPD6-50
BT40-XPD8-50
BT40-XPD10-63
BT40-XPD12-63
BT40-XPD14-63
BT40-XPD16-63
BT40-XPD18-63
BT40-XPD20-63
BT40-XPD25-90
BT40-XPD32-100
BT50-XPD6-50
BT50-XPD8-50
BT50-XPD10-63
BT50-XPD12-80
BT50-XPD14-80
BT50-XPD16-80
BT50-XPD18-80
BT50-XPD20-80
BT50-XPD25-100
BT50-XPD32-105

8
10
12
14
16
18
20
25
32

10
12
14
16
18
20
25
32

50
63
63
63
63
63
63
90
100
63
63
63
80
80
80
80
80
100
105

28
35
42
44
48
50
52
65
72
25
28
35
42
44
48
50
52
65
72

116
116
129
129
129
129
129
129
156
166
165
165
165
182
182
182
182
182
202
207

+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.007
+0.007
+0.007
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.007
+0.007
+0.007

1.1
1.2
1.3
1.3
1.4
1.4
1.4
2.2
2.1
3.7
3.8
3.8
4.0
4.0
4.0
4.0
4.1
4.7
52

Kl



@

IBRE5A

MNAS HMCT GROUP

BTHRTSGEMANEHRRXT AR

BT-TSG Tooling System For Boring And Milling

BTARTSGEMANEHRLXTE RS

BT-TSG Tooling System For Boring And Milling

@

g v

LNVAS HVMCT GROUP

HIFEE T R IIHH

Adaptors For Flatted Parallel Shanks

420.0011.265
420.0012.265
420.0003.265
420.0004.265
420.0044.265
420.0005.265
420.0048.265
420.0006.265
420.0007.265
420.0008.265
420.0011.225
420.0012.225
420.0013.225
420.0004.225
420.0044.225
420.0005.225
420.0048.225
420.0006.225
420.0007.225
420.0018.225
440.0044.009
440.0045.009
440.0047.009
440.0048.009
440.0049.009
440.0050.009
440.0051.009

BT40-XP6-50
BT40-XP8-50
BT40-XP10-63
BT40-XP12-63
BT40-XP14-63
BT40-XP16-63
BT40-XP18-63
BT40-XP20-63
BT40-XP25-90
BT40-XP32-100
BT50-XP6-50
BT50-XP8-50
BT50-XP10-63
BT50-XP12-80
BT50-XP14-80
BT50-XP16-80
BT50-XP18-80
BT50-XP20-80
BT50-XP25-100
BT50-XP32-105
BT50-XP40-125
BT50-XP50-125
BT60-XP25-110
BT60-XP32-125
BT60-XP40-125
BT60-XP50-125
BT60-XP63-180

8
10
12
14
16
18
20
25
32

10
12
14
16
18
20
25
32
40
50
25
32
40
50
63

50
63
63
63
63
63
63
90
100
63
63
63
80
80
80
80
80
100
105
125
125
110
125
125
150
150

28
35
42
44
48
50
52
65
72
25
28
35
42
44
48
50
52
65
72
90
100
65
72
920
100
130

23
36
36
36
36
36
36
63
73
25
25
25
42
42
42
42
42
62
67
87
87
62
77
77
102
132

116
116
129
129
129
129
129
129
156
166
165
165
165
182
182
182
182
182
202
207
227
227
272
287
287
312
342

+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.007
+0.007
+0.007
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.005
+0.007
+0.007
+0.007
+0.007
+0.007
+0.009
+0.007
+0.007
+0.009
+0.009

1.1
1.2
1.3
1.3
1.4
1.4
1.4
2.2
2.7
3.7
3.8
3.8
4.0
4.0
4.0
4.0
4.1
4.7
6.1
5.7
5.7
13.2
141
15.0
15.4
15.9

_ ]l 2

Tap Adaptors

D(H7)

dl

[GiEET2m|
R E—

ﬁil'i'%"‘iifjflm
 EE—

440.0001.265
440.0109.161
440.0002.265
440.0111.161
440.0001.225
440.0113.161
440.0114.161
440.0115.161

BT40-G3-66.5
BT40-G3-120
BT40-G8-93.5
BT40-G8-150

BT50-G8-101.5

BT50-G8-180
BT50-G14-140
BT50-G14-200

+ X B ZHERENEIERHERS;

X RALHRETERAAMITES

63
63
63
100
100
100
100

131.9
185.4
158.9
215.4
203.3
281.8
241.8
301.8

66.5
120
93.5
150

1015
180
140
200

19
31
31
31
31
48
48

36
53
53
53
53
78
78

7.5
15
15
15
15
23
23

6.5
8.5
8.5
8.5
8.5
15
15

—(M3-M12)
G3-(M3-M12)
G8-(M8-M20)
G8-(M8-M20)
G8-(M8-M20)
G8-(M8-M20)

G14—(M14-M33)
G14-(M14-M33)

3.36
4.67
3.88
5.32
13.26
18.37
14.90
18.98

=



@

IBRE5A

MNAS HMCT GROUP

BTWRTSGEMHFXESLTE RS

BT-TSG Tooling System For Boring And Milling

BTARTSGEMANEHRLXTE RS

BT-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

=59, ®RIW

Shell Boring and Reaming Cutters Arbors

Ll

WITTITTT
L

== |

_LL4:JI‘\.
u
|

[

440.0350.081
440.0351.081
440.0352.081
440.0353.081
440.0354.081
440.0355.081
440.0356.081
440.0357.081
440.0358.081
440.0359.081
440.0360.081
440.0361.081
440.0025.081
440.0026.081
440.0027.081
440.0028.081
440.0029.081
440.0030.081
440.0031.081
440.0032.081
440.0033.081
440.0034.081
440.0035.081
440.0036.081
440.0037.081

BT40 - KJ13 - 90
BT40 - KJ13 - 150
BT40 - KJ16 - 100
BT40 - KJ16 - 185
BT40 - KJ19-120
BT40 - KJ19 - 200
BT40 - KJ22 - 130
BT40 - KJ22 - 225
BT40 - KJ27 - 150
BT40 - KJ27 — 225
BT40 - KJ32-120
BT40 - KJ32 - 200
BT50 - KJ13 - 100
BT50 - KJ13 - 185
BT50 - KJ16 - 100
BT50 - KJ16 - 185
BT50 - KJ19-120
BT50 - KJ19 — 200
BT50 - KJ22 - 130
BT50 — KJ22 - 225
BT50 - KJ27 - 150
BT50 — KJ27 — 225
BT50 - KJ32 - 120
BT50 - KJ32 - 200
BT60 - KJ32 - 120

13
16
16
19
19
22
22
27
27
32
32
13
13
16
16
19
19
22
22
27
27
32
32
32

150
100
185
120
200
130
225
150
225
120
200
100
185
100
185
120
200
130
225
150
225
120
200
120

45
50
50
56
56
63
63
71
71
80
80
45
45
50
50
56
56
63
63
71
71
80
80
80

24
31
31
35
35
40
40
50
50
54
54
24
24
31
31
35
35
40
40
50
50
54
54
54

28
31
36
35
40
40
46
50
56
54
60
24
28
31
36
35
40
40
46
50
56
54
60
54

®25- ®35
®25- ®35
©36- D45
®36- D45
D46 - D52
D46 - D52
55— 062
D55- D62
®65- D75
®65- D75
®80- ®Y0
®80- ©90
®25- ®35
®25- ®35
©36- D45
®36- D45
D46 - D52
D46 - D52
55— 062
D55- D62
®65- D75
®65- D75
®80- ®I0
®80- ©90
®80- ©90

®25- ©30
®25- ®30
®32- 035
®32- 035
®36- ®42
®36 - 42
D45 - ©50
®45 - ©50
®52 - ©60
®52 - ©60
®62- 070
®62- 070
®25- 030
®25- ®30
®32- 035
®32- 035
®36- ®42
®36 - 42
D45 - ©50
®45 - ©50
®52 - ©60
®52 - ©60
®62- 070
®62- 070
®62- 070

1.30
1.45
1.34
1.83
1.60
2.20
2.03
2.72
2.62
3.50
2.67
4.03
2.96
3.14
3.68
4.50
4.78
4.98
5.10
5.82
6.04
6.80
7.06
8.70
11.21

R B HE 5 T4

Angular Mounting Square Bits Boring Bars

440.0090.022
440.0091.022
440.0092.022
440.0093.022
440.0094.022
440.0095.022
440.0096.022
440.0097.022
440.0098.022
440.0099.022
440.0100.022
440.0113.022
440.0114.022
440.0115.022
440.0116.022
440.0117.022
440.0118.022
440.0119.022
440.0120.022
440.0121.022
440.0122.022
440.0123.022
440.0124.022
440.0127.022
440.0128.022
440.0129.022
440.0130.022

BT40-TQC25-135
BT40 - TQC30 - 165
BT40-TQC38 - 180
BT40 - TQC42 -210
BT40 - TQC50 - 180
BT40 - TQC50 - 225
BT40 - TQC62 - 180
BT40 - TQC62 — 240
BT40-TQC72-180
BT40 - TQC72 - 240
BT40 - TQC90 - 180
BT50 - TQC25 - 135
BT50 - TQC30 - 165
BT50 - TQC38 — 180
BT50 - TQC42-210
BT50 - TQC50 - 180
BT50 — TQC50 - 240
BT50 - TQC62 - 195
BT50 - TQC62 - 270
BT50 - TQC72 - 195
BT50 - TQC72 - 285
BT50 - TQC90 - 210
BT50 — TQC90 - 300
BT60 - TQC50 - 240
BT60 - TQC62 - 270
BT60 - TQC72 - 285
BT60 - TQC90 - 300

®25- 038
®30- ©42
®38- ®50
P42 - ©56
®50 - ©65
®50- ©65
®62- ©90
®62 - ©90
®72- 0110
®72- 0110
®90- ®125
®25- 038
®30- ®42
®38 - ®50
®42 - ©56
®50- ©65
®50 - ©65
®62 - ©90
®62- ©90
®72- 0110
®72- 0110
®90- ®125
®90- ®125
®50- 65
®62- ©90
®72- 0110
®90- ®125

135
165
180
210
180
225
180
240
180
240
180
135
165
180
210
180
240
195
270
195
285
210
300
240
270
285
300

24
30
34
40
40
50
50
60
60
75
20
24
30
34
40
40
50
50
60
60
75
75
40
50
60
75

22
26
33
37
44
44
56
56
66
66
66
22
26
33
37
44
44
56
56
60
60
80
80
44
56
60
80

8
8
10
10
13
13
16
16
19
1S
19
8
8
10
10
13
13
16
16
19
19
i)
19
13
16
19
19

TQC8-30-45-L
TQC8-37-45-L

TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L

QC16-79-45-L

TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L

TQC8-30-45-L
TQC8-37-45-L

TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L

QC16-79-45-L

TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC19-116-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC19-90-45-L

M6x13
M8x13
M6x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M6x13
M6x13
M8x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M12x13
M10x13
M12x13
M12x13

TQC19-116-45-L M12x13

M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M12x24
M8x10
M12x15
M12x18
M12x24

1.46
1.34
1.69
2.15
2.38
2.78
2.97
4.11
3.41
5.36
4.9
2.94
3.14
3.51
3.83
5.25
4.73
5.30
5.64
7.18
8.99
9.05
11.98
14.6
14.65
16.53
18.4

i % TQCERMEEE T HARS

K



@

IBRE5A

MNAS HMCT GROUP

BTHRTSGEMANEHRRXT AR

BT-TSG Tooling System For Boring And Milling

BTARTSGEMANEHRLXTE RS

BT-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

HAZHEETIH

Mounting Square Bite Boring Bars with Radial Adjustment

440.0001.023

440.0002.023

440.0003.023

440.0004.023

440.0005.023

440.0006.023

440.0007.023

440.0008.023

440.0009.023

440.0010.023

440.0023.023

440.0024.023

440.0025.023

BT40-TZC25-135

BT40-TZC38 - 180

BT40-TZC50 - 180

BT40 - TZC50 - 225

BT40-TZC62 - 180

BT40-TZC62 - 180

BT40-TZC72-180

BT40-TZC72 - 225

BT40-TZC90 - 180

BT40 - TZC90 - 225

BT50 - TZC25 - 135

BT50 - TZC38 - 180

BT50 - TZC50 - 180

®25- ©50

®38- ®70

O50- ©90

®50- ©90

®62- 115

®62- d115

®72- 0135

®72- ®135

®90- ©150

®90 - ®150

®25- ©50

®38- d70

®50- ®90

135

180

180

225

180

225

180

225

180

225

135

180

180

20

30

40

40

50

60

60

75

75

20

30

40

33

44

44

56

56

66

66

66

66

22

33

44

10

13

13

16

16

19

19

19

19

10

13

A & -

1

=

I

TZC8-20-90-L
TZC8-29-90-L
TZC10-32-90-L
TZC10-49-90-L
TZC13-43-90-L
TZC13-64-90-L
TZC13-43-90-L
TZC13-64-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC8-20-90-L
TZC8-29-90-L
TZC10-32-90-L
TZC10-49-90-L
TZC13-43-90-L
TZC13-64-90-L

M6x15

M8x15

M10x15

M10x15

M12x15

M12x15

M12x15

M12x15

M12x15

M12x15

M6x15

M8x15

M10x15

M6x6

M8x10

M10x14

M10x14

M12x18

M12x18

M12x22

M12x22

M12x30

M12x30

M6x6

M6x6

M10x14

1.79

2.61

3.00

3.42

3.94

4.36

4.83

5.60

6.74

2.94

3.57

4.28

HAZVHEETIHT

Mounting Square Bite Boring Bars with Radial Adjustment

1

=

I

440.0026.023

440.0027.023

440.0028.023

440.0029.023

440.0030.023

440.0031.023

440.0032.023

440.0033.023

440.0034.023

440.0037.023

440.0038.023

440.0039.023

440.0040.023

BT50 - TZC50 - 240

BT50 - TZC62 - 195

BT50 - TZC62 - 270

BT50 -TZC72 - 195

BT50-TZC72 - 285

BT50 - TZC90 - 210

BT50 - TZC90 - 300

BT50 - TZC105 - 195

BT50 - TZC105 - 285

BT60 - TZC62 - 270

BT60 - TZC72 - 285

BT60-TZC90 - 300

BT60 - TZC105 - 300

®50- ®90

®62- ®115

®62- 115

®72- D135

®72- 0135

®90 - ®150

®90- ®150

®105- ®190

®105- ®190

®62- d115

®72- 0135

®90 - ®150

®105- ®190

240

195

270

195

285

210

300

195

285

270

285

300

300

40

50

50

60

60

5,

75

90

90

50

60

5

90

56

56

66

66

80

80

90

94

56

66

80

94

16

16

19

19

19

19

25

25

16

19

19

25

TZC13-43-90-L
TZC13-64-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC25-91-90-L
TZC25-136-90-L
TZC25-91-90-L
TZC25-136-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC25-91-90-L
TZC25-136-90-L

M10x15

M12x15

M12x15

M12x15

M12x15

M12x15

M12x15

M16x15

M16x15

M12x15

M12x15

M12x15

M16x15

M10x14

M12x18

M12x18

M12x22

M12x22

M12x30

M12x30

M16x34

M16x34

M12x18

M12x22

M12x30

M16x34

5.54

6.57

6.74

9.1

9.63

12.94

10.53

15.4

15.92

18.45

22.29

24.75

i X TZCEMEESE T MHERSY;
¥ AMERAFTZWARAIRET], RHERS .

=



@ BEEH

MNAS HMCT GROUP

BTHRTSGEMANEHRRXT AR

BT-TSG Tooling System For Boring And Milling

BTARTSGEMANEHRLXTE RS

BT-TSG Tooling System For Boring And Milling

@ BEEH

LNVAS HVMCT GROUP

R B ROR AT

Angular Mounting Micro—adjustable Boring Bars

440.0049.031
440.0050.031
440.0051.031
440.0052.031
440.0053.031
440.0054.031
440.0055.031
440.0056.031
440.0057.031
440.0058.031
440.0079.031
440.0080.031
440.0081.031
440.0082.031
440.0083.031
440.0084.031
440.0085.031
440.0086.031
440.0087.031
440.0088.031
440.0089.031
440.0090.031
440.0376.031
440.0377.031
440.0378.031
440.0379.031
440.0380.031
440.0381.031

BT40 - TQW38 - 150
BT40 - TQW38 - 210
BT40 - TQW48 - 150
BT40 - TQW48 - 210
BT40-TQW62 - 150
BT40 - TQW62 - 210
BT40 - TQW82 - 150
BT40 - TQW82 - 210
BT40 - TQW105 - 150
BT40 - TQW105 - 210
BT50 - TQW38 - 165
BT50 - TQW38 - 195
BT50 - TQWA48 - 165
BT50 - TQWA48 - 255
BT50 - TQW62 - 240
BT50 - TQW62 - 300
BT50 - TQW82 - 240
BT50 - TQW82 - 315
BT50 - TQW105 - 240
BT50 - TQW105 - 315
BT50 - TQW135-210
BT50 - TQW165 - 210
BT60 - TQW48 — 255
BT60 - TQW62 - 300
BT60 - TQW82 - 315
BT60 - TQW105 - 315
BT60 - TQW135-315
BT60 - TQW165 - 315

E: % TQWiRASE 71 RHARS

_lllle

®38- O50
®38- ©50
48 - 065
48— 065
D62 ©85
62— 085
®82- 0110
®82- 0110
®105- ®140
®105- ®140
O38- ®50
®38- ©50
48 - 065
D48 - 065
62— 085
62— ©85
o8- ®110
®82- 0110
®105- ®140
®105- ®140
®135- ®170
165 - ®200
D48 - ©65
62— 085
®82- 0110
®105- ®140
®135- ®170
®165 - ®200

150
210
150
210
150
210
150
210
150
210
165
195
165
255
240
300
240
315
240
315
210
210
255
300
315
315
315
315

35
41
41
54
54
68
68
85
85
35
35
41
41
54
54
68
68
85
85
114
144
41
54
68
85
114
144

38
44
45
53
56
60
60
60
60
37
38
44
45
55
56
72
74
90
90
90
90
44

55
72
90
90
90

TQW38
TQW38
TQW48
TQW48
TQW62
TQW62
TQWS82
TQWS82
TQW105
TQW105
TQW38
TQW38
TQW48
TQW48
TQW62
TQW62
TQWS82
TQWS82
TQW105
TQW105
TQW135
TQW135
TQW48
TQW62
TQWS82
TQW105
TQW135
TQW135

M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15
M6x15
Méx15
M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M5x12
M5x12
M6x15
M6x15
M6x15
M6éx15
M3x10
M3x10
M5x12
M5x12
M6x15
M6éx15

Méx10
M6x10
M6x12
Méx12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
Méx10
M6x10
Méx12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M10x30
M10x30
Méx12
M6éx12
M8x15
M8x15
M10x20
M10x20

1.66
2.06
2.13
2.77
2.99
4.10
3.92
5.24
4.96
6.70
3.70
3.80
4.07
4.80
6.40
7.90
8.50
11.8
124
14.8
14.5
17.4
13.42
15.75
17.85
21.75
23.85
26.75

AT SE Sk TR

Adjustable Shanks of Boring Heads

HRC53-58

440.0010.020
440.0003.020
440.0030.020

90 16
90 16

BT40-TK16 - 150
BT50 - TK16 — 150
BT60 - TK16 - 150

TD1-16;TD2-16;TD3-16;TD4-16
TD1-16;TD2-16;TD3-16;TD4-16
TD1-16;TD2-16;TD3-16;TD4-16

* ELAASE TIMHERSY o

i X SETITDI-16E —REEHISEE AP 8 -068, B - HEEISEE AHD56-d124;
* $2T1TD2-16 58— $2HISE Bl AP16-076,
% §¥71TD3-165 — 52 HI5E Bl A P30-090,
% $#7]TD4-1652 HI3E Bl A9 145-9320;

FE_REHIEEAPT2-0132;
F_REHIEE HO86-D146;

K=



@ BEEH

MNAS HMCT GROUP

BTHRTSGEMANEHRRXT AR

BT-TSG Tooling System For Boring And Milling

BTARTSGEMANEHRLXTE RS

BT-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

58 J1 5 K K TR

Strong Chuck Holder for Boring and Milling

740.0219.111
740.0220.111
740.0221.111
740.0222.111
740.0223.111
740.0224.111
740.0225.111
740.0226.111
740.0227.111
740.0228.111
740.0229.111
740.0230.111
740.0231.111
740.0232.111
740.0233.111
740.0234.111
740.0235.111
740.0236.111
740.0237.111
740.0238.111
740.0239.111
740.0240.111
740.0241.111
740.0242.111
740.0242.111
740.0243.111
740.0244.111
740.0261.111
740.0262.111
740.0263.111
740.0264.111
740.0265.111

I

BT30-XJT20-90

BT30-XJT20-110
BT40-XJT20-110
BT40-XJT20-160
BT40-XJT20-200
BT40-XJT25-110
BT40-XJT25-160
BT40-XJT25-200
BT40-XJT32-110
BT40-XJT32-160
BT40-XJT32-200
BT50-XJT20-110
BT50-XJT20-160
BT50-XJT20-200
BT50-XJT25-110
BT50-XJT25-160
BT50-XJT25-200
BT50-XJT32-110
BT50-XJT32-140
BT50-XJT32-160
BT50-XJT32-200
BT50-XJT40-120
BT50-XJT40-160
BT50-XJT40-200
BT50-XJT50-140
BT50-XJT50-160
BT50-XJT50-200
BT60-XJT20-130
BT60-XJT20-160
BT60-XJT20-200
BT60-XJT25-130
BT60-XJT25-160

30
40
40
40
40
40
40
40
40
40
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60

20
20
20
20
25
25
25
32
32
32
20
20
20
25
25
25
32
32
32
32
40
40
40
50
50
50
20
20
20
25
25

58
58
58
58
65
65
65
73
73
73
58
58
58
65
65
65
73
73
73
73
88
88
88
105
105
105
58
58
58
65
65

110
110
160
200
110
160
200
110
160
200
110
160
200
110
160
200
110
140
160
200
120
160
200
140
160
200
110
160
200
110
160

55-62
55-62
55-62
55-62
55-62
68-72
68-72
68-72
68-72
68-72
68-72
55-62
55-62
55-62
68-72
68-72
68-72
68-72
68-72
68-72
68-72
78-85
78-85
78-85

100-110
100-110
100-110

55-62
55-62
55-62
68-72
68-72

58 J1 5 K K TR

Strong Chuck Holder for Boring and Milling

740.0266.111
740.0267.111
740.0268.111
740.0269.111
740.0270.111
740.0271.111
740.0272.111
740.0273.111
740.0274.111
740.0275.111

BT60-XJT25-200
BT60-XJT32-130
BT60-XJT32-160
BT60-XJT32-200
BT60-XJT40-130
BT60-XJT40-160
BT60-XJT40-200
BT60-XJT50-140
BT60-XJT50-160
BT60-XJT50-200

A #EARFEESRMITS,
KW RIFEM T BERIEERAZ Hh6,

MEARAMRFREEMNER, TRAFEREESHNTE,

¥ L=3d4b1Z [ Bk Eh#E £ <0.007mm,

60
60
60
60
60
60
60
60
60

32
32
32
40
40
40
50
50
50

73
73
73
88
88
88
105
105
105

130
160
200
130
160
200
140
160
200

68-72
68-72
68-72
68-72
78-85
78-85
78-85

100-110
100-110
100-110

Bl



BEEHA STIRTSGE At fEst % T A 2% STIRTSGEF et % T A R % BEEH

[/NAS HVICT GROUP ST-TSG Tooling System For Boring And Milling ST-TSG Tooling System For Boring And Milling [/NAS HMCT GROUP

rh E R EHERR
Taper Shanks Type of China E4x GB/T 3837-2001%31F1S0297-1988E (F#h# &)

STIHTSGEANEHEXT A RS

I E AR AE AT - vveermmererereeermmmmmmnanneeeenennne C 01
ERZAZE L JIHF - ovvevevermermeemeenenneeneeeasnnnnnnsC 02

ST TIE I veeevvveeerrneesinneesireeeniieennnns Cco3

S R R BIEFLTIA e vvvrreeerrereeeessnnnes C 04

R RE R BISEFLIIAT - vvveeeerrrneeeeesnnnees C 05

ST G TTHE o vveevrreesrnreesneeeirneeeine e e C 06

T3y | - T OO C 07 | I = e =‘#=ﬁ§ I .:

e s Iy | s SRR cos Y 5 i

Bl TEFY TIH v veevveeerererneesnesinessnesirneee e C 09

O R N I
BERY . G T weeervrrerreeeeemmrnnrineieaeaanns C11 21:3 :::: 93:.35 x;j 192?;1 :; ;2 ziz ;2;
BB FTEETE S e vvereeeereeee e C12 ST60 107.95 156 M30 206.8 16 32 60.0 25.7
(AL B HAGE TIFF e vevvreervrrnnnaenvernaeannannns C 13

B EAAGE TIF oo evvrrvrreeeemememnnnnennnennas C14

TS EOE o) [t = T OO RSRPPR C 16

B THGE S TTAH - vveevvreersnreesneensneenisneenanens C17

o liljc



@

IBRE5A

MNAS HMCT GROUP

STHTSGEARES®LTE RS

ST-TSG Tooling System For Boring And Milling

STHTSGEMAREHRLTHEERS

ST-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

ER3# 2 32 3k T1 4%

ER

Collet Chucks

_cllllo2

640.0141.040
640.0142.040
640.0143.040
640.0144.040
640.0145.040
640.0146.040
640.0147.040
640.0148.040
640.0149.040
640.0150.040
640.0151.040
640.0152.040
640.0153.040
640.0154.040
640.0155.040
640.0156.040
640.0157.040
640.0158.040
640.0159.040
640.0160.040

ST40 -ER16-70
ST40-ER16-120
ST40 -ER20-70
ST40 -ER20-120
ST40 -ER25-70
ST40 -ER25-120
ST40 -ER32-70
ST40 -ER32-120
ST40 -ER40-80
ST40 -ER40-120
ST50 -ER16-100
ST50 -ER16-150
ST50 -ER20-100
ST50 -ER20-150
ST50 -ER25-100
ST50 -ER25-150
ST50 -ER32-100
ST50 -ER32-150
ST50 -ER40-100
ST50 -ER40-150

: % EREBSIHITDINGAOIMR A ;
* ERFEFERMITE,
¥ TIMAFHAHR, FERMITYER. ----CRN%S R ZIZIEfZ2E, ERHES.

HBIRHERSY;

3~10
3~10
3-13
3-13
4-16
4-16
4~20
4~20
5-26
5-26
3~10
3~10
3-13
3-13
4-16
4-16
4~20
4~20
5-26
5-26

28
34
34
42
42
50
50
63
63
28

28
34
34
42
42
50
50

63
63

120
70

120
70

120
70

120
80

120
100
150
100
150
100
150
100
150
100
150

28~35
28~35
28~35
28~35
38~42
38~42
45-~52
45~52
55~62
55~62
28~35
28~35
28~35
28~35
38~42
38~42
45~52
45~52
55~62
55~62

ER16
ER16
ER20
ER20
ER25
ER25
ER32
ER32
ER40
ER40
ER16
ER16
ER20
ER20
ER25
ER25
ER32
ER32
ER40
ER40

3J1-346
3J1-346
3J1-347
3J1-347
3J1-348
3J1-348
3J1-349
3J1-349
3J1-350
3J1-350
3J1-346
3J1-346
3J1-347
3J1-347
3J1-348
3J1-348
3J1-349
3J1-349
3J1-350
3J1-350

1.76
1.22
1.88
1.26
1.92
1.28
1.96
2.02
2.56
3.32
3.38
3.46
3.52
3.33
3.40
3.45
3.51
3.58
3.68

=mE 7S TIR

Side Milling Cutter Arbor

440.0041.000
440.0042.000
440.0043.000
440.0044.000
440.0045.000
440.0046.000
440.0047.000
440.0048.000
440.0049.000
440.0050.000
440.0051.000
440.0052.000
440.0053.000
440.0054.000
440.0055.000
440.0056.000
440.0057.000
440.0094.000
440.0095.000
440.0058.000
440.0059.000
440.0060.000

i oK BEBEMITHRE, RAME, 464, THERAO16~040M TR, HEEESH A3, 5. 7. 8. 10, 12,

W E R A O50~ 060K TIHE, HEEEASIH4. 6. 8. 10, 12, 15,

ST40-XS16- 75
ST40-XS16-105
ST40-XS22 - 75
ST40 - XS22 - 120
ST40-XS27 - 75
ST40 - XS27 - 120
ST40-XS32 - 90
ST50 - XS16 - 90
ST50 - XS16 - 120
ST50 - XS22 - 90
ST50 - XS22 - 135
ST50 - XS27 — 90
ST50 - XS27 - 135
ST50 - XS32 - 90
ST50 - XS32-135
ST50 - XS40 - 90
ST50 - XS40 - 135
ST50 - XS50 - 90
ST50 - XS50 - 135
ST60 - XS40-135
ST60 — XS50 - 135
ST60 - XS60 - 135

16
22
22
27
27
32
16
16
22
22
27
27
32
32
40
40
50
50
40
50
60

26
34
34
40
40
46
26
26
34
34
40
40
46
46
55
55
68
68
55
68
84

105
75
120
75
120
90
90
120
90
135
90
135
90
135
90
135
90
135
135
135
135

46
51
51
55
55
60
46
46
51
51
55
55
60
60
66
66
85
85
66
85

105

0 N N o o B O NN O O B>

ey}

10
10
12
12
10
12
14

3J1-310-16
3J1-310-16
3J1-310-22
3J1-310-22
3J1-310-27
3J1-310-27
3J1-310-32
3J1-310-16
3J1-310-16
3J1-310-22
3J1-310-22
3J1-310-27
3J1-310-27
3J1-310-27
3J1-310-32
3J1-310-40
3J1-310-40
3J1-310-50
3J1-310-50
3J1-310-40
3J1-310-50
3J1-310-60

®50
63
®63
®80
®80
®100,0125
®50
50
®63
®63
®80
®80
®100,9125
®100,0125
® 160,200
® 160,200
®200, 9250
®200,9250
® 160,200
®200, ®250
®250, ®315

1.29
1.46
1.17
1.95
2.01
2.65
2.52
3.11
3.42
3.54
3.86
3.93
4.46
551
5.57
5.34
5.66
6.20
6.65
14.69
14.80
15.42

osliljc



@

IBRE5A

MNAS HMCT GROUP

STIRTSGEMAREHLXT AR

ST-TSG Tooling System For Boring And Milling

STHTSGEMAREHRLTHEERS

ST-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

whERERKEHEFL I

Adaptor Sleeves for Morse Taper with Tang

MT.No

f -

TrREEREHEFL IR

Adaptor Sleeves for Morse Taper Without Tang

440.0053.050 ST40-M1 - 45 1 12.065 0.87 440.0061.055 ST40 - MW1 - 50 1 12.065 0.96
440.0054.050 ST40-M1-120 1 12.065 25 120 1.23 440.0062.055 ST40 - MW2 - 60 2 60 M10 17.780 32 1.14
440.0055.050 ST40-M2 - 60 2 17.780 32 60 1.05 440.0063.055 ST40 —-MW3-75 3 75 M12 23.825 40 2.16
440.0056.050 ST40-M2 - 120 2 17.780 32 120 1.62 440.0065.055 ST50 —MW1 - 50 1 50 M6 12.065 25 2.62
440.0057.050 ST40-M3 - 75 3 23.825 40 75 1.36 440.0066.055 ST50 - MW2 - 50 2 50 M10 17.780 32 2.88
440.0058.050 ST40-M3-135 3 23.825 40 135 2.23 440.0067.055 ST50 - MW3 - 60 3 60 M12 23.825 40 3.90
440.0059.050 ST40-M4 - 95 4 31.267 50 95 2.36 440.0068.055 ST50 - MW4 - 100 4 100 M16 31.267 50 4.31
440.0060.050 ST40 - M4 - 165 4 31.267 50 165 2.75 440.0069.055 ST50 - MW5 - 130 5 130 M20 44.399 70 4.72
440.0061.050 ST50-M1 - 45 1 12.065 25 45 4.40 440.0072.055 ST60 - MW3 - 100 3 100 M12 23.825 40 9.65
440.0062.050 ST50 - M1-120 1 12.065 25 120 4.52 440.0073.055 ST60 - MW4 — 100 4 100 M16 31.267 50 9.86
440.0063.050 ST50-M2 - 45 2 17.780 32 45 4.35 440.0074.055 ST60 — MW5 - 100 5 100 M20 44.399 70 9.87
440.0064.050 ST50-M2 - 135 2 17.780 32 135 3.72 440.0075.055 ST60 - MW6 — 150 6 150 M24 63.348 90 12.01
440.0065.050 ST50-M3 - 60 3 23.825 40 60 2.90

440 0066.050 ST50 - M3 — 150 3 23,805 40 150 430 % EREANTEMBHERERE, FFEGB/T1443-HME, HERREHITATIR,

440.0067.050 ST50 - M4 - 90 4 31.267 50 90 3.12

440.0068.050 ST50 - M4 - 180 4 31.267 50 180 5.44

440.0069.050 ST50-M5-115 5 44.399 63 115 3.70

440.0070.050 ST50 - M5 -210 5 44.399 63 210 6.32

440.0071.050 ST60 - M3 -190 3 23.825 40 190 10.06

440.0072.050 ST60 — M3 - 250 3 23.825 40 250 10.25

440.0073.050 ST60 - M4 -210 4 31.267 50 210 10.55

440.0074.050 ST60 - M4 - 270 4 31.267 50 270 10.80

440.0075.050 ST60 — M5 - 240 5 44.399 63 240 12.36

440.0076.050 ST60 — M5 — 300 5 44.399 63 300 12.95

440.0077.050 ST60-M6 —170 6 63.348 90 170 12.49

440.0078.050 ST60 - M6 - 310 6 63.348 90 310 15.38

X BREANTEMRBNEREE, FEGB/T1443- HHME, HHAEZMITATIR,

_cllllo osliljc



@

IBRE5A

MNAS HMCT GROUP

STIRTSGEMAREHLXT AR

ST-TSG Tooling System For Boring And Milling

STHTSGEMAREHRLTHEERS

ST-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

BT TR

Shell End Mill Arbors

440.0039.001
440.0040.001
440.0041.001
440.0042.001
440.0043.001
440.0044.001
440.0045.001
440.0046.001
440.0047.001
440.0048.001
440.0049.001
440.0050.001
440.0051.001
440.0052.001
440.0053.001
440.0054.001
440.0055.001
440.0056.001
440.0057.001

ST40-XM16 - 75
ST40 - XM16 - 120
ST40 - XM22 - 75
ST40 - XM22 - 120
ST40 - XM27 - 75
ST40 - XM27 - 105
ST40 - XM32 - 75
ST50 - XM16 — 75
ST50 - XM16 — 120
ST50 - XM22 - 75
ST50 - XM22 - 120
ST50 - XM27 — 75
ST50 — XM27 — 105
ST50 - XM32 - 75
ST50 - XM40 - 75
ST50 - XM50 — 75
ST60 - XM32 - 75
ST60 - XM40 — 90
ST60 — XM50 — 120

16
22
22
27
27
32
16
16
22
22
27
27
32
40
50
32
40
50

32
40
40
48
48
58
32
32
40
40
48
48
58
70
90
58
70
20

120
75
120
75
105
75
73
120
75
120
75
105
73
75
75
75
90
120

17
19
1K)
21
21
24
17
17
19
19
21
21
24
27
30
24
27
30

10
10
12
12
14

10
10
12
12
14
16
18
14
16
18

M8

M10
M10
M12
M12
M16
M8

M8

M10
M10
M12
M12
M16
M20
M24
M16
M20
M24

40
®50
50
®63 80
®63 80
®100
40
®40
50
®50
®63 80
®63 ®80
®100
o125
® 160
®100
®125
D160

1.22
1.5
1.49
1.97
1.86
2.25
222
3.07
3.88
3.30
3.77
3.66
4.05
3.84
5.36
5.45
13.19
14.71
14.80

_cllllo

i 55t J) 4

Face Mill Arbors

L

-

I
i

m

540.0064.004
540.0065.004
540.0066.004
540.0067.004
540.0068.004
540.0069.004
540.0070.004
540.0071.004
540.0072.004
540.0073.004
540.0074.004
540.0075.004
540.0076.004
540.0077.004
540.0078.004
540.0079.004
540.0080.004
540.0081.004
540.0082.004
540.0083.004
540.0084.004

ST40-XD22 - 45
ST40 - XD22 - 90
ST40 - XD27 - 60
ST40 - XD27 - 90
ST40 - XD32 - 60
ST40-XD32 - 90
ST40 - XD40 - 60(P)
ST50 - XD22 - 60
ST50 - XD22 - 105
ST50 - XD22 - 150
ST50 - XD27 - 60
ST50 - XD27 — 90
ST50 - XD27 - 150
ST50 - XD32 - 75
ST50 - XD32 - 120
ST50 - XD40 - 75(P)

ST50 — XD40 — 105(P)

ST50 — XD60 — 75P
ST60 - XD40 - 75(P)
ST60 - XD60 — 75P
ST60 - XD60 - 75S

22
27
i
32
32
40
22
22
22
27
27
27
32
32
40
40
60
40
60
60

50
60
60
80
80
90
50
50
50
60
60
60
80
80
90
90
140
90
140
220

90

60

90

60

90

60

60
105
150
60

90

150
75

120
745)

105

75
75
75

19
21
21
24
24
27
19
19
19
21
21
21
24
24
27
27
40
27
40

- 10
- 12
- 12
- 14
- 14
667 16
- 10
- 10
- 10
- 12
- 12
- 12
- 14
- 14
667 16
©667 16
©101.6 254
667 16
©1016 254

M12
M12
M16
M12
M16

M10
M10
M12
M12
M16
M16
M20
M10
M10
M10
M12
M12
M12
M16
M16
M20
M20

M20

40 01016+01778 25.4 M16+M20 -

SK-00210-3
SK-00210-3
SK-00210-4
SK-00210-4
SK-00210-5
SK-00210-5
SK-00210-6
SK-00210-3
SK-00210-3
SK-00210-3
SK-00210-4
SK-00210-4
SK-00210-4
SK-00210-5
SK-00210-5
SK-00210-6

SK-00210-6

1.19
1.85
1.95
243
2,62
2.68
2.45
3.17
3.74
424
3.49
5.30
5.43
5.34
5.72
5.97
6.28
6.08
21.78
21.45
21.38

ok +FERFREERMITE,

o7lilJc



@ BEEH

MNAS HMCT GROUP

$hk 3 T1HR

Drill Chuck Arbors

@ BEEH

LNVAS HVMCT GROUP

STIRTSGEMAREHLXT AR

ST-TSG Tooling System For Boring And Milling

STHTSGEMAREHRLTHEERS

ST-TSG Tooling System For Boring And Milling

HIER T RIIHH

Adaptors For Flatted Parallel Shanks

440.0037.071 ST40-2710- 45 10.094 14.5 B10 0.92 440.0063.009 ST40-XP12- 50 M12x16 +0.005 1.09
440.0038.071 ST40-710- 90 10.094 ) 35 14.5 B10 1.20 440.0064.009 ST40-XP16- 63 48 16 M14x16 63 +0.005 1.32
440.0039.071 ST40-2712- 45 12.065 45 35 185 Bi2 0.93 440.0065.009 ST40 - XP20 - 63 52 20 M16x16 63 +0.007 1.65
440.0040.071 ST40-712- 90 12.065 90 35 18.5 Bi2 0.94 440.0066.009 ST40 - XP25 - 100 65 25 M18x2x16 100 +0.007 2.82
440.0041.071 ST40-2716- 45 15.733 45 5 24 B16 0.97 440.0067.009 ST40 - XP32-105 72 32 M20x2x20 105 +0.007 2.91
440.0042.071 ST40-716- 90 15.733 920 5 24 B16 1.22 440.0070.009 ST50-XP16- 63 48 16 M14x16 63 +0.005 3.0
440.0043.071 ST40-2718 - 45 17.780 45 5 32 B18 1.03 440.0071.009 ST50 - XP20 - 63 52 20 M16x16 63 +0.007 3.66
440.0044.071 ST40-2718- 90 17.780 9 5 G2 B18 1.37 440.0072.009 ST50 - XP25 - 80 65 25 M18x2x16 80 +0.007 3.83
440.0045.071 ST50-2Z10 - 45 10.094 45 35 145 B10 2.70 440.0073.009 ST50 - XP32 - 100 72 32 M20x2x20 100 +0.007 4.75
440.0046.071 ST50-210-105 10.094 105 35 14.5 B10 3.08 440.0074.009 ST50 - XP40-115 80 40 M20x2x20 115 +0.007 5.66
440.0047.071 ST50-2712 - 45 12.065 45 3.5 18.5 B12 272 440.0075.009 ST50 - XP50 - 125 90 50 M24x2x20 125 +0.009 5.72
440.0048.071 ST50-2712-105 12.065 105 35 18.5 B12 3.10 440.0076.009 ST50 - XP50 — 180 90 50 M24x2x20 180 +0.009 6.00
440.0049.071 ST50-2Z16 - 45 15.733 45 5 24 B16 2.80 440.0077.009 ST60 - XP25 - 100 65 25 M18x2x16 100 +0.007 13.18
440.0050.071 ST50-2716-105 15.733 105 5 24 B16 3.12 440.0078.009 ST60 - XP32 - 100 72 32 M20x2x20 100 +0.007 14.10
440.0051.071 ST50-2718 - 45 17.780 45 5 32 B18 2.82 440.0079.009 ST60 - XP40-115 80 40 M20x2x20 115 +0.007 15.01
440.0052.071 ST50-2718-105 17.780 105 5 32 B18 3.11 440.0080.009 ST60 - XP50 - 125 90 50 M24x2x20 125 +0.009 15.35
440.0053.071 ST60-2716-105 15.733 105 5 24 B16 12.47 440.0081.009 ST60 - XP63 - 150 100 63 M24x2x20 150 +0.011 15.89
440.0054.071 ST60-218-105 17.780 105 5 32 B18 12.46

e K BRASFLMIEERHARS

_cllllos

oo liljc



@

IBRE5A

MNAS HMCT GROUP

STIRTSGEMAREHLXT AR

ST-TSG Tooling System For Boring And Milling

STHTSGEMAREHRLTHEERS

ST-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

Tap Adaptors

D(HT7)

dl

J& #5h £2mm | W 7F 5D £ 1 mm

HRC53-58

X8 . ®IIW

Shell Boring and Reaming Cutters Arbors

L1

ST

P

e o |

_cllll o

440.0116.161
440.0117.161
440.0118.161
440.0119.161
440.0120.161
440.0121.161
440.0122.161
440.0123.161

ST40 - G3-55
ST40 - G3-100
ST40 - G8-80
ST40 - G8-150
ST50 - G8-80
ST50 - G8-150
ST50 - G14-115
ST50 - G14-200

: X B LHEREMEELHERS;

* MALERETERTHMITHE,

148.4
63 1934 100
63 1734 80
63 2434 150

975 2068 80

975 2768 150

975 2418 115

975 3268 200

19
31
31
31
31
48
48

36
53
53
53
53
78
78

[25)
15
15
15
15
23
23

6.5
8.5
8.5
8.5
8.5
15
iS5

G3-(M3-M12)
G3-(M3-M12)
G8—-(M8-M20)
G8—(M8-M20)
G8-(M8-M20)
G8—(M8-M20)
G14-(M14-M33)
G14-(M14-M33)

3.70
4.87
4.22
6.05
12.03
16.35
13.51
18.76

440.0113.081
440.0114.081
440.0115.081
440.0116.081
440.0117.081
440.0118.081
440.0119.081
440.0120.081
440.0121.081
440.0122.081
440.0123.081
440.0124.081
440.0125.081
440.0126.081
440.0127.081
440.0128.081
440.0129.081
440.0130.081
440.0131.081
440.0132.081
440.0133.081
440.0134.081
440.0135.081
440.0136.081
440.0137.081

ST40-KJ13- 90

ST40 - KJ13-150
ST40-KJ16-100
ST40-KJ16-185
ST40-KJ19-120
ST40 - KJ19 -200
ST40 - KJ22 - 130
ST40 - KJ22 - 225
ST40 - KJ27 - 150
ST40 - KJ27 - 225
ST40 - KJ32-120
ST40 - KJ32 - 200
ST50 - KJ13-100
ST50-KJ13-185
ST50 - KJ16 - 100
ST50 - KJ16 - 185
ST50 - KJ19-120
ST50 - KJ19 - 200
ST50 - KJ22 - 130
ST50 - KJ22 - 225
ST50 - KJ27 - 150
ST50 - KJ27 - 225
ST50 - KJ32-120
ST50 - KJ32 - 200
ST60 - KJ32 - 120

13
16
16
19
19
22
22
27
27
32
32
13
13
16
16
19
19
22
22
27
27
32
32
32

150
100
185
120
200
130
225
150
225
120
200
100
185
100
185
120
200
130
225
150
225
120
200
120

45
50
50
56
56
63
63
71
71
80
80
45
45
50
50
56
56
63
63
71
71
80
80
80

24
31
31
35
35
40
40
50
50
54
54
24
24
31
31
35
35
40
40
50
50
54
54
54

28
31
36
35
40
40
46
50
56
54
60
24
28
31
36
35
40
40
46
50
56
54
60
54

®25- 035
©25- 035
®36- 045
©36- 045
D46 O52
46— O52
55— 062
®55- 062
®65- O75
©65- O75
®80- ®Y0
®80- B0
®25- 035
©25- 035
®36- 045
©36- 045
46— O52
46— O52
55— 062
®55- ©62
65— O75
©65- 075
®80- ®90
®80- P90
80— ®90

©25- 030
®25- ©30
©32- 035
®32- 035
©36- 042
©36- 042
45— ©50
®45- ©50
52 - ©60
®52 - ©60
©62- B70
©62- B70
©25- 030
®25- ©30
©32- 035
®32- 035
©36- 042
©36- 042
45— ©50
®45- ©50
52 - ©60
®52 - ©60
©62- B70
©62- B70
©62- B70

1.30
1.45
1.34
1.83
1.60
2.20
2.03
2.72
2.62
3.50
2.67
4.03
2.96
3.14
3.68
4.50
4.78
4.98
5.10
5.82
6.04
6.80
7.06
8.70
11.21

K1



@

IRE5MA

LHNAS HMCT GROUP

STIRTSGEMFEHREXTR

R

ST-TSG Tooling System For Boring And Milling

58 J1 5 KK T1HR

Strong Chuck Holder for Boring and Milling

740.0360.111
740.0361.111
740.0362.111
740.0363.111
740.0364.111
740.0365.111
740.0366.111
740.0367.111
740.0368.111
740.0369.111
740.0370.111
740.0371.111
740.0372.111
740.0373.111
740.0374.111
740.0375.111
740.0376.111
740.0377.111
740.0378.111
740.0379.111
740.0380.111
740.0381.111
740.0382.111
740.0383.111
740.0384.111
740.0385.111
740.0386.111
740.0387.111
740.0388.111
740.0389.111
740.0390.111
740.0391.111
740.0392.111
740.0393.111
740.0394.111
740.0395.111
740.0396.111
740.0397.111
740.0398.111

ST40-XJT20-110
ST40-XJT20-160
ST40-XJT20-200
ST40-XJT25-110
ST40-XJT25-160
ST40-XJT25-200
ST40-XJT32-110
ST40-XJT32-160
ST40-XJT32-200
ST50-XJT20-110
ST50-XJT20-160
ST50-XJT20-200
ST50-XJT25-110
ST50-XJT25-160
ST50-XJT25-200
ST50-XJT32-110
ST50-XJT32-160
ST50-XJT32-200
ST50-XJT40-120
ST50-XJT40-160
ST50-XJT40-200
ST50-XJT50-140
ST50-XJT50-160
ST50-XJT50-200
ST60-XJT20-130
ST60-XJT20-160
ST60-XJT20-200
ST60-XJT25-130
ST60-XJT25-160
ST60-XJT25-200
ST60-XJT32-130
ST60-XJT32-160
ST60-XJT32-200
ST60-XJT40-130
ST60-XJT40-160
ST60-XJT40-200
ST60-XJT50-140
ST60-XJT50-160
ST60-XJT50-200

40
40
40
40
40
40
40
40
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
60
60
60
60
60
60
60
60
60
60

20
20
25
25
25
32
32
32
20
20
20
25
25
25
32
32
32
40
40
40
50
50
50
20
20
20
25
25
25
32
32
32
40
40
40
50
50
50

58
58
65
65
65
73
73
73
58
58
58
65
65
65
73
73
73
88
88
88
105
105
105
58
58
58
65
65
65
73
73
73
88
88
88
105
105
105

110
160
200
110
160
200
110
160
200
110
160
200
110
160
200
110
160
200
120
160
200
140
160
200
130
160
200
130
160
200
130
160
200
130
160
200
140
160
200

55-62
55-62
55-62
68-72
68-72
68-72
68-72
68-72
68-72
55-62
55-62
55-62
68-72
68-72
68-72
68-72
68-72
68-72
78-85
78-85
78-85
100-110
100-110
100-110
55-62
55-62
55-62
68-72
68-72
68-72
68-72
68-72
68-72
78-85
78-85
78-85
100-110
100-110
100-110

;X BRIRFREAMITE;

X WRFFERTIRNREBAZEAN6;

X EREARTFREEMNEN, FARITEREESHITE;

¥ L=3d4b R EBkFHHEE <0.007mm,

STITSGEMERXI R RS

ST-TSG Tooling System For Boring And Milling

@

g i

LNVAS HMCT GROUP

R 2L FE 58 T4

Angular Mounting Square Bits Boring Bars

440.0200.022
440.0201.022
440.0202.022
440.0203.022
440.0204.022
440.0205.022
440.0206.022
440.0207.022
440.0208.022
440.0209.022
440.0210.022
440.0223.022
440.0224.022
440.0225.022
440.0226.022
440.0227.022
440.0228.022
440.0229.022
440.0230.022
440.0231.022
440.0232.022
440.0233.022
440.0234.022
440.0235.022
440.0236.022
440.0237.022
440.0238.022

ST40 - TQC25 - 135
ST40 - TQC30 - 165
ST40-TQC38 - 180
ST40 - TQC42 -210
ST40 - TQC50 - 180
ST40 - TQC50 — 225
ST40 - TQC62 - 180
ST40 - TQC62 - 240
ST40-TQC72-180
ST40 - TQC72 - 240
ST40 - TQC90 - 180
ST50 - TQC25 - 135
ST50 - TQC30 - 165
ST50 - TQC38 - 180
ST50-TQC42-210
ST50 - TQC50 - 180
ST50 - TQC50 - 240
ST50 - TQC62 - 195
ST50 - TQC62 - 270
ST50 - TQC72 - 195
ST50 - TQC72 - 285
ST50 - TQC90 -210
ST50 - TQC90 - 300
ST60 — TQC50 — 240
ST60 - TQC62 - 270
ST60 - TQC72 - 285
ST60 - TQCY0 - 300

®25- 038
®30- 042
®38- ®50
D42 - 056
®50- 065
®50- 065
®62- ©90
®62- 090
®72- 0110
®72- 0110
®90- 0125
®25- 038
®30- 042
®38- ©50
D42 - ©56
®50- ©65
®50- 065
®62- 090
®62- ©90
®72- 0110
®72- 0110
®90- 0125
®90- 0125
®50- 065
®62- ©90
®72- 0110
®90- ®125

135
165
180
210
180
225
180
240
180
240
180
135
165
180
210
180
240
195
270
195
285
210
300
240
270
285
300

24
30
34
40
40
50
50
60
60
75
20
24
30
34
40
40
50
50
60
60
75
75
40
50
60
75

26
33
37
44
44
56
56
66
66
66
22
26
33
37
44
44
56
56
60
60
80
80
44
56
60
80

10
10
13
13
16
16
19
19
19

10
10
13
13
16
16
19
19
19
19
13
16
19
19

TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC19-116-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-116-45-L

M6x13
M8x13
M6x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M6x13
M6x13
M8x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M12x13
M10x13
M10x13
M12x13
M12x13

M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M12x24
M8x10
M12x15
M12x18
M12x24

1.46
1.34
1.69
2.15
2.38
2.78
2.97
4.11
3.41
5.36

4.9
2.94
3.14
3.51
3.83
5.25
4.73
5.30
5.64
7.18
8.99
9.05
11.98
14.6
14.65
16.53
18.4

E: % TQCRRELEE T WHERS o

s liljc



> BREEH

MNAS HMCT GROUP

HAZMEETIMF

Mounting Square Bite Boring Bars with Radial Adjustment

@ BEEH

LNVAS HMCT GROUP

STIRTSGEMAREHEXT AR

ST-TSG Tooling System For Boring And Milling

STHTSGEMARESRLTHEERS

ST-TSG Tooling System For Boring And Milling

HAZMEEITIN

Mounting Square Bite Boring Bars with Radial Adjustment

440.0101.023 ST40-TZC25-135 ©25- ®50 135 T2C8-20-90-L M6x15 M6x6 1.12 440.0126.023 ST50 — TZC50 — 240 D50 - ©90 T2C13-43-90-L Mi0x15 M10xi4 5.59
TZC8-29-90-L TZC13-64-90-L
TZC10-32-90-L TZC16-53-90-L

440.0102.023 ~ ST40-TZC38-180 ®38-®70 180 30 33 10 M8x15 M8x10  1.79 440.0127.023  ST50-TZC62-195 ®62-®115 195 50 56 16 M12x15 M12x18 554
TZC10-49-90-L TZC16-80-90-L
TZC13-43-90-L TZC16-53-90-L

440.0103.023 ST40-TZC50 - 180 O50- ®90 180 40 44 13 M10x15 M10x14 2.61 440.0128.023 ST50 — TZC62 — 270 »62- ©115 270 50 56 16 M12x15 M12x18 6.57
TZC13-64-90-L TZC16-80-90-L

4400104023  ST40-TZC50-225 ~©50- 90 225 40 44 13 200 390L o0 vioxi4 .00 440.0129.023  ST50-TZC72-195 ®72-®135 195 60 66 19 14C19-62-90-L M12x15 M12x22 6.74
TZC13-64-90-L TZC19-90-90-L

440.0105.023  ST40-TZC62-180 @62-0115 180 50 56 16 2002090 yios Mioxis 342 440.0130.023  STS0-TZC72-285 ©72- 0135 285 60 66 19 o o or b o Mize2 o
TZC16-80-90-L TZC19-90-90-L

440.0106.023  STA0-TZC62-225 ©62- 0115 225 50 56 16 20000 90L yiong Miaxg 3.0 4400131023 STB0-TZC90-210  ©90- @150 210 75 80 19 o o990k s Mi2x30 963
TZC16-80-90-L TZC19-113-90-L
TZC19-62-90-L TZC19-79-90-L

440.0107.023 ~ ST40-TzZC72-180 ®72-®135 180 60 66 19 M12x15 M12x22  4.36 440.0132.023  ST50-TZC90-300 ®90- ®150 300 75 80 19 M12x15 M12x30 12.94
TZC19-90-90-L TZC19-113-90-L
TZC19-62-90-L TZC25-91-90-L

440.0108.023 ~ ST40-TZC72-225 ®72-®135 225 60 66 19 M12x15 M12x22  4.83 440.0133.023  ST50-TZC105-195 ®105-®190 195 90 90 25 M16x15 M16x34 10.53
TZC19-90-90-L TZC25-136-90-L
TZC19-79-90-L TZC25-91-90-L

440.0109.023 ~ ST40-TZC90-180 ®90-®150 180 75 66 19 M12x15 M12x30  5.60 440.0134.023  ST50-TZC105-285 ®105-®190 285 90 94 25 M16x15 M16x34 15.4
TZC19-113-90-L TZC25-136-90-L
TZC19-79-90-L TZC16-53-90-L

440.0110.023 ~ ST40-TZC90-225 ®90-®150 225 75 66 19 M12x15 M12x30  6.74 440.0185.023  ST60-TZC62-270 ®62-®115 270 50 56 16 M12x15 M12x18 15.92
TZC19-113-90-L TZC16-80-90-L
TZC8-20-90-L TZC19-62-90-L

440.0123.023 ~ ST50-TZC25-135 ®25-®50 135 20 22 8 Méx15 Méx6  2.94 440.0186.023 ST60-TZC72-285 ®72-®135 285 60 66 19 M12x15 M12x22 18.45
TZC8-29-90-L TZC19-90-90-L
TZC10-32-90-L TZC19-79-90-L

440.0124.023  ST50-TZC38-180 ®38-®70 180 30 33 10 M8x15 M8x10  3.57 440.0187.023  ST60-TZC90-300 ®90-®150 300 75 80 19 M12x15 M12x30 22.29
TZC10-49-90-L TZC19-113-90-L
TZC13-43-90-L TZC25-91-90-L

440.0125.023 ~ ST50-TZC50-180 ®50-®90 180 40 44 13 M10x15 M10x14  4.28 440.0188.023  ST60-TZC105-300 ®105-®190 300 90 94 25 M16x15 M16x34 24.75

TZC13-64-90-L

TZC25-136-90-L

_cllll

i % TZCERBMEBETIRHERS;
KFTZW7 BU0RSE TI M HERSY o

sliljc



@ BEEH

MNAS HMCT GROUP

{5 B R s AT

Angular Mounting Micro—adjustable Boring Bars

@ BEEH

LNVAS HVMCT GROUP

STHTSGEMAREHRLTHEERS

ST-TSG Tooling System For Boring And Milling

STIRTSGEMAREHLXT AR

ST-TSG Tooling System For Boring And Milling

AIESE L TR

HRC53-58

Adjustable Shanks of Boring Heads

_ T
]

HRC53-58

440.0149.034 ST40-TQW38-150 ®38- ®50 150 TQW38 M3x10  Méx10 1.66 440.0002.020 ST40-TK16- 150 150  ©8-®320  TD1-16;TD2-16;TD3-16-TD4-16
440.0150.034 ST40-TQW38-210 ®38-®50 210 35 38 TQWS38 M3x10  M6x10 2.06 440.0004.020 ST50 - TK16 - 150 90 16 150  ©8-0320  TD1-16;TD2-16;TD3-16-TD4-16
440.0151.034 ST40-TQW48-150 48— ®65 150 41 44 TQW48 M3x10  Méx12 213 440.0035.020 ST60—TK16- 150 90 16 150  ©8-0320  TD1-16;TD2-16;TD3-16-TD4-16
440.0152.034 ST40-TQW48-210  ©48-®65 210 41 45 TQWA48 M3x10  Méx12 277 U —————

440.0153.034 ST40-TQWE2-150 62— ®85 150 54 53 TQW62 M5x12  Msx15 2.99 ¢ 71 TD21 G — BT 016076, 5 — M 50720132,

440.0154.034 ST40-TQW62-210 ®©62-®85 210 54 56 TQW62 M5x12  Msx15 410 S B71TDI-168 — RESHITEE HO30-090, & = KI5 E HOB6-0146;

440.0155.034 ST40-TQW82-150  ®82-®110 150 68 60 TQWS2 M6x15 M8x18 3.92 o $ETITDA-168ZHISE Bl AP 145-0320;

440.0156.034 ST40-TQWS2-210 ©82-®110 210 68 60 TQWS2 Mexi5  Msx18 5.24 * AT RHES

440.0157.034 ST40-TQW105-150 ®105- ®140 150 85 60 TQW105  Méx15  M10x20  4.96

440.0158.034 ST40-TQW105-210 ®105- ®140 210 85 60 TQW105  Méx15 M10x20  6.70

440.0179.034 STS0-TQW38—165 ®38— ®50 165 35 37 TQWS38 M3x10  M6x10 3.70

440.0180.034 ST50-TQW38-195 ©38-®50 195 35 38 TQWS38 M3x10  M6x10 3.80

440.0181.034 STS0-TQW48—165 48— ©65 165 41 44 TQW48 M3x10  Méx12 4.07

440.0182.034 STS0-TQWA8—255 48— ®65 255 41 45 TQWA48 M3x10  Méx12 4.80

440.0183.034 STS0-TQWE2-240 ®62- ®85 240 54 55 TQW62 M5x12  Msx15 6.40

440.0184.034 ST50-TQWE2-300 ©62-®85 300 54 56 TQW62 M5x12  Msx15 7.90

440.0185.034 STS0-TQW82-240 82— ®110 240 68 72 TQWS2 M5x12  Msx18 8.50

440.0186.034 STS0-TQWS2-315 ©82-®110 315 68 74 TQWS2 M5x12  Msx18 118

440.0187.034 ST50-TQW105-240 ®105- ®140 240 85 90 TQW105  Méxi5  M10x20 12.4

440.0188.034 ST50-TQW105-315 ©105- ®140 315 85 90 TQW105  Méx15  M10x20 14.8

440.0189.034 ST50-TQW135-210 ®135-®170 210 114 90 TQW135  Méx15  M10x30 145

440.0190.034 ST50-TQW165-210 ®165- ®200 210 144 90 TQW135  Méx15  M10x30 17.4

440.0191.034 STE0-TQW48-255 48— ©65 255 41 44 TQW48 M3x10  Méx12 13.42

440.0192.034 STE0-TQWE2-300 ©62-®85 300 54 55 TQW62 M3x10  Méx12 15.75

440.0193.034 STE0-TQW82-315 82— ®110 315 68 72 TQWS2 M5x12  Msx15 17.85

440.0194.034 ST60-TQW105-315 ©105- ®140 315 85 90 TQW105  Ms5x12  Msxi5  21.75

440.0195.034 ST60-TQW135-315 ®135-®170 315 114 90 TQWI35  Mexi5  M10x20  23.85

440.0196.034 ST60-TQW165-315 ©165- ®200 315 144 90 TQW135  Méx15 MI0x20  26.75

% TQWHREEESE TR

_clllie

(E15708

7 llljc



BEEHA WSTIRTSGE s 4E % T A RS WSTIRTSGR 44t % T AR5 BEEH

[/NAS HMCT GROUP WST-TSG Tooling System For Boring And Milling WST-TSG Tooling System For Boring And Milling [/NAS HMCT GROUP
Fh (=] A1 AR BB D AR
Taper Shanks Type of China #l#&B#=# JB 3381.1-83 (FohLE)

WSTHHTSGEMFNEHRL TR RS

T E AU B AR SEAT <o eeeeeeeeereeeeerereeecanenns DO1

L3 Lt
ERZAEEJ L TIAE cveeveerermrmmnsnreneineiii D02 ‘ L
S TIGE TIHE v vvrrereereensssnrrnrreaaannaninnaneaes D03 k |
R R B FL TR v eveeeerereerereseesesnnnens D04 n “* I
TREEKEIHEFL T everrerrerenereneeienn, D05 { L

vy L TP D06
BB TI AT v veveeneeneesesse e D07

eSS 008 ---------
B TEBY AT wveeeereeeenemnsmnseensesseseenaesne e ens D09 WST40 145 - poe o
GLE T IR v e D10 WST50 69.85 10 M24 101.8 12 35.3 25.7
ERY L B TIAT oo eeee e D11 WeTeo 197.95 156 M30 161.8 16 32 60.0 2.7

BB LTS TIAT - veveereereereeseeesnennnensenennens D12

TS EL ol AL ;2R D13

BB RUEGE TIF - vevveeereeennemreremnsnse e e D14

(B BB AT v e evveeeneeeemremreee e e eenenes D16

ATYHGESL TIAT v vereereereeneeneeneeeeneessesseeneenes D17

ot Jiljo



@ BREEHA

MNAS HMCT GROUP

ER3# & 32 3L T1 4%

ER Collet Chucks

> BEEH

LNVAS HMCT GROUP

WSTHRTSGEMAMREHRLXT R RS

WST-TSG Tooling System For Boring And Milling

WSTHRTSGE M IEHE TR RS

WST-TSG Tooling System For Boring And Milling

=HE 5 TR

Side Milling Cutter Arbor

640.0161.040 WST40 — ER16 - 70 3-10 28-35 ER16 440.0061.000  WST40-XS16-75 4 3J1-310-16 50 1.29
640.0162.040 WST40 - ER16 - 120 3-10 28 120 28-35 ER16 1.76 440.0062.000  WST40-XS16-105 16 26 105 46 4  3J1-310-16 50 1.46
640.0163.040 WST40 - ER20 - 70 3-13 34 70 28-35 ER20 1.22 440.0063.000  WST40-XS22-75 22 34 75 51 6  3J1-310-22 63 1.17
640.0164.040 WST40 - ER20 — 120 3-13 34 120 28-35 ER20 1.88 440.0064.000  WST40-XS22-120 22 3 120 51 6  3J1-310-22 63 1.95
640.0165.040 WST40 - ER25 - 70 4-16 42 70 38-42 ER25 1.26 440.0065.000  WST40 - XS27 - 75 27 40 75 55 7  3J1-310-27 80 2.01
640.0166.040 WST40 - ER25 - 120 4-16 42 120 38-42 ER25 1.92 440.0066.000  WST40-XS27-120 27 40 120 55 7 3J1-310-27 80 2.65
640.0167.040 WST40 - ER32 - 70 4-20 50 70 45-52 ER32 1.28 440.0067.000  WST40 - XS32 - 90 32 46 9 60 8 3J1-310-32 @100, ®125 252
640.0168.040 WST40 - ER32 - 120 4-20 50 120 45-52 ER32 1.96 440.0068.000  WST50 - XS16 - 90 16 26 9 46 4  3J1-310-16 50 3.11
640.0169.040 WST40 — ER40 - 80 5-26 63 80 55-62 ER40 2.02 440.0069.000  WST50-XS16-120 16 26 120 46 4  3J1-310-16 50 3.42
640.0170.040 WST40 - ER40 - 120 5-26 63 120 55-62 ER40 2.56 440.0070.000  WST50 - XS22 - 90 22 34 90 51 6 3J1-310-22 63 3.54
640.0171.040 WST50 - ER16 - 100 3-10 28 100 28-35 ER16 3.31 440.0071.000  WST50-XS22-135 22 3 135 51 6  3J1-310-22 63 3.86
640.0172.040 WST50 — ER16 — 150 3-10 28 150 28-35 ER16 3.38 440.0072.000  WST50 — XS27 - 90 27 40 90 55 7  3J1-310-27 80 3.93
640.0173.040 WST50 - ER20 — 120 3-10 34 100 28-35 ER20 3.46 440.0073.000  WST50-XS27-135 27 40 135 55 7 3J1-310-27 80 4.46
640.0174.040 WST50 — ER20 — 150 3-10 34 150 28-42 ER20 3.52 440.0074.000  WST50 - XS32 - 90 32 46 90 60 8 3J1-310-32 ®100, ®120  5.51
640.0175.040 WST50 - ER25 - 100 4-16 42 100 38-42 ER25 3.33 440.0075.000  WST50-XS32-135 32 46 135 60 8  3J1-310-32 ©100, ®125 557
640.0176.040 WST50 - ER25 - 150 4-16 42 150 38-42 ER25 3.40 440.0076.000  WST50 — XS40 — 90 40 55 90 66 10 3J1-310-40 ®100, ®200  5.34
640.0177.040 WST50 - ER32 - 100 4-20 50 100 45-52 ER32 3.45 440.0077.000  WST50-XS40-135 40 55 135 66 10 3J1-310-40 ®100, ®200  5.66
640.0178.040 WST50 — ER32 - 150 4-20 50 150 45-52 ER32 3.51 440.0096.000  WST50 — XS50 — 90 50 68 90 85 12 3J1-310-50 200, ®250  6.20
640.0179.040 WST50 - ER40 — 100 5-26 63 100 55-62 ER40 3.58 440.0097.000  WST50-XS50-135 50 68 135 85 12 3J1-310-50 ®200, ®250  6.65
640.0180.040 WST50 — ER40 - 150 5-26 63 100 55-62 ER40 3.68 440.0078.000  WST60-XS40-135 40 55 135 66 10 3J1-310-40 ®100, ®200  14.69

440.0079.000  WST60-XS50-135 50 68 135 85 12 3J1-310-50 ®©200, ®250  14.80

iE: X ERERSHLITDING499tR 440.0080.000  WST60-XS60-135 60 84 135 105 14 3J1-310-60 ©250, ®315 1542

X EREEFERMITE, FEIHEBS,
% ERﬂﬁﬂﬁﬁﬁ':':F'L\lvfﬂﬁT, FEE A MITHER. .CRS L B IZIEZ SR E, ¥E3EIHI4 ok BRERMITHM, RAMHRS, 864, THERAC16-040MTIF, REEESFIHN3. 5. 7. 8, 10, 12,

_ D]l o2

BHEZ A O50~060K) I, REEEANFA4, 6. 8. 10, 12, 15,

o3 lilJo



@ BEEH

MNAS HMCT GROUP

W R K EH LTI

Adaptor Sleeves for Morse Taper with Tang

WSTHTSGE stk T B R4t BEEH

WST-TSG Tooling System For Boring And Milling [/NAS HMCT GROUP

WSTHRTSGEMAMREHRLX TR RS

WST-TSG Tooling System For Boring And Milling

ZREERKEH#FL I

Adaptor Sleeves for Morse Taper Without Tang

440.0079.050 WST40 - M1 - 45 1 12.065 0.87 440.0081.055 WST40 - MW1 - 50 1 12.065 0.96
440.0080.050 WST40 - M1 -120 1 12.065 25 120 1.23 440.0082.055 WST40 — MW2 - 60 2 60 M10 17.780 32 1.14
440.0081.050 WST40 - M2 - 60 2 17.780 32 60 1.05 440.0083.055 WST40 -MW3-75 3 75 M12 23.825 40 2.16
440.0082.050 WST40 - M2 - 120 2 17.780 32 120 1.62 440.0085.055 WST50 — MW1 - 50 1 50 M6 12.065 25 2.62
440.0083.050 WST40 - M3 - 75 3 23.825 40 75 1.36 440.0086.055 WST50 - MW2 - 50 2 50 M10 17.780 32 2.88
440.0084.050 WST40 - M3 -135 3 23.825 40 135 2.23 440.0087.055 WST50 — MW3 - 60 3 60 M12 23.825 40 3.90
440.0085.050 WST40 - M4 - 95 4 31.267 50 95 2.36 440.0088.055 WST50 - MW4 - 100 4 100 M16 31.267 50 4.31

440.0086.050 WST40 - M4 — 165 4 31.267 50 165 2.75 440.0089.055 WST50 - MW5 — 130 5 130 M20 44.399 70 4.72
440.0087.050 WST50 - M1 - 45 1 12.065 25 45 4.40 440.0090.055 WST60 — MW3 - 100 3 100 M12 23.825 40 9.65
440.0088.050 WST50 - M1 - 120 1 12.065 25 120 4.52 440.0091.055 WST60 — MW4 - 100 4 100 M16 31.267 50 9.86
440.0089.050 WST50 - M2 - 45 2 17.780 32 45 4.35 440.0092.055 WST60 — MW5 - 100 5 100 M20 44.399 70 9.87
440.0090.050 WST50 - M2 - 135 2 17.780 32 135 3.72 440.0093.055 WST60 - MW6 - 150 6 150 M24 63.348 90 12.01
440.0091.050 WST50 - M3 - 60 3 23.825 40 60 2.90

440.0092.050 WST50 — M3 — 150 3 03.805 40 e T i EREANTIEMBHEREE, FEGB/T1443. . HHME, EENEHITATIR,

440.0093.050 WST50 - M4 - 90 4 31.267 50 90 3.12

440.0094.050 WST50 - M4 — 180 4 31.267 50 180 5.44

440.0095.050 WST50 - M5 -115 5 44.399 63 115 3.70

440.0096.050 WST50 - M5 —210 5 44.399 63 210 6.32

440.0097.050 WST60 - M3 - 190 3 23.825 40 190 10.06

440.0098.050 WST60 — M3 — 250 3 23.825 40 250 10.25

440.0099.050 WST60 — M4 - 210 4 31.267 50 210 10.55

440.0100.050 WST60 - M4 — 270 4 31.267 50 270 10.80

440.0101.050 WST60 - M5 — 240 5 44.399 63 240 12.36

440.0102.050 WST60 — M5 — 300 5 44.399 63 300 12.95

440.01083.050 WST60 - M6 - 170 6 63.348 90 170 12.49

440.0104.050 WST60 - M6 — 310 7 63.348 90 310 15.38

E: EREANTEMBNERES, FAGB/T1443. HHIME, HELEHITATIR,

Y 1 1IE3

oslIJo



@ BEEH

MNAS HMCT GROUP

BT HTIR

Shell End Mill Arbors

@ BEEH

LNVAS HVMCT GROUP

WSTHRTSGEMAREHLXTERES

WST-TSG Tooling System For Boring And Milling

WSTHRTSGEMAMREHRLX TR RS

WST-TSG Tooling System For Boring And Milling

I % T4 Lob

Face Mill Arbors

440 0058.001  WST40 - XM16. 75 120 540.0043.004  WST40-XD22 - 45 M10  SK-00210-3  1.19
T T Vs 40 . 540.0044.004 WST40-XD22- 90 22 50 90 19 - 10 - M0 SK-00210-3  1.85
40.0060.001  WSTA0_XM22_ 75 22 40 75 19 10 V10 050 149 540.0045.004 WST40-XD27- 60 27 60 60 21 - 12 - MI2  SK-00210-4 195
T T R R I V1O 550 o7 540.0046.004 WST40-XD27- 90 27 60 90 21 - 12 - M2 SK-00210-4 243
440.0062.001 ~ WST40-XM27-75 27 48 75 21 12 M12 ©63, ©80  1.86 540.0047.004  WST40-XD32- 60 32 80 60 24 - 14 - M16  SK-00210-5  2.62
440.0063.001  WST40-XM27-105 27 48 105 21 12 M12 ©63, ©80 225 SLOOTEILS WS U= PR B ] €2 [ CU | £ f 20 - 14 = | (U9 | &S0R0es | 26
440 0064001  WST4O_XM32- 75 32 58 75 o4 14 MG ©100 50 540.0049.004 WST40-XD40-60(P) 40 90 60 27 ®667 16  M12  M20 SK-00210-6  2.45
T Vg 540 507 540.0050.004 WST50-XD22- 60 22 50 60 19 - 10 - M0 SK-00210-3  3.17
440.0066.001  WSTS0_XM{6_120 16 a2 120 17 8 Vs 40 388 540.0051.004 WST50-XD22-105 22 50 105 19 - 10 - MI0 SK-00210-3 374
T T V1O 550 530 540.0052.004 WST50-XD22-150 22 50 150 19 - 10 - M0 SK-00210-3 424
440 0068001  WSTB0_XM22—120 22 40 120 19 10 MO 050 377 540.0053.004 WST50-XD27- 60 27 60 60 21 - 12 ~ Mi2  SK-00210-4  3.49
T V1 O BED || 66 540.0054.004 WST50-XD27- 90 27 60 90 21 - 12 - M12  SK-00210-4 530
440 0070001 WSTS0_XM27-105 27 48 105 21 12 V12 063. 080 405 540.0055.004 WST50-XD27-150 27 60 150 21 - 12 - M12  SK-00210-4 543
T T VG ©100 a8 540.0056.004 WST50-XD32- 75 32 80 75 24 - 14 - M6 SK-00210-5 534
440.0072.001  WSTS0_XM40— 75 40 70 75 27 16 V20 0125 536 540.0057.004 WST50-XD32-120 32 80 120 24 - 14 - MI6 SK-00210-5 572
T T T V124 5160 55 540.0058.004 WST50-XD40-75(P) 40 90 75 27  ®667 16  M12  M20 SK-00210-6 597
440 0074001 WSTBO-_XM32— 75 32 58 75 o4 14 M6 ©100 1319 540.0059.004  WST50-XD40-105(°) 40 90 105 27  ®66.7 16  M12  M20 SK-00210-6  6.28
T T V120 0105 e 540.0060.004 WST50-XD60-75P 60 140 75 40 ©1016 254 M16 - - 6.08
440 0076001 WSTB0-XM50—120 50 90 120 30 18 V24 ©160 14.80 540.0061.004 WST60-XD40-75(F) 40 90 75 27 ®66.7 16  Mi2  M20 SK-00210-6 21.78
540.0062.004 WST60-XD60-75P 60 140 75 40 ®1016 254 M16 - - 21.45
540.0063.004 WST60-XD60-755 60 220 75 40 01016+:01778 254 M16+M20 - - 21.38

ok TFEEFREERABMITS,

o7 JI[Jo



@ BREEH

MNAS HMCT GROUP

> BEEH

LNVAS HVMCT GROUP

WSTHRTSGEMAREHLXTERES

WST-TSG Tooling System For Boring And Milling

WSTHRTSGEMREHREX TR RS

WST-TSG Tooling System For Boring And Milling

HIFER T AT

Adaptors For Flatted Parallel Shanks

$h3K 3 TR

Drill Chuck Arbors

L2

HRC53-58

L1

B.No

HRC53-58

440.0055.071 WST40-210- 45 10.094 14.5 B10 0.92 440.0093.009 WST40 - XP12 - 50 M12x16 +0.005 1.09
440.0056.071 WST40-210- 90 10.094 90 3.5 14.5 B10 1.20 440.0094.009 WST40 - XP16 — 63 48 16 M14x16 63 +0.005 1.32
440.0057.071 WST40-212 - 45 12.065 45 3.5 18.5 B12 0.93 440.0095.009 WST40 - XP20 - 63 52 20 M16x16 63 +0.007 1.65
440.0058.071 WST40-212 - 90 12.065 90 3.5 18.5 B12 0.94 440.0096.009 WST40 - XP25 - 100 65 25 M18x2x16 100 +0.007 2.82
440.0059.071 WST40-216 - 45 15.733 45 5 24 B16 0.97 440.0097.009 WST40 - XP32 - 105 72 32 M20x2x20 105 +0.007 2.91
440.0060.071 WST40 - 716 — 90 15.733 90 5 24 B16 1.22 440.0100.009 WST50 - XP16 — 63 48 16 M14x16 63 +0.005 3.09
440.0061.071 WST40-218 - 45 17.780 45 5 32 B18 1.03 440.0101.009 WST50 - XP20 - 63 52 20 M16x16 63 +0.007 3.66
440.0062.071 WST40-218 - 90 17.780 90 5 32 B18 1.37 440.0102.009 WST50 - XP25 - 80 65 25 M18x2x16 80 +0.007 3.83
440.0063.071 WST50 - Z10 - 45 10.094 45 3.5 14.5 B10 2.70 440.0103.009 WST50 - XP32 - 100 72 32 M20x2x20 100 +0.007 4.75
440.0064.071 WST50 - 210 - 105 10.094 105 3.5 14.5 B10 3.08 440.0104.009 WST50 - XP40 - 115 80 40 M24x2x20 115 +0.007 5.66
440.0065.071 WST50-212 - 45 12.035 45 3.5 18.5 B12 2.72 440.0105.009 WST50 - XP50 — 125 90 50 M20x2x20 125 +0.009 5.72
440.0066.071 WST50 - Z12 - 105 12.065 105 3.5 18.5 B12 3.10 440.0106.009 WST50 — XP50 — 180 90 50 M24x2x20 180 +0.009 6.00
440.0067.071 WST50 -216 - 45 15.733 45 5 24 B16 2.80 440.0107.009 WST60 - XP25 - 100 65 25 M18x2x16 100 +0.007 13.18
440.0068.071 WST50 - Z16 - 105 15.733 105 5 24 B16 3.12 440.0108.009 WST50 - XP32 — 100 72 32 M20x2x20 100 +0.007 14.10
440.0069.071 WST50 - 218 - 45 17.780 45 5 32 B18 2.82 440.0109.009 WST50 - XP40 - 115 80 40 M20x2x20 115 +0.007 15.01
440.0070.071 WST50 - 218 - 105 17.780 105 5 32 B18 3.11 440.0110.009 WST50 - XP50 — 125 90 50 M24x2x20 125 +0.009 15.35
440.0071.071 WST60 - Z16 - 105 15.733 105 5 24 B16 12.47 440.0111.009 WST50 - XP63 — 150 120 63 M24x2x20 150 +0.011 15.89
440.0072.071 WST60 - Z18 — 105 17.780 105 5 32 B18 12.46

i BASRAMEERHES




> BREEH

MNAS HMCT GROUP

@ BEEH

LNVAS HVCT GROUP

WSTHRTSGEMAREHLXTE RS

WST-TSG Tooling System For Boring And Milling

=¥, ®RIW

Shell Boring and Reaming Cutters Arbors

i L L1

T
fF=—=cin =l o] A

WSTHRTSGEMAREHRLXTE RS

WST-TSG Tooling System For Boring And Milling

Tap Adaptors

d

I

1

I

|

|

D(HT)

dl

A& f2nn

Wi EEE) £ 1mm

HRC53-58

L1

440.0124.161 WST40-G3-55 120.4 G3-(M3-M12) 2,97 440.0150.081 WST40 - KJ13- 90 ®25- 035 ®25- ©30 1.30
440.0125.161 WST40-G3-100 63 165.4 100 19 36 7.5 6.5 G3-(M3-M12) 4.14 440.0151.081 WST40 - KJ13 - 150 13 150 45 24 28 ©25- 035 ®25- ®30 1.45
440.0126.161 WST40-G8-100 63 165.4 100 31 53 15 8.5 G8-(M8-M20) 4.01 440.0152.081 WST40 - KJ16 — 100 16 100 50 31 31 ®36- D45 ®32- 035 1.34
440.0127.161 WST40-G8-150 63 2154 150 31 53 15 8.5 G8-(M8-M20) 5.32 440.0153.081 WST40 - KJ16 - 185 16 185 50 31 36 ®36 - D45 ®32- 035 1.83
440.0128.161 WST50-G8-80 100 181.8 80 31 53 15 8.5 G8-(M8-M20) 11.56 440.0154.081 WST40 - KJ19-120 19 120 56 35 35 D46 - 052 ®36- 42 1.60
440.0129.161 WST50-G8-150 100 151.8 150 31 53 15 8.5 G8-(M8-M20) 16.33 440.0155.081 WST40 - KJ19 - 200 19 200 56 35 40 D46 - 052 ®36 - 042 2.20
440.0130.161 WST50-G14-130 100 231.8 130 48 78 23 15  G14-(M314-M33) 14.22 440.0156.081 WST40 - KJ22 - 130 22 130 63 40 40 d55- 062 ®45 - 50 2.03
440.0131.161 WST50-G14-200 100 301.8 200 48 78 23 15 G14-(M314-M33) 18.98 440.0157.081 WST40 - KJ22 - 225 22 225 63 40 46 ®55 - ©62 ®45 - ©50 2.72
S R A R T HE S 440.0158.081 WST40 - KJ27 - 150 27 150 71 50 50 ®65- D75 ®52 - ©60 2.62
¥ AL R EEER P AMITE, 440.0159. 081 WST40 - KJ27 - 225 27 225 71 50 56 ®65- D75 ®52 - 60 3.50
440.0160.081 WST40 - KJ32 - 120 32 120 80 54 54 ®80- ®90 ®62- O70 2.67

440.0161.081 WST40 - KJ32 - 200 32 200 80 54 60 ®80- ®90 ®62- 070 4.03

440.0162.081 WST50 - KJ13 - 100 13 100 45 24 24 ®25- 035 ®25- ©30 2.96

440.0163.081 WST50 - KJ13 - 185 13 185 45 24 28 ®25- 035 ®25- ©30 3.14

440.0164.081 WST50 - KJ16 — 100 16 100 50 31 31 ®36- 45 ®32- 035 3.68

440.0165.081 WST50 - KJ16 — 185 16 185 50 31 36 ®36 - D45 ®32- 035 4.50

440.0166.081 WST50 - KJ19 - 120 19 120 56 35 35 D46 - 052 ®36- 42 4.78

440.0167.081 WST50 - KJ19 - 200 19 200 56 35 40 D46 - 052 ®36 - 42 4.98

440.0168.081 WST50 - KJ22 - 130 22 130 63 40 40 d55- 062 ®45- ©50 5.10

440.0169. 081 WST50 - KJ22 - 225 22 225 63 40 46 ®55 - ©62 ®45 - ©50 5.82

440.0170.081 WST50 - KJ27 - 150 27 150 71 50 50 ®65- D75 ®52 - ©60 6.04

440.0171.081 WST50 - KJ27 - 225 27 225 71 50 56 ®65- D75 ®52 - ©60 6.80

440.0172.081 WST50 - KJ32 - 120 32 120 80 54 54 ®80- ®90 ®62- O70 7.06

440.0173.081 WST50 - KJ32 - 200 32 200 80 54 60 ®80- ®90 ®62- 070 8.70

440.0174.081 WST60 - KJ32 - 120 32 120 80 54 54 ®80- ®90 ®62- ©70 11.21

o



@

IBRE5A

MNAS HMCT GROUP

WSTHRTSGEMAMREHRLX TR RS

WST-TSG Tooling System For Boring And Milling

WSTHRTSGEMAREHLXTERES

WST-TSG Tooling System For Boring And Milling

@

LNVAS HVMCT GROUP

g i

58 J1$R kK

WST-Type Strong Chuck Holder for Boring and Milling

L(WST)

740.0175.111
740.0176.111
740.0177.111
740.0178.111
740.0179.111
740.0180.111
740.0181.111
740.0182.111
740.0183.111
740.0184.111
740.0185.111
740.0186.111
740.0187.111
740.0188.111
740.0189.111
740.0190.111
740.0191.111
740.0192.111
740.0193.111
740.0194.111
740.0195.111
740.0196.111
740.0197.111
740.0198.111
740.0199.111
740.0200.111
740.0201.111
740.0202.111
740.0203.111
740.0204.111
740.0205.111
740.0206.111
740.0207.111
740.0208.111
740.0209.111
740.0210.111
740.0211.111
740.0212.111
740.0213.111

WST40 - XJT20-110
WST40 - XJT20-160
WST40 - XJT20-200
WST40 - XJT25-110
WST40 - XJT25-160
WST40 - XJT25-200
WST40 - XJT32-110
WST40 - XJT32-160
WST40 - XJT32-200
WST50 - XJT20-110
WST50 - XJT20-160
WST50 - XJT20-200
WST50 - XJT25-110
WST50 - XJT25-160
WST50 - XJT25-200
WST50 - XJT32-110
WST50 - XJT32-160
WST50 - XJT32-200
WST50 - XJT40-120
WST50 - XJT40-160
WST50 - XJT40-200
WST50 - XJT50-140
WST50 - XJT50-160
WST50 - XJT50-200
WST60 - XJT20-130
WST60 - XJT20-160
WST60 - XJT20-200
WST60 - XJT25-130
WST60 — XJT25-160
WST60 - XJT25-200
WST60 - XJT32-130
WST60 - XJT32-160
WST60 - XJT32-200
WST60 - XJT40-130
WST60 — XJT40-160
WST60 — XJT40-200
WST60 — XJT50-140
WST60 - XJT50-160
WST60 — XJT50-200

40
40
40
40
40
40
40
40
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
60
60
60
60
60
60
60
60
60
60
60

20
20
25
25
25
32
32
32
20
20
20
25
25
25
32
32
32
40
40
40
50
50
50
20
20
20
25
25
25
32
32
32
40
40
40
50
50
50

58
58
65
65
65
73
73
73
58
58
58
65
65
65
73
73
73
88
88
88
105
105
105
58
58
58
65
65
65
73
73
73
88
88
88
105
105
105

110
160
200
110
160
200
110
160
200
110
160
200
110
160
200
110
160
200
120
160
200
140
160
200
130
160
200
130
160
200
130
160
200
130
160
200
140
160
200

55-62
55-62
55-62
68-72
68-72
68-72
68-72
68-72
68-72
55-62
55-62
55-62
68-72
68-72
68-72
68-72
68-72
68-72
78-85
78-85
78-85
100-110
100-110
100-110
55-62
55-62
55-62
68-72
68-72
68-72
68-72
68-72
68-72
78-85
78-85
78-85
100-110
100-110
100-110

=

X BERRTFRERMITE

¥ L=3d4b1Z @ Bk 315 E <0.007mm,

_ Dllll 2

;X WRIFEMITENFBRAEAN6; X ERAGRRIRFREERIAN, FATEREESHITE;

R B EE TIHF

Angular Mounting Square Bits Boring Bars

440.0240.022
440.0241.022
440.0242.022
440.0243.022
440.0244.022
440.0245.022
440.0246.022
440.0247.022
440.0248.022
440.0249.022
440.0250 022
440.0263.022
440.0264.022
440.0265.022
440.0266.022
440.0267.022
440.0268.022
440.0269.022
440.0270.022
440.0271.022
440.0273.022
440.0274.022
440.0275.022
440.0290.022
440.0292.022
440.0294.022
440.0296.022

WST40 - TQC25 - 135
WST40 - TQC30 - 165
WST40 - TQC38 - 180
WST40 - TQC42 - 210
WST40 - TQC50 - 180
WST40 - TQC50 - 225
WST40 - TQC62 - 180
WST40 - TQC62 - 240
WST40 - TQC72 - 180
WST40 - TQC72 - 240
WST40 - TQC90 - 180
WST50 - TQC25 - 135
WST50 - TQC30 - 165
WST50 - TQC38 - 180
WST50 - TQC42 - 210
WST50 - TQC50 - 180
WST50 - TQC50 - 240
WST50 - TQC62 - 195
WST50 - TQC62 - 270
WST50 - TQC72 - 195
WST50 - TQC72 - 285
WST50 - TQC90 - 210
WST50 - TQC90 - 300
WST60 - TQC50 - 240
WST60 - TQC62 - 270
WST60 - TQC72 - 285
WST60 - TQC90 - 300

®25- 038
®30- 42
®38 - 50
®42 - ©56
®50- 65
®50 - ®65
®62- 990
®62 - ©90
®72- 0110
®72- 110
®90- 125
®25- ©38
®30- 942
®38 - ®50
®42 - ©56
®50 - 65
®50 - 65
®62 - ®90
®62- 990
®72- 0110
®72- 0110
®90- 125
®90- 125
®50 - ®65
®62- 990
®72- 0110
®90- ®125

135
165
180
210
180
225
180
240
180
240
180
135
165
180
210
180
240
195
270
195
285
210
300
240
270
285
300

24
30
34
40
40
50
50
60
60
75
20
24
30
34
40
40
50
50
60
60
75
75
40
50
60
75

26
33
37
44
44
56
56
66
66
66
22
26
33
37
44
44
56
56
60
60
80
80
44
56
60
80

Ml
’
a8 o PO
/’\i 'é‘
L 2 ’I

10
10
13
13
16
16
19
19
19

10
10
13
13
16
16
19
19
19
19
13
16
19
19

TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC19-116-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-116-45-L

M6x13
M6x13
M8x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M6x13
M6x13
M8x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M12x13
M10x13
M12x13
M12x13
M12x13

M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M12x24
M8x10
M12x15
M12x18
M12x24

1.46
1.34
1.69
2.15
2.38
2.78
2.97
4.11
3.41
5.36
4.9
2.94
3.14
3.51
3.83
5.25
4.73
5.30
5.64
7.18
8.99
9.05
11.98
14.6
14.65
16.53
18.4

i OXKTQCRAIEUARSE T WHERS .

s lif]o



@ BEEH

MNAS HMCT GROUP

@ BEEH

LNVAS HVMCT GROUP

WSTHRTSGEMAMREHRLX TR RS

WST-TSG Tooling System For Boring And Milling

WSTHRTSGEMAREHLXTERES

WST-TSG Tooling System For Boring And Milling

HARHEETIF

Mounting Square Bite Boring Bars with Radial Adjustment

HAZMEETINF

Mounting Square Bite Boring Bars with Radial Adjustment

b b
L L
S~ ¢ S =
L 15 L 15

TZC8-20-90-L TZC13-43-90-L

440.0135.023 WST40-TZC25-135 ®25- ®50 TZC8-29-90-L M6x15  M6x6 440.0141.023 WST50-TZC50-240 ®50- ®90 TZC13-64-90-L M10x15 M10x14
TZC10-32-90-L TZC16-53-90-L

440.0135.023 WST40-TZC38-180 ®38-®70 180 30 33 10 TZC10-49-90-L M8x15 M8x10  1.79 440.0142.023 WST50-TZC62-195 ®62-®115 195 50 56 16 TZC16-80-90-L M12x15 M12x18 5.54
TZC13-43-90-L TZC16-53-90-L

440.0136.023 WST40-TZC50-180 ®50-®90 180 40 44 13 TZC13-64-90-L M10x15 M10x14 2.61 440.0142.023 WST50-TZC62-270 ®62-d115 270 50 56 16 TZC16-80-90-L M12x15 M12x18 6.57
TZC13-43-90-L TZC19-62-90-L

440.0136.023 WST40-TZC50-225 ®50-®90 225 40 44 13 TZC13-64-90-L M10x15 M10x14  3.00 440.0143.023 WST50-TZC72-195 ®72- ®135 195 60 66 19 TZC19-90-90-L M12x15 Mi12x22 6.74
TZC16-53-90-L TZC19-62-90-L

440.0137.023 WST40-TZC62-180 ®62-®115 180 50 56 16 TZC16-80-90-L M12x15 M12x18 3.42 440.0143.023 WST50-TZC72-285 ®72-®135 285 60 66 19 TZC19-90-90-L M12x15 Mi12x22 941
TZC16-53-90-L TZC19-79-90-L

440.0137.023 WST40-TZC62-225 ®62-®115 225 50 56 16 TZC16-80-90—L M12x15 M12x18 3.94 440.0144.023 WST50-TZC90-210 ®90- ®150 210 75 80 19 TZC19-113-90-L M12x15 M12x30 9.63
TZC19-62-90-L TZC19-79-90-L

440.0138.023 WST40-TzZC72-180 ®72-®135 180 60 66 19 TZC19-90-90-L M12x15 M12x22 4.36 440.0144.023 WST50-TZC90-300 ®90-®150 300 75 80 19 TZC19-113-90-L M12x15 M12x30 12.94
TZC19-62-90-L TZC25-91-90-L

440.0138.023 WST40-TZC72-225 ®72-®135 225 60 66 19 TZC19-90-90-L M12x15 M12x22 4.83 440.0157.023 WST50-TZC105-195 ®105- ®190 195 90 90 25 TZC25-136-90-L M16x15 M16x34 10.53
TZC19-79-90-L TZC25-91-90-L

440.0139.023 WST40-TZC90-180 ®90-®150 180 75 66 19 TZC19-113-90-L M12x15 M12x30 5.60 440.0157.023 WST50-TZC105-285 ®105- ®190 285 90 94 25 TZC25-136-90-L M16x15 M16x34 15.4
TZC19-79-90-L TZC16-53-90-L

440.0139.023 WST40-TZC90-225 ®90- ®150 225 75 66 19 TZC19-113-90-L M12x15 M12x30 6.74 440.0158.023 WST60-TZC62-270 ®62- d115 270 50 56 16 TZC16-80-90-L M12x15 Mi12x18 15.92
TZC8-20-90-L TZC19-62-90-L

440.0140.023 WST50-TZC25-135 ®25-®50 135 20 22 8 TZC8-29-90-L. M6x15  M6x6 2.94 440.0158.023 WST60-TZC72-285 ®72-®135 285 60 66 19 TZC19-90-90-L M12x15 Mi12x22 18.45
TZC10-32-90-L TZC19-79-90-L

440.0140.023 WST50-TZC38-180 ®38-®70 180 30 33 10 TZC10-49-90—L M8x15 M8x10  3.57 440.0159.023 WST60-TZC90-300 ®90- ®150 300 75 80 19 TZC19-113-90-L M12x15 M12x30 22.29
TZC13-43-90-L TZC25-91-90-L

440.0141.023 WST50-TZC50-180 ®50-®90 180 40 44 13 M10x15 M10x14 4.28 440.0159.023 WST60-TZC105-300 ®105- ®190 300 90 94 25 M16x15 M16x34 24.75

TZC13-64-90-L

TZC25-136-90-L

. XTZCEAEESE TIIHERSY .
M FTZW T BV i $% 7] MHER 5 o

s llfo



@

IBRE5A

MNAS HMCT GROUP

WSTHRTSGEMAMREHRLX TR RS

WST-TSG Tooling System For Boring And Milling

B R s AT

Angular Mounting Micro—adjustable Boring Bars

HRC53-58

440.0104.034
440.0105.034
440.0106.034
440.0107.034
440.0108.034
440.0109.034
440.0110.034
440.0111.034
440.0112.034
440.0113.034
440.0134.034
440.0135.034
440.0136.034
440.0137.034
440.0138.034
440.0139.034
440.0140.034
440.0141.034
440.0142.034
440.0143.034
440.0144.034
440.0145.034
440.0197.034
440.0198.034
440.0199.034
440.0200.034
440.0201.034
440.0202.034

WST40 - TQW38 - 150
WST40 - TQW38 - 210
WST40 - TQW48 - 150
WST40 - TQW48 - 210
WST40 - TQW62 - 150
WST40 - TQW62 - 210
WST40 - TQW82 - 150
WST40 - TQW82 - 210
WST40 - TQW105 - 150
WST40 - TQW105 - 210
WST50 - TQW38 - 165
WST50 - TQW38 - 195
WST50 - TQW48 - 165
WST50 - TQW48 - 255
WST50 - TQW62 - 240
WST50 - TQW62 - 300
WST50 - TQWS82 - 240
WST50 - TQW82 - 315
WST50 - TQW105 - 240
WST50 - TQW105 - 315
WST50 - TQW135 -210
WST50 - TQW165 - 210
WST60 - TQW48 - 255
WST60 - TQW62 - 300
WST60 - TQW82 - 315
WST60 - TQW105 - 315
WST60 - TQW135 - 315
WST60 - TQW165 - 315

i % TQWHRIASE 71 RHER S

_ ]|l

®38 - ®50
®38 - ®50
®48 - ©65
®48 - ©65
®62 - O85
®62 - ©85
®82- 0110
®82- ®110
®105- ®140
®105- ®140
®38- ®50
®38 - ®50
®48 - ©65
D48 - ©65
®62- 85
®62 - 85
®82- 0110
®82- ®110
®105- ®140
®105- ®140
®135-®170
®165 - ®200
®48 - 65
®62 - ©85
®82- 0110
®105- ®140
®135-®170
®165 - ®200

150
210
150
210
150
210
150
210
150
210
165
195
165
255
240
300
240
315
240
315
210
210
255
300
315
315
315
315

35
41
41
54
54
68
68
85
85
35
35
41
41
54
54
68
68
85
85
114
144
41
54
68
85
114
144

38
44
45
53
56
60
60
60
60
37
38
44
45
55
56
72
74
90
90
90
90
44
45
72
90
90
90

TQW38
TQW38
TQW48
TQW48
TQW62
TQW62
TQW82
TQWS82
TQW105
TQW105
TQW38
TQW38
TQW48
TQW48
TQW62
TQW62
TQW82
TQW82
TQW105
TQW105
TQW135
TQW135
TQW48
TQW62
TQW82
TQW105
TQW135
TQW135

M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15
M6éx15
M6x15
M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M5x12
M5x12
M6x15
M6x15
M6x15
M6x15
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15

M6x10
M6x10
M6x12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M6x10
M6x10
M6x12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M10x30
M10x30
M6x12
M6x12
M8x15
M8x15
M10x20
M10x20

1.66
2.06
2.13
2.77
2.99
4.10
3.92
5.24
4.96
6.70
3.70
3.80
4.07
4.80
6.40
7.90
8.50
11.8
124
14.8
14.5
17.4
13.42
15.75
17.85
21.75
23.85
26.75

WSTHRTSGEMAREHLXTERES

WST-TSG Tooling System For Boring And Milling

@

g i

LNVAS HVMCT GROUP

AIESE L TIHR

Adjustable Shanks of Boring Heads

W
_EEDE
=]

~al

HRC53-58

TD1-16;TD2-16;TD3-16TD4-16
TD1-16;TD2-16;TD3-16TD4-16
TD1-16;TD2-16;TD3-16TD4-16

440.0033.020 WST40 - TK16 - 150 90 150 ®8-0320
440.0032.020 WST50 - TK16 — 150 90 16 150 ®8-d320
440.0034.020 WST60 - TK16 - 150 90 16 150 ®8-d320

i K ETITD1-16F—RKEEHITEE A 8 —068, £ REFHISEE HO56-D124;
¥ EIITD2-16 8 —REHIEE A DP16-076, F_REHIEEAHD72-0132;
¥ $TITD3-16F —REEHITEE A D30-D0, & RKiEHITERE A D86-D146;
¥ §2T1TD4A-1652HISE B A P145-9320,

% EEFAETIHES .

7o



BEEHA TMG 2118kt st T E R % TMG 214zt sk T B R 5 BEEH

[INAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP

TMG 21 #ERAEHRX TR RS - B®

TMG21ERNERXTE RS, TEER FTEKEXLEEIARNMI A OHR
B, ZRGEHTIMBER, hEER, THERR=ZMIAMR, KRZEHEERA

BEMED. ERHETHE, BEERSERE, ETEEN—BHI, S—BhH, TMG 21#RRHXEFR L TR RS
MEBANGESHZEETHE, ERA—TNETDF, XMRRXENELLEE

B RELE, BRALE. RAEX, EHEXABARITRENIEE, T ] TR ARG e seerssessersorserser EO1  SEHREE T orrrrrresssssessesees e E1a
gi;gﬁﬂggggfgifgf’¢@ﬁﬂﬂﬁﬁ§ﬂﬁE’W*ﬁﬁﬁmﬁ T B2 473 T LS e EO1 ATESEEE T oo c1a
mﬁﬁ’ﬂwb?:m%&#ﬁﬂa‘, HISO. GB. JIS(MAS), ASME(ANSI), DIN, FHHIT TEERBLR oo E02 S FRVEARTT B R oo E15
FOCTE Z MiRMAEFM30, 40, 50, 60SFWFMMIE, HEMIREMMIEL A A BRI B AT oo oo E02 S e (1 £ S A T LA B E15
;ﬁﬁﬂhﬁﬂﬁo THERAHSK #met, HIEREAMNAES0. 63, 100=F e EO3 3ot sy 871 = E 7 6 T Moo E16
OI1’E7FE5&E='E£\ B B B RAZEMMTIE. ZRSHEEA FEL HSK-CF BT TR R -+ evevvseeesssenens 2 P U E16
Bl XiEA FRALEEHE. B B R HE e vesers e EOA oA BT E S T e ereorerrereesresrE17
| B 0 e -
BREBERBEBETAEH oo E05 LLGE T SLABER - eeen e eeneee e ee e e E17
- {_/-* B T S AT oo e EQB BT TE BGEEeeeveeeeereeremireineeannnns E18

Q0 W T) AT A AT EE {sr g JTI AR A+ veeveeeee e eee e  EQ7

TMG213 7RI AT B i § T AR ER S VT HI B4 E07
Q0° I T AT AT AL 5% TR R B v vvveeemmneeemmnreenennns EO08
80°XX T AT AT BB 4% TTARE R - evvmremmmeeneeenennnnes E09
R AT S TS BR oo evveevene et E09
S T) S AT B (ST 4 TIAEBR -+ evevvrermmnrerenrernnneennn, E10

Q0° W T K FLAL S JIREL oo e E1 O

B T S L8 T oo 11
E R 11
BB LA T oo £12
T, £12

L ot S E13




BEEHA TMG 21#&bhat st T B R % TMG 214zt sk T B R 5 BEEH

[INAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP

21CD-7 21C-7B TD-7B
— 21A + JT SLEL ——7
LR F13 El4
R0l
21CD-PK Yoy
£06

1Yt

21CD-K
218 T ]
P4
21A«ST o lCoxp
E02 S
21CD-TSW d
E10

21C-XPD
— b 21C-XSL e
21CD-TSI0 gt WP e
T 2 AN e —
E07
E02
21C-M 21C-XMA e
— E05 E18
21CD-TS80 gt
P12 "H|||l|-J
. 21C-XMC e
Frm—]
21CD-TZW 2% EL7
T -
21C-Q —
E16 —_—
21« HSK
E03 21CD-TQW  pe 0§
E12
i ——
517 1 — N -

bl he & o



BEEHA TMG 21f&shat st % T R % TMG 214zt sk T B R 5 BEEH

[/NAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP
B oMk 7] T EEfRfRR Fh#aT) T EHEREDR
Basic Holders for Auto Changing Tool Basic Holders for Manual Changing Tool

HRC53-58

1.0001.035  21A - JT40 - 2550 ... 0.90 1.0101.035  21A - ST40 - 25— 50 l... 0.88
461.0002.035  21A - JT40 - 32-50 40 32 16 50 0.97 461.0102.035  21A - ST40 - 32— 50 40 32 16 50 38 095
461.0003.035  21A - JT40 - 40 - 50 40 40 20 50 1.05 461.0103.035  21A - ST40 - 40— 50 40 40 20 50 38 1.07
461.0004.035  21A - JT40 - 50~ 50 40 50 28 50 1.10 461.0104.035  21A - ST40 - 50— 50 40 50 28 50 38 1.17
461.0005.035  21A - JT40 - 63 - 90 40 63 34 90 3.20 461.0105.035  21A - ST40 - 63— 70 40 63 34 70 58  1.71
461.0011.035  21A - JT50 - 3260 50 32 16 60 3.51 461.0111.085  21A - ST50 - 32— 60 50 32 16 60 44  1.45
461.0012.035  21A - JT50 - 40 - 60 50 40 20 60 3.67 461.0112.0385  21A - ST50 - 40— 60 50 40 20 60 44 270
461.0013.035  21A - JT50 - 50— 60 50 50 28 60 4.00 461.0113.035  21A - ST50 - 50— 60 50 50 28 60 44  3.10
461.0014.035  21A - JT50 - 63 - 60 50 63 34 60 4.48 461.0114.035  21A - ST50 - 63— 60 50 63 34 60 44  3.30
461.0015.035  21A - JT50 - 8070 50 80 46 70 5.25 461.0115.085  21A - ST50 - 80— 80 50 80 46 80 64  4.20
461.0016.035  21A - JT50 - 100 - 115 50 100 56 115  6.88 ~| 461.0116.035 21A-ST50-100-100 50 100 56 100 84 658
440.0301.080  21A - JT50 - 125120 50 125 70 120  15.0 461.0117.035 21A-ST50-125-125 50 125 70 125 110 8.89
440.0304.080  21A - JT60 - 6360 60 63 34 60 8.55 . 461.0118.035  21A - ST60 - 63— 80 60 63 34 80 60 10.88
440.0305.080  21A - JT60 - 80 - 100 60 80 46 100  9.55 461.0119.035  21A - ST60 - 80— 80 60 80 46 80 60 11.56
440.0306.080  21A - JT60 - 100 - 115 60 100 56 115  10.95 461.0120.035  21A - ST60 - 100-100 60 100 56 100 90 13.75
440.0307.080  21A - JT60 - 125120 60 125 70 120  19.07 461.0121.035 21A-ST60-125-110 60 125 70 110 90 15.65

i TWFHEEERE M, WEPEISRFRAHA: WST40---, WST50--

B2 PR AN K i AR AR R

Basic Holders with Morse and Metric System

:
- - —-—O—-H{% al =
-_-III- L
440.0001.080  21A - BT40 - 2550 0.90
440.0002.080  21A - BT40 - 3260 40 32 16 60 097
440.0003.080  21A - BT40 - 4060 40 40 20 60  1.05
440.0004.080  21A - BT40 - 5070 40 50 28 70  1.10 --
440.0005.080  21A - BT40 - 63-90 40 63 34 90 320 440.0001.076  21A - M5 - 25-38 5 440.0017.076  21A - M80 - 40— 44
- 440.0012.080  21A - BT50 - 3260 50 32 16 60 3.5 440.0002.076  21A - M5 - 32-38 5 32 16 38 440.0018.076 21A-M80-50-44 80 50 28 44
J— :IJ_‘ I 440.0013.080  21A - BT50 - 4060 50 40 20 60  3.67 440.0003.076  21A - M5 - 40— 44 5 40 20 44 440.0019.076 21A-M80-63-60 80 63 34 60
— = 440.0014.080  21A - BT50 - 50 - 80 50 50 28 80  4.00 440.0004.076  21A - M5 - 50 - 44 5 50 28 44 440.0020.076 21A-M80-80-60 80 80 46 60
= &5 440.0015.080  21A - BT50 - 63-80 50 63 34 80 448 440.0005.076  21A - M6 - 2538 6 25 13 38 440.0012 076 21A-M80-100-90 80 100 56 90
- :l]l 440.0016.080  21A - BT50 - 80-80 50 80 46 80 525 440.0006.076 ~ 21A - M6 - 3238 6 32 16 38 440.0014.076 21A-M80-125-90 80 125 70 90
440.0017.080  21A-BT50-100-115 50 100 56 115 6.8 440.0007.076  21A - M6 - 40 - 44 6 40 20 44 440.0021.076 21A-M100-40-44 100 40 20 44
440.0018.080  21A-BT50-125-120 50 115 70 120 150 440.0008.076  21A - M6 - 50 - 44 6 50 28 44 440.0022.076 21A-M100-50-44 100 50 28 44
440.0031.080  21A - BT60 - 63— 100 60 63 34 100 855 440.0009.076  21A - M6 - 63 - 60 6 63 34 60 440.0023.076 21A-M100-63-60 100 63 34 60
440.0032.080  21A - BT60 - 80— 100 60 80 46 100  9.55 440.0010.076  21A - M6 - 80~ 70 6 80 46 70 440.0024.076  21A - M100-80-60 100 80 46 60
440.0033.080  21A-BT60-100-120 60 100 56 120 10.95 440.0011.076  21A-M6-100-100 6 100 56 100 440.0013.076  21A - M100 - 100-90 100 100 56 90
440.0034.080  21A-BT60-125-130 60 125 70 130 19.07 440.0015.076 21A - M100 - 125-90 100 125 70 90

o2 JIlJE




BEEHA TMG 21#&bhat st T B R % TMG 214zt sk T B R 5 BEEH

[/NAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP
HSK-A B 3## 7] T A #EiRh ER P EER
HSK-A Basic Holders for Auto Changing Tool Extension

1.0222.035 21B 25/25 — 45 0.20
261.0202.035 21B 25/25 — 60 60 13 25 13 0.31
261.0223.035 21B 32/32 - 50 50 16 32 16 0.45
261.0203.035 21B 32/32 - 70 70 16 32 16 0.40
261.0224.035 21B 40/40 - 60 60 20 40 20  0.60
; 261.0204.035 21B 40/40 - 90 90 20 40 20 090
— ) -_....- 261.0225.035 21B 50/50 — 65 65 28 50 28 090
r]- _ [ 440.0050.080 21A - HSK-A63 - 25 - 50 261.0205.035 21B 50/50 — 100 100 28 50 28 145
ek = :[v 440.0051.080  21A - HSK-A63 - 32 - 50 32 50 16 82 0.9 261.0226.035 21B 63/63 — 85 85 34 63 34 210
i g 440.0052.080  21A - HSK—A63 * 40 - 60 40 60 20 92 1.0 261.0206.035 21B 63/63 — 125 125 34 63 34 290
: 1 440.0053.080  21A - HSK-A63 + 50 - 70 50 70 28 102 1.2 ~ T—TLxﬁL 261.0227.035 21B 80/80 - 85 85 46 80 46  3.14
| 440.0054.080  21A - HSK-A63 - 63 - 80 63 80 34 112 15 S48 -H :_:E:_::}j_i = %f al =| 261.0228.035 21B 80/80 - 125 125 46 80 46  6.70
' = 1 440.0055.080 21A - HSK-A63-80-100 80 100 46 132 15 A L'}TiT 261.0208.035 21B 100/100 - 125 125 56 100 56  7.35
440.0063.080 21A - HSK-A100-25-60 25 60 13 110 2.0 261.0118.035 21B 100/100 — 160 160 56 100 56  9.70
440.0064.080 21A - HSK-A100-32-60 32 60 16 110 20 L 261.0229.035 21B 125/125 - 160 160 70 125 70 135
440.0065.080 21A - HSK-A100-40-80 40 80 20 130 23 261.0209.035 21B 125/125 - 200 200 70 125 70  17.0
E 440.0066.080 21A - HSK-A100-50-80 50 80 28 130 25 E
440.0067.080  21A - HSK-A100 - 63-80 63 80 34 130 28 g’__zt |:|:| [‘g] *ﬁﬂ&
440.0068.080 21A - HSK-A100-80-90 80 90 46 140 38 Reducer
440.0069.080 21A - HSK-A100 - 100-100 100 100 56 150 4.0 --......-
1.0242.035 21B 32/25 — 40 0.18

261.0243.035 21B 40/25 - 40 40 20 25 13 40 28 0.24
261.0244.035 21B 40/32 - 40 40 20 32 16 40 28 0.27
261.0245.035 21B 50/25 - 50 50 28 25 13 50 35 0.50
261.0246.035 21B 50/32 - 50 50 28 32 16 50 35 0.55
261.0247.035 21B 50/40 - 50 50 28 40 20 50 35 0.63
261.0263.035 21B 63/25 - 60 63 34 25 13 60 40 1.01
261.0264.035 21B 63/32 - 60 63 34 32 16 60 40 1.05

- 261.0248.035 21B 63/40 - 60 63 34 40 20 60 40 1.15
4 261.0249.035 21B 63/50 - 60 63 34 50 28 60 35 1.20

HSK-CFzhi#k 7] T E#EFRfEiR

HSK-C Basic Holders for Manual Changing Tool

] 440.0070.080 21A - HSK-C63 - 25-40 261.0262.035 21B 80/32 - 60 80 46 32 16 60 35 1.60
440.0071.080 21A - HSK-C63 - 32 -40 32 40 16 72 0.5 261.0250.035 21B 80/40 - 60 80 46 40 20 60 35 1.80

. e_ - J]_m d < 440.0072.080 21A - HSK-C63 - 40 — 45 40 45 20 77 0.8 261.0251.035 21B 80/50 - 60 80 46 50 28 60 35 1.83
H 1J_W 440.0073.080 21A - HSK-C63 - 50 - 50 50 50 28 82 15 w r_jm 261.0252.035 21B 80/63 - 60 80 46 63 34 60 50 2.00
440.0074.080 21A - HSK-C63 * 63 - 60 63 60 34 92 22 = 75_:_:)_‘_E :_:_:_Ej_i Jet =] S| < 261.0253.035 21B100/40 - 80 100 56 40 20 80 50 3.24

- 440.0084.080 21A - HSK-C100 - 32 - 50 32 50 16 100 1.1 L L_JT:T 261.0254.035 21B 100/50 — 80 100 56 50 28 80 50 3.44
| 440.0085.080 21A - HSK-C100 - 40 - 50 40 50 20 100 1.2 L‘F 261.0255.035 21B 100/63 — 80 100 56 63 34 80 50 3.46

= 440.0086.080 21A - HSK-C100 - 50 - 55 50 55 28 105 1.3 L1 261.0256.035 21B 100/80 — 80 100 56 80 46 80 50 3.50
440.0081.080 21A - HSK-C100 - 63 - 60 63 60 34 110 26 L 261.0257.035 21B125/40 —100 125 70 40 20 100 50 6.00

440.0082.080  21A - HSK-C100 - 80-70 80 70 46 120 4.2 261.0258.085 21B 125/50 —-100 125 70 50 28 100 50 6.50

440.0083.080 21A - HSK-C100 - 100-80 100 80 56 130 6.1 261.0259.035 21B 125/63 -100 125 70 63 34 100 50 700

261.0260.035 21B 125/80 -100 125 70 80 46 100 50 7.50
261.0261.035 21B 125/100-100 125 70 100 56 100 50 8.00

Ell B




BEEHA TMG 21#&bhat st T B R % TMG 214zt sk T B R 5 BEEH

[/NAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP
AREEREHFLER FEhF LG R
Adaptors for Morse Taper with Tang Modular with Drill Chuck Tapers

S —

<< :j%#i‘::q?‘:

L1

/)-|_{'\.
[
|
D

ﬁl EIE%*; ] e

261.0281.035  21C - 50— M1 - 90 1 0.46 240.0391.071  21C - 25-210-30 B10 10.094 14.5 2° 51’ 2 0.30
261.0282.035 21C-50-M2-105 50 28 30 2 105 93 0.68 240.0392.071  21C-32-712-35 32 16 B12 35 12.065 185 35  2° 51’ 26" 0.55
261.0283.035 21C-50-M3-125 50 28 36 3 125 113 0.89 240.0393.071  21C-32-716-35 32 16 B16 35 15733 24 5 2° 517 417 0.65 E
261.0284.035  21C - 63 - M4 - 150 63 34 48 4 150 135 3.47 240.0394.071  21C-40-Z16-40 40 20 B16 40 15733 24 5 2° 51’ 41” 0.70
240.0395.071  21C-40-Z18-40 40 20 B18 40 17.780 32 5 2° 51’ 41” 0.75
240.0396.071  21C - 50-216-50 50 28 B16 50 15733 24 5 2° 51’ 41”7 0.85
240.0397.071  21C-50-2Z18-50 50 28 B18 50 17.780 32 5 2° 51’ 41”7 0.90
240.0398.071  21C-63-Z16-50 63 34 B16 50 15733 24 5 2° 51’ 41” 1.00
240.0399.071  21C - 63-218-50 63 34 B18 50 17.780 32 5 2° 51’ 417 1.20

oo lllJE




@ BEEH

MNAS HMCT GROUP

90° XTI R E eI d5 L TIiEtRARY

90° Twin-blade Adjustable Indexable Boring Cutters

T

@ BEEH

LNVAS HVMCT GROUP

TMG 21 EGE TR RS

TMG 21 Modular Tooling System For Boring And Milling

TMG 21X ESFETE RS

TMG 21 Modular Tooling System For Boring And Milling

90° X VIR E el 45§ TI 1= tRBEY

90° Double Edges Adjustable Indexable Boring Cutters
v

n

ot

.

|

|

I

|

|

I

&

D

240.0001.137  21CD.25-TS9025-50B ©25- 33 M2.5 CCOMT060204  0.50
223.0125.810 21CD - 25-T89030-50  ©30- @41 4 M2.5x5  PD02381204 0.20 240.0002.137  21CD.32-TS9032-60B ©32-042 32 16 60 M25 T8 CCMT060204  0.60
223.0126.810 21CD-25-TS9030-70 ~ ©30-041 25 13 4 T8  M25x5 PD02381204 - 0. 240.0003.137  21CD.32-TS9032-100B  ®32- 42 32 16 100 M25 T8 CCMT060204  0.70
223.0127.810 21CD-32-TS9030-85 ~ ®©30- @41 25 16 4 T8  M25x5 PD02381204 - 0.36 240.0004.137  21CD.32-TS9041-608 ©41-0©54 32 16 60 M4  Ti5 CCMT09T308  0.80
223.0128.810 21CD-32-TS9039-60  ©39- 051 35 16 6 T10 M35x9 PDO1381204 Bfi41-01  0.28 240 0005137  21CD.A0_TSO041_1208  ©41- 054 40 20 120 M4 TH5  COMTOOT08  1.00
223.0129.810 210D - 32-TS9039-100  ®39-®51 35 16 6 T10 M35x9 PDO1381204 Bf141-01  0.50 T e —— S I B B B B I E——
223.0130.810 210D - 40-TS9039-120  ©39-®51 35 20 6 T10 M35x9 PDO1381204 Bf141-01  0.72 2400007137  210D.50-TSO053-1358  ©53— 071 50 28 135 M4 T15  COMTOST308 136
223.0131.810 21CD - 40-TS9049-60  ©49-®71 40 20 65 Ti0 M35x9 PDO1381204 Bf141-01  0.50 B M ) B B B e B E—
223.0132.810 210D - 40-TS9049-120  ©49-®71 40 20 65 T10 M35x9 PDO1381204 Bf41-01  1.00 9400009137  210D.63.TSO06E-1358 068 088 63 34 135 M5 T20  COMTi20408  3.20
223.0133.810 21CD-50-TS9049-135 ~ ©49- @71 40 28 65 Ti0 M35x9 PDO1381204 Bf141-01  1.36 T T T T T T T
223.0134.810 21CD-50-TS9064-70  ©64- 091 50 28 75 Ti5 M45x10 PD1481204 Bf141-01  0.79 240 0011137  21CD.B0_TSI0100-908  ©100- ©125 80 46 9 M5 T20 CCMTi20408  6.80
223.0135.810 210D - 50-TS9064-135 ~ ©64-®91 50 28 7.5 Ti5 M45x10 PD1481204 BH41-02  1.50 T T T T T T T B
223.0136.810 21CD-63-TS9083-70 ~ ©83- 0121 63 34 9 T15 M45x10 PD2531204 Bf141-02  3.40 9400013137  21CD.100-TSI0120-1008 120 155 100 56 100 M5  T20 CCMT20408 .15
223.0137.810 210D - 63-TS9083-155 ©83- 0121 63 34 9 Ti5 M45x10 PD2531204 Bf141-03  4.50
223.0138.810 21CD - 80-TS90109-90 ©109- ©157 80 46 9 T15 M45x10 PD2531204 Bf141-03  3.24 90° W 7] R[iA R &R iz J1HEthBEY
223.0139.810 21CD - 80-TS90109-175 ®109- ®157 80 46 9 T15 M4.5x10 PD2531204 Bf141-03  4.60 90° Double Edges Adjustable Indexable Boring Cutters
223.0140.810  21CD - 100-TS90139-125 ©139- ©204 100 56 11 T20 M55x155 PD3601208 Bf141-04  7.18
223.0141.810 210D - 100-TS90139-240 ©139- ®204 100 56 11 T20 M55x155 PD3601208 Bf41-04  7.50 s
223.0144.810 210D - 100-TS90196-100 ®196- ®271 165 56 11 T20 M55x155 PD3601208 Bf141-04  9.15 I_F
223.0142.810 210D - 125-TS90139-150 ®139- ®204 125 70 11 T20 M55x155 PD3601208 Bf141-04  9.05 _
223.0143.810 210D - 125-TS90139-300 ©139- ®204 125 70 11 T20 M55x155 PD3601208 Bf41-04  8.80
223.0145.810 210D - 125-TS90196-100 ®196- @271 165 70 11 T20 M5.5x155 PD3601208 Bf141-04  10.12 A e -
223.0146.810 210D - 125-TS90261-130 ©261- 0335 230 70 11 T20 M55x155 PD3601208 Bf141-04  11.00 ®
223.0147.810 210D - 125-TS90326-115 ®326- ®401 295 70 11 T20 M55x155 PD3601208 Bf141-04  13.94 - b
223.0148.810 210D - 125-TS90370-130 ®370- ®501 356 70 11 T20 M55x155 PD3601208 Bf141-04  16.03
223.0155.810 210D - 125-TS90490-130 ©490- ©570 360 70 11 T20 M5.5x155 PD3601208 Bf141-04  17.85 e

TMG21 X T Al AT 45 A $2 T i R EFE VI EHI S E

T T AT BT 240.0070.137 21CD.100-TS90150-105B  ®150-®200 100 105 CCMT120408 10.12

L4 e 120-180 120-180 0.2-0.4 0.08-0.2 240.0071.137 21CD.100-TS90195-105B  ®195-®265 100 56 105 M5 T20 CCMT120408 11.00
EELW 120-210 120-210 0.2-0.4 0.08-0.2 240.0072.137 21CD.125-TS90260-130B  ®260-®330 125 70 130 M5 T20 CCMT120408 12.00
EEES LW 100-170 100-170 0.2-0.4 0.08-0.2 240.0073.137 21CD.125-TS90325-130B  ®325-®395 125 70 130 M5 T20 CCMT120408 13.94
4R 60-110 60-110 0.2-0.4 0.08-0.2 240.0074.137 21CD.125-TS90390-130B  ®390-®460 125 70 130 M5 T20 CCMT120408 16.03
sk 75-150 75-150 0.2-0.4 0.08-0.2 240.0075.137 21CD.125-TS90455-130B  ®455-®525 125 70 130 M5 T20 CCMT120408 17.85

osJIlJE




@ BEEH

MNAS HMCT GROUP

80° XX JI Rl iE Al #& (i & T] iR

80° Double Edges Adjustable Indexable Boring Cutters

@ BEEH

LNVAS HVMCT GROUP

TMG 21X ESFETE RS

TMG 21 Modular Tooling System For Boring And Milling

TMG 21 EGE TR RS

TMG 21 Modular Tooling System For Boring And Milling

90° XX 7] futifE Al #E{iL % T] iR

90° Twin-blade Micro adjustable Indexable Boring Cutters

_ el

223.0106.810 21CD - 25-TS8030-50 ©30- 041 4 M2.5x5  PD02381204 0.20
223.0107.810 21CD - 25-TS8030-70 ®30-041 25 13 4 T8 M2.5x5 PD02381204 = 0.20
223.0108.810 21CD - 32-TS8030-85 ®30-041 25 16 4 T8 M2.5x5 PD02381204 - 0.36
223.0109.810 21CD - 32-TS8039-60 ®39-051 35 16 6 T10 M35x9 PD01381204 Bf141-01  0.28 223.0101.810 21CD - 100-TSW90196-88 ®196-®271 100 56 165 T10 M3.5x6  CCMT120408 7.5
223.0110.810 21CD - 32-TS8039-100 »39- 051 35 16 6 T10 M3.5x9 PD01381204 Bf141-01 0.40 223.0102.810 21CD - 125-TSW90196-88 ®196- ®271 125 70 165 T10 M3.5x6 CCMT 120408 9.0
223.0111.810 21CD - 40-TS8039-120  ®39-®51 35 20 6 T10  M3.5x9 PD01381204 Bf141-01  0.72 223.0103.810  21CD - 125-TSW90261-90 ®261-®335 125 70 230 T10 M3.5x6  CCMT120408 105
223.0112.810 21CD - 40-TS8049-60 49— 071 40 20 6.5 T10 M3.5x9 PD01381204 Bf141-01 0.50 223.0104.810 21CD - 125-TSW90326-112 ®326- ®401 125 70 295 T10 M3.5x6 CCMT120408 13
223.0113.810 21CD - 40-TS8049-120  ©49-®71 40 20 65 Ti0 M35x9 PD01381204 Bf142-01  0.60 223.0105.810 21CD - 125-TSW90395-122 ©395- ®501 125 70 360 T10 M3.5x6 ~ CCMT120408 15
223.0114.810 21CD - 50-TS8049-135  ©49-®71 40 28 65 T10  M3.5x9 PD01381204 Bf142-01  1.36
223.0115.810 21CD - 50-TS8064-70 ©64-091 50 28 75 Ti5 M45x10 PD1481204 Bf142-02  0.79
223.0116.810 21CD - 50-TS8064-135 ~ ©64-©91 50 28 7.5 T15 M4.5x10 PD1481204 Bf142-02  1.80 90° W 7] j(? L?éﬁ)’[ﬂ% 7] *Eij&
223.0117.810 21CD - 63-TS8083-70  ®83-®121 63 34 9 T15 M45x10 PD1481204 Bf142-02  1.41 90° Twin-blabe Big diameter Micro aD?n{gDSr:gNe Indexable Boring Cutters
223.0118.810 21CD - 63-TS8083-135 ~ ©83- 0121 63 34 9 T15 M4.5x10 PD1481204 Bf142-03  2.50 P =
223.0119.810 21CD - 80-TS80109-90 ©109- ®157 80 46 9 T15 M4.5x10 PD2531204 Bf142-03  3.24 il
223.0120.810 21CD - 80-TS80109-175 ©109- ®157 80 46 9 T15 M4.5x10 PD2531204 Bf142-03  6.20 - | ==l =N
223.0121.810 21CD - 100-TS80139-125 ©139- ©®204 100 56 11 T20 M5.5x155 PD3601204 Bf142-04  7.18
223.0122.810 21CD - 100-TS80139-240 ®139- 204 100 56 11 T20 M5.5x15.5 PD3601204 Bf142-04  13.20 b
223.0149.810 21CD - 100-TS80196-100 ©196- ®271 165 56 11 T20 M5.5x155 PD3601204 Bf142-04  7.62 T K
223.0123.810 21CD - 125-TS80139-150 ©139- ©204 125 70 11 T20 M5.5x155 PD3601204 Bf142-04  8.16 N o )
223.0124.810 21CD - 125-TS80139-300 ®139- 204 125 70 11 T20 M5.5x155 PD3601204 Bf142-04  16.10 —\+ '
223.0150.810 21CD - 125-TS80196-100 ©196- ®271 165 70 11 T20 M5.5x15.5 PD3601204 Bf142-04  9.15 y 4 Mﬁ; W
223.0151.810 21CD - 125-TS80261-130 ®261- ©335 230 70 11 T20 M5.5x155 PD3601204 Bf142-04  11.00 { I B\ S—
223.0152.810 21CD - 125-TS80326-115 ©326- 401 295 70 11 T20 M5.5x155 PD3601204 Bf142-04  13.94 4&[@} @7 5
223.0153.810 21CD - 125-TS80370-130 ©370- ®501 356 70 11 T20 M5.5x15.5 PD3601204 Bf142-04  16.07 CETAN w L
223.0154.810 21CD - 125-TS80490-130 ©490- 570 360 70 11 T20 M5.5x155 PD3601204 Bf141-04  17.87
R o R
Micro—-adjustable Indexable Boring with Radial Adjustment 240.0101.137  XDBO-TSW90261-115 ©261-0335 115 ®101.6 T8W25/77.5B
_\ 240.0102.137  XD60- TSW90326-115 $326-0401 115 310  ®101.6 18  TZW25/77.5B 16
T 240.0103.137  XD60-TSW90370-115  ©370-®501 115 350  ©101.6 18 T8W25/77.5B 18.4
= 240.0104.137  XD60-TSW90490-120 ®490-0610 120 380  ©177.8 22 TZW25/77.5B 24
' 240.0105.137  XD60-TSW90590-120 ©590-0710 120 480  ©177.8 22 TZW25/77.5B 28
240.0106.137  XD60-TSW90690-120  ®690-0750 120 580  ©177.8 22 TZW25/77.5B 30
---Illl--l- o xoes o e
340.0001.130 TZW16/45B CCMT060204-HF M2.5x5 T8  0.11 | I | | |
340.0002.130 TZW20/56B 58 56 20 7 145 CCMT060204-HF M25x5 T8  0.17 ZHEPRX  EAME  SIMELER  tKE grms
340.0003.130 TZW25/77.58B 79 775 25 8 16 CCMTO9T304-HF M4x7 Ti5  0.31
340.0004.130 TZW32/978 ©100 97 32 11 19 CCMT09T304-HF Mdx7 Ti5  1.05 i ﬁ”ﬂ )l%%ogi,f_wgg%? 'I'181V5\I€§)72]1 Gﬁfﬁlzw 25/77.5A%71,
340.0005.130 TZW32/131B ©138 131 32 11 19 CCMTO09T304-HF Md4x7 Ti5  1.25

olllJE



@ BEEH

MNAS HMCT GROUP

B AR A e (52 TR

Micro—adjustable Indexable Boring Cutters with Radial Adjustment

@ BREEHA

LNVAS HVMCT GROUP

TMG 21X ESFETE RS

TMG 21 Modular Tooling System For Boring And Milling

i FHRUR T 4% {55 T] AR IR

Angular Micro adjustable Indexable Boring Cutters

TMG 21 =R EGFE TR RS

TMG 21 Modular Tooling System For Boring And Milling

d1

d1

223.0036.810 21CD - 25-TQW28 - 50.5 ®28- ©34.4 50.5 TQW10/28 0.13
223.0019.810  21CD - 25— TZW29.5 - 50 ©295- ®36 TZW10/28.5 017 223.0037.810 21CD - 25-TQW32 - 52 ®32- 0384 52 25 13 TQW10/32 0.20
223.0020.810  21CD - 25-TZW35.5 - 50 »35.5- d41 50 25 13 TZW10/28.5 0.19 223.0038.810 21CD - 32-TQW36 - 60.5 ®36 - 044 60.5 32 16 TQW12/36 0.37
223.0021.810  21CD - 32-TZW39 - 60 ®39 - 045 60 32 16 TZW12/37.5 0.35 223.0039.810  21CD - 32-TQW40 - 62 ®40 - 048 62 32 16 TQW12/40 0.56
223.0022.810  21CD - 32 - TZW44 — 60 ®44 — D50 60 32 16 TZW12/37.5 0.35 223.0040.810 21CD - 40-TQW45 - 60.9 D45 - ©54.6 60.9 40 20 TQW16/45 0.58
223.0023.810  21CD - 40— TZW47 — 60 ©47 - 057 60 40 20 TZW16/45 0.52 223.0041.810 21CD - 40-TQW50 - 63.8 ®50 - ©59.6 63.8 40 20 TQW16/50 0.59
223.0024.810  21CD - 40-TZW56 — 60 D56 — D66 60 40 20 TZW16/45 0.53 223.0042.810 21CD - 50-TQW56 - 70.5 ®56 - 68 70.5 50 28 TQW20/56 1.02
223.0025.810  21CD - 50 - TZW58 — 70 58 - O71 70 50 28 TZW20/56 0.97 223.0043.810 21CD - 50-TQW64 - 73.5 D64 - O76 73.5 50 28 TQW20/64 1.09
223.0026.810  21CD - 50 - TZW70 - 70 70 - ©83 70 50 28 TZW20/56 1.00 223.0044.810 21CD - 63-TQW72 - 90.5 72 - 088 90.5 63 34 TQW25/72 2.06
223.0027.810  21CD - 63-TZW79 - 70 ®79 - ©94 70 63 34 TZW25/77.5 1.58 223.0045.810 21CD - 63-TQW80 - 93.5 ®80 - 96 935 63 34 TQW25/80 2.21
223.0028.810  21CD - 63— TZW93 — 70 ®93 - ®108 70 63 34 TZW25/77.5 1.61 223.0046.810 21CD - 80-TQW90 -110.5 ®90 - d114 110.5 80 46 TQW32/90 4.06
223.0029.810  21CD - 80— TZW100 - 90 ®100- ©121 90 80 46 TZW32/97 3.33 223.0047.810 21CD - 80-TQW100-114.5 ®100- O 124 1145 80 46 TQW32/100 4.46
223.0030.810  21CD - 80-TZW120 - 90 ®120- © 141 90 80 46 TZW32/97 3.37 223.0048.810 21CD - 100-TQW110-125.8 ®110- ©134 125.8 100 56 TQW32/110 7.65
223.0031.810  21CD - 100 - TZW138 - 90 ®138- ®159 90 100 56 TZW32/131 6.56 223.0049.810 21CD - 100-TQW125-131.4  ©125- ©149 131.4 100 56 TQW32/125 8.24
223.0032.810  21CD - 100 - TZW158 - 90 ®158- ©179 90 100 56 TZW32/131 6.80
223.0033.810  21CD - 100-TZW178- 90 ®178- ©199 90 100 56 TZW32/131 6.61 1tﬁ§\‘:‘|'ﬁ),[i}%] ﬂ%{ﬁ%ﬂ

BRARIEA S AE AR

Micro—adjustable Indexable Boring Heads with Radial Adjustment

| =

Angular Micro adjustable Indexable Boring Heads

i

g

240.0011.130  TQW10/28 28 - ®34.4(38) 315 M2.5x6x60° TCGT060102L  0.02

240.0012.130  TQW10/32  ©32 - ®38.4(44) 354 10 4  T7  M25x6x60° TCGT060102L  0.02

L ) 240.0013.130  TQW12/36 ~ ©36 - ®44(48) 403 12 5  T7  M25x6x60° TCGT060102L  0.02

' 240.0014.130  TQW12/40  ®40- D 48(55) 453 12 5 T7  M25x6x60° TCGT060102L  0.03

240.0015.130  TQW16/45  ©45 - ®54.6(60) 51 16 6  T7  M25x6x60° TPGT090204L  0.07

-_..-.---- 240.0016.130  TQW16/50  ®50 - ®59.6(68) 57 16 6  T7  M25x6x60° TPGT090204L  0.08
540.0001.130 T2W10/28.5A 8.5 75 M2.5X6X60° TCGTO60102L  0.06 240.0017.130  TQW20/56 56 - ©68(78) 63 20 75 T7  M25x6x60° TPGT090204L  0.11
P ——— e —— e | i | 2 9  T7  M25X6XE0° TCGT060102L  0.03 240.0018.130  TQW20/64  ©64 - ©76(90) 71 20 75 T7 M25x6x60° TPGT090304L  0.13
240 .0003.130 TZWAG/45A 45 16 5 11 T7  M25X6X60° TPGT090204L  0.06 240.0019.130  TQW2572  ®72 - ©®88(100) 81 25 10 T8  M3x7x60° TPGT110304L  0.22
P — TZW20/56A 56 | 20 | 7 125 | 7 | mM2sxexeos | TPGToo0204L | 042 240.0020.130  TQW25/80  ®80 - ®96(144) 91 25 10 T8  M3x7x60° TPGT110304L  0.24
240 0005.130 TAN25/77 5A 75 9 8 16 T7  M3X7X60° TPGT110304L  0.26 240.0021.130  TQW32/90  ©90 - ®114(126) 102 32 15 T8  M3x7x60° TPGT110304L  0.45
540.0006.130 TZW32/97A o 19 T8 MaX7xe60° TPGT110304L  1.00 240.0022.130  TQW32/100 ®100- ®124(140) 112 32 15 T8  M3x7x60° TPGT110304L  0.51
240.0007.130 TZW32/131A 131 32 11 19 T8  M3X7X60°  TPGT110304L  1.20 240.0023.130  TQW32/110  ®110- ®134(150) 127 32 15 T8  M3x7x60° TPGT110304L  1.04
240.0024.130  TQW32/125 ©125-®149(175) 142 32 15 T8  M3x7x60° TPGT110304L  1.09

_ =)

2 ll]E



BEEHA TMG 21f&shat st % T R % TMG 214zt sk T B R 5 BEEH

[INAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP

T 55 kAR BAREET] (4290

Micro adjustable Boring Heads Carbide Boring

o

—— meh

@16

D omin_|

B 1 ]

v §EHITEE: ¢ 2-¢ 50, 340.0115.133 TD2x10x100xZB16

2 0.30
*EEEIIEM, EATRANFHBIEMT, 340.0116.133 TD3x15x100xZB16 3 100 15 15 0.35
SOREE(TR . EEH A4.5mm, 340.0117.133 TD4x20x100xZB16 4 100 20 2 0.40
FEEIEE % BE: ke B R%EE / 340.0118.133 TD5x25x100xZB16 5 100 25 25 0.45
LEBREE: TRZE: ¢0.01mm/&, BIRZIE: ¢0.001mm/#& 10 0119 135 e : - - : 048
RFRAIR, TR AT ALSET] (0s-es0)
$ 0.001 B 5 EAMZ Indexable Boring

iREE LER T R ERRAE G E S S
1. SR SRR S R IR,
2, FABEIEEZN, EEEEMAEIAEZER, MNRITEX,

=

PAig: i 3 RANEI REGZE, 340.0120.133 TD8x32x90xZB16 M2x5x60° TCMT06T102 0.30
1B YT RiBshih g 125, MRE DI EHIRIRET, FEREEIRTRE, 340.0121.133 TD10x40x90xZB16 10 90 40 5 T6 M2x5x60° TCMTO6T102 0.35
340.0122.133 TD12x48x100xZB16 12 100 48 6  T7  M25x6x60°  TCMT090202 0.40

EEE. 340.0123.133 TD14x56x110xZB16 14 110 56 7  T7  M25x6x60°  TCMT090202 0.45
s . e e A A o s 340.0124.133 TD16x64x110xZB16 16 110 64 8  T7  M25x6x60°  TCMT090202 05

* EAARSE SRR S S VFHEE10000mm, ERTEImmiBR BMEENETAS M HHNRERE, 340.0125.133 TD18x65x110xZB16 18 110 65 9  T7  M25x6x60°  TCMT110204 0.55
e AT AR R E SEERSE, 2R TENEMREN, TRRIEEIFS 340.0126.133 TD20x65x110xZB16 20 110 65 10 T7  M25x6x60°  TCMT110204 0.60
—— 340.0127.133 TD22x65x110xZB16 22 110 65 11 T7  M25x6x60°  TCMT110204 0.65
340.0128.133 TD24x65x110xZB16 24 110 65 12 T7  M25x6x60°  TCMT110204 0.70

* HRELRVIHISHA, RENKRIHN TG, ERUTENER. BFIZERBETEISH, 340.0129.133 TD26x65x110xZB16 26 110 65 13 T7  M25x6x60°  TCMT110204 0.75
* S S T2 R4 5mm, B TEIEEDTE, SRR ImmilfER. 340.0130.133 TD28x65x110xZB16 28 110 65 14 T7  M25x6x60°  TCMT110204 0.80
o N 340.0131.133 TD30x65x110xZB16 30 110 65 15 T7  M25x6x60°  TCMT110204 0.85

* U5 S R I SEAT AR IR TR A S SRR L A 52 7] 340.0132.133 TD32x65x110xZB16 32 110 65 16 T7  M25x6x60°  TCMT110204 0.90
340.0133.133 TD34x65x110xZB16 24 110 65 17 T7  M25x6x60°  TCMT110204 0.95

340.0134.133 TD36x65x110xZB16 26 110 65 18 T7  M25x6x60°  TCMT110204 1.00

340.0135.133 TD42x65x110xZB16 42 110 65 21 T7  M25x6x60°  TCMT110204 1.05

el E



BEEHA TMG 21f&shat st % T R % TMG 214zt sk T B R 5 BEEH

[INAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP

S B B 4K 7] B b L FEXIPETI=ETIFE TR L

Adaptors for Tool with o . [ P Arbors for Shell End and Side Milling Cutters

L1

Flatted Parallel Shanks S ; vous I RIS
SR EENS S E— :J a e 3‘7‘(: S - gl . L2
e ‘ R | ;
] ]
=| = ——_-:—;}—l—‘-—————-{——l—%-'— - = n[
' ] ]
- ] ]
i ) I ! | —J
-_-------- 7~ ~d 1k
240.0001.085 21C - 50 - XP6 —45 I 0.51 ’ o : . ! L3
240.0002.085 21C - 50 - XP8 —45 50 28 8 M8 28 45 | 0.49
240.0003.085 21C - 50 - XP10-55 50 28 10 M10 35 55 I 0.62
240.0005.085 21C - 50 - XP16 - 65 50 28 16 M14 48 65 I 0.85
240.0006.085 21C - 50 - XP20 - 65 50 28 20 M16 52 65 | 1.03 240.0001.017 21C - 50 —XSL16 - 49 0.49
240.0007.085 21C - 50 - XP25 — 75 50 28 25 M18 65 75 Il 1.70 240.0002.017 21C - 50 - XSL22 - 53 53 31 19 31 50 28 22 M10 0.52
.63_ _ 63 0.88
240.0008.085 RS il 34 10 M10 35 S5 ' 240.0003.017 21C - 63 —XSL16- 53 53 27 17 27 63 34 16 M8 1.02
240.0009.085 21C - 63 - XP12-65 63 34 12 M12 42 65 I 1.02
240.0010.085 21C - 63— XP16 - 65 63 34 16 M14 48 65 | 115 240.0004.017 21C - 63 —XSL22 - 57 57 31 19 31 63 34 22 M10 1.15
240.0011.085 21C - 63 - XP20 - 65 63 34 20 M16 52 65 | 1.26 240.0005.017 21C - 63 - XSL27 - 59 59 33 21 33 63 34 27 M12 1.26
240.0012.085 21C - 63 - XP25-75 63 34 25 M18 65 75 ] 1.86 240.0006.017 21C - 80 —XSL22 - 64 64 31 19 31 80 46 22 M10 1.84
240.0013.085  21C - 63 -XP32 - 80 gg 34 32 Mo 72 80 III fi‘:’ 240.0007.017  21C-80 —XSL27- 66 66 338 2f 33 80 46 27  Mi2 210
240.0014.085 21C - 80 - XP16 - 65 46 16 M14 48 65 .
240. 017 21C - 80 — XSL32- 71 71 24 4 2 M1 2.30
240.0015.085 21C - 80 - XP20 - 65 80 46 20 M16 52 65 I 1.84 0.0008.0 C 80 -XSL3 8 8 8 6 8 6
240. oo17 085 21C - 80 - XP32 - 80 32 M20 72 80 I 2.62 240.0010.017 21C - 100 - XSL27- 69 69 33 21 33 100 56 27 M12 3.30
Lz
+ - o T F 240.0011.017 21C - 100-XSL32- 74 74 38 24 38 100 56 32 M16 3.50
EsmmE LR TR AR AR - C- 10036
AdaptorS for Flatted Parallel Shanks oy e —Lwi 240.0012.017 21C - 100 - XSL40- 77 77 41 27 41 100 56 40 M20 b
with Axial Positioning - 3| e Y - 240.0013.017 21C - 100-XSL50- 82 82 46 30 46 100 56 50 M24 3.70
B i 240.0014.017 21C - 100 - XSL60 - 104 104 66 50 66 100 56 60 M30 3.90
= 240.0015.017 21C - 125-XSL60-108 108 66 50 66 125 70 60 M30 5.80
240.0001.087  21C - 25 - XPD6 -55 0.21
a N
240.0002.087  21C - 25— XPD8 -55 25 13 s 28 55 47 36 8 M6 0.25 3$ % ;E %*ﬁi}% L
240.0003.087  21C - 25 - XPD10 - 60 25 13 10 35 60 52 40 10 M10 0.41 Collet Chucks
|
240.0004.087  21C - 32 - XPD6 -55 32 16 6 25 55 30 36 10 M6 0.25
240.0005.087  21C - 32 - XPD8 -55 32 16 8 28 55 30 36 10 M8 0.29 - _ _ |
240.0006.087  21C - 32 - XPD10 - 60 32 16 10 35 60 50 40 10 M10 0.43 B . mE o
240.0007.087  21C - 32-XPD12-65 32 16 12 42 65 57 45 10 M12 0.65 == = 4/ E—i= = <
240.0008.087  21C - 40 - XPD6 - 55 40 20 6 25 55 30 36 10 M6 0.34 L
240.0009.087  21C - 40 - XPD8 -55 40 20 8 28 55 30 36 10 M8 0.38 I_B
240.0010.087  21C - 40 - XPD10 - 60 40 20 10 35 60 45 40 10 M10 0.48
240.0011.087  21C - 40 - XPD12-65 40 20 12 42 65 57 45 10 M12 0.68 Ly
240.0012.087  21C - 40 - XPD16 - 70 40 20 16 48 70 63 48 10 M14 0.91 L1
240.0013.087  21C - 50 - XPD6 - 55 50 28 6 25 55 30 36 10 M6 0.53
240.0014.087  21C - 50 - XPD8 - 55 50 28 8 28 55 30 36 10 M8 0.57
240.0015.087  21C - 50 - XPD10 - 60 50 28 10 35 60 40 40 10 M10 0.66
240.0016.087  21C - 50 - XPD12 - 65 50 28 12 42 65 50 45 10 M12 0.81
240.0017.087  21C - 50 - XPD16 — 70 50 28 16 48 70 55 48 10 M14 1.01
240.0018.087 21C-50-XPD20-75 50 28 20 52 75 65 50 10 Mi6  1.20 261.0301.035 21C - 25-ER16-40 4 ER16 0.12
240.0019.087  21C - 63 - XPD10 - 60 63 34 10 35 60 35 40 10 M10 0.96 261.0302.035 21C - 32— ER20 - 50 32 16 34 50 9 6 ER20 0.25
240.0020.087 21C - 63-XPD12 -65 63 34 12 42 65 45 45 10 M12 1.08 261.0303.035 21C - 40 - ER25 - 60 40 20 42 60 12 7 ER25 0.42
240.0021.087  21C - 63 - XPD16 - 70 63 34 16 48 70 50 48 10 M14 1.27 SETOSeATo5E SICHEEREET % 58 % e s B ER32 e
240.0022.087  21C - 63 - XPD20-75 63 34 20 52 75 55 50 10 M16 1.43
240.0023.087 21C-63-XPD25-80 63 34 25 65 8 70 56 10 Mi8  2.00 261.0305.035 21C - 63 -ER40-80 63 34 63 80 20 12 ER40 1.52
240.0024.087  21C - 80 - XPD16 — 70 63 46 16 48 70 50 48 10 M14 1.80 . WER-EEMMEIE T HERS
240.0025.087  21C - 80 - XPD20 - 75 80 46 20 52 75 52 50 10 M16 1.98
240.0026.087  21C - 80 — XPD25 - 80 80 46 25 65 80 60 56 10 M18 2.50
240.0027.087  21C - 80 - XPD32 - 90 80 46 32 72 90 70 60 10 M20 3.02

_Ellls ol E



@ BEEH

MNAS HMCT GROUP

FeA BIE AT TH Bt T IR

Arbors for Indexable Face Milling Cutters Type A ,B

TMG 21 =R EGFE TR RS

TMG 21 Modular Tooling System For Boring And Milling

A KBT B % 82 4T

e [ |

s el - el e
|

L1

240.0001.019 21C - 50 - XMA22 -45 0.55
240.0002.019 21C - 50 - XMA(B)27 - 45 50 28 27 45 21 M12 0.65
240.0003.019 21C - 63 - XMA(B)27 - 50 63 34 27 50 21 M12 1.26
240.0004.019 21C - 80 - XMA(B)32 - 55 80 46 32 55 24 M16 2.50
240.0005.019 21C - 100 - XMB40 -60 100 56 40 60 27 M20 3.70

FCERFHEfLHE TR TIER L

E Arbors for Indexable Face Milling Cutters Type C

L1

~ LF
| | 1
| |
e 2| =| =| 4 H'_"_'" al &
Pl
i =)
240.0016.017 21C - 100 - XMC40-65 100 56 100 65 4-M12 3.40
240.0018.017 21C - 125-XMC60-75 125 70 70 60 130 75 40 4-M16 5.20
N
24 JARIR
Tapping Chucks L

L1

‘ |
~ | ‘—‘L———— | ——wgi a
i ‘

261.0201.559 +50- G3 - 70 G3-M0O0 0.80
261.0202.559 21C - 50- G8 - 102 50 28 31 58 102 81 G8 - MO0 1.40
261.0203.559 21C-63- G3 - 76 63 34 19 41 76 41 G3-M0O0 1.30
261.0204.559 21C - 63- G8 - 88 63 34 31 58 88 55 G8 - MO0 1.50
261.0205.559 21C - 63 - G14-155 63 34 48 83 155 120 G14-M0O0 3.80

E: ox BRALHEREFIHES .

_ =7

TMG 214zt sk T B R 5 BEEH

TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP

BRI R RSE-MF

HMERRET
External Taper Clamping Screw
L

21A - 25 —E1 M6 x 0.75 9
21A - 32 - Ef M8 x 0.75 12

= N 21A - 40 —E1 M10x0.75 15

""" / 21A - 50 —E1 M12x 1 17

21A - 63 —E1 M16x 1 22

21A - 80 —E1 M20 x 1 26

21A - 100 - E1 M24 x 1.5 32

21A - 125-E1 M30x 1.5 40

A HERZET

21A - 25 —E2 M6 x 0.75 5
1 21A - 32 —E2 M8 x 0.75 6.5

' - 21A - 40 —E2 M10x0.75 8.5

TR = 21A - 50 - E2 M12 x 1 9.5

B! 21A - 63 - E2 M16 x 1 125

vl
=
i

E
“
L

/'

21A - 80 - E2 M20 x 1 14.5
21A - 100-E2 M24 x1.5 19.5
21A - 125-E2 M30x 1.5 23.5
%D‘l’% """%‘ﬁ
L 21B - 25 —-E3 7 115
_ 21B - 32 —-E3 9 145
- | 21B - 40 -E3 11 18.5
T 21B - 50 —E3 13 26
— 21B - 63 —-E3 17 32
21B - 80 - E3 21 44
21B - 100-E3 25 53
21B - 125-E3 32 66.5
ELTH
L 21B - 25 —E4
21B - 32 —E4 46 9 M3X0.35
' == 21B - 40 - E4 55 12 M4X0.5
Y 21B - 50 - E4 6.5 15 M5X0.5
21B - 63 —E4 9.5 20 M8X1
21B - 80 - E4 11.5 24 M10X1
21B - 100 - E4 15.5 30 M12X1
21B - 125-E4 19.5 36 M16X1

s lll)E



@

IBRE5A

MNAS HMCT GROUP

TMG 21 =R EGFE TR RS

TMG 21 Modular Tooling System For Boring And Milling

_ ]l

AL 7] ik LR

FTEETEE FLEEAEIR (2D ) +vveerveersrrersemrreasseasiesitsesie e et st et E20
FTEETHE FLEEAEIR ((BD)) cvveerveerrrersremmrmerreenieenreeiieeeteeetae e ete ettt eeaae s E22
FTEELIH FLEGAEIR (2D ) vveerveerrressseesneasseesieasteesie ettt E24
FTEEAIH FLEEAEIR (BD) wvverveereerreesseessesseeisenieseeste et st ets et et s E26
TIEAER Tk R R T USROS E28
AT A FLEEHTBI B -+ veeververeeseeseeseeeeeeeeseeseeteeteeteesess s es st et E29

TMG 21X ESFETE RS

TMG 21 Modular Tooling System For Boring And Milling

@

g v

LNVAS HVMCT GROUP

AIEE LR FLERHE LR (2D)

Indexable Short Hole Dirills

L1

I
D+i0.2

223.0003.190 21CD - 50-Z16 -67

223.0004.190 21CD - 50-Z17 -69 34 28
223.0005.190 21CD - 50-Z18 -71 36 28
223.0006.190 21CD - 50-Z19-73 38 28
223.0007.190 21CD - 50-220-75 40 28
223.0008.190 21CD - 50-Z21 -77 42 28
223.0009.190 21CD - 50-722 -79 44 28
223.0010.190 21CD - 50-723 -81 46 28
223.0011.190 21CD - 50-724 -83 48 28
223.0012.190 21CD - 50-725 -85 50 28
223.0013.190 21CD - 50-726 -87 52 28
223.0014.190 21CD - 50-727 -89 54 28
223.0015.190 21CD - 50-728 -91 56 28
223.0016.190 21CD - 50-729 -93 58 28
223.0017.190 21CD - 50-Z30 -100 60 28
223.0018.190 21CD - 50-731 -102 62 28
223.0019.190 21CD - 50-732 -104 64 28
223.0020.190 21CD - 50-Z33 -106 66 28
223.0021.190 21CD - 50-Z34 -108 68 28
223.0022.190 21CD - 50-Z35-110 70 28
223.0023.190 21CD - 50-Z36 -112 72 28
223.0024.190 21CD - 50-Z37 -124 74 28
223.0025.190 21CD - 50-738 -126 76 28
223.0026.190 21CD - 50-739 -128 78 28
223.0027.190 21CD - 50-7Z40-130 80 28
223.0028.190 21CD - 50-Z41-132 82 28
223.0029.190 21CD - 50-Z42 -134 84 28
223.0030.190 21CD - 50-743 -136 86 28
223.0031.190 21CD - 50-744 -138 88 28

WCMX030208
WCMX030208
WCMX030208
WCMX030208
WCMX030208
WCMX040208
WCMX040208
WCMX040208
WCMX040208
WCMX040208
WCMX050308
WCMX050308
WCMX050308
WCMX050308
WCMX050308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX080412
WCMX080412
WCMX080412

M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3.5x9x60°
M3.5x9x60°

TO6
TO6
TO6
TO6
TO6
TO6
TO6
TO6
TO6
TO8
TO8
TO8
T08
T08
TO8
TO8
TO8
TO8
TO8
T08
TO8
TO8
TO8
TO8
TO8
T10
T10
T10

0.50
0.50
0.50
0.50
0.50
0.55
0.55
0.60
0.60
0.60
0.60
0.65
0.65
0.65
0.70
0.75
0.75
0.80
0.85
0.90
0.95
1.10
1.20
1.25
1.30
1.35
1.40
1.45
1.50

20lllJE



BEEHA TMG 21#&bhat st T B R % TMG 214zt sk T B R 5 BEEH

[/NAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP
A ERL % FLEREEER(2D) AT 3R % FLEREEER(3D)
Indexable Short Hole Drills Indexable Short Hole Drills

L
L
Lt
5 —_—— ' _N|' | =
=| 3| {le df | — 2
<
223.0032.190 21CD - 63-745 -145 . WCMX080412 M3.5x9x60° T10 1.70 223.0003.191 21CD - 50-Z16 -83 . WCMX030208 M2.5x6x60° 0.50
223.0033.190 21CD - 63-246 -147 92 34 WCMX080412 M3.5x9x60° T10 1.80 223.0004.191 21CD - 50-Z17 -86 51 28 WCMX030208 M2.5x6x60° TO6 0.50
223.0034.190 21CD - 63-747 -149 94 34 WCMX080412 M3.5x9x60° T10 2.00 223.0005.191 21CD - 50-Z18 -89 54 28 WCMX030208 M2.5x6x60° TO6 0.50
223.0035.190 21CD - 63-748 -151 96 34 WCMX080412 M3.5x9x60° T10 2.30 223.0006.191 21CD - 50-Z19-92 57 28 WCMX030208 M2.5x6x60° TO6 0.50
223.0036.190 21CD - 63-749 -153 98 34 WCMX080412 M3.5x9x60° T10 2.30 223.0007.191 21CD - 50-Z220-95 60 28 WCMX030208 M2.5x6x60° TO6 0.50 E
223.0037.190 21CD - 63-Z50 -155 100 34 WCMX080412 M3.5x9x60° T10 2.50 223.0008.191 21CD - 50-Z21 -98 63 28 WCMX040208 M2.5x6x60° TO6 0.55
223.0038.190 21CD - 63-Z51 -157 102 34 WCMX080412 M3.5x9x60° T10 2.50 223.0009.191 21CD - 50-222 -101 66 28 WCMX040208 M2.5x6x60° TO6 0.55
223.0039.190 21CD - 63-Z52 -159 104 34 WCMX080412 M3.5x9x60° T10 2.70 223.0010.191 21CD - 50-723 -104 69 28 WCMX040208 M2.5x6x60° TO6 0.60
223.0040.190 21CD - 63-Z53 -161 106 34 WCMX080412 M3.5x9x60° T10 2.90 223.0011.191 21CD - 50-Z24 -107 72 28 WCMX040208 M2.5x6x60° TO6 0.60
223.0041.190 21CD - 63-754 -163 108 34 WCMX080412 M3.5x9x60° T10 2.90 223.0012.191 21CD - 50-225 -110 75 28 WCMX040208 M2.5x6x60° TO6 0.60
223.0042.190 21CD - 80-Z55 -165 110 46 WCMX080412 M3.5x9x60° T10 3.00 223.0013.191 21CD - 50-Z26 -113 78 28 WCMX050308 M3x7x60° TO8 0.60
223.0043.190 21CD - 80-Z56 -167 112 46 WCMX080412 M3.5x9x60° T10 3.20 223.0014.191 21CD - 50-Z227 -116 81 28 WCMX050308 M3x7x60° TO8 0.65
223.0044.190 21CD - 80-Z57 -169 114 46 WCMX080412 M3.5x9x60° T10 3.40 223.0015.191 21CD - 50-228 -119 84 28 WCMX050308 M3x7x60° TO8 0.65
223.0045.190 21CD - 80-758 -171 116 46 WCMX080412 M3.5x9x60° T10 3.60 223.0016.191 21CD - 50-229 -122 87 28 WCMX050308 M3x7x60° TO8 0.65
223.0046.190 21CD - 80-259 -173 118 46 WCMX080412 M3.5x9x60° T10 3.80 223.0017.191 21CD - 50-Z30 -130 90 28 WCMX050308 M3x7x60° TO8 0.70
223.0047.190 21CD - 80-260-175 120 46 WCMX080412 M3.5x9x60° T10 4.00 223.0018.191 21CD - 50-Z31 -133 93 28 WCMX06T308 M3x7x60° TO8 0.75
223.0019.191 21CD - 50-Z32 -136 96 28 WCMX06T308 M3x7x60° TO8 0.75
223.0020.191 21CD - 50-Z33 -139 99 28 WCMX06T308 M3x7x60° TO8 0.80
223.0021.191 21CD - 50-234 -142 102 28 WCMX06T308 M3x7x60° TO8 0.85
223.0022.191 21CD - 50-Z35 -145 105 28 WCMX06T308 M3x7x60° TO8 0.90
223.0023.191 21CD - 50-Z36 -148 108 28 WCMX06T308 M3x7x60° TO8 0.95
223.0024.191 21CD - 50-Z37 -161 111 28 WCMX06T308 M3x7x60° TO8 1.10
223.0025.191 21CD - 50-Z38 -164 114 28 WCMX06T308 M3x7x60° TO8 1.20
223.0026.191 21CD - 50-Z39 -167 117 28 WCMX06T308 M3x7x60° TO8 1.25
223.0027.191 21CD - 50-240 -170 120 28 WCMX06T308 M3x7x60° TO8 1.30
223.0028.191 21CD - 50-Z41 -173 123 28 WCMX06T308 M3x7x60° TO8 1.35
223.0029.191 21CD - 50-Z42 -176 126 28 WCMX080412 M3x7x60° TO8 1.40
223.0030.191 21CD - 50-243 -179 129 28 WCMX080412 M3.5x9x60° T10 1.45
223.0031.191 21CD - 50-744 -182 132 28 WCMX080412 M3.5x9x60° T10 1.50

BB




BEEHA TMG 21#&bhat st T B R % TMG 214zt sk T B R 5 BEEH

[/NAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP
Al ER i % FLERREER(3D) AIEE(L Y FLERAREIR(2D)
Indexable Short Hole Drills Indexable Boring Drills

L L
1
i
®( ol 3| Hlo—FH—+-—-—-—= a
G
*&!.%%!-m 223.0101.192 210D - 50-K22-79 WCMX040208 M2.5x6x60° 0.55
223.0033191  21CD - 63-246-193 138 34 WCMX080412 M3.5x9x60° TI0 180 e N M2.5x6x60° A
E 223.0034191  21CD - 63-Z47 ~196 141 34 WCMX080412 M3.5x9x60° TI0 200 223.0103.192 21CD - 50-K24-83 48 28 WCOMX040208 Mz2.5x6x60° 06 060 E

223.0035.191  21CD - 63-248 -199 144 34 WCMX080412 M3.5x9x60° TI0O 230 e I N I M2.5x6x60° ————
223.0036.191  21CD - 63-749 202 147 34 WCMX080412 M3.5x9x60° TIO 230 223.0105192  21CD - 50-K26-87 52 28  WOMX050308 M3x7x60° T8 060
223.0037.191  21CD - 63-250 -205 150 34 WCMX080412 M3.5x9x60° TIO 250 e — S I ISR MSx7x60° ———
223.0038.191  21CD - 63-Z51 -208 153 34 WCMX080412 M3.5x9x60° TIO 250 223.0107.192  21CD - 50-K28-91 6 28 WOMX050308 M3x7x60° 08 065
223.0039.191  21CD - 63-252 -211 156 34 WCMX080412 M3.5x9x60° TI0O 270 e S I MSx7x60° —l
223.0040.191  21CD - 63-753 -214 159 34 WCMX080412 M3.5x9x60° TIO 290 223.0109192 210D + 50-K30-100 60 28  WOMX050308 M3x7x60° o8 070
223.0041191  21CD - 63-254-217 162 34 WCMX080412 M3.5x9x60° TIO 290 N B I I MSx7x60° B
223.0042.191  21CD - 80-55 220 165 46 WCMX080412 M3.5x9x60° TI0  3.00 223.0111.192 210D - 50-K32-104 64 28  WOMX06T308 M3x7x60° o8 075
223.0043.191  21CD - 80-756 223 168 46 WCMX080412 M3.5x9x60° TIO 320 ————————————— e —————— MSx7x60° ———
2230044191  21CD - 80-Z57 -226 171 46 WOMX080412 M3.5x9x60° TIO 340 223.0113192 210D - 50-K34 -108 68 28 WOMX06T308 M3x7x60° o8 08
223.0045191  21CD - 80-758 229 174 46 WCMX080412 M3.5x9x60° TI0 360 e L ———— MSx7x60° M
223.0046.191  21CD - 80-759 232 177 46 WCMX080412 M3.5x9x60° TI0  3.80 223.0115192 210D - 50-K36 112 /228 WOMX06T308 M3x7x60° o8 09
223.0047.191  21CD - 80-260-235 180 46 WCMX080412 M3.5x9x60° TI0 400 ———————— ———— e ————— MSx7x60° ——
223.0117192 210D - 50-K38 -126 76 28 WCMX06T308 M3x7x60° TO8  1.20

223.0118192  21CD - 50-K39 -128 78 28 WCMXO06T308 M3x7x60° TO8 125

223.0119.192  21CD - 50-K40-130 80 28  WCMX06T308 M3x7x60° TO8 130

223.0120192  21CD - 50-K41 -132 82 28  WCMX06T308 M3x7x60° TO8 135

223.0121192 210D - 50-K42 ~134 84 28  WCMX080412 M3.5x9x60° TIO 140

223.0122192  21CD - 50-K43 -136 86 28 WCMX080412 M3.5x9x60° TIO 145

223.0123192 210D - 50-K44 ~138 88 28  WCMX080412 M3.5x9x60° TIO 150

223.0124192 210D - 63-K45 145 90 34 WCMX080412 M3.5x9x60° TIO 170

2230125192 210D - 63-K46 -147 92 34 WCMX080412 M3.5x9x60° TIO  1.80

223.0126192  21CD - 63-K47 —149 94 34 WCMX080412 M3.5x9x60° TI0 200

223.0127.192 210D - 63-K48 151 9% 34  WCMX080412 M3.5x9x60° TI0 230

223.0128192  21CD - 63-K49 -153 98 34 WCMX080412 M3.5x9x60° TIo 230

Bl B




BEEHA TMG 21f&shat st % T R % TMG 214zt sk T B R 5 BEEH

[/NAS HMCT GROUP TMG 21 Modular Tooling System For Boring And Milling TMG 21 Modular Tooling System For Boring And Milling [/NAS HMCT GROUP
AIEE(L Y FLEREEER(2D) AIEE(L Y FLEREEER(3D)
Indexable Boring Drills Indexable Boring Drills

L
L1
| | flo—m —+-—-— —— =Y
**-oo.%%!o! 223.0201.192 21CD - 50-K22 -101 WCMX040208 M2.5x6x60° 0.55
223.0130.192 21CD - 63-K51 -157 102 34 WCMX080412 M3.5x9x60° T10 2.50 223.0202.192 21CD - 50-K23 -104 69 28 WCMX040208 M2.5x6x60° To6 0.60
223 .0131.192 21CD - 63-K52 —-159 104 34 WCMX080412 M3.5x9x60° T10 2.70 223.0203.192 21CD - 50-K24 -107 72 28 WCMX040208 M2.5x6x60° TO6 0.60
E 223.0132.192 21CD - 63-K53 -161 106 34 WCMX080412 M3.5x9x60° T10 2.90 223.0204.192 21CD - 50-K25-110 75 28 WCMX040208 M2.5x6x60° T06 0.60 E

223.0133.192 21CD - 63-K54 -163 108 34 WCMX080412 M3.5x9x60° T10 2.90 223.0205.192 21CD - 50-K26 -113 78 28 WCMX050308 M3x7x60° To8 0.60
223.0134.192 21CD - 80-K55-165 110 46 WCMX080412 M3.5x9x60° T10 3.00 223.0206.192 21CD - 50-K27 -116 81 28 WCMX050308 M3x7x60° To8 0.65
223.0135.192 21CD - 80-K56 -167 112 46 WCMX080412 M3.5x9x60° T10 3.10 223.0207.192 21CD - 50-K28 -119 84 28 WCMX050308 M3x7x60° T08 0.65
223.0136.192 21CD - 80-K57 —169 114 46 WCMX080412 M3.5x9x60° T10 3.20 223.0208.192 21CD - 50-K29 -122 87 28 WCMX050308 M3x7x60° To8 0.65
293 .0137.192 21CD - 80-K58 —171 116 46 WCMX080412 M3.5x9x60° T10 3.60 223.0209.192 21CD - 50-K30 -130 90 28 WCMX050308 M3x7x60° TO8 0.70
223.0138.192 21CD - 80-K59 -173 118 46 WCMX080412 M3.5x9x60° T10 3.80 223.0210.192 21CD - 50-K31-133 93 28 WCMX06T308 M3x7x60° To8 0.75
293 .0139.192 21CD - 80-K60-175 120 46 WCMX080412 M3.5x9x60° T10 4.00 223.0211.192 21CD - 50-K32 -136 96 28 WCMX06T308 M3x7x60° TO8 0.75
223.0140.192 21CD - 80-K61-177 122 46 WCMX080412 M3.5x9x60° T10 4.10 223.0212.192 21CD - 50-K33 -139 99 28 WCMX06T308 M3x7x60° To8 0.80
223.0141.192 21CD - 80-K62 -179 124 46 WCMX080412 M3.5x9x60° T10 4.30 223.0213.192 21CD - 50-K34 -142 102 28 WCMX06T308 M3x7x60° To8 0.85
223.0142.192 21CD - 80-K63 -181 126 46 WCMX080412 M3.5x9x60° T10 4.30 223.0214.192 21CD - 50-K35 -145 105 28 WCMX06T308 M3x7x60° To8 0.90
223.0143.192 21CD - 80-K64 -183 128 46 WCMX080412 M3.5x9x60° T10 4.50 223.0215.192 21CD - 50-K36 -148 108 28 WCMX06T308 M3x7x60° T08 0.95
223.0144.192 21CD - 80-K65-185 130 46 WCMX080412 M3.5x9x60° T10 4.70 223.0216.192 21CD - 50-K37 -161 111 28 WCMX06T308 M3x7x60° T08 1.10.
293 .0145.192 21CD - 80-K66 —187 132 46 WCMX080412 M3.5x9x60° T10 4.80 223.0217.192 21CD - 50-K38 -164 114 28 WCMX06T308 M3x7x60° TO8 1.20
223.0146.192 21CD - 80-K67 -189 134 46 WCMX080412 M3.5x9x60° T10 4.90 223.0218.192 21CD - 50-K39 -167 117 28 WCMX06T308 M3x7x60° To8 1.25
293 .0147.192 21CD - 80-K68 —191 136 46 WCMX080412 M3.5x9x60° T10 5.00 223.0219.192 21CD - 50-K40 -170 120 28 WCMX06T308 M3x7x60° TO8 1.30
223.0148.192 21CD - 80-K69 —203 138 46 WCMX080412 M3.5x9x60° T10 5.30 223.0220.192 21CD - 50-K41 -173 123 28 WCMX06T308 M3x7x60° To8 1.35
223.0149.192 21CD - 80-K70 -205 140 46 WCMX080412 M3.5x9x60° T10 5.50 223.0221.192 21CD - 50-K42-176 126 28 WCMX080412 M3.5x9x60° T10 1.40
2293 0150.192 21CD - 80-K71 -207 142 46 WCMX080412 M3.5x9x60° T10 5.70 223.0222.192 21CD - 50-K43 -179 129 28 WCMX080412 M3.5x9x60° T10 1.45
293 0151.192 21CD - 80-K72 —209 144 46 WCMX080412 M3.5x9x60° T10 5.80 223.0223.192 21CD - 50-K44 -182 132 28 WCMX080412 M3.5x9x60° T10 1.50
223 .0152.192 21CD - 80-K73 -211 146 46 WCMX080412 M3.5x9x60° T10 6.00 223.0224.192 21CD - 63-K45 -190 135 28 WCMX080412 M3.5x9x60° T10 1.70
223 .0153.192 21CD - 80-K74 -213 148 46 WCMX080412 M3.5x9x60° T10 6.30 223.0225.192 21CD - 63-K46 -193 138 28 WCMX080412 M3.5x9x60° T10 1.80
223.0226.192 21CD - 63-K47 -196 141 34 WCMX080412 M3.5x9x60° T10 2.00

223.0227.192 21CD - 63-K48 -199 144 34 WCMX080412 M3.5x9x60° T10 2.30

223.0228.192 21CD -+ 63-K49 —202 147 34 WCMX080412 M3.5x9x60° T10 2.30

BB




@ BEEH

MNAS HMCT GROUP

ALY FLEL1EER(3D)

Indexable Boring Dirills

@ BEEH

LNVAS HVMCT GROUP

TMG 21 EGE TR RS

TMG 21 Modular Tooling System For Boring And Milling

TMG 21X ESFETE RS

TMG 21 Modular Tooling System For Boring And Milling

HI T BRI AR FLEh

Indexable Boring Drills

L1

223.0229.192 21CD - 63-K50-205 150 WCMX080412 M3.5x9x60° T10 2.50 223.0240.190 XP25-721-87 SPGT060204  M2.2x5.5 T6 0.55
223.0230.192 21CD - 63-K51 -208 153 34 WCMX080412 M3.5x9x60° T10 2.50 223.0241.190 XP25-722 -90 22 25 32 90 66 56 ~ SPGT060204  M2.2x5.5 T6 0.55
223.0231.192 21CD - 63-K52-211 156 34 WCMX080412 M3.5x9x60° T10 2.70 223.0242.190 XP25-723 -93 23 25 32 93 69 56  SPGT060204  M2.2x6.5 T6 0.60
223.0232.192 21CD - 63-K53-214 159 34 WCMX080412 M3.5x9x60° T10 2.90 223.0243.190 XP32-724 -96 24 32 40 96 72 60 SPGTO7T308 M2.5x6.5 T7 0.60
E 223.0233.192 21CD - 63-K54 -217 162 34 WCMX080412 M3.5x9x60° T10 2.90 223.0244.190 XP32-725-99 25 32 40 99 75 60 SPGTO7T308  M2.5x6.5 T7 0.60
223.0234.192 21CD - 80-K55-220 165 46 WCMX080412 M3.5x9x60° T10 3.00 223.0245.190 XP32-726-102 26 32 40 102 78 60 SPGTO07T308 M2.5x6.5 T7 0.60
223.0235.192 21CD - 80-K56 -223 168 46 WCMX080412 M3.5x9x60° T10 3.10 223.0246.190 XP32-227-105 27 32 40 105 81 60 SPGTO07T308 M2.5x6.5 T7 0.65
223.0236.192 21CD - 80-K57 -226 171 46 WCMX080412 M3.5x9x60° T10 3.20 223.0247.190 XP32-728-108 28 32 40 108 84 60 SPGTO07T308 M2.2x5.5 T7 0.65
223.0237.192 21CD - 80-K58 -229 174 46 WCMX080412 M3.5x9x60° T10 3.60 223.0248.190 XP32-229-111 29 32 40 111 87 60  SPGT090408 M3.5x8 T10 0.65
223.0238.192 21CD - 80-K59 -232 177 46 WCMX080412 M3.5x9x60° T10 3.80 223.0249.190 XP32-Z230-119 30 32 40 119 90 60  SPGT090408 M3.5x8 T10 0.70
223.0239.192 21CD - 80-K60 -235 180 46 WCMX080412 M3.5x9x60° T10 4.00 223.0250.190 XP32-731-122 31 32 40 122 93 60  SPGT090408 M3.5x8 T10 0.75
223.0240.192 21CD - 80-K61-238 183 46 WCMX080412 M3.5x9x60° T10 4.10 223.0251.190 XP32-732-125 32 32 40 1256 96 60  SPGT090408 M3.5x8 T10 0.75
223.0241.192 21CD - 80-K62 -241 186 46 WCMX080412 M3.5x9x60° T10 4.30 223.0252.190 XP32-733-128 33 32 40 128 99 60  SPGT090408 M3.5x8 T10 0.80
223.0242.192 21CD - 80-K63 -244 189 46 WCMX080412 M3.5x9x60° T10 4.30 223.0253.190 XP40-Z34-131 34 40 50 131 102 70  SPGT090408 M3.5x8 T10 0.85
223.0243.192 21CD - 80-K64 -247 192 46 WCMX080412 M3.5x9x60° T10 4.40 223.0254.190 XP40-235-134 35 40 50 134 105 70  SPGT110408 M4x10 T15 0.90
223.0244.192 21CD - 80-K65 -250 195 46 WCMX080412 M3.5x9x60° T10 4.70 223.0255.190 XP40-Z36-137 36 40 50 137 108 70  SPGT110408 M4x10 T15 0.95
223.0245.192 21CD - 80-K66 -253 198 46 WCMX080412 M3.5x9x60° T10 4.80 223.0256.190 XP40-237-150 37 40 50 150 111 70  SPGT110408 M4x10 T15 1.10.
223.0246.192 21CD - 80-K67 -256 201 46 WCMX080412 M3.5x9x60° T10 4.90 223.0257.190 XP40-238-153 38 40 50 153 114 70  SPGT110408 M4x10 T15 1.20
223.0247.192 21CD - 80-K68 -259 204 46 WCMX080412 M3.5x9x60° T10 5.00 223.0258.190 XP40-239-156 39 40 50 156 117 70  SPGT110408 M4x10 T15 1.25
223.0248.192 21CD - 80-K69 -272 207 46 WCMX080412 M3.5x9x60° T10 5.30 223.0259.190 XP40-Z40-159 40 40 50 159 120 70  SPGT110408 M4x10 T15 1.30
223.0249.192 21CD - 80-K70-275 210 46 WCMX080412 M3.5x9x60° T10 5.50 223.0260.190 XP40-Z41-162 41 40 50 162 123 70  SPGT110408 M4x10 T15 1.35
223.0250.192 21CD - 80-K71-278 213 46 WCMX080412 M3.5x9x60° T10 5.70 223.0261.190 XP40-Z42-165 42 40 50 165 126 70  SPGT110408 M4x10 T15 1.40
223.0251.192 21CD - 80-K72 -281 216 46 WCMX080412 M3.5x9x60° T10 5.80 223.0262.190 XP40-243-168 43 40 50 168 129 70  SPGT110408 M4x10 T15 1.45
223.0252.192 21CD - 80-K73 -284 219 46 WCMX080412 M3.5x9x60° T10 6.00
223.0253.192 21CD - 80-K74 -287 222 46 WCMX080412 M3.5x9x60° T10 6.30

BB



E s Loals Ry 73 - 3 —n
1BE5EH TMG 218kt g phk TR RS AT (R /N T 3 KBE5H
[/NAS HVICT GROUP TMG 21 Modular Tooling System For Boring And Milling Indexable Precision Cartridges [/NAS HMCT GROUP

Qe e AR iE N 7]

AEMFZENTIRBE AR ET L, NMTLHFL M IMmA LRSI~
m, BE/NIREENTFLENARAAES, TA—XERERMHIL. BfH. KEFE
MEAMI, RARARBFEAAHKMIES. NAVIRSHSE, RITHEREGE

16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.09 MESTIR, B#ERPHNIZEXR, BRTHAPREN=RIEIN, KA AIRE
B 80-200 31.0-38.0 0.06-0.10 200 (170-240) o
= 3 L]l =l -
39.0-46.0 0.07-0.11 ARPHEKREREECIHREMAEN =M,
47.0-58.0 0.08-0.12
16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.12 i S TN 1 : DUTTI .
AN 150-260 31.0-38.0 0.06-0.14 170 (140-220) TRALBE NI RES RN Fo BETRANIIHSTWEEO? -ooeeveevs Fo3
39.0-46.0 0.08-0.16 X 0
47.0-58.0 0.10-0.20 BETRRZNMNTIRSSRCTSE® woovevee - FO2 B24T S E RN TIFZSTSCAE® wovveeenes FO4
;i_g_gg_g g-ggzg-?g BT R EK /N TIFSSSC45° vvveveeee e FO2 I E LT S R 1, ¥/}
BaEEN 150-320 31.0-38.0 g-gg-g-}g 150 (120-180) BRETREEF N TIRSSKCTE® weveeevvveeeene Fo2 INTISEZRBE T ZE o FO5
39.0-46.0 -08-0.
47.0-58.0 0.10-0.22 oz % =t Pz O eee e .
TR ENX/NTIRSCLCI5 Fo02 A2 TI T B SN R <Feveeeeeer e -F0B
16.0-23.0 0.05-0.08 .
24.0-30.0 0.05-0.08 Eg%T;é%itlj\ngéSTGCgo° .................. FO3
4 180-250 31.0-38.0 0.06-0.10 140 (120-170)
39.0-46.0 0.07-0.11 BT EK N TIFTSTFCO0O +ovvvrermeennnees Fo3
47.0-58.0 0.07-0.12
16.0-23.0 0.05-0.09 BRETF RN TIFESTTCBOO «vvveevvnrreeeenss FO3
REEH 24.0-30.0 0.05-0.12
PREME 150-270 31.0-38.0 0.06-0.16 160 (110-230)
O etk 39.0-46.0 0.08-0.18
M 47.0-58.0 0.10-0.22
16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.11 — - N
BERHE 150-275 31.0-38.0 0.06-0.13 140 (110-220) : f : /i
39.0-46.0 0.08-0.14 ol ﬁ,'\@i '
47.0-58.0 0.10-0.16 y e
L L3
16.0-23.0 0.05-0.10 NG
24.0-30.0 0.05-0.14 PR T Y
150-230 31.0-38.0 0.08-0.16 160 (120-220 ) 8 W <
39.0-46.0 0.10-0.20 ) _ .
47.0-58.0 0.12-0.24 " el
k7
16.0-23.0 0.05-0.10 " LN
24.0-30.0 0.05-0.14 : '
150-220 31.0-38.0 0.08-0.16 200 ( 170-240)
39.0-46.0 0.10-0.20
47.0-58.0 0.12-0.24
16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.12
160-250 31.0-38.0 0.06-0.14 160 (130-200)
39.0-46.0 0.06-0.16
47.0-58.0 0.10-0.20
16.0-23.0 0.05-0.10
24.0-30.0 0.05-0.14
60-110 31.0-38.0 0.08-0.16 300 (250-350 )
39.0-46.0 0.10-0.20
47.0-58.0 0.12-0.24

B



@ BEEH

MNAS HMCT GROUP

@ BREEHA

LNVAS HVMCT GROUP

QE:3E WIS

Indexable Precision Cartridges

QE:ZR e WIPS

Indexable Precision Cartridges

BT RENNTI K

Screw Clamping Cartridges

A AR (A% /N T KBS 15 B

SSRC 75°
\\ D‘mm
ol B~ ) - \/ﬁ y
VPSS B : T
RS 2N (%) FIZ 7N 20

08CA 10CA 12CA 16CA

o | BB |,

90-

|

T R
60°

n
o
&

_Fllllon

240.0141.138 SSRCR10CA — 09 SCMT09T308
240.0142.138 SSRCR12CA-12 12 55 20 20 16 50 8 20  SCMT120408
K L 240.0143.138 SSRCR16CA-12 16 63 25 25 20 60 10 25  SCMT120408
240.0146.138 SSRCL10CA -09 10 50 14 20 11 40 8 15 SCMT09T308
A SSRCL12CA-12 12 55 16 20  SCMT120408
S %R 240.0147.138 20 20 50 8
F 9007 S 240.0148.138 SSRCL16CA-12 16 63 25 25 20 60 10 25  SCMT120408
r = h INTI 3R
SSSC 45°
' N Ely c ;; L :E l
=1 KT I =1 LSS |
Z£HRS TIERIRR S NREfR | #HERKE witZEE T
C J:L_T‘Eiﬁ % ﬂ% N 00 R Et}] DBCA 10CA 12CA 160A
c
P| Frfrst 80° Tiff c| L et
S | BT ER ES A P | 11°
o B— T 240.0111.138 SSSCR10CA — 09 SCMT09T308
240.0112.138 SSSCR12CA-12 12 47 20 20 16 50 8 20  SCMT120408
ALY 240.0113.138 SSSCR16CA-12 16 53 25 25 20 60 10 25  SCMT120408
55° Tiff 240.0116.138 SSSCL10CA—-09 10 44 14 20 11 40 8 15 SCMT09T308
240.0117.138 SSSCL12CA-12 12 47 20 20 16 50 8 20  SCMT120408
L2 240.0118.138 SSSCL16CA-12 16 53 25 25 20 60 10 25  SCMT120408
i el
E=ME

o2 JIlJF



@ BEEH

MNAS HMCT GROUP

@ BREEHA

LNVAS HVMCT GROUP

QE:3E WIS

Indexable Precision Cartridges

AIEE(LAF RN TR

Indexable Precision Cartridges

BRFTRZ NN Tk

Screw Clamping Cartridges

SSKC 75°

12ETREXNTIE ’ '

Screw Clamping Cartridges -

STGC 90° s g%

~— .

h

45°

08CA 10CA 12CA 16CA

OBCA 10CA 12CA 1BCA

_Fllllo

240.0149.138 SCLCROBCA - 05 CPGT050204
240.0150.138 SCLCROSCA — 06 8 32 10 17 8 25 45 10 CCMT060204
240.0151.138 SCLCR10CA-09 10 50 14 20 11 40 15 CCMT09T304 --..-..-..-
240.0152.138 SCLCR12CA-12 12 55 20 20 16 50 20  CCMT120404
240.0153.138 SCLCR16CA - 12 16 63 25 25 20 60 10 25  CCMT120404 240.0094.138  STFCRO8CA - 09 TCMT090204
240.0154.138  SCLCLOBCA — 05 6 25 8 12 6 20 85  CPGT050204 240.0071.138  STFCR10CA-11 10 50 14 20 11 40 8 15 TCMT110204
240.0155.138 SCLCLO8CA - 06 8 32 10 17 8 25 45 10  CCMT060204 240.0072.138 STFCR12CA-16 12 55 20 20 16 50 8 20 TCMT16T308
240.0156.138 SCLCL10CA-09 10 50 14 20 11 40 15 CCMTO09T304 240.0073.138 STFCR16CA-16 16 63 25 25 20 60 10 25 TCMT16T308
240.0157.138 SCLCL12CA-12 12 55 20 20 16 50 20  CCMT120404 240.0058.138 STFCLO8CA-09 8 32 10 17 8 25 4.5 10 TCMT090204
240.0158.138 SCLCL16CA—12 16 63 25 25 20 60 10 25  CCMT120404 240.0059.138 STFCL10CA-11 10 50 14 20 11 < 5 TCMT110204
240.0060.138 STFCL12CA-16 12 55 20 20 16 50 8 20 TCMT16T308
240.0061.138 STFCL16CA - 16 16 63 25 25 20 60 10 25  TCMT16T308

S

/§;%

08CA 10CA 12CA

240.0081.138 ~ SSKCR10CA - 09 SCMT09T308 240.0171.138 STGCRO6CA - 06 TCGT060102L
240.0082.138 SSKCR12CA-12 12 55 20 20 16 50 20 SCMT120408 240.0172.138 STGCRO8CA - 09 8 32 10 17 8 25 4:5 10 TCMT090204
240.0083.138  SSKCR16CA-12 16 63 25 25 20 60 10 25 SCMT120408 240.0131.138 STGCR10CA - 11 10 50 14 20 11 40 8 15 TCMT110204
240.0087.138 ~ SSKCL10CA-09 10 50 14 20 11 40 15 SCMT09T308 240.0132.138 STGCR12CA-16 12 55 20 20 16 50 8 20 TCMT16T308
240.0088.138 ~ SSKCL12CA-12 12 55 20 20 16 50 20 SCMT120408 240.0133.138 STGCR16CA-16 16 63 25 25 20 60 10 25 TCMT16T308
240.0089.138 ~ SSKCL16CA-12 16 63 25 25 20 60 10 25 SCMT120408 240.0134.138 STGCLO6CA-06 6 25 8 12 5.5 20 3.5 8.5  TCGT060102L
240.0135.138  STGCLO8CA - 09 8 32 10 17 8 25 4.5 10 TCMT090204
240.0136.138 STGCL10CA - 11 10 50 14 20 11 40 15 TCMT110204
240.0137.138 STGCL12CA-16 12 55 20 20 16 50 20 TCMT16T308
. — 240.0138.138 STGCL16CA-16 16 63 25 25 20 60 10 25  TCMT16T308
F V=S N
SCLC 95° 1 fe | *
4 NN
B STFC 90° : H
45“
0BCA 0BCA ot o
10GA12CA 16CA

16CA

ol F




@ BEEH

MNAS HMCT GROUP

BAFTRZFCN Tk

Screw Clamping Cartridges

@ BREEHA

LNVAS HVMCT GROUP

REOREUWIPS

INDEXABLE PRECISION CARTRIDGES

RER e \WIPS

INDEXABLE PRECISION CARTRIDGES

BEFTRZ TN Tk

Screw Clamping Cartridges

H H
H H STSC 45°
min Dmin
STTC 60° ° —P
R e ) o e = v
\\\;7 o - B .
60° e ho R |
! 20°

06CA 08CA
10CA 12CA 16CA

08CA 10CA 12CA 16CA

240.0100.138  STSCRO8CA - 09 TCMT090204
240.0101.138  STSCR10CA - 11 10 50 14 20 11 40 8 15  TCMT110208
240.0102.138 STSCR12CA -1 12 20 20 15 50 8 20  TCMT16T308
240.0120.138 | STTCRO8CA - 09 45 TOMT090204 240.0103.138 zT:CFﬁSCA 12 16 ZZ 25 25 20 60 10 25  TCMT16T308
240.0121.138 STTCR10CA - 11 10 44 14 20 11 40 8 15 TCMT110204 : : -
240.0104.138  STSCLO8CA - 09 8 32 10 17 8 25 45 10  TCMT090204
240.0122.138 STTCR12CA-16 12 47 20 20 16 50 8 20  TCMT16T308
240.0105.138  STSCL10CA - 11 10 50 14 20 11 40 8 15  TCMT110208
240.0123.138 STTCR16CA-16 16 53 25 25 20 60 10 25  TCMT16T308
240.0106.138  STSCL12CA - 16 12 55 20 20 15 50 8 20 TCMT16T308
240.0125.138 _ STTCLOSCA - 09 8 %2 6 17 8 25 45 10 TCMT090204 240.0107.138 STSCL16CA - 16 16 63 25 25 20 60 10 25  TCMT16T308
240.0126.138 STTCL10CA - 11 10 44 14 20 11 40 8 15 TCMT110204 : : -
240.0127.138 STTCL12CA-16 12 47 20 20 16 50 8 20  TCMT16T308
240.0128.138 STTCL16CA-16 16 53 25 25 20 60 10 25  TCMT16T308
‘F.‘ INT) MR
Accessories of Cartridges
STWC 60° H H
Dmin D min
0 - )
~ — / -
e h\/ )
. 06CA M3X6 ZTL3-10 TCGT060102L M2X5X60° T6
06CA M3X6 ZTL3-10 CPGT050204 M2.5X6X60° T7
16CA
0BCA 10CA 12CA 08CA M3X6 ZTL3-10 CCMT060204 M2.5X6X60° T7
08CA M3X6 ZTL3-10 SCGT060204 M2.5X6X60° T7
08CA M3X6 ZTL3-10 TCMT090204 M2.5X6X60° T7
10CA M4X10 ZTL4-15 CCMTO09T304 M4X9X60° T15
10CA M4X10 ZTL4-15 SCMTO09T308 M4X9X60° T15
240.0090.138 STWCRO08CA -09 TCMT090204 10CA M4X10 ZTL4-15 TCMT110204 M2.5X6X60° T7
240.0091.138 STWCR10CA-11 10 44 14 20 11 40 8 15 TCMT110204 12CA MAX16 ZTLA-A5 CCMT120404 M5X11X60° T20
240.0092.138 STWCR12CA-16
12 47 20 20 16 50 8 20 TCMT16T308 p— VIBG e e ———— VEX11X60° 90
240.0093.138 STWCR16CA-16 16 53 25 25 20 60 10 25 TCMT16T308 120A MaX16 STL6-18 TCMT16T308
240.0095.138 STWCLO8CA-09 8 28 10 17 8 25 45 10 TCMT090204 ~ M4X9X60 15
240.0096.138 STWCL10CA-11 10 44 14 20 11 40 15 TCMT110204 15 N A=) GOLINIE L M5X11X60° T20
240.0097.138 STWCL12CA-16 12 47 20 20 16 50 20  TCMT16T308 16CA M6X20 ZTL6-18 SCMT120408 M5X11X60° T20
240.0098.138 STWCL16CA-16 16 53 25 25 20 60 10 25 TCMT16T308 16CA M6X20 ZTL6-18 TCMT16T308 M4X9X60° T15

oo JIlJF



BEEH e to A WIES e To T WIES BEEH

[/NAS HVICT GROUP Indexable Precision Cartridges Indexable Precision Cartridges [/NAS HMCT GROUP

INT)RBZ A A3 $E 71 7] R AME R~F

Mounting Types of Cartridges
4.0 1.8 7°

WE R TCGT060102L
TPGT090204L 5.56 2.38 11°
TPGT110304L 6.35 2.38 11°
PD02381204 8.0 3.8 0.4
PD01381204 10.0 3.8 0.4
PD1481204 12.0 4.8 0.4 "
84"
06CA 08CA 16CA PD2531204 15.0 5.3 0.4 h
10CA 12CA
PD3601208 17.6 6.0 0.8
R s
TCMTO06T102 3.97 1.98 0.4 =L
VA D F =
2 RE TCMT090204 5.56 2.38 0.4 (O @
| e
i Y
TCMT110208 6.35 2.38 0.8 - -
TCMT16T308 9.525 3.97 0.8
—] _ 3 ~ae
~ B ’ CCMT060204 6.35 2.38 0.4 . |
— e~ o i
20 CCMT09T308 9.525 3.97 0.8 [ O |
i
CCMT120404 12.7 4.76 0.4 e | sl
R g
06CA 08CA 16CA WCMX040208 6.35 2.38 0.8 g I i
10CA 12CA
WCMX050308 7.94 3.18 0.8 (O )
i e
ihg i
WCMX06T308 9.525 3.97 0.8 M

~ t 3.5 4.5 5 6 - SCMTO09T308 9.525 3.97 0.8 @
==
d R

e 12 17 20 20 25 SCMT120408 12.7 4.76 0.8

< 70 M

os JIlJF



BEEH CZG %HI 7%

[/NAS HMCT GROUP CZG Turning Tool Holders

CZGZHI| T <& It
CZGHEHITIEZRE AT EILEFLENELH TERETH—ERS, E2ETATEHIM
THOIEEFERTRTIR, ERZTIEReEESTRETIR (F7], $653L%F ) ZEIE
HIMIAOFEEERE, FERTHRE. $h. 8. W2, #FHMI,

CZGT7IkimER A EHEINASZLH, 576FES, HIITIEEDINGIS8OtRH,

BARR TIRIEBEARR BRI mIN, EAMRA A ZRFITRHRIZITEEMR S,

CZG ZH|JT1%k

CZG Turning Tool Holders

@ BEEH

LNVAS HVMCT GROUP

R

CZG ZEH|TI%

CZGTI FEATERRRAE v vvvvrrrreraeeessssnnnnnnnns GO1
B[R] TTSETCA B e vvvnnnnnnnnnrnrrnarnaaaaaaaaaanns G02
B[R] TTSETCOE v vvvvvrrnnnrrnrrraaanaaaaaaaaanns G02
B T FETCBE oevve e eeemnneeeeeeinaeeieenns GO02
EIE) TTFETCAT oo eeeveenvenin e eeeeeeieeas GO03
B TIETBAE oeveeerneeereeiieeein e e GO03
B TIETB2E oo veevrneeereenneeeineenaeenes GO03
AR TIETBBE oo veevrneerrrrnnnaeeninanneeanns GO04
B TIETBAR oo eeevvn e ieeninaeeiiianneeenns GO04
AR TIFETBEE oo eeevvneerveennnaeeieeanneaenns GO04
B TIFETBOE oo veevrneeereennnaeerisaanenaans GO5
B TIETBT7E oeveeerneeerrenneeeineenaeenns GO5
B TIETBBE oo veevvneeerrennreeninaanaanans GO5
T TTFTEARTE cveneeevenaneeeiie e eee e GO06
T TI T AR2E e veeeeeiiteee e, GO06
T TITEARBE oo veeeeevineeeiiteeeieee e, GO06
Xll'ﬁlﬂgéAR4§E ................................. G007
L GO7

UB R FLEE TEAF v revrrorrvrrsmneeesnneeennnnn GOB

[ o = S PR RRTES G008
ST FFEL G oorerrrrrrrrrnrrnrennenaans G09

B R R FLIEAT - vverrreeerrnnrennns GO09




@ BEEH

MNAS HMCT GROUP

CZG FH|T1%k

CZG Turning Tool Holders

CZG FH|T1%k

CZG Turning Tool Holders

@ BREEHA

LNVAS HVMCT GROUP

CZG 7] K AmBPHRAE

GB/T.19448.1-2004(515010889-1:1997/DIN69880-1:1994 % %))

60“1:/3”\>( 1

e~

L)
N

16 50 20 10 48

20
25
32
32
40

_Gllllon

70
85
100
125
160

30
40
50
60
80

14
14
16
16
20

68
83
98
123
158

hi

90°0’

d2

1.7

11

14

18 18

27
36
48
55
72

28
32.5
35
42.5
55

25
35
42.5
50
62.5
80

18 40 22 32

25
32
37
48
65

55
63
78
94
124

30
30
36
44
60

48
48
56
56
80

AN W W NN

% [5) 7] TC1 2
(C18Y, YPEATIR)

Tool Holders Type TC1(with
Rectangular Axial Seat,

Right—hand)

640.0001.193
640.0002.193
640.0003.193
640.0004.193
640.0005.193

CZG-TC1-2016
CZG-TC1-3020
CZG-TC1-4025
CZG-TC1-5032
CZG-TC1-6032

20
30
40
50
60

65
70
85
100
125

255 40
17 35
20.5 425

255 50
325 625

16

20 -
25 20
32 25
32 25

25 30

28 38
32.5 48

35 60
425 625

50 - 30

70
85
100
125

10
12.5

16

16

30
30
48
40

% [a) 7] & TC28Y
(C2®, HmETIXR)

Tool Holders Type TC2(with
Rectangular Axial Seat,

Left—hand)

640.0010.193
640.0011.193
640.0012.193
640.0013.193
640.0014.193

CZG-TC2-2016
CZG-TC2-3020
CZG-TC2-4025
CZG-TC2-5032
CZG-TC2-6032

20
30
40
50
60

65

74
90

105
125

255 40
21 39
255 475

305 55
325 625

16 -

20 -

25 20
32 25)
32 25

25 30

28 38
32.5 48

36 60
425 625

50 - 30

70
85
100
125

10
12.5

16

16

30
30
48
40

Hfi[m) 7] R TCIE
(C3E, YPmzNATIxR)
Tool Holders Type TC3(with
Rectangular Axial Seat,Overhead,

Right—hand)

640.0020.193
640.0021.193
640.0022.193
640.0023.193
640.0024.193

CZG-TC3-2016
CZG-TC3-3020
CZG-TC3-4025
CZG-TC3-5032
CZG-TC3-6032

20
30
40
50
60

65

70
85
100
125

25.5 40
17 35
20.5 425

255 50
325 625

16

20 -

25 20
32 25
32 25

25 30
38 35
48 42.5
60 50
62.5 625

50 - 30

70
85
100
125

10
12.5

16

16

30
30
48
40

o2lllje



@ BEEH

MNAS HMCT GROUP

[ T TC4EY
(CARY, P RIAETIR)

Tool Holders Type TC4(with
Rectangular Axial Seat,Overhead,
Left-hand)

@ BREEHA

LNVAS HVMCT GROUP

CZG FH|T1%k

CZG Turning Tool Holders

CZG FH|T1%k

CZG Turning Tool Holders

120 7] X TB3ZEY
(B3%, FEMEmERIIATIXR)
Tool Holders Type TB3(with
Rectangular Radial Seat,
Overhead,Right—hand,Short)

55 16 - 32 18

640.0060.193 CZG-TB3-2016 20 7 30 30 30

65 16 - 30 25 50 - 30

640.0030193  C2G-T04-2016 20 255 40 640.0061.193 CZG-TB3-3020 3 7 10 8 20 - 38 35 40 2
640.0031.193 ~ CzG-TC4-8020 ~ 30 74 21 3 20 - 38 3% 70 10 3P 640.0062.193 CZG-TB3-4025 40 g5 125 425 25 20 48 425 44 22
640.0032193  CZG-TC4-4025 40 90 255 475 25 20 48 425 85 125 30 <40 0083165 P — S ey B B Y e N R
T ——— 640.0064.193 CZG-TB3-6032 60 25 16 625 32 25 625 625 60 30
640.0034193  CZG-TC3-6032 60 125 325 625 32 25 625 625 125 16 40

ZmITIETB1E
(B1EY, BRI MEA TIK)
Tool Holders Type TB1(with
Rectangular Radial Seat,

Right—-hand,Short)

55

16 -

32 18

&[E 7]k TB4ZY
(B4E!, GBI L K] TIk)
Tool Holders Type TB4(with
Rectangular Radial Seat,
Overhead,Left-hand,Short)

55

16 - 30 25 32 18

640.0040.193 CZG-TB1-2016 20 7 25 25 30 640.0070.193 CZG-TB4-2016 20 7 30

640.0041.193 CZG-TB1-3020 30 70 10 35 20 = 28 38 40 22 640.0071.193 CZG-TB4-3020 30 70 10 35 20 = 38 35 40 22
640.0042.193 CZG-TB1-4025 40 85 125 425 25 20 32,5 48 44 22 640.0072.193 CZG-TB4-4025 40 85 125 425 25 20 48 42.5 44 22
640.0043.193 CZG-TB1-5032 50 100 16 50 32 25 35 60 55 30 640.0073.193 CZG-TB4-5032 50 100 16 50 32 25 60 50 55 30
640.0044.193 CZG-TB1-6032 60 125 16 62.5 32 25 425 625 60 30 640.0074.193 CZG-TB4-6032 60 25 16 62.5 32 25 625 625 60 30

ZmITIETB2E
(B2&Y, RV ME AL T]Ik)
Tool Holders Type TB2(with
Rectangular Radial Seat,

Left—-hand,Short)

55 7 25 16 - 25 30 32 18

_ Gl

26 71X TB5EY
(B5E!, KEVEMEATIX)
Tool Holders Type TB5(with
Rectangular Radial Seat,

Right-hand,Long)

75

640 0050193 CZG-TB2-2016 20 640.0080.193 CZG-TB5-2016 20 7 50 25 30

P —— CZG-TB2-3020 30 70 10 3 20 - 28 38 40 o 640.0081.193 CZG-TB5-3020 3 100 10 65 20 - 28 38 40 22
640 0052193 CZG-TB2-4025 40 85 125 425 25 20 325 48 44 oo 640.0082.193 CZG-TB5-4025 40 118 125 755 25 20 325 48 44 22
P ——— CZG_TB2-5032 50 100 16 50 32 25 35 60 55 30 640.0083.193 CZG-TB5-5032 50 130 16 80 32 25 35 60 55 30
640 0054193 CZG-TB2-6032 60 125 16 625 32 25 425 625 60 30 640.0084.193 CZG-TB5-6032 60 145 16 825 32 25 425 625 60 30

16 -

32 18

o lile




@ BEEH

MNAS HMCT GROUP

CZG FH|T1%k

CZG Turning Tool Holders

12 7] X TB6ZE!
(B6EY, KEUEME AL TIk)
Tool Holders Type TB6(with
Rectangular Radial Seat,
Left-hand,Long)

CZG-TB6-2016

20

1
75 7 50 16 - 25 30 32 18

640.0090.193

@ BREEHA

LNVAS HVMCT GROUP

CZG FH|T1%k

CZG Turning Tool Holders

e (Fh. 2)TIRARIE
AR1 Type of Double
Direction(Axis and Radial) ha

70 18 35 20 16 38

640.0120.193 CZG-AR1-3020 30 35 70 18

640.0091.193 CZG-TB6-3020 30 100 10 65 20 = 28 38 40 22 640.0121.193 CZG-AR1-4025 40 85 22 42.5 25 20 48 42.5 100 22
640.0092.193 CZG-TB6-4025 40 118 125 755 25 20 325 48 44 22 640.0122.193 CZG-AR1-5032 50 100 25 50 32 25 60 50 120 22
640.0093.193 CZG-TB6-5032 50 130 16 80 32 25 35 60 55 30 640.0123.193 CZG-AR1-6032 60 125 30 62.5 32 25 625 625 135 30
640.0094.193 CZG-TB6-6032 60 145 16 82.5 32 25 425 625 60 30

640.0095.193 CZG-TB6-6040 60 145 16 825 40 - 425 625 80 40 XN [E) (3. 12)JIFZAR2EY

ZmTIKTB7E

(B7E!, KEMEMERIIATIR)

Tool Holders Type TB7(with
Rectangular Radial Seat,Overhead,
Right-hand,Long)

AR2 Type of Double Direction
(Axis and Radial)

65 14 40 16 - 30

640.0100.193 CZG-TB7-2016 20 75 7 5 16 - 3 25 3 18 640.0131.193 CZG-AR2-3020 3 74 18 3 20 16 38 3 70 18
640.0101.193 CZG-TB7-3020 3 10 10 6 20 - 3 3 40 22 640.0132.193 CZG-AR2-4025 40 9 22 475 25 20 48 425 100 22
640.0102.193 CZG-TB7-4025 40 118 125 755 25 20 48 425 44 22 640.0133.193 CZG-AR2-5032 50 105 25 55 32 25 60 50 120 25
640.0103.193 CZG-TB7-5032 50 130 16 80 3 25 60 50 55 30 640.0134.193 CZG-AR2-6032 60 125 30 625 32 25 625 625 135 30
640.0104.193 CZG-TB7-6032 60 145 16 805 32 25 625 625 60 30

M3, 2)7132AR3EY
AR3 Type of Double Direction
(Axis and Radial)

125 7] K TB8E

(B8EY, KEVEMERYIZTIR)

Tool Holders Type TB8(with
Rectangular Radial Seat,Overhead,
Left-hand,Long)

75 7 50 16 - 30 25 32 18

65 14 40 16 -

640.0110.193 CZG-TB8-2016 20 640.0140.193 CZG-AR3-2016 20 25 30

640.0111.193 CZG-TB8-3020 30 100 10 65 20 - 38 85 40 22 640.0141.193 CZG-AR3-3020 30 74 18 39 20 - 28 38 70 18
640.0112.193 CZG-TB8-4025 40 118 125 755 25 20 48 42.5 44 22 640.0142.193 CZG-AR3-4025 40 90 22 47.5 25 20 32.5 48 100 22
640.0113.193 CZG-TB8-5032 50 130 16 80 32 25 60 50 515 30 640.0143.193 CZG-AR3-5032 50 105 25 55! 32 25 35 60 120 25
640.0114.193 CZG-TB8-6032 60 145 16 82.5 32 25 625 625 60 30 640.014 4193 CZG-AR3-6032 60 125 30 62.5 32 25 425 625 135 30

50 14

oolllja



BEEH CZG K| 715k CZG K71k BEEH

LNAS HMCT GROUP CZG Turning Tool Holders CZG Turning Tool Holders LNVAS HMCT GROUP

UZY % FLEA AT
($EHI IR AE1ELTIR)
Tool Holders for Drilling Tools

Wa(Eh. 12)71FAR4EY

AR4 Type of Double Direction
(Axis and Radial)

- =
20 50 32 25 60 40 51

640.0151.193 CZG-AR4-3020 30 70 18 39 20 = 28 38 70 18 640.0200.193 CZG - TUB - 2020 20
640.0152.193 CZG-AR4-4025 40 85 22 425 25 20 325 48 100 22 640.0201.193 CZG-TUB-2025 20 25 50 40 25 66 40 56
640.0153.193 CZG-AR4-5032 50 100 25 50 32 25 3 60 120 25 640.0202.193 CZG - TUB - 3020 30 20 68 32 28 66 40 51
640.0154.193 CZG-AR4-6032 60 125 30 625 32 25 425 625 135 30 640.0203.193 CZG - TUB - 3025 30 25 68 40 28 71 40 56
640.0204.193 CZG-TUB - 3032 30 32 68 50 28 75 40 60

[ $ % -|; 5‘1: 640.0205.193 CZG - TUB - 4020 40 20 83 32 32,5 66 40 51
Collet Chucks 640.0206.193 CZG - TUB - 4025 40 25 83 40 325 71 40 56
640.0207.193 CZG - TUB - 4032 40 32 83 50 325 75 40 60

640.0208.193 CZG - TUB - 4040 40 40 83 60 325 85 40 70

640.0209.193 CZG - TUB - 5020 50 20 98 32 35 66 40 51

640.0210.193 CZG-TUB-5025 50 25 98 40 35 71 40 56

640.0211.193 CZG-TUB - 5032 50 32 98 50 35 75 40 60

640.0212.193 CZG - TUB - 5040 50 40 98 60 35 85 40 70

640.0213.193 CZG - TUB - 6020 60 20 123 32 425 66 40 51

640.0214.193 CZG-TUB - 6025 60 25 123 40 425 71 40 56

640.0215.193 CZG -TUB -6032 60 32 123 50 425 75 40 60
__-------- 640.0216.193 CZG-TUB - 6040 60 40 123 60 425 85 40 70
640.0160.193 CZG - ER25 -2055 20 50 42 25 55 - 3-16 ER25 %ﬁ 7] géﬂ A
640.0161.193 CZG - ER25 - 3075 30 68 42 28 75 22 3-16 ER25 R W
(R ZESI TR HE28 ] 3k)

640.0162.193 CZG - ER25 — 3055 30 68 42 28 55 22 3-16 ER25 .
Tool Holders for Turning Tool
640.0163.193 CZG - ER32-3075 30 68 50 28 75 22 3-20 ER32 With Cylinder Shanks
640.0164.193 CZG - ER32 - 3055 30 68 50 28 55 22 3-20 ER32
640.0165.193 CZG - ER40 - 3075 30 68 63 28 75 22 3-26 ER40
640.0166.193 CZG - ER25 - 4075 40 83 42 325 75 22 3-16 ER25
640.0167.193 CZG - ER32 - 4075 40 8 50 325 75 22 3-20 ER32
640.0168.193 CZG - ER40 - 4075 40 83 63 325 75 22 3-26 ER40
640.0169.193 CZG - ER40 - 5090 50 98 63 35 90 30 3-26 ER40 lolydidLi
640.0171.193 CZG - ER40 - 6090 60 123 63 425 90 30 3-26 ER40 _—--------
640.0230.193 CZG - BSH - 2025 20 5 50 25 50 - 45 25
640.0231.193 CZG - BSH-3016 30 68 55 28 60 22 95 16
ERF& -_ 640.0232.193 CZG-BSH-3032 30 68 55 28 60 22 55 32
ER Collets Eppg 3+ 4 5s 67,809, 10,11, 12, 13, 640.0233.193 CZG - BSH - 4020 40 83 55 325 75 22 130 20
14, 15, 16 640.0234.193 CZG - BSH - 4040 40 83 8 325 75 22 68 40
/‘/{ T | 90 Oo o B T G Bl T e TR R 640.0235.193 CZG - BSH - 5032 50 98 68 35 90 30 150 32
| S — ;_ = 6 . 14, ;5~ “;‘ 197~ 1108~ 1119~ 1220 " 640.0236.193 CZG - BSH - 5050 50 98 90 35 90 30 80 50
n Eruo 1;\ 155 16“ 71‘7\ ) s: 19: 20: . 22: 640.0237.193 CZG - BSH - 6032 60 123 68 425 100 30 170 32
\_\1 23, 24, 25. 26 640.0238.193 CZG - BSH - 6060 60 123 98 425 100 30 88 60

oslilje




BEEH CZG ZHI 7)1 BEEH

CZG Turning Tool Holders

WLPR Th BE B8 4 K 7] 47 Bt 4

Accessories Of NC Machines And Arbors

MNAS HMCT GROUP

LNVAS HVCT GROUP

EHIRTEAER

Reducers

-

\r,

WK ZhBE BB 14 A2 71 47 Bif {4

BSH2025 8 Bshd020 — 12 TE BT ve e e eren e Ho1 TQWEIESE ] veeverrenreemsmrmnnsmiii H10
BSH2025 - 10 25 10 38 Bsh4020 - 16 20 10 58 TEIEZR v eveeeerrersertmin i HO1 FTZW S B G T] e eevnneermmeemmmmmnrenneenanennnne H10
BSH2025 - 12 25 12 38 Bsh4040 - 25 20 12 58
T —— " 16 - EwT—— m 16 m DT o R HO1 ATESE S, TIARER FISE T veeeeeeennrrnnnnnrennannnnnnnes H11
BSH2025 - 20 25 20 38 Bsh4040 - 32 40 20 61 7 ARG HE v eeeeeerenmrereeeeee s HO2 GEGETEES o eeeeitiite e H11
BSH3016 -8 16 8 48 Bsh5040 — 12 32 8 73
BSH3016 — 10 16 10 48 Bsh50(60)32 — 16* 30 10 73 B[RRI AE  -vvrrereerrerssnnrrrnreaaansannnnnnns Ho2 Ry ] R Hi2
BSH3016 - 12 16 12 48 Bsh50(60)32 - 20" 32 12 73 74T BB TAEZEL e veveevereeeereenereereanens HO2 BB Seeeeeeeeee et H12
BSH3032 - 20 32 20 48 Bsh50(60)32 — 25* 50 20 74
BSH3032 — 25 30 o5 48 Bsh5050 — 40 50 o5 74 74T EEMETAIETRI - eeveeerrrnrenrmrmnrnneenenns Ho2 31 TR P PP PP PP PP PP PP PP PR H13
BSH4020 -8 20 8 58 Bsh6060 — 40 60 8 83 .
° BRI TS e Ho3 BT TTBE e veemrmnnnereeeeernmtiee et H13
BSH4020 - 10 20 10 58 Bsh6060 - 50 60 10 83
K1 2 T TR TR R TR %S 0 B e e e
. TMEEHEERRS, Rh 0% RBsh5032-d1 5Bsh6032—d 1@ A, ER%SE HO3 B oI H13
10 : Bsh50(60)32-16% RBsh5032#1Bsh60324% 7] 4 4% © 16 EL iR A ¥ A L MAE E & BTG R e vveeemmeeennneeennee et e e HO3
PRI BB v vereeerr e Ho4
Tﬂ; ...................................................... HO5
LoD o U Ho7
T o Iy 3 | = S P Ho8
mﬁ)—%ﬁﬁ%.%ﬁ?[ﬂéﬂ 2 HO8
(R R FERL T k)
Tool Holders for Morse Taper with Flat Tang TQCIRGIBYFEHEE T] o voverrerororarnrnriiniiiiii, H09
TZCE% ﬂ*ﬂ%n ....................................... Hog

640.0250.193 CZG - MK1 - 2001 1 ‘*
640.0251.193 CZG - MK1 - 3001 30 52 80 25 1 ﬂ m “*
640.0252.193 CZG - MK2 - 3002 30 58 97 42 2 bY% %‘l ‘* &

640.0253.193 CZG - MK3 - 3003 30 68 121 66 3 *)\. rﬁ m “u

640.0254.193 CZG - MK2 - 4002 40 58 97 34 2

640.0255.193 CZG - MK3 - 4003 40 68 121 58 3

640.0256.193 CZG - MK4 - 4004 40 72 151 88 4

640.0257.193 CZG - MK2 - 5002 50 58 103 25 2

640.0258.193 CZG - MK3 - 5003 50 68 121 43 3

640.0259.193 CZG - MK4 - 5004 50 72 151 73 4

640.0260.193 CZG - MK2 - 6002 60 58 119 25 2

640.0261.193 CZG - MK3 - 6003 60 68 121 27 3

640.0262.193 CZG - MK4 - 6004 60 72 151 57 4

640.0263.193 CZG - MK5 - 6005 60 84 188 94 5

_ G|l




rBE5H HLFRTh BE EB 1 TR TTAR HLFRTh BE EB TR T ia S 5]

YNAS HMCT GROUP Accessories Of NC Machines And Arbors Accessories Of NC Machines And Arbors LVAS HMCT GROUP
L ______
[ e I (5 SR N . = = LA,
RE LB 724 E M IR
Location Shaft Test Bars with 7:24 Taper
S JYB40x40x200-1 68.4  0.003
JYB40x40x200-lI 40 40 200 235 654  0.003
JYB50x63x200 50 63 200 235 101.8  0.003
JYB60x80x200 60 80 200 235 161.8 0.003
JYB40x40x300-1 40 40 300 335 684  0.003
JYB40x40x300-l1 40 40 300 335 654 0.003
IIIIIIIllllllllﬂllﬂlllllll JYBSOGH00 5 63 30 33 1018 0.003
ST40/40 — 28 WST40/40-28 44.45 JYB60x80x400 60 80 400 435 161.8  0.003
N T
ST50/40 - 28 WST50/40-28 50 69.85 40 28 E EE %E*L‘L g\.‘t 7[%
Test Bars with Morse Taper
ST50/60 — 40 WST50/60-40 50 69.85 60 40
ST60/40 - 28 WST60/40-28 60 107.95 40 28
] WS T0/60_40 o  1o7ss 60 " _------
ST60/60 - 40 MS 2x150 2 150 175 0.003
MS 3x200 3 32 200 235 5 0.003
T MS 4x300 4 40 300 335 10 0.003
TEE
i MS 5x300 5 40 300 335 10 0.003
Taper Reduction Sleeves B
MS 6x300 6 63 300 335 10 0.003

7T24TERETIEEDN —ane)

i FERRIRIT AR AT RS Working Plug Gauges of 7:24Taper

Lt JT50-JT40 JT50 JT40 69.85 4445 150

JTOO-JTSO JTED  JTSO 10795 60ss 262 0 msows oL Em
BT50-BT40 BT50 BT40  69.85 4445 150 48 A83217-034 3175 150 48.4 0.70
ST50-ST40 ST50 ST40 69.85 4445 162 60 A83217-035 40 44.45 176 65.4 1.34
JT50-ST50 JT50 ST50  69.85 4445 232 130 A83217-036 45 5715 195 828 236
voa _ Ell ST60-ST50 ST60 szo 107.95 69.85 257 50 A83217-037 - . 290 101.8 410
JT60-ST50 JT60 T50 107.95 69.85 247 85 _
2 A83217-039 60 107.95 290 161.8 8.00

BEERDTE L
Precision Morse Taper Reduction Sleeves
_------ 724 TERSHETIEIRM —ame)

MT2 - MT1 2 17.780 ! 12.065 Working Ring Gauges of 7:24 Tape

MT3-MT1 3  23.825 1 12.065 115 56

MT3-MT2 3  23.825 2 17.780 115 67 ] _----_
MT4-MT1 4  31.267 1 12.065 140 56 - o B A83227-034 3175 484 58 0.82
MT4-MT2 4  31.267 2 17.780 140 67 =l ol A83227-035 40 4445 654 64 117
MT4-MT3 4  31.267 3 23825 140 84 T A83227-036 45 5715 828 80 2.39
MT5-MT3 5  44.399 4 31267 170 84 . A83227-037 50 69.85 1018 95 3.82
MT5-MT4 5  44.399 5 44399 156 107 A83227-039 60  107.95 161.8 140 12.3
MT6-MT5 6  63.348 5 44399 218 135

o2 lil]H




rBE5H HLFRTh BE EB 1 TR TTAR HLFRTh BE EB TR T ia S 5]

INAS HMICT GROUP Accessories Of NC Machines And Arbors Accessories Of NC Machines And Arbors INAS HMCT GROUP

Bl EE e sk
Smali Co%t Chucks With Parallel Shanks ER---CE-[7% 3 X121

ER:--C Clamping Nuts for Coolant Through Tools

7B20 - ER16 3~10  28~35 ER16
ZB20-ER20 20 34 3~13  38~42 ER20
ZB25-ER16 25 28 3~10  28-35 ER16 e
ZB25-ER20 25 34 3~13  38-42 ER20
ZB25-ER25 25 42  4~16  45-52 ER25
ZB32-ER20 32 34 3~13  38-42 ER20 L
ZB32-ER25 32 42  4~16  45-52 ER25
. ZB32-ER32 32 50 4~20 5562 ER32
pax| = =
ERF&
ER Collet ~
E: ITHMFUERES, W ER32,7L 020, MER: ER32-20 Ep2 L
- __---__
ER16C M22 x 1.5 DS/ER16
ER20 3. 4.5,6.7,8,9,10. o4 31
11, 12, 13 ER20C M25 x 1.5 34 24.0 25 DS/ER20 E 1
ER25 Sy 4. 5. 6.7, 8. 9.0, 4 35 ER25C M32 x 1.5 42 25.0 36 DS/ER25 E2
11, 12, 13, 14, 15, 16
ER32C M40 x 1.5 50 275 44 DS/ER32 2

3. 4, 5. 6, 7. 8, 9, 10,
. ER32 11, 12, 13, 14, 15, 16, 33 40 ER40C M50 x 1.5 63 30.5 57 DS/ER40 B 2
______ 1 17. 18, 19. 20

— <| al 16 N = 445

______ 3. 4. 5. 6. 7. 8. 9. 10, ER---CEI-N KR IBIEHEFIT B

a2 . 11, 12, 18, 14, 15, 16, . 46

. 17. 18, 19, 20. 21, 22, ER---CEZZig4F L.
23, 24, 25, 26
EATEMTIR, EANLANGE, K& ER16
ER16 4 40
SE Al 1 BRI REHEEER, SRTEZEHXE ER16 -
AT X AR i ° 510 %6
Adjustable Drawkeys ER20 3-6 32
&b ==
| - _---- 2. HEMS TR B A 150bariy S HBE S o ER20 713 80
@M‘: 3468
2005 12 M5 -34-68 ER25 3 24
. - M6 — 34 — 107 37 107 35 16 S.BhIE IR EFIYIBHENF L

ER25 4 56

M6 - 34 - 88 37 88 35 16
[ K80-39.5-120 43 120 40 19 4.3 242 0EIE B FAREMERLE, ER25 5-7 80
K80-39.5-145 43 145 40 19 ER25 8~16 104
e (i B K100 -41-155 445 155 42 26 ER32 3-20 136
| K120 — 48 - 190 52 190 50 31 ER40 3-26 176

. ; K140 - 62 - 240 70 240 62 38

i EEERAERT, SAHEEEABIEFHEERN25%,.

1l Ea



rBE5H HLFRTh BE EB 1 TR TTAR HLFRTh BE SR % TTARM e 55 5% ]

INAS HMICT GROUP Accessories Of NC Machines And Arbors Accessories Of NC Machines And Arbors INMAS HMCT GROUP
- a4 *
':_"_s':t ﬂ s ==y
T . REds
Sealing Disks Sealing Disk
} 59 == 0 . oo=2s 0
L~ = - DS/ER32-3.0 30-25 DS/ER40-6.0 6.0-5.5
- = s s
&s © N DS/ER32-3.5 35-3.0 DS/ER40-6.5 6.5-6.0
= Q — B Q — !
° S DS/ER32-4.0 40-35 DS/ER40-7.0 7.0-65
F v DS/ER32-4.5 45-4.0 DS/ER40-7.5 75-7.0
4 4 4 4 4 DS/ER32-5.0 50-45 DS/ER40-8.0 80-75
o — — et o —
DS/ER 16 DS/ER 20 DS/ER 25 DS/ER 32 DS/ER 40 DIk SRS DS/ER40-8.5 85-80
o= s 0 o= s 0 — — — —
DS/ER32-6.5 6.5- 6.0 DS/ER40-9.5 9.5-9.0
DS/ER16-3.0 30-25 DS/ER20-11.5 115-11.0
DS/ER32-7.0 7.0-65 DS/ER40-10.0 10.0-95
DS/ER16-3.5 35-3.0 DS/ER20-12.0 12.0-115
DS/ER32-7.5 75-7.0 DS/ER40-10.5 10.5-10.0
DS/ER16-4.0 40-35 DS/ER20-12.5 125-11.0
DS/ER32-8.0 8.0-75 DS/ER40-11.0 11.0-105
DS/ER16-4.5 45-40 DS/ER20-13.0 13.0-125
DS/ER32-8.5 8.5-8.0 DS/ER40-11.5 11.5-11.0
DS/ER16-5.0 50-45 DS/ER25-3.0 30-25
DS/ER32-9.0 9.0-85 DS/ER40-12.0 12.0-115
DS/ER16-5.5 55-5.0 DS/ER25-3.5 35-3.0
DS/ER32-9.5 9.5-9.0 DS/ER40-12.5 12.5-11.0
DS/ER16-6.0 6.0-5.5 DS/ER25-4.0 40-35
DS/ER32-10.0 10.0-95 DS/ER40-13.0 13.0- 125
DS/ER16-6.5 6.5-6.0 DS/ER25-4.5 45-4.0
DS/ER32-10.5 10.5-10.0 DS/ER40-13.5 13.5-13.0
DS/ER16-7.0 70-65 DS/ER25-5.0 50-45
DS/ER32-11.0 11.0-105 DS/ER40-14.0 14.0-135
DS/ER16-7.5 75-7.0 DS/ER25-5.5 5.5-5.0
DS/ER32-11.5 11.5-11.0 DS/ER40-14.5 14.5-14.0
DS/ER16-8.0 8.0-75 DS/ER25-6.0 6.0-55
DS/ER32-12.0 12.0-115 DS/ER40-15.0 15.0 - 14.5
DS/ER16-8.5 8.5-8.0 DS/ER25-6.5 6.5- 6.0
DS/ER32-12.5 12.5-11.0 DS/ER40-15.5 15.5-15.0
DS/ER16-9.0 9.0-85 DS/ER25-7.0 70-65
DS/ER32-13.0 13.0-125 DS/ER40-16.0 16.0-15.5
DS/ER16-9.5 9.5-9.0 DS/ER25-7.5 75-7.0
DS/ER32-13.5 13.5-13.0 DS/ER40-16.5 16.5 - 16.0
DS/ER16-10.0 10.0-9.5 DS/ER25-8.0 80-75
DS/ER32-14.0 14.0-135 DS/ER40-17.0 17.0-16.5
DS/ER20-3.0 30-25 DS/ER25-8.5 8.5-8.0
DS/ER32-14.5 14.5-14.0 DS/ER40-17.5 17.5-17.0
DS/ER20-3.5 35-3.0 DS/ER25-9.0 9.0-85
DS/ER32-15.0 15.0 - 14.5 DS/ER40-18.0 18.0-17.5
DS/ER20-4.0 40-35 DS/ER25-9.5 9.5-9.0
DS/ER32-15.5 15.5- 15.0 DS/ER40-18.5 18.5-18.0
DS/ER20-4.5 45-4.0 DS/ER25-10.0 10.0-95
DS/ER32-16.0 16.0-15.5 DS/ER40-19.0 19.0- 185
DS/ER20-5.0 50-45 DS/ER25-10.5 10.5-10.0
DS/ER32-16.5 16.5-16.0 DS/ER40-19.5 19.5-19.0
DS/ER20-5.5 55-5.0 DS/ER25-11.0 11.0-105
DS/ER32-17.0 17.0-16.5 DS/ER40-20.0 20.0 - 19.5
DS/ER20-6.0 6.0-55 DS/ER25-11.5 11.5-11.0
DS/ER32-17.5 17.5-17.0 DS/ER40-20.5 20.5 - 20.0
DS/ER20-6.5 6.5- 6.0 DS/ER25-12.0 12.0-115
DS/ER32-18.0 18.0-17.5 DS/ER40-21.0 21.0-20.5
DS/ER20-7.0 70-65 DS/ER25-12.5 12.5-11.0
DS/ER32-18.5 18.5-18.0 DS/ER40-21.5 21.5-21.0
DS/ER20-7.5 75-7.0 DS/ER25-13.0 13.0-125
DS/ER32-19.0 19.0-185 DS/ER40-22.0 220-215
DS/ER20-8.0 8.0-75 DS/ER25-13.5 13.5-13.0
DS/ER32-19.5 19.5-19.0 DS/ER40-22.5 22.5-22.0
DS/ER20-8.5 8.5-8.0 DS/ER25-14.0 14.0-135
DS/ER32-20.0 20.0-19.5 DS/ER40-23.0 23.0-225
DS/ER20-9.0 9.0-85 DS/ER25-14.5 14.5-14.0
DS/ER40-3.0 3.0-25 DS/ER40-23.5 235 - 23.0
DS/ER20-9.5 9.5-9.0 DS/ER25-15.0 15.0-14.5
DS/ER40-3.5 35-3.0 DS/ER40-24.0 24.0-23.5
DS/ER20-10.0 10.0-95 DS/ER25-15.5 15.5-15.0
DS/ER40-4.0 40-35 DS/ER40-24.5 24.5 - 24.0
DS/ER20-10.5 10.5-10.0 DS/ER25-16.0 16.0-155
DS/ER40-4.5 45-4.0 DS/ER40-25.0 25.0 - 24.5
DS/ER20-11.0 11.0-10.5
: - DS/ER40-5.0 50-45 DS/ER40-25.5 255 - 25.0
iE: ERTEMRAATIE SER--CRAFZIBIIBERER ZFHERFWZETERE: 0.5mm, DS/ER40-5.5 55-5.0 DS/ER40-26.0 26.0 - 95.5

]|l os oo lil]H



IBRE5A HLFRTh BE EB 1 JR TTARM HLFRTh BE EB JR T ia S 5]

INAS HMCT GROUP Accessories Of NC Machines And Arbors Accessories Of NC Machines And Arbors INAS HMCT GROUP
L I
HEERE _ $hHk L TIFF
Redution Sleeve M ) Drill Chuck Bars i
o : o /
Tm—m e = o - - - —F e
el ] \
L 1
L1 I B.No
_----_---- -
ZQH20 -4 ZQH32 -16
ZQH20 -6 20 6 23 53 ZQH32 20 32 20 36 65
ZJT20-710-6 B10 0.6-6
ZQH20 -10 20 10 23 53 ZQH40 -6 40 6 44 74 ZJT20-Z16-7.5 20 82 7.5 23 B16 1-10 1-13
ZJT25-712-6 25 82 6 28 B12 0.6-6 1-10
ZQH20 -12 20 12 23 53 ZQH40 -8 40 8 44 74
ZJT25-716-7.5 25 89 75 28 B16 1-10 1-13
ZQH20 -14 20 14 23 53 ZQH40 -10 40 10 a4 74 2 To5.718 .75 o5 97 - o8 818 113 346
ZQH20 -16 20 16 23 53 ZQH40 -12 40 12 44 74 ZJT32-712-6.5 32 87 6.5 36 B12 0.6-6 1-10
ZJT32-716-8 32 94 8 36 B16 1-10 1-13
ZQH25 -4 25 4 28 60 ZQH40 -16 40 16 44 74
ZJT32-718-8 32 102 8 36 B18 1-13 3-16
ZQH25 -5 25 5 28 60 ZQH40 -18 40 18 44 74
ZJT32-722-8 32 1105 8 36 B22 5-20
ZQH25 -6 25 6 28 60 ZQH40 20 40 20 44 74 ZJT40-712-6.5 40 9% 6.5 44 Bi2 0.6-6 1-10
ZQH25 -8 25 8 28 60 ZQH40 —25 40 25 44 74 £JT40-216 -8 40 103 8 a4 B16 1-10 1-13
ZJT40-718 -8 40 111 8 44 B18 1-13 3-16
ZQH25 -10 25 10 28 60 ZQH40 -32 40 32 44 74
ZJT40-722 -8 40 1195 8 44 B22 5-20
ZQH25 -12 25 12 28 60 ZQHS0 -6 50 6 55 85 ZJT50-212-6.5 50 107 6.5 55 B12 0.6-6 1-10
ZQH25 -14 25 14 28 60 ZQH50 -8 50 8 55 85 A2 IE =l 20 L & 2 Eile ==
ZJT50-718 -8 50 122 8 55 B18 1-13 3-16
ZQH25 -16 25 16 28 60 ZQH50 -10 50 10 55 85
ZJT50-722 -8 50 1305 8 55 B22 5-20
ZQH25 -18 25 18 28 60 ZQH50 -12 50 12 55 85
4 S
ZQH25 -20 25 20 28 60 ZQH50 -14 50 14 55 85 S| %&%5;55’:
Drilling Chuck
ZQH32 -5 32 5 36 65 ZQH50 -16 50 16 55 85
e I e I -----
ZQH32 -8 32 8 36 65 ZQH50 20 50 20 55 85 JzZM6 0.6~6 B10
1~10 42 B12 91
ZQH32 -10 32 10 36 65 ZQH50 -25 50 25 55 85 JzMi10
JzM13 1-13 48 B16 106
ZQH32 12 32 12 36 65 ZQH50 -32 50 32 55 85 e 516 o 518 108
ZQH32 -14 32 14 36 65 ZQH50 -40 50 40 55 85 T e

Bl




@ BREEH

MNAS HMCT GROUP

@ BEEH

LNVAS HMCT GROUP

WLPR Th BE B 4 K 71 47 Bt 44

Accessories Of NC Machines And Arbors

WLPR Th BE #1 4 K 7] 47 Bt 4

Accessories Of NC Machines And Arbors

TQW{RIE$E 7]

TQW Micro—-adjustable Boring Bits

TQCaF 2 tH$E 7]

TQC Square Bits

—

45°

L1

r

TQC8-37 —45-L ®30- 42 M6 37 8 TCGT060102L M2X5X60° T6 Igagg zgg - gg: m: Zg 2%%2‘510;20024" M'\gzg()‘:’é(fgoo 13
TQC10-48 -45-L ®38- ©50 M8 48 10 TPGT090204L  M2.5X6X60 T7 TQWs2 FEANTTER v o= TeMT110204 B EXEXE0° T7
TQC10-53 —45-L D42 - ©56 M8 53 10 TPGT090204L  M2.5X6X60° T7 TQW105 ©105— ©140 M10 110 TCMT16T308 MAX9XE0° T15
TQC13-63 —45-L ®50- ©65 M10 63 13 TCMT110204  M2.5X6X60° T7 TQW135 ®135- 200 M10 130 TCMT16T308 M4X9X60° T15
TQC16-79 —45-L D62 - ®I0 M12 79 16 TCMT110204  M2.5X6X60° T7
TQC19-90 -45-L ©72- 0110 M12 90 19 TCMT16T308 M4X9X60° T15 FTZW?%J-;FU%'IiH%ﬂ
TQC19-116-45-L ®90- ©125 M12 116 19 TCMT16T308 M4X9X60° T15 =1
FTZW SQUARE TYPE MICROADJUSTING BORING CUTTER
1 4 \Y F4
TZCE fABIMESET] ’
TZC Square Bits EQ ‘i—‘—‘—¢l 1 -
L1
L S
- T A
L1 90°

TZC8-20-90-L ®25- ®50 TCGT060102L  M2X5X60° FTZW16-50-9 56 50 105 16 9 TPGT090204L  M2.5X6X60° T7 0.09

TZC8-29-90-L  ®25- ®50 M6 29 8 TCGT060102L  M2X5X60° T6 FT7W16-63-9 o 63 105 16 TV 043

TZC10-32-90-L  ®38- ®70 M8 32 10 TPGT090204L  M2.5X6X60 7

TZC10-49-90-L  ®38- ®70 M8 49 10 TPGT090204L  M2.5X6X60° 7 FTZW20-63-10 72 63 125 16 11  TCMT110204HF M2.5X6X60°  T7 0.21

TZC13-43 —90-L  ®50— ®90 M10 43 13 TCMT110204 M2.5X6X60 7 TW2080-11 0 8 75 20 )

TZC13-64-90-L  ®50- ®90 M10 64 13 TCMT110204 M2.5X6X60° T7 -60- : 11 TCMT110204HF  M2.5X6X60 7 0.25

TZC16-53-90-L ®62- 115 M12 53 16 TCMT110204 M2.5X6X60° T7 FTZW20-100-11 110 100 17.5 20 11 TCMT110204HF M2.5X6X60° T7 0.3

TZC16-80-90-L  ©62- ®115 M12 80 16 TCMT110204 M2.5X6X60° T7

TZC19-62-90-L  ®72- ®135 M12 62 19 TCMT16T308 M4X9X60° T15 FTZW25-80-11 92 8 175 20 11 TCMT110204HF  M2.5X6X60° T7 0.4

90-90— - 90 °

TZC19-90-90-L  ©72- ©135 M12 19 TCMT16T308 M4X9X60 T15 et R R I T oy ey G o8

TZC19-79-90-L  ©90- ®150 M12 79 19 TCMT16T308 M4X9X60° T15

TZC19-113-90-L ©90— ®150 M12 113 19 TCMT16T308 M4X9X60° T15 FTZW32-100-18 121 100 28 25 18 TCMT16T308HF  M4X9X60° T15 1.0

TZC25-91-90-L  ®105- ®190 M16 91 25  TCMT16T308 MA4X9X60° T15

TZC25-136-90-L ®105- ©190 M16 136 25  TCMT16T308  M4X9X60° T15 FTZWs2-125-18 146 125 28 32 18  TCMT16T308HF  M4X9X60 i 1.3
FTZW32-160-18 181 160 28 32 18 TCMT16T308HF  M4X9X60° Ti5 1.6
FTZW40-160-24 181 160 29 40 24  TCMT16T308HF  M4X9X60° Ti5 1.9

r

ol H



@ BREEH

MNAS HMCT GROUP

A E$E 3K T AR EC I $E 7]

Boring Cutters for Adjustable Boring Heads

@ BEKHA

//NAS HMCT GROUP
BERAEX b

Square Angular Tool Holders

WLARTHRE AR K 71473 Bt 44

Accessories Of NC Machines And Arbors

WLRTHRE AR K 71 47 Bt 44

Accessories Of NC Machines And Arbors

> - - £
[ L | 11
= '_ H i |
S e — gles=—————//\{l .
@
_-----_-- '
TD1-16-50 i [ TCGT060102L  M2X5X60° |
TD2-16-90 90 30 16 | B [ TPGT110204L  M3X7X60° T8
TD3-16-100 100 30 30 | i E TPGT110204L  M3X7X60° T8 a
TD4-16-140 140 30 17 Il = m TPGT110204L  M3X7X60° T8

JT(BT)40-T90cn-ER25 110 65 150 75 179 ER25 2000RPM  18Nm  3-~16 SHUREHMERE  ekg

JT(BT)50-T900n-ER32 146 80 (183 100 1073 ER32 11 2000RPM  32Nm  3~20 SilkE#EE 11k
b

77 e £ B 3K

Master Angular Tool Holders

ZERE

Tapping Holders

| R4 GBT64-2007
e |
G3-M3 2.24 - N '
G3-M4 19 35 48 23 21 25 315 M3 M4 ™
G3-M5 19 35 48 23 21 3.15 4 M4 M5, M5.5
G3-M6 19 35 48 23 21 355 45  M45 M6
G3-M8 19 35 48 23 21 5 6.3 M6 M8 ) !.\
G3-M10 19 35 48 23 21 6.3 8 M8 M10, M11 \00 .
G3-M12 19 35 48 23 21 7.1 9 M9 M12 \'i% ] i
G8-M8 31 54 71 37 34 5 6.3 M6 M8 N
G8-M9 31 54 71 37 34 56 7.1 M7 M9 a
G8-M10 31 54 71 37 34 6.3 8 M8 M10, M11 d
G8-M12 31 54 71 37 34 7.1 9 M9 M12
S N S e e ol
G8-M16 31 54 71 37 34 10 125 - M16, M17
P ey o = = o . - M18. M20 T(BT)40-TCUcn-ER25 96 65 150 141 183 ER25 1:1  2000RPM  15Nm 3~16 SHEKEMER  7kg
G14-M14 48 75 102 57 45 9 1.2 - M14, M15 JT(BT)50-TCUcn-ER32 104 80 (125)159 (206) ER32 1:1 2000 RPM  29Nm 3-20 SHKEHMIER 13.5kg
G14-M16 48 75 102 57 45 10 125 - M16, M17
G14-M18 48 75 102 57 45 112 14 i M18. M20 E: %f&%’ﬁ%—ﬁ#ﬂﬁﬁ##,i&%ﬂii{m}i MR UG T EME R, E—ERERTEEMTRNMITEUSEN, FaeRdT
B Vi 5 ) 28 = . = 5 16 - Vo HEERX, EEMITHEEME, ?ﬁf":zﬁ"ﬁﬁ:l:fln;es RE. ’fﬁ%%*)l#ﬁbu;_ﬁ’ﬂ% (i3
1. MIMFLARE SPARX. Y. ZHhE—HTTR, TUREEEMHEN EEREIRe A ER,
G14-M24 48 75 1025745 %o 18 - M24. M25, M26 2. MIMFLMMLE SR, Y. ZHOTFTH, HREEE =ML LA T TR,
G14-M27 48 75 102 57 45 16 20 = M27, M28, M30 3. ETERTfEE L EE A 5005E/4) FsEE104 6h,
G14-M33 48 75 102 57 45 18 224 - M32, M33 4, fELTIEREH50°C,

B



_H]lllie

< KBEEH @ BEEH
VA ¥cvd =
CE:D ALK TN BE AR Az 71 4 Bt 44 ShEIZE T & T CE:D
INAS HMCT GROUP Accessories Of NC Machines And Arbors Turning Tool Holder INVAS HMCT GROUP
EH T 5%
Tool Mounting Fixture 5
i
. UNEEDIEY]
?_' ANEIZE TI B B YRAG IR e vererererrenrreeeneeees Jo1 45° FFFEZEKXIPBIZETIPSSNR/L veeevrreveeneennns J33
RFLETIBI S YRAG IR R v veveeerernrrneaienns Jo2 91° MAFEZERIMNEZETIPTGNR/L:-covereveeeeencnns J34
75° WEEERINEIZETIMCBNR/L:vveeeeeeeeennes Jo3 95° ATAFEERIMEIZE TIPWLNR/L wweeveeeeeenennnnnes J3s
XDQ7: 24 - 30# 30 30# i 200 91° WEEZHIMNEZETIMCFENR/L - -coereeeeeeceeences J0o4 90° MEETEZEKIMEZETISCACR/L:wervvreveeeeeanenns J36
XDQ7: 24 - 40# 40 404 AR 200
XDQ7: 24 — 454 45 454 4R 200 91° WEEEZKXINEIZETIMCGNR/L:«coererereeracenns Jos 75° BEETEZRKIMEZETISCBCR/L:wreerrevcereanenns J37
ALIET: Z9=50 20 50# 4 =00 75° SWEEEHIMEZE TIMCKNR/L weeeeseseesenss Joé 91° MBETEERIMEIZE TISCFCR/Lewovereesereesesenns J38
XDQ7: 24 - 60# 60 60# HEIH 250
95° WEEEKIMEIZETIMCLNR/L:-evvvvverenneneenes Jo7 75° BRETHEERIMEZETISCKCR/L:reereeeerrennnennes J39
Emrﬁjxtj-j]%% ggp'? SLOO1 50° XXEE"%EQQI‘EJJMCMNN ........................ Jos 95° ﬂgﬂE%Eﬁ@]‘iﬂSCLCR/L ..................... J40
Axial Tool Adjusters
1% B354 BR 40° WEEZERXIMEZETIMCMNN-T00:-w+--svveeeeeees Jog 50° HRSTHEEIMEIZETISCMON:---vvennennnnnnnnnnnns J41
1. BEAFREERMBETML, EMks 45° WEEEIMEZETIMCSNR/L:ooeeeeeenennnenes J10 40° B2ETEERIMNEZETISCMCN—-100---+weeeeeeneenees J42
EAALTFE—TE. IMAEESRLE 93° SEFEZETINEIZE TIMDINR/Leceeeevvvnnneeeeeeens Ji1 90° BE4TIE BTt HNEIZE TISDACR/Le-weevvrrennrernnnes J43
&, ERAY. 62.5° WEEZRXIMEZETIMDPNN:--evnevneeneeee J12 93° H2ETEERINEZETISDICR/Lrwreeesererennnnnesss Ja4
2. BAARASEMIMTIRETNL, FES
e z L CANRIZE TIMDQNR/Le=cvveeeeeeeseees o d "\ CHNBEIZE TISDFCR/Leveereereereesaesees
ST, EH TSR T EESS 107.5° WEEESMEZFETIMDANR/L J13 91° #ETERNSMNEZETISDFCR/L J45
120mms 75° WEEZRIMNEZETIMSBNR/L---cocreeeeeecenees J14 62.5° BEETEZNIPEIZE TISDNCN - -ceveereeraneennnes Ja6
45° WEEZERIMEIZETIMSDNN:--wvvveeeeeenneeeeeens J15 107.5° BETEZERXIMNEZETISDQCR/L:-+--vnvvnveeeeees J47
75° WEEZHIMNEZETIMSKNR/L:-coereeeeecenances J16 BEETEE K INEZETISRDCN ceeveeeeeeeneereanenennns J48s
?él’ﬁlﬂv‘)]%% ( Fi528 ) m=. sLoo2 45° WEEZEXIMNEZETIMSSNR/L:wooeeevveeeeeeeens J17 75° BBETEERIMNEZETISSBCR/L:+ooeeeeereeeeeeeenes J49
Tool Adjusters Radial T 75° SEEERINEIZE TIMTBNR/L:wvvvveeeeeeeessnnns J18 45° HBETIE EX MBI ZE TISSDCN - eeevvnreerevnnnearenns J50
l TN
1. RESH, W, 60° WMEEZRKSPEZETIMTENN--ooceeeeeeeeeeeeeeees J19 75° BETERSMNEIFTISSKCR/L
2. [ERBBHERSBT600rpm, 91° WEEEXIMNEZETIMTENR/L weeeeeeeeernnneees J20 45° EETEZEXIMEETISSSCR/L
R 8. RAEARFARL, 91° MEEERKIMEZE TIMTGNR/Lw-veeeseeseesseens J21 91° W2$TEERIMEETISTGCRIL
A
93° WEEZEXIMNEZETIMTINR/L:-ecveeeereeeencnns Joo 91° BEETIEEKIMBEZETISTFCR/L:-vveereerrrecensncens
105° WEEERIMEIZETIMTQNR/L:-vveeeeeeneeeenns J23 93° BETEEFKIMEIZETISTICR/L weeeeeeeennnneneeess J55
93° WEEZEKIEZETIMVINR/L-weeeeeeeeeeeeeeeee J24 60° BRETEERINEIZETISTWCR/L:-oeeeerrvennnneenees J56
117.5° WEEZEXIMEZETIMVQNR/L:--weeeeeeeeeeeees J25 93° BZETIEEIMNEZETISVIBR/L:++vvveerenrennennens J57
95° WEEZKIEZETIMVUNR/L:-c-ecoeeeeecenne- Jo26 93° HEETIEZEKIMEZETISVICR/L: vvrerererararannnnnns J58
=(1) =(2) E(4) 95° WEEZEKIMEIZETIMWLNR/L:wweeeeeenenneeeeeens J27 107.5° BETEERIMEIZETISVQBR/L --wveveeeeeeeeess J59
1. AeEBRIBO10EMM 2. AFREEMNLMNE, 3. WESFRT, EULEEEAE 4. BUMHAEZS5TH 95° FTHFEZEKIMEIZETIPCLNR/L woeeeeereennnneeees J28 107.5° BETEERIMNEZETISVQCR/L-wwvvveeeeeeeeeees J60
5z 3 3 s H{R00.5mm, NE2, zh, BI4 R , WEA4FTR, sk ‘ ‘
SEA R EESRL, X gﬁgﬁ;dfoogrgomymlﬁ B, MRS *éﬁf‘{;j;%; .g}fg';ﬁgi 93° FTAFEERIMNEIZE TIPDINR/L - +eeeeeevevnvnnnnens J29 72.5° HE4TIEEIMEZE TISVVBN ccvvreevrrernneennnt J61
RUCTEAT E Sk T AT ARFMER, HUKE 91° ATHFIE AN EIZE TIPTENR/L s ereeerereersens 430 72.5° HB4TEESANEIZE TISVVCN-+serererereremenes 162
BIRHSEBRAARI T 3k ¢
Z5mm, BATHEdHE 75° AIAFEZKIMEZETIPSBNR/L eeeeeeeereenees J31 95° HRSTEETNIMNEIZE TISVUBR/L+-oeeeeeeenennnnnns J63
AR, 75° MAFEZERXIEZETIPSKNR/L--ceeeceeeeeenes J32 95° BEETEZEIMEZETISVUCR/L: erereerencanennnns J64



@ BEEH

NFLETIRT
LNVAS HUCT GROUP BoringBar
H %
NFLETI R
75° WEEZEKAFLETIMCKNR/L:weevneeeeeeeeeeeees J65 107.5° BETEERXAFLETISDQCR/L:+--vveveveeeeees Jss
95° WEEEKMWFLE TIMCLNR/L:wwwoveeeeeneens J66 95° BATEERMFLETISDUCR/L ovvernereesee J89
50° WEEZERXKFLETIMCWNR/L--wwevveeeeeneenennes J68 62.5° BBETEER M FLETISDWCR/L:-eeeeeeenneeesees J9o
107.5° WEEEXHNFLETIMDQNR/L -wwwweeereeeeeees J69 93° BBETEERMNFLETISDZCR/L wvvveeereeeeee Jo1
95° WEEZEHXAFLETIMDUNR/L:c-eeeeeeeeeeeeeees J70 75° BBETEERNFLZETISSKCR/L:reereerereererennes Jo2
93° WEEERXHKFLETIMDZNR/L:--vveeveenennennes J71 45° BEETEERMFLETISSSCR/L:+oeeeeeeeeeereeeenes Jo3
62.5° WEEZRKFLETIMDWNR/L:--oeeeeeeeeeeeees J72 91° HRETEER M FLETISTFCR/L wreeererreennnnneens Jo4
75° WEEZERK A FLETIMSKNR/L--wweeeeeneeeeeenees J73 95° BEETEERNMFLZETISTUCR/L:--oereeeeereeenennes J96
91° WEEERXKFLETIMTENR/L--weeeeeeneeeeeeeees J74 60° BETEERMFLETISTWCR/L w-weveeeee---J98
117° WEEZEKXAFLETIMTINR/L:-ooeeeeeeeereeeeeees J75 93° BETEERX A FLETISVIBR/L weeeeeeeeeeeeeees J100
95° WEEZERXMFLETIMTUNR/L---weeeeeneeeeeenees J76 93° BBETEEKXMFLETISVICR/L vveeeeeeenenees J101
95° WEEZEXKNFLETIMTUNR/L-R:-weeeeeeeeeneeees J77 117.5° BETERXANFLETISVQBR/L -----xxveeeee J102
60° WEEZEXHNFLETIMTWNR/L:-oeeeeeeeeeeeneeeees J78 117.5° BETERKXAFLETISVQCR/L------0000eeeee J103
117.5° WEEEKXKFLZETIMVQNR/L:-w-veeeneeeenees J79 96° HEETREER AFLIETISVXBR/L: +wvrerveesnneenes J104
95° WEEZKAFLETIMVUNR/L:--eeeneeeeeeeeneeees Jso 96° BBETEERNMFLETISVXCR/L wevereerrneseees J105
139° WEEZERAFLETIMYXNR/L:weveeeeveneennenees Js1 95° BBETEE RN AFLETISVUBR/L ww-veeeenereees J106
105° WEEERXAFLETIMTQNR/L:veeveeveenennennes Jg2 95° HRSTEER A FLETISVUCR/L:---vvvvvvvneeeeeees J107
95° WEEEXWFLETIMWLNR/L:---oeeeeeeeeeeeeenes Js3 72.5° BBETEENAFLETISVWBR/L -weeeeeveeeeenees J108
75° BBSTIERHMFLZETISCKCR/Lwrrrrrnnnnreeenenees Js4 72.5° BBETEENNFLETISVWCR/L -weeveennnnnnnens J109
95° BESTEERXMFLETISCLCR/L reeeerreereeenennes J85 93° BBETEENFLETISVZBR/L:---oeeeeeeeeeeeeens J110
93° BBETHEER M FLETISCZCR/L weeeeerrrrennnnnnnes Js7 95° BRSTEERMFLETISWLCR/L:+oeeeeeeeeeneeses J111

BHZETIRT

Threading Holder

VI ZE T &R 5

Tool Holder For Grooving

o BREEHA

MNVAS HMCT GROUP

A =

BRZETIZRT

glxmggiij]SER/L .......................................... Ji12
PIBBE LI ZE TISNR/L - erererererrernrraeseennniieneenaiannnn. J114
VIV ZET] & 5
él\tJJffEJJMGEHR/L ....................................... J116
]*J?L‘t)]ﬁﬂMGlVR/L ....................................... J119



@ BEEH

LNVAS HVCT GROUP

SMEIZE 7] Y S 4R A5t B

External Tool Holder Code System

P S K N R 25 25 — M 12

[ [ [ [ [ [ [ \ [

1 2 3 4 5 6 7 8 9
W
B & © W =

TR ST NE L E TRERFNSEFLNEE S HES . TRERS5EFLNERE
TRERE & (BEXE, tE, LEH) | (2EEER, ©6sH, LE) (FFEHPIE ) 22254 (#2R, Efisl, LIE)
C A M P S
2 B2

® & @ & = O A E S

C D E K L R S T \Y W

8 EEETH 4 ELC N

75° 45° 60’ h90°

60" 75°
9(‘)\“’ 93’ \
) 5°
B D E F G J K B C D E
85"
%‘ ; ‘ 25°
Y F

-7 A 15 20

95° 45° 60° 72.5°

S NLI R RIRIN:

ol AR E O BIEIREI:

@ BREEHA

/VAS HMCT GROUP

NFLETIB S TR

Boring Bar Code System

[ [ [ [ [ [ [ _
1 2 3 4 H 6 7 8 9
1 )| nHEKE 4 BIELE
A7 SR KB (o)
“E” BRASF. WHTIL, RLH - ! H 100 E
“C” BRASH J 110
“S" ﬁijnﬁ K 125
“X" 4ETRTIF M 150 C A
. N 160
PP E ®
R 200
1 s 250
/\ T 300 M P
‘ U 350
Vv 400
W 450
A Y 500 s

5 EEZE 6 BTV 7 ELECT

/
C D
o 0 -~ 93°
! ° f 1

A-32 H-100 | Q-180
B-40 J-110 R - 200 @ L SEE
”/— C-50 K-125 S - 250 X-Special I A T ! !
{ D-60 L-140 | T-300 tom
| E-70 | M-150 | U-350 @ @ é %
F-80 N-160 | V-400 ik : N | |
G-90 P-170 | W-450

_ I ot

> 8




@

=5 F

SNEIZETI R T

SNEIZETI R T

Turning Tool Holder

@

e =5

/VAS HMICT GROUP

[NAS HVICT GROUP Turning Tool Holder
MCBNR/L
4 4 )
750 @ S ; © w
- (A] 5 .
\ \ J

940.0
941.0
940.0
941.0
940.0
941.0
940.0
941.0
940.0
941.0

e e w m

001.146 MCBNR2020K12
001.146 MCBNL2020K12
002.146 MCBNR2525M12
002.146 MCBNL2525M12
003.146 MCBNR3232P12
003.146 MCBNL3232P12
004.146 MCBNR3232P16
004.146 MCBNL3232P16
005.146 MCBNR3232P19
005.146 MCBNL3232P19

MCBNR2020K12 CNOI[120400]
MCBNL2020K12 CNOI[1204000]
J MCBNR2525M12 CNLI[120400]
MCBNL2525M12 CNOI[1204000]
MCBNR3232P12 CNO[120400
MCBNL3232P12 CNOI[1204000]
MCBNR3232P16 CNO[1e0601[]
MCBNL3232P16 CNOI[160601[]
MCBNR3232P19 CNLI[19060]0]
MCBNL3232P19 CNOI190601[]

20
25
25
32
32
32
32
32
32

MC1204
MC1204
MC1204
MC1204
MC1204
MC1204
MC1604
MC1604
MC1904
MC1904

20
25
25
32
32
32
32
32
32

CTM617
CTM617
CTM617
CTM617
CTM617
CTM617
CTM822
CTM822
CTM1022
CTM1022

i MEERARE T A EfCNMG120408, CNMG160612, CNMG190612
TEBE G EBTERECERZ N

NI

125
150
150
170
170
170
170
170
170

HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL2217
HL2217
HL2217
HL2217

32
32
32
32
32
40
40
40
40

20
25
25
32
32
32
32
32
32

MLO0625
ML0625
MLO0625
ML0625
ML0625
ML0625
MLO0830
ML0830
ML0830
ML0830

17
22
22
27
27
27
27
27
27

L2.5,L3.0
L2.5,L3.0
L2.5,L3.0
L2.5,L3.0
L2.5,L3.0
L2.5,L3.0
L3.0,L4.0
L3.0,L4.0
L4.0
L4.0

MCFNR/L

/D

940.0008.146
941.0008.146
940.0009.146
941.0009.146
940.0010.146
941.0010.146

MCFNR2020K12
MCFNL2020K12
MCFNR2525M12
MCFNL2525M12
MCFNR3232P12
MCFNL3232P12

MCFNR2020K12
MCFNL2020K12
MCFNR2525M12
MCFNL2525M12
MCFNR3232P12
MCFNL3232P12

CNOI[1204010]
CNOI[J1204010]
CNOI[1204010]
CNOI[1204000]
CNO[120400
CNO[120400

i MEERKLE TR EfRCNMG120408

TEFE G EREERISERZR

20
25
25
32
32

MC1204
MC1204
MC1204
MC1204
MC1204
MC1204

20
25
25
32
32

CTM617
CTM617
CTM617
CTM617
CTM617
CTM617

125
125
150
150
170
170

HL1814
HL1814
HL1814
HL1814
HL1814
HL1814

32
32
32
32
32

20
25
25
32
32

MLO0625
ML0625
MLO0625
ML0625
MLO0625
ML0625

25
32
32
40
40

L2.5,L3.0
L2.5,L3.0

L2.5,L3.0 J
L2.5,L3.0

L2.5,L3.0
L2.5,L3.0

E1/11 5N



@ BREEHA

LNVAS HVMCT GROUP

@ BEEH

MNAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

e e w m

MCGNRY/L MCKNR/L
4 N [ l I 4 N 7 I
91° ﬁ | LA " 75° o @ﬂ .
31/ @ ﬁ =
- . : L
% t ] ﬁ
\ O\l J \ J J

940.0013.146 MCGNR2020K12 940.0020.146 MCKNR2020K12 125

941.0013.146 MCGNL2020K12 20 20 125 32 20 25 941.0020.146 MCKNL2020K12 20 20 125 32 20 25
940.0014.146 MCGNR2525M12 25 25 150 32 25 32 940.0021.146 MCKNR2525M12 25 25 150 32 25 32
941.0014.146 MCGNL2525M12 25 25 150 32 25 32 941.0021.146 MCKNL2525M12 25 25 150 32 25 32
940.0015.146 MCGNR3232P12 32 32 170 32 32 40 940.0022.146 MCKNR3232P12 32 32 170 32 32 40
941.0015.146 MCGNL3232P12 32 32 170 32 32 40 941.0022.146 MCKNL3232P12 32 32 170 32 32 40
940.0016.146 MCGNR3232P16 32 32 170 36 32 40 940.0023.146 MCKNR3232P16 32 32 170 36 32 40
941.0016.146 MCGNL3232P16 32 32 170 36 32 40 941.0023.146 MCKNL3232P16 32 32 170 36 32 40
940.0017.146 MCGNR3232P19 32 32 170 38 32 40 940.0024.146 MCKNR3232P19 32 32 170 36 32 40
941.0017.146 MCGNL3232P19 32 32 170 38 32 40 941.0024.146 MCKNL3232P19 32 32 170 36 32 40

TEFE G ERERISEEZA

__J]|llos

TMEMEGEREHRTERZN

K211 e

MCGNR2020K12 CNI[120400] MC1204 CTM617 HL1814 MLO0625 L2.5,L3.0 MCKNR2020K12 CNOI[1204010] MC1204 CTM617 HL1814 MLO0625 L2.5,L3.0
MCGNL2020K12 CNLI[11204010] MC1204 CTM617 HL1814 ML0625 L2.5,LE.0 MCKNL2020K12 CNLI[11204010C] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
J MCGNR2525M12 CNLI[11204000] MC1204 CTM617 HL1814 MLO0625 L2.5,L3.0 MCKNR2525M12 CNOI[11204000] MC1204 CTM617 HL1814 MLO0625 L2.5,L3.0 J

MCGNL2525M12 CNLI[11204010C] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0 MCKNL2525M12 CNLI[11204010C] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
MCGNR3232P12 CNLI[120400] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0 MCKNR3232P12 CNLI[1204010] MC1204 CTM617 HL1814 MLO0625 L2.5,L3.0
MCGNL3232P12 CNOI[1204000] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0 MCKNL3232P12 CNO[1204000 MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
MCGNR3232P16 CNII[1e06]0] MC1604 CTM822 HL2217 MLO0830 L3.0,L4.0 MCKNR3232P16 CNLI[1e06]0] MC1604 CTM822 HL2217 MLO0830 L3.0,L4.0
MCGNL3232P16 CNLI[J1606[1[] MC1604 CTM822 HL2217 MLO0830 L3.0,L4.0 MCKNL3232P16 CN[CI[J1606[1[1 MC1604 CTM822 HL2217 MLO0830 L3.0,L4.0
MCGNR3232P19 CNOJ[J1906010] MC1904 CTM1022 HL2217 ML0830 L4.0 MCKNR3232P19 CNOJ[J1906010] MC1904 CTM1022 HL2217 ML0830 L4.0

MCGNL3232P19 CNOI[J19061C] MC1904 CTM1022 HL2217 ML0830 L4.0 MCKNL3232P19 CN[OI[J1906010] MC1904 CTM1022 HL2217 ML0830 L4.0

i MEEAKLE T FCNMG120408,CNMG160612,CNMG 190612 i MEERA®RLE T CNMG120408,CNMG160612,CNMG 190612



J

@

e =5 F

MNAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

@

e =5

LNVAS HVMCT GROUP

iE:

MCLNR/L

MCMNN

©
s,

940.0027.146
941.0027.146
940.0028.146
941.0028.146
940.0029.146
941.0029.146
940.0030.146
941.0030.146
940.0031.146
941.0031.146
940.0032.146
941.0032.146
940.0033.146
941.0033.146
940.0034.146
941.0034.146

MCLNR1616H12
MCLNL1616H12
MCLNR2020K12
MCLNL2020K12
MCLNR2525M12
MCLNL2525M12
MCLNR3232P12
MCLNL3232P12
MCLNR2525M16
MCLNL2525M16
MCLNR3232P16
MCLNL3232P16
MCLNR3232P19
MCLNL3232P19
MCLNR4040R19
MCLNL4040R19

16
20
20
25
25
32
32
25
25
32
32
32
32
40

MC1204
MC1204
MC1204
MC1204
MC1204
MC1204
MC1204
MC1204
MC1604
MC1604
MC1604
MC1604
MC1904
MC1904
MC1904
MC1904

16
20
20
25
25
32
32
25
25
32
32
32
32
40

CTM617
CTM617
CTM617
CTM617
CTM617
CTM617
CTM617
CTM617
CTM822
CTM822
CTM822
CTM822
CTM1022
CTM1022
CTM1022
CTM1022

MCLNR1616H12 CNO[120400
MCLNL1616H12 CNOI[J1204000]
MCLNR2020K12 CNLI[120400]
MCLNL2020K12 CNOI[1204000]
MCLNR2525M12 CNO[1204000]
MCLNL2525M12 CNLI[J1204000]
MCLNR3232P12 CNO[120400
MCLNL3232P12 CNOI[12040101
MCLNR2525M16 CNO[1e0601]
MCLNL2525M16 CN[OI[I1606[1[]
MCLNR3232P16 CNO[1e061[]
MCLNL3232P16 CN[I[1606[]]
MCLNR3232P19 CNOI[1906]0]
MCLNL3232P19 CNO[J1906[10]
MCLNR4040R19 CNOJ[J1906]0]
MCLNL4040R19 CN[OJ[J1906[10]
=18 A58 7] FCNMG120408, CNMG160612, CNMG190612
T EEERESERZ R

_ Il o7

100
125
125
150
150
170
170
150
150
170
170
170
170
200

---- - -

SOIKT

l50° |

N

25
32
25

MC1204
MC1204
MC1204
MC1604

32 16 20
32 20 25
32 20 5 940.0037.146 MCMNN2020K12
30 o5 32 940.0038.146 MCMNN2525M12
30 o5 30 940.0039.146 MCMNN3232P12
30 30 40 940.0040.146 MCMNN2525M16
32 32 40
35 25 32
35 25 32
35 32 40
35 32 40
36 32 40
36 32 40
36 40 50 MCMNN2020K12 CNO[O120400
MCMNN2525M12 CNOO120400
MCMNN3232P12 CNOO120400
MCMNN2525M16 CNO[O160600
HL1814 ML0625 L2.5,L3.0
HL1814 ML0625 L2.5,L3.0 iE: MEEALE T FCNMG120408, CNMG160612
HL1814 ML0625 L2.5,L3.0 NEMEGEFEEREEZRN
HL1814 ML0625 L2.5,L3.0
HL1814 ML0625 L2.5,L3.0
HL1814 ML0625 L2.5,L3.0
HL1814 ML0625 L2.5,L3.0
HL1814 ML0625 L2.5,L.3.0
HL2217 ML0830 L3.0,L4.0
HL2217 ML0830 L3.0,L4.0
HL2217 ML0830 L3.0,L4.0
HL2217 ML0830 L3.0,L4.0
HL2217 ML0830 L4.0
HL2217 ML0830 L4.0
HL2217 ML0830 L4.0
HL2217 ML0830 L4.0

25
32
25

CTM617
CTM617
CTM617
CTM822

125
150
170
150

HL1814
HL1814
HL1814
HL2217

35
35
42

25
32
25

ML0625
ML0625
ML0625
ML0830

12.5
16
125

L2.5,L3.0
L2.5,L3.0
L2.5,L3.0
L3.0,L4.0

os i}



O KBEEH 5N ZE 7] % 5 INCESEY <> BEEHA

e e w m

_ Il oo

[/NAS HMCT GROUP Turning Tool Holder Turning Tool Holder LNAS HUCT GROUP
MCMNN-100 MCSNR/L
N ) 4 )
$ 4 w
P - " 45° =

! \

| | H
\ L J \ 2/

940.0043.146 MCMNN2020K12-100 940.0050.146 MCSNR2020K12 125

940.0044.146 MCMNN2525M12-100 25 25 150 35 25 12.5 941.0050.146 MCSNL2020K12 20 20 125 32 20 25

940.0045.146 MCMNN3232P12-100 32 32 170 35 32 16 940.0051.146 MCSNR2525M12 25 25 150 32 25 32

940.0046.146 MCMNN2525M16-100 25 25 150 42 25 125 941.0051.146 MCSNL2525M12 25 25 150 32 25 32

940.0047.146 MCMNN3232P16-100 32 32 170 42 32 16 940.0052.146 MCSNR3232P12 32 32 170 32 32 40
941.0052.146 MCSNL3232P12 32 32 170 32 32 40
940.0053.146 MCSNR3232P19 32 32 170 36 32 40
941.0053.146 MCSNL3232P19 32 32 170 36 32 40

i MEEAKRL 7] FCNMG120408, CNMG190612
TMEMEGEREHRTERZN

MCMNN2020K12-100 ~ CNLI[112040]0] MC1204 CTM617 HL1814 MLO0625 L2.5,L3.0

MCMNN2525M12-100  CNLI[11204[C1[] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0

MCMNN3232P12-100  CN[I[1204] MC1204 CTM617 HL1814 MLO0625 L2.5,L3.0

MCMNN2525M16-100  CN[I[11606[][] MC1604 CTM822 HL2217 MLO0830 L3.0,L4.0 --

MCMNN3232P16-100  CNLI[J1606[][] MC1604 CTM822 HL2217 ML0830 L3.0,L4.0 MCSNR2020K12 CNOI[11204000] MC1204 CTM617 HL1814 MLO625 L2.5.L3.0
MCSNL2020K12 CNOI[1204010] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0

J #: MEEMAEEIIFCNMG120408, CNMG160612 MCSNR2525M12 CNOI[1204010] MC1204 CTM617 HL1814 MLO0625 L2.5,L3.0 J
TR EREHGERZN MCSNL2525M12 CNOI[1204000] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0

MCSNR3232P12 CNO[120400 MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
MCSNL3232P12 CNO[1204000 MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
MCSNR3232P19 CNO190601 MC1904 CTM1022 HL2217 MLO0830 L4.0
MCSNL3232P19 CNOI[1906[1] MC1904 CTM1022 HL2217 ML0830 L4.0

ol




@ BEEH

LNVAS HVCT GROUP

@ BREEHA

/VAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

MDJNR/L MDPNN
4 N ) 4 N t )
=TI | |G 42 W EC R O :
e |
! ; fﬁ !
\ O\l J \ L J

e e w  am

940.0056.146 MDJNR1616H11 100 940.0064.146 MDPNN1616H11 100

941.0056.146 MDJNL1616H11 16 16 100 32 16 20 940.0065.146 MDPNN2020K11 20 20 125 37 20 10

940.0057.146 MDJNR2020K11 20 20 125 32 20 25 940.0066.146 MDPNN2020K15 20 20 125 44 20 10

941.0057.146 MDJNL2020K11 20 20 125 32 20 25 940.0067.146 MDPNN2525M15 25 25 150 44 25 12,5

940.0058.146 MDJNR2525M1 1 25 25 150 32 25 32

941.0058.146 MDJNL2525M11 25 25 150 32 25 32

940.0059.146 MDJNR2020K15 20 20 125 38 20 25

941.0059.146 MDJNL2020K15 20 20 125 38 20 25

941.0060.146 MDJNL2525M15 25 25 150 38 25 32 MDPNN1616H11 DNOO110400 MD1103 CTM513 HL2114 ML0625 L2.0,L3.0

940.0061.146 MDJNR3232P15 32 32 170 38 32 40 MDPNN2020K1 1 DNO[O110400 MD1103 CTM513 HL2114 ML0625 L2.0,L3.0

941.0061.146 MDJNL3232P15 32 32 170 38 32 40 MDPNN2020K15 DNOO150400 MD1504 CTM619 HL2114 ML0625 L2.5L3.0
MDPNN2525M15 DNLI[1504 00 MD1504 CTM619 HL2114 ML0625 L2.5L3.0

: MEEFAHKY 7] FDNMG110404,DNMG 150408

THEME 4 ERERITERZ R

_ Il

MDJNR1616H11 DNIJ110400 MD1103 CTM513 HL2114 ML0625 L2.0,L3.0
J MDJNL1616H11 DNOIO110400 MD1103 CTM513 HL2114 ML0625 L2.0,L3.0
MDJNR2020K11 DNOIO110400 MD1103 CTM513 HL2114 MLO0625 L2.0,L.3.0
MDJNL2020K11 DNCI110400 MD1103 CTM513 HL2114 ML0625 L2.0,L3.0
MDJNR2525M11 DNOO110400 MD1103 CTM513 HL2114 ML0625 L2.0,L3.0
MDJNL2525M11 DNCI110400 MD1103 CTM513 HL2114 ML0625 L2.0,L3.0
MDJNR2020K15 DNO1504 00 MD1504 CTM619 HL2114 ML0625 L2.5L3.0
MDJNL2020K15 DNO1504 1] MD1504 CTM619 HL2114 ML0625 L2.5L3.0
MDJNR2525M15 DNOO1504 00 MD1504 CTM619 HL2114 ML0625 L2.5,3.0
MDJNL2525M15 DN15040 MD1504 CTM619 HL2114 ML0625 L2.5L3.0
MDJNR3232P15  DN[[1504 0] MD1504 CTM619 HL2114 ML0625 L2.513.0
MDJNL3232P15 DNI[115040(] MD1504 CTM619 HL2114 ML0625 L2.513.0

. MEEBKIE 7] F DNMG110404,DNMG 150408
NEMRGEEEREERZ RN

2l



@ BREEHA

LNVAS HVMCT GROUP

@ BEEH

MNAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

e e w  am

MDQNR/L MSBNR/L

4 ) 4 M

107.5° g 75° ! @\ w
Thors L -, L

N J N ]/

940.0070.146 MDQNR1616H11 100 940.0078.146 MSBNR2020K12 125 325

941.0070.146 MDQNL1616H11 16 16 100 30 16 20 941.0078.146 MSBNL2020K12 22 22 125 325 20 17
940.0071.146 MDQNR2020K11 20 20 125 30 20 25 940.0079.146 MSBNR2525M12 25 25 150 32.5 25 22
941.0071.146 MDQNL2020K 11 20 20 125 30 20 25 941.0079.146 MSBNL2525M12 25 25 150 32.5 25 22
940.0072.146 MDQNR2525M11 25 25 150 30 25 32 940.0080.146 MSBNR3232P12 32 32 170 325 32 27
941.0072.146 MDQNL2525M11 25 25 150 30 25 32 941.0080.146 MSBNL3232P12 32 32 170 32.5 32 27
940.0073.146 MDQNR2020K15 20 20 125 36 20 25 940.0081.146 MSBNR3232P19 32 32 170 40 30 27
941.0073.146 MDQNL2020K15 20 20 125 36 20 25 941.0081.146 MSBNL3232P19 32 32 170 40 30 27
940.0074.146 MDQNR2525M15 25 25 150 36 25 32 940.0082.146 MSBNR4040P19 40 40 200 40 40 35
941.0074.146 MDQNL2525M15 25 25 150 36 25 32 941.0082.146 MSBNL4040P19 40 40 200 40 40 35
940.0075.146 MDQNR3232P15 32 32 170 36 32 40

941.0075.146 MDQNL3232P15 32 32 170 36 32 40

MDQNR1616H11  DNCI[J1104010] MD1103 CTM513 HL1814 ML0625 12.0,L3.0 MSBNR2020K12 ~ SN[112041] MS1204 CTM617 HL1814 ML0625 L2.5.3.0
J MDQNL1616H11  DNLI[1110410] MD1103 CTM513 HL1814 ML0625 L2.0,L.3.0 MSBNL2020K12  SNO[O120400 MS1204 CTM617 HL1814 ML0625 L2.53.0 J
MDQNR2020K11 ~ DNLCI[I1104010] MD1103 CTM513 HL1814 ML0625 12.0,L3.0 MSBNR2525M12  SNI[J120400 MS1204 CTM617 HL1814 ML0625 L2.5.3.0
MDQNL2020K11 DNOI[1104000 MD1103 CTM513 HL1814 ML0625 12.0,L3.0 MSBNL2525M12  SN[I[1204000] MS1204 CTM617 HL1814 ML0625 L2.5.3.0
MDQNR2525M11  DNCI[]1104010] MD1103 CTM513 HL1814 ML0625 12.0,L3.0 MSBNR3232P12  SNI[112040 MS1204 CTM617 HL1814 ML0625 L2.5L3.0
MDQNL2525M11  DN[I[11104000] MD1103 CTM513 HL1814 ML0625 12.0,L3.0 MSBNL3232P12  SNOJ[J120400 MS1204 CTM617 HL1814 ML0625 L2.5L3.0
MDQNR2020K15 DNCI[1504 11 MD1504 CTM619 HL2114 MLO625 L2.5,L3.0 MSBNR3232P19 SN[I[1906[10 MS1904 CTM1022 HL2217 ML0830 L4.0
MDQNL2020K15 DN[I[J1504 01 MD1504 CTM619 HL2114 ML0625 L2.5,L.3.0 MSBNL3232P19 SNLICI1906[][] MS1904 CTM1022 HL2217 ML0830 L4.0
MDQNR2525M15  DN[I[11504 (1] MD1504 CTM619 HL2114 ML0625 L2.5,L3.0 MSBNR4040P19  SNLI[11906[](] MS1904 CTM1022 HL2217 ML0830 L4.0
MDQNL2525M15 ~ DNLJ[11504 (1] MD1504 CTM619 HL2114 ML0625 L2.5,L.3.0 MSBNL4040P19  SNLI[J1906[1[] MS1904 CTM1022 HL2217 ML0830 L4.0

MDQNR3232P15  DN[1(11504 (0] MD1504 CTM619 HL2114 ML0625 L2.5L3.0
MDQNL3232P15  DN[I[J1504[JC] MD1504 CTM619 HL2114 ML0625 L2.5L3.0

i MEEFKRY T SNMG120408,SNMG 190612

T EAERESEE Z N
i MEfE AR 7] FDNMG110404,DNMG 150408

TEFESERERISERZA

_ Il e (11 B



@

e =5 F

MNAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

D IE

2

5@

LNVAS HVMCT GROUP

MSDNN MSKNR/L
4 N ) 4 N )
o s i ° w
45 4_@3 ) <O w 75 s
ﬁ 75\ & e©
0 ) @ .
- L;
- NG J N O\ J

940.0085.146 MSDNN1616H12 940.0095.146 MSKNR2020K12 125
940.0086.146 MSDNN2020K12 20 20 125 34 20 10 941.0095.146 MSKNL2020K12 20 20 125 29 20 25
940.0087.146 MSDNN2525M12 25 25 150 34 25 12.5 940.0096.146 MSKNR2525M12 25 25 150 29 25 32
940.0088.146 MSDNN3232P12 25 25 170 34 32 16 941.0096.146 MSKNL2525M12 25 25 150 29 25 32
940.0089.146 MSDNN2525M15 25 25 150 40 25 12.5 940.0097.146 MSKNR2525M15 25 25 150 32 25 32
940.0090.146 MSDNN3232P15 32 32 170 40 32 16 941.0097.146 MSKNL2525M15 25 25 150 32 25 32
940.0091.146 MSDNN3232P19 32 32 170 40 32 16 940.0098.146 MSKNR3232P15 32 32 170 32 32 40
940.0092.146 MSDNN4040R19 40 40 200 40 40 20 941.0098.146 MSKNL3232P15 32 32 170 32 32 40
940.0099.146 MSKNR3232P19 32 32 170 36 32 40
941.0099.146 MSKNL3232P19 32 32 170 36 32 40
940.0100.146 MSKNR4040R19 40 40 200 40 40 50
941.0100.146 MSKNL4040R19 40 40 200 40 40 50

e e w am

MSDNN1616H12 SNOO120400 MS1204 CTM617 HL1814 ML0625 L2.5,L3.0 MSKNR2020K12  SN[[J1204][] MS1204 CTM617 HL1814 ML0625 L2.5,L.3.0
J MSDNN2020K12 SNOO120400 MS1204 CTM617 HL1814 ML0625 L2.5L3.0 MSKNL2020K12 ~ SN[J[J12040]0] MS1204 CTM617 HL1814 ML0625 L2.5,.3.0 J

MSDNN2525M12 SNOO120400 MS1204 CTM617 HL1814 ML0625 L2.5,L3.0 MSKNR2525M12 SN[ [J1204 MS1204 CTM617 HL1814 ML0625 L2.5,.3.0
MSDNN3232P12 SNOO120400 MS1204 CTM617 HL1814 ML0625 L2.5,3.0 MSKNL2525M12  SN[J[J12040C] MS1204 CTM617 HL1814 ML0625 L2.5,3.0
MSDNN2525M15 SNOO150400 MS 1506 CTM822 HL2217 ML0830 L3.0,L4.0 MSKNR2525M15  SN[J[J1506]1(J MS 1504 CTM822 HL2217 ML0625 L3.0,L4.0
MSDNN3232P15 SNOO150400 MS 1506 CTM822 HL2217 ML0830 L3.0,L4.0 MSKNL2525M15  SNLIC11506010] MS 1504 CTM822 HL2217 ML0625 L3.0,L4.0
MSDNN3232P19 SNO[O190610 MS 1906 CTM1022 HL2217 ML0830 L4.0 MSKNR3232P15  SNOJO1506] MS 1504 CTM822 HL2217 ML0625 L3.0,L4.0
MSDNN4040R19 SNO[O190600 MS 1906 CTM1022 HL2217 ML0830 L4.0 MSKNL3232P15  SNI[J1506][] MS 1504 CTM822 HL2217 ML0625 L3.0,L4.0

MSKNR3232P19  SNO[190610 MS1904 CTM1022 HL2217 ML0625 L4.0

MSKNL3232P19 SNII[11906 MS1904 CTM1022 HL2217 ML0625 L4.0

7 MG R3] /1 SNMG120408, SNMG150612, SNMG190612 MSKNR4040R19 SNEEK’OGEE MS1904 CTM1022 HL2217 ML0625 L4.0

TEFMEGEFBRERSEEZRN MSKNL4040R19  SNCI[J190601] MS1904 CTM1022 HL2217 ML0625 L4.0

. MEEAKRE T FSNMG120408,SNMG150612,SNMG190612
TG B ERECER Z N

K11




O KBEEH 5N ZE 7] % 5 INCESEY <> BEEHA

[/NAS HMCT GROUP Turning Tool Holder Turning Tool Holder LNAS HUCT GROUP
MSSNR/L MTBNR/L
4 N N ) 4 N\ [ )
45° # )| £ W 75° % L '

NS

.

J

NS

J

e e

941.0101.146 MSSNL2020L12 20 20 125 34 20 25

940.0102.146 MSSNR2525M12 25 25 150 34 25 32 940.0110.146 MTBNR2020K16 125 15.5

941.0102.146 MSSNL2525M12 25 25 150 34 25 32 941.0110.146 MTBNL2020K16 20 20 125 26 20 15.5

940.0103.146 MSSNR3232P12 32 32 170 34 32 40 940.0111.146 MTBNR2525M16 25 25 150 26 25 20.5

941.0103.146 MSSNL3232P12 32 32 170 34 32 40 941.0111.146 MTBNL2525M16 25 25 150 26 25 20.5

940.0104.146 MSSNR2525M15 25 25 150 36 25 32

941.0104.146 MSSNL2525M15 25 25 150 36 25 32

940.0105.146 MSSNR3232P15 32 32 170 45 32 40

941.0105.146 MSSNL3232P15 32 32 170 45 32 40

940.0106.146 MSSNR3232P19 32 32 170 50 32 40

941.0106.146 MSSNL3232P19 32 32 170 50 32 40 ) .

ER S = = = e 50 = 50 MTBNR2020K16 TNOI[11604010] MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
MTBNL2020K16 TNCICI160401(] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0
MTBNR2525M16 TNOIO1604010] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0
MTBNL2525M16 TNCICI1604L10C] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0

TEFE A EEERESERZR

_ Il

. MRS T K SNMG120408,SNMG150612,SNMG 190612

e e n am

MSSNR2020L12 SNI[J1204000] MS1204 CTM617 HL1814 ML0625 L2.5,L.3.0
J MSSNL2020L12 SNCOI[1204000 MS1204 CTM617 HL1814 ML0625 L2.5,3.0
MSSNR2525M12 SNO[120400 MS1204 CTM617 HL1814 ML0625 L2.5,L3.0
MSSNL2525M12 SNCI[120400 MS1204 CTM617 HL1814 ML0625 L2.5,.3.0
Mz:NR352352P12 SNI[J120400] MS1204 CTM617 HL1814 ML0625 L2.5,L3.0 i MEERIEK ]S TNMG160404
MSSNL3232P12 SNLI[]12040]0] MS1204 CTM617 HL1814 ML0625 L2.5,L3.0 TR ERERIEEZ AN
MSSNR2525M15 SN[I[J1506[10C] MS1504 CTM822 HL2217 ML0830 L3.0,L4.0
MSSNL2525M15 SNCIC1506[10] MS1504 CTM822 HL2217 ML0830 L3.0,L4.0
MSSNR3232P15 SNOD5060]0] MS1504 CTMg22 HL2217 ML0830 L3.0,L4.0
MSSNL3232P15 SN[ 50610 MS1504 CTMgoo HL2217 MLO0830 L3.0,L4.0
MSSNR3232P19 SNICI1906010] MS1904 CTM1022 HL2217 MLO0830 L4.0
MSSNL3232P19 SNCICI1906[10] MS1904 CTM1022 HL2217 MLO0830 L4.0
MSSNR4040R19 SNICI1906010] MS1904 CTM1022 HL2217 ML0830 L4.0
MSSNL4040R19 SNI190610] MS1904 CTM1022 HL2217 ML0830 L4.0

K11 E



@ BEEHA

/VAS HVCT GROUP

> BREEH

LNVAS HVCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

MTENN MTFNR/L
4 N 7 g@ i I 4 N [ )
60° @SﬁQ : 91° e "
&‘ L ® w (’ 2 .
t ?@
\ 2N J \ L J

940.0114.146 MTENN2020K16 125 940.0122.146 MTFNR1616H16 100

940.0115.146 MTENN2525M16 25 25 150 35 25 12.5 941.0122.146 MTFNL1616H16 16 16 100 28 16 20

940.0116.146 MTENN3232P16 32 32 170 35 32 16 940.0123.146 MTFNR2020K16 20 20 125 28 20 25

940.0117.146 MTENN4040R16 40 40 200 35 40 20 941.0123.146 MTFNL2020K16 20 20 125 28 20 25

940.0118.146 MTENN2525M22 25 25 150 38 25 125 940.0124.146 MTFNR2525M16 25 25 150 28 25 32

940.0119.146 MTENN3232P22 32 32 170 38 32 16 941.0124.146 MTFNL2525M16 25 25 150 28 25 32
940.0125.146 MTFNR3232P16 32 32 170 28 32 40
941.0125.146 MTFNL3232P16 32 32 170 28 32 40
940.0126.146 MTFNR2525M22 25 25 150 32 25 32
941.0126.146 MTFNL2525M22 25 25 150 32 25 32
940.0127.146 MTFNR3232P22 32 32 170 32 32 40
941.0127.146 MTFNL3232P22 32 32 170 32 32 40

e e w  am

THEME G ERERITERZ R

. MEE BRI 7] A TNMG160404, TNMG220408

20}

MTENN2020K16 TNOO1604010] MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0 MTFNR1616H16 TNOI[1604010] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0
MTENN2525M16 TNOICI1604010C] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0 MTFNL1616H16 TNOIC1604010] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0 J
MTENN3232P16 TNOIO160400] MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0 MTFNR2020K16 TNOO1604010] MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
MTENN4040R16 TNCIC1604010C] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0 MTFNL2020K16 TNOJ[160400 MT1603 CTM513 HL1814 ML0625 L2.0,L3.0
MTENN2525M22 TNOI[J2204010] MT2204 CTM617 HL1917 ML0830 L2.5,L.4.0 MTFNR2525M16 TNOI[16040]0] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0
MTENN3232P22 TNLCI[J22040]0] MT2204 CTM617 HL1917 ML0830 L2.5,L4.0 MTFNL2525M16 TNOIO16040100 MT1603 CTM513 HL1814 ML0625 L2.0,L3.0
MTFNR3232P16 TNOIOJ1604010] MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
MTFNL3232P16 TNLCIC1604010] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0
MTFNR2525M22 TNI[J220400] MT2204 CTM617 HL1917 MLO0830 L2.5,4.0
. B R 7] S TNMG 160404 TNMG220408 MTFNL2525M22 TNLCI[J2204000] MT2204 CTM617 HL1917 ML0830 L2.5,L4.0
MTFNR3232P22 TNOI[J220400] MT2204 CTM617 HL1917 MLO0830 L2.5,L4.0
TEFE S EEERISERZN
MTFNL3232P22 TNJ[22040] MT2204 CTM617 HL1917 ML0830 L2.5,L4.0



@ BREEHA

LNVAS HVMCT GROUP

@ BEEH

MNAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

MTGNR/L MTJNR/L
4 N ) 4 N ([ N )
o s p M o w
o1 P ’ 93 | T# | 48

o) L

e e w  am

Bl

-+

-

AN

-

J

940.0137.146 MTJNR1616H16 100
940.0130.146 MTGNR1616H16 100 940.0138.146 MTJNR2020K16 20 20 125 28 20 25
941.0130.146 MTGNL1616H16 16 16 100 28 16 20 941.0138.146 MTJNL2020K16 20 20 125 28 20 25
940.0131.146 MTGNR2020K16 20 20 125 28 20 25 940.0139.146 MTJNR2525M16 25 25 150 28 25 32
941.0131.146 MTGNL2020K16 20 20 125 28 20 25 941.0139.146 MTJNL2525M16 25) 25] 150 28 25 32
940.0132.146 MTGNR2525M16 25 25 150 28 25 32 940.0140.146 MTJNR3232P16 32 32 170 28 32 40
941.0132.146 MTGNL2525M16 25 25 150 28 25 32 941.0140.146 MTJNL3232P16 32 32 170 28 32 40
940.0133.146 MTGNR2525M22 25 25 150 32 25 32 940.0141.146 MTJNR2525M22 25 25 150 32 25 32
941.0133.146 MTGNL2525M22 25 25 150 32 25 32 941.0141.146 MTJNL2525M22 25 25 150 32 25 32
940.0134.146 MTGNR3232P22 32 32 170 32 32 40 940.0142.146 MTJNR3232P22 32 32 170 32 32 40
941.0134.146 MTGNL3232P22 32 32 170 32 32 40 941.0142.146 MTJNL3232P22 32 32 170 32 32 40

940.0143.146 MTJNR4040R22 40 40 200 32 40 50

941.0143.146 MTJNL4040R22 40 40 200 32 40 50

: MEEFAKRLE T TNMG160404, TNMG220408

TEME G ERERTEREZ N

MTGNR1616H16  TNCIJ1604010] MT1603 CTM513 HL1814 ML0625  L2.0,L3.0 MTINR1616H16  TNLILJ1604010] MT1603 CTM513 HL1814 MLOB25 ~  L2.013.0
J MTGNL1616H16  TNLIC11604010) MT1603 CTM513 HL1814 ML0625  12.0,3.0 MTJUNL1616H16  TNLILI160400] MT1603 Sl HL1814 ML0625  L2.0,L3.0 J

MTGNR2020K16  TNCIC11604010] MT1603 CTM513 HL1814 ML0625  L2.0,L3.0 MT.JNR2020K16  TNLILI1604L1C] MT1603 CTM513 HL1814 MLO625  12.0,L3.0
MTGNL2020K16  TNCIC11604010] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0 AIINEZ020 €6 ) IINE D 6 DI MT1603 CTMS13 HL1814 Alodiee | 26
MTGNR2525M16  TNCIC1604010] MT1603 CTM513 HL1814 ML0625  L2.0,3.0 MTINR2525M16  TNLILI1604L]L] MT1603 CTM513 HL1814 MLO625 L2.0,L3.0
MTGNL2525M16  TNCICJ16040101 MT1603 CTM513 HL1814 ML0625  L2.0,3.0 MTUNL2525M16  TNLILI1604L0) MT1603 CTMS13 HL1814 MLO625 ~ 12.0L3.0
MTGNR2525M22  TNCIC122040100 MT2204 CTM617 HL1917 MLO0830 L2.5,4.0 MTUNR3252P16  TNLILIT604LH MT1603 CTMS13 HL1814 MLO625 120130
P E—— T304 it Liets L0850 155140 MTJNL3232P16  TNCICI16040100 MT1603 CTM513 HL1814 ML0625  12.0,L3.0
MTGNR3232P22  TNLCJ[12204010] MT2204 CTM617 HL1917 MLO0830 L2.5,14.0 MTINR2525M22  TNLJEJ2204000] MT2204 CTM617 HL1917 MLO830 L2.5L4.0
MTGNL3232P22  TNCI[J2204010] MT2204 CTM617 HL1917 ML0830 L2.5,L4.0 Mo o N /22 05 MT2204 AL AL1917 MLO830 L2.5,L4.0
MTJNR3232P22  TNCI[122040100 MT2204 CTMB17 HL1917 MLO830 L2.55,4.0

MTJNL3232P22  TNCIC122040100 MT2204 CTM617 HL1917 MLO0830 L2.55,4.0

. TUB/E R 7] E TNMG160404 TNMG220408 MTJNR4040R22  TNCI[12204010] MT2204 CTM617 HL1917 MLO830 1255,4.0
TR AR E 2 MTUNL4040R22  TNCI(J2204010] MT2204 CTMB17 HL1917 MLO0830 L2.5,L4.0

20l




@ BREEHA

/VAS HMCT GROUP

@ BEEH

LNVAS HVCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

e e w  am

MTQNR/L MVINR/L
- ~ - N ~
105° w 93° és Wi
L "%wk* =T L
-
N o) N JAN Y

940.0146.146 MTQNR2020K16 940.0153.146 MVJNR1616K16 125

941.0146.146 MTQNL2020K16 20 20 125 26 20 25 941.0153.146 MVJNL1616K16 16 16 125 36 16 20
940.0147.146 MTQNR2525M16 25 25 150 26 25 32 940.0154.146 MVJNR2020K16 20 20 125 36 20 25
941.0147.146 MTQNL2525M16 25 25 150 26 25 32 941.0154.146 MVJNL2020K16 20 20 125 36 20 25
940.0148.146 MTQNR3232P16 32 32 170 26 32 40 940.0155.146 MVJNR2525M16 25 25 150 42 25 32
941.0148.146 MTQNL3232P16 32 32 170 26 32 40 941.0155.146 MVJNL2525M16 25 25 150 42 25 32
940.0149.146 MTQNR2525M22 25 25 150 32 25 32 940.0156.146 MVJNR3232P16 32 32 170 42 32 40
941.0149.146 MTQNL2525M22 25 25 150 32 25 32 941.0156.146 MVJNL3232P16 32 32 170 42 32 40
940.0150.146 MTQNR3232P22 32 32 170 32 32 40

941.0150.146 MTQNL3232P22 32 32 170 32 32 40

MTQNR2020K16

TNOO1604010]

TEFEGEEERISEREZN

B

MT1603

CTM513

HL1814

ML0625

L2.0,L3.0

MVJNR1616K16

VNLOI[1604]0]

TMEMEGEREHRTEREZN

MV1603

CTM513

HL2414

ML0625

L2.0,L3.0

J MTQNL2020K16 TNOICI1604010C] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0 MVJNL1616K16 VN[I[11604[1[] MV1603 CTM513 HL2414 ML0625 L2.0,L3.0 J

MTQNR2525M16 TNOIO160400] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0 MVJNR2020K16 VN L1604 MV1603 CTM513 HL2414 MLO0625 L2.0,L3.0
MTQNL2525M16 TNCIC1604010C] MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0 MVJNL2020K16 VNLI[I1604010] MV1603 CTM513 HL2414 ML0625 L2.0,L3.0
MTQNR3232P16 TNOIOI1604010] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0 MVJNR2525M16 VNO[16040] MV1603 CTM513 HL2414 MLO0625 L2.0,L3.0
MTQNL3232P16 TNCICI1604[10C] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0 MVJNL2525M16 VNLI[I16041] MV 1603 CTM513 HL2414 ML0625 L2.0,L3.0
MTQNR2525M22 TNO[2204000] MT2204 CTM617 HL1917 ML0830 L2.54.0 MVJNR3232P16 VNI[J1604[10] MV1603 CTM513 HL2414 MLO0625 L2.0,L3.0
MTQNL2525M22 TNLCI[J2204000] MT2204 CTM617 HL1917 ML0830 L2.5,4.0 MVJNL3232P16 VN[I[11604[1[] MV 1603 CTM513 HL2414 ML0625 L2.0,L3.0
MTQNR3232P22 TNOJJ2204010] MT2204 CTM617 HL1917 ML0830 L2.5,L.4.0
MTQNL3232P22 TNLI[J22040]0] MT2204 CTM617 HL1917 ML0830 L2.5,L4.0

i MEEAKIE T FTNMG160404, TNMG220408 i MEERKR T FVNMG160404

Bl El



@ BEEH

LNVAS HVCT GROUP

@ BREEHA

/VAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

MVQNR/L

-

117.5°

MVUNR/L
~ - - ~
W 95 S 95° (S) N
D N AN iy

940.0159.146 MVQNR2020K16
941.0159.146 MVQNL2020K16
940.0160.146 MVQNR2525M16
941.0160.146 MVQNL2525M16
940.0161.146 MVQNR3232P16
941.0161.146 MVQNL3232P16

e e w  am

MVQNR2020K16 VNO[O160400
J MVQNL2020K16 VNO[O160400
MVQNR2525M16 VNO[O160400
MVQNL2525M16 VNOO160400
MVQNR3232P16 VNO[O160400
MVQNL3232P16 VNOO160400

i MEERAKRR T FVNMG160404

TEFEGEEERISEREZN

B

20
25
25
32
32

MV1603
MV1603
MV1603
MV1603
MV1603
MV1603

20
25
25
32
32

CTM513
CTM513
CTM513
CTM513
CTM513
CTM513

125
150
150
170
170

940.0164.146 MVUNR2020K16 125
40 20 25 941.0164.146 MVUNL2020K16 20 20 125 30 20 29
40 o5 32 940.0165.146 MVUNR2525M16 25 25 150 30 25 34
40 o5 32 941.0165.146 MVUNL2525M16 25 25 150 30 25 34
40 32 40
40 32 40

HL2414 ML0625 L2.0,L3.0 MVUNR2020K16  VN[I[J16041] MV1603 CTM513 HL1814 ML0625 L2.0,L3.0
HL2414 ML0625 L2.0,L3.0 MVUNL2020K16  VNCI[J160400C] MV1603 CTM513 HL1814 ML0625 L2.0,L3.0 J
HL2414 ML0625 L2.0,L3.0 MVUNR2525M16 VN [O160400 MV1603 CTM513 HL1814 ML0625 L2.0,L3.0

HL2414 ML0625 L2.0,L3.0 MVUNL2525M16  VNLCI[11604010] MV1603 CTM513 HL1814 ML0625 L2.0,L3.0

HL2414 ML0625 L2.0,L3.0

HL2414 ML0625 L2.0,L3.0

i MEERKR T FVNMG160404
TMEMEGEREHRTEREZN

K1l Eh



> BEEH

MNAS HMCT GROUP

@ BEEHA

LNVAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R

Turning Tool Holder

MWLNR/L PCLNR/L
4 N [ A 4 N )
950 @ S| 95° a@ w 950 j ) ©) © §
| J95°
- ) FT: L

940.0168.146 MWLNR1616H06 100 940.0203.146 PCLNR1616H12 100

941.0168.146 MWLNL1616H06 16 16 100 27 16 20 941.0203.146 PCLNL1616H12 16 16 100 28 16 20
940.0169.146 MWLNR2020K06 20 20 125 27 20 25 940.0204.146 PCLNR2020K12 20 20 125 28 20 25
941.0169.146 MWLNL2020K06 20 20 125 27 20 25 941.0204.146 PCLNL2020K12 20 20 125 28 20 25
940.0170.146 MWLNR2525M06 25 25 150 27 25 32 940.0205.146 PCLNR2525M12 25 25 150 28 25 32
941.0170.146 MWLNL2525M06 25 25 150 27 o5 32 941.0205.146 PCLNL2525M12 25 25 150 28 25 32
940.0171.146 MWLNR1616H08 16 16 100 27 16 20 940.0206.146 PCLNR3232P12 32 32 170 28 32 40
941.0171.146 MWLNL1616H08 16 16 100 27 16 20 941.0206.146 PCLNL3232P12 32 32 170 28 32 40
940.0172.146 MWLNR2020K08 20 20 125 27 20 25 940.0207.146 PCLNR2525M16 25 25 150 33 25 32
941.0172.146 MWLNL2020K08 20 20 125 27 20 25 941.0207.146 PCLNL2525M16 25 25 150 33 25 32
940.0173.146 MWLNR2525M08 25 25 150 27 25 32 940.0208.146 PCLNR3232P16 32 32 170 33 32 40
941.0173.146 MWLNL2525M08 25 25 150 27 o5 32 941.0208.146 PCLNL3232P16 32 32 170 33 32 40
940.0174.146 MWLNR3232P08 32 32 170 27 32 40 940.0209.146 PCLNR3232P19 32 32 170 38 32 40
941.0174.146 MWLNL3232P08 32 32 170 27 32 40 941.0209.146 PCLNL3232P19 32 32 170 38 32 40
940.0175.146 MWLNR4040R08 40 40 200 30 40 50 940.0210.146 PCLNR4040R19 40 40 200 38 40 50
941.0175.146 MWLNL4040R08 941.0210.146 PCLNL4040R19 40 40 200 38 40 50

TEEGEEERISERZN

N2

i MEEARIE T FWNMG060404, WNMG080408

Cee e e wr e

TEEGERERITSEREZ R

: ME{EFARLE T FCNMG120408,CNMG 160612, CNMG 190612

e@))))) @))))))) -

MWLNR1616H06 WN[ 06040100 MWO0604 CTM513 HL1814 ML0825 L2.0,L3.0 PCLNR1616H12 ~ CNJ[J1204 SC42 VHX0821 L3.0
J MWLNL1616H06 WNLIJ060400 MWO0604 CTM513 HL1814 ML0825 L2.0,L.3.0 PCLNL1616H12 CNOO120400 SC42 Lv4 VHX0821 SP4 L3.0 J
MWLNR2020K06 WN[ 0604010 MWO0604 CTM513 HL1814 ML0825 L2.0,L3.0 PCLNR2020K12 ~ CNOO120400 SC42 LV4 VHX0821 SP4 L3.0
MWLNL2020K06 WN[0604 0 MWO0604 CTM513 HL1814 ML0825 L2.0,L3.0 PCLNL2020K12 CNO[O120400 SC42 LV4 VHX0821 SP4 L3.0
MWLNR2525M06 WNO 060400 MWO0604 CTM513 HL1814 ML0825 L2.0,L3.0 PCLNR2525M12  CNOI[1120410] SC42 LV4 VHX0821 SP4 L3.0
MWLNL2525M06 WNLI 06040 MWO0604 CTM513 HL1814 ML0825 L2.0,L3.0 PCLNL2525M12  CNOJ[J1204010] SC42 LV4 VHX0821 SP4 L3.0
MWLNR1616H08 WN[ 0804011 MWO0804 CTM617 HL1814 ML0825 L2.5,L3.0 PCLNR3232P12 ~ CNOJ[J120410 SC42 Lv4 VHX0821 SP4 L3.0
MWLNL1616H08 WNJ 080401 MWO0804 CTM617 HL1814 ML0825 L2.5,.3.0 PCLNL3232P12 CNI[12040000 SC42 Lv4 VHX0821 SP4 L3.0
MWLNR2020K08 WNO 080400 MWO0804 CTM617 HL1814 ML0825 L2.5,.3.0 PCLNR2525M16 ~ CN[J[J1606[1] SC53 LV5 VHX0825 SP5 L3.0
MWLNL2020K08 WNI[J0804010] MW0804 CTM617 HL1814 ML0825 L2.5,.3.0 PCLNL2525M16  CNLIL1160601[] SC53 LV5 VHX0825 SP5 L3.0
MWLNR2525M08 WNLI[10804[1 [ MW0804 CTM617 HL1814 ML0825 L2.5.3.0 PCLNR3232P16  CN[I[1160601[] SC53 LV5 VHX0825 SP5 L3.0
MWLNL2525M08 WNI 0804 MWO0804 CTM617 HL1814 ML0825 L2.5,L3.0 PCLNL3232P16 CNO[16060 SC53 LV5 VHX0825 SP5 L3.0
MWLNR3232P08 WNLJ[J0804[1[] MWO0804 CTM617 HL1814 ML0825 L2.5,.3.0 PCLNR3232P19 CNOO19060 SC63N LV6 VHX1027 SP6 L4.0
MWLNL3232P08 WN[I 080401 MWO0804 CTM617 HL1814 ML0825 L2.5.3.0 PCLNL3232P19 CNO[1906017 SC63N LV6 VHX1027 SP6 L4.0
MWLNR4040R08 WN[I080401] MWO0804 CTM617 HL1814 ML0825 L2.5,.3.0 PCLNR4040R19  CN[J19061] SC63N LV6 VHX1027 SP6 L4.0
MWLNL4040R08 WNI 080400 MWO0804 CTM617 HL1814 ML0825 L2.5L3.0 PCLNL4040R19 CNO[190600 SC63N LV6 VHX1027 SP6 L4.0

&1l Ea




@

e =5 F

MNAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

PDJNR/L
4 ) fﬂ )
93° s £ i
J93°e©
©
| I & :
N AN /

940.0236.146
941.0236.146
940.0237.146
941.0237.146
940.0238.146
941.0238.146
940.0239.146
941.0239.146
940.0240.146
941.0240.146
940.0241.146
941.0241.146

PDJNR1616H11
PDJNL1616H11
PDJNR2020K11
PDJNL2020K11
PDJNR2525M11
PDJNL2525M11
PDJNR2020K1504
PDJNL2020K 1504
PDJNR2525M1504
PDJNL2525M1504
PDJNR3232P1504
PDJNL3232P1504

16
20
20
25
25
20
20
25
25
32
32

16
20
20
25
25
20
20
25
25
32
32

100
100
125
125
150
150
125
125
150
150
170
170

25
25
25}
30
30
35
35
35
35
35
35

16
20
20
25
25
20
20
25
23
32
32

20
25
25
32
32
25
25
32
32
40
40

I P -
LV3 SP3

PDJNR1616H11 DNOJO11040 SD317 VHX0617 L2.5
J PDJNL1616H11 DNOICI11040] SD317 LV3 VHX0617 SP3 L2.5
PDJNR2020K11 DNOICI11040] SD317 LV3 VHX0617 SP3 L2.5
PDJNL2020K11 DNOICI110400] SD317 LV3 VHX0617 SP3 L2.5
PDJNR2525M11 DNOICI11040] SD317 LV3 VHX0617 SP3 L2.5
PDJNL2525M11 DNOICI11040] SD317 LV3 VHX0617 SP3 L2.5
PDJNR2020K1504 DNOI[1504]0] SD42 Lv4 VHX0821 SP4 L3.0
PDJNL2020K 1504 DNOIC115040]0] SD42 LV4 VHX0821 SP4 L3.0
PDJNR2525M1504 DNOI[15040] SD42 Lv4 VHX0821 SP4 L3.0
PDJNL2525M1504 DNOI[I15040] SD42 LV4 VHX0821 SP4 L3.0
PDJNR3232P1504 DNOI[15040] SD42 LV4 VHX0821 SP4 L3.0
PDJNL3232P1504 DNOI[1504000] SD42 LV4 VHX0821 SP4 L3.0

¥ MZE{EARLE T FDNMG110404,DNMG 150408
TEME4SERERECERZR

N

SNEIZETI R T

Turning Tool Holder

D IE

2

5@

LNVAS HVMCT GROUP

PTFNR/L
4 N 7 )
91° f _Ur . oS i@ w
o@ .
- NG J

940.0213.146
941.0213.146
940.0214.146
941.0214.146
940.0215.146
941.0215.146
940.0216.146
941.0216.146
940.0217.146
941.0217.146

L e e e e

PTFNR1616H16
PTFNL1616H16

PTFNR2020K16
PTFNL2020K16

PTFNR2525M16
PTFNL2525M16
PTFNR2525M22
PTFENL2525M22
PTFNR3232P22
PTFNL3232P22

PTFNR1616H16
PTFNL1616H16

PTFNR2020K16
PTFNL2020K16

PTFNR2525M16
PTFNL2525M16
PTFNR2525M22
PTFENL2525M22
PTFNR3232P22
PTFNL3232P22

TNOIO1604010]
TNLCIC16040]0]
TNLI1604010]
TNOI[160407
TNOIO160400
TNLCIC1604000]
TNOJ2204010]
TNCI[J2204000]
TNI[J220400]
TNCI[J2204000]

16
20
20
25
25
25
25
32
32

ST317
ST317
ST317
ST317
ST317
ST317
ST42
ST42
ST42
ST42

i MEEARIET]FTNMG160404, TNMG220408
TMEFE A ERERISERZ A

16
20
20
25
25
25
25
32
32

LV3
LV3
LV3
LV3
LV3
Lv4
LV4
LV4
LV4

100
100
125
125
150
150
150
150
170
170

20
20
20
20
20
25
25
25
25

VHX0617
VHX0617
VHX0617
VHX0617
VHX0617
VHX0617
VHX0821
VHX0821
VHX0821
VHX0821

SP3
SP3
SP3
SP3
SP3
SP4
SP4
SP4
SP4

16
20
20
25
25
25
25
32
32

20
25
25
32
32
32
32
40
40

L2.5
L25
L2.5
L2.5
L2.5
L2.5
L3.0
L3.0
L3.0
L3.0

J

ol



@ BREEHA

/VAS HMCT GROUP

@ BEEH

LNVAS HVCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

PSBNR/L PSKNR/L

940.0244.146 PSBNR2020K12 940.0249.146 PSKNR2020K12 125

941.0244.146 PSBNL2020K12 20 20 125 28 20 17 941.0249.146 PSKNL2020K12 20 20 125 26 20 23
940.0245.146 PSBNR2525M12 25 25 150 28 25 22 940.0250.146 PSKNR2525M12 25 25 150 26 25 32
941.0245.146 PSBNL2525M12 23 25) 150 28 25 22 941.0250.146 PSKNL2525M12 25 25 150 26 25 32
940.0246.146 PSBNR3232P12 32 32 170 28 32 27 940.0251.146 PSKNR3232P12 32 32 170 26 32 40
941.0246.146 PSBNL3232P12 32 32 170 28 32 27 941.0251.146 PSKNL3232P12 32 32 170 26 32 40

i MEERAKRLE T FSNMG120408

TR EEERISEREZN

e e n am

i MEERKRLET]FSNMG120408

THEE G ERERITERZ R

I I I I I

PSBNR2020K12 SNO[J1204000] SS42 VHX0821 L3.0 PSKNR2020K12 SNO[1204000 SS42 VHX0821 L3.0
J PSBNL2020K12 SNOI[J1204000] SS42 LV4 VHX0821 SP4 L3.0 PSKNL2020K12 SNOI[12040]0] SS42 LV4 VHX0821 SP4 L3.0 J
PSBNR2525M12 SNI[12040] SS42 LV4 VHX0821 SP4 L3.0 PSKNR2525M12 SNLI[J120400] SS42 LV4 VHX0821 SP4 L3.0
PSBNL2525M12 SNO[O120400 SS42 LV4 VHX0821 SP4 L3.0 PSKNL2525M12 SNLCI[J120410] SS42 Lv4 VHX0821 SP4 L3.0
PSBNR3232P12 SNO[O1204003 SS42 LV4 VHX0821 SP4 L3.0 PSKNR3232P12 SNO[1204000 SS842 LV4 VHX0821 SP4 L3.0
PSBNL3232P12 SNI[120400 SS42 LV4 VHX0821 SP4 L3.0 PSKNL3232P12 SNOI[O1204000 SS42 LV4 VHX0821 SP4 L3.0

1|1 5




J

@

e =5 F

JNAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

@

e =5

LVKS HMCT GROUP

PSSNR/L
/
45°
*
-

940.0220.146
941.0220.146
940.0221.146
941.0221.146
940.0222.146
941.0222.146
940.0223.146
941.0223.146
940.0224.146
941.0224.146

PSSNR2020K12
PSSNL2020K12

PSSNR2525M12
PSSNL2525M12
PSSNR3232P12
PSSNL3232P12

PSSNR2525M15
PSSNL2525M15
PSSNR3232P15
PSSNL3232P15

ﬁ 0

:

PSSNR2020K 12
PSSNL2020K12
PSSNR2525M12
PSSNL2525M12
PSSNR3232P12
PSSNL3232P12
PSSNR2525M15
PSSNL2525M15
PSSNR3232P15
PSSNL3232P15

SNOO120400
SNII1204010]
SNOI12040]0]
SNO1204000
SNOO120400
SNOIC1204000
SNOJJ1506010]
SNOII1506010]
SNOI1506010]
SNOII1506010]

TEFE G EEERESERZ A

N

20
25
25
32
32
25
25
32
32

SS42
SS42
§S842
SS42
SS842
SS42
SS53
SS53
SS53
SS53

i MEEFKRY T SNMG120408,SNMG 150612

20
25
25
32
32
25
25
32
32

Lv4
Lv4
Lv4
Lv4
LV4
LV5
LV5
LV5
LV5

125
150
150
170
170
150
150
170
170

VHX0821
VHX0821
VHX0821
VHX0821
VHX0821
VHX0821
VHX0825
VHX0825
VHX0825
VHX0825

26
26
26
26
26
32
32
32
32

SP4
SP4
SP4
SP4
SP4
SP5
SP5
SP5
SP5

20
25
25
32
32
25
25
32
32

25
32
32
40
40
32
32
40
40

I I O I P

L3.0
L3.0
L3.0
L3.0
L3.0
L3.0
L3.0
L3.0
L3.0
L3.0

PTGNR/L

940.0259.146
941.0259.146
940.0260.146
941.0260.146
940.0261.146
941.0261.146
940.0262.146
941.0262.146
940.0263.146
941.0263.146

PTGNR1616H16
PTGNL1616H16

PTGNR2020K16
PTGNL2020K16

PTGNR2525M16
PTGNL2525M16
PTGNR2525M22
PTGNL2525M22
PTGNR3232P22
PTGNL3232P2

PTGNR1616H16
PTGNL1616H16

PTGNR2020K16
PTGNL2020K16

PTGNR2525M16
PTGNL2525M16
PTGNR2525M22
PTGNL2525M22
PTGNR3232P22
PTGNL3232P22

TNO[O160400
TNOIO1604010]
TNOIO16040
TNCIO160400
TNOIO160400
TNOICI1604010]
TNOO220400
TNCI[J2204]]
TNOO220400
TNI[J2204010]

i MEEFARLE T FTNMG160404, TNMG220408

TMEMEGERERTEREZ N

16
20
20
25
25
25
25
32
32

ST317
ST317
ST317

ST317
ST317

ST317
ST42

ST42
ST42
ST42

16
20
20
25
25
25
25
32
32

LV3
LV3

LVv3
LVv3
LVv3
Lv4
LV4
Lv4
LVv4

100
125
125
150
150
150
150
170
170

26
26
26
26
26
28
28
28
28

VHX0617
VHX0617
VHX0617
VHX0617
VHX0617
VHX0617
VHX0821
VHX0821
VHX0821
VHX0821

SP3
SP3

SP3
SP3

SP3
SP4

SP4
SP4
SP4

16
20
20
25
25
25
25
32
32

L e e n aw

20
25
25
32
32
32
32
40
40

L2.5
L25
L2.5
L2.5
L2.5
L2.5
L3.0
L3.0
L3.0
L3.0

Elll| EN

J




O KBEEH 5N ZE 7] % 5 INCESEY <> BEEHA

[/NAS HMCT GROUP Turning Tool Holder Turning Tool Holder LNAS HUCT GROUP
PWLNR/L SCACR/L
4 N ) 4 N (O )
| (B | & w | (B B w
® </95" ‘/90
A ' . pun () Lt L
\ L J \ L J

940.0266.146 PWLNR1616H06 940.0322.146 SCACRO0808F06
941.0266.146 PWLNL1616H06 16 16 100 20 16 20 941.0322.146 SCACLO808F06 8 80 10 8 8
940.0267.146 PWLNR2020K06 20 20 125 20 20 25 940.0323.146 SCACR1010K06 10 10 125 10 10 10
941.0267.146 PWLNL2020K06 20 20 125 20 20 25 941.0323.146 SCACL1010K06 10 10 125 10 10 10
940.0268.146 PWLNR1616H08 16 16 100 26 16 20 940.0324.146 SCACR1212K06 12 12 125 13 12 12
941.0268.146 PWLNL1616H08 16 16 100 26 16 20 941.0324.146 SCACL1212K06 12 12 125 13 12 12
940.0269.146 PWLNR2020K08 20 20 125 26 20 25 940.0325.146 SCACR1212K09 12 12 125 13 12 12
941.0269.146 PWLNL2020K08 20 20 125 26 20 25 941.0325.146 SCACL1212K09 12 12 125 13 12 12
940.0270.146 PWLNR2525M08 25 25 150 26 25 32
941.0270.146 PWLNL2525M08 25 25 150 26 25 32
PWLNR1616H06 WNI[J0604][] SW317 Lv3 VHX0617 SP3 L2.5 SCACRO0808F06 CC 110602011 T-8
PWLNL1616H06 WNLI[106040][] SW317 Lv3 VHX0617 SP3 25 SCACLO808F06 cC 0006020101 T-8
PWLNR2020K06 WNLJ[10604] ] SW317 Lv3 VHX0617 SP3 25 SCACR1010K06 CC [JJ06020][] T-8
PWLNL2020K06 WNLI[10604[] (] SW317 Lv3 VHX0617 SP3 L25 SCACL1010K06 CC 1106020107 M2.5 x 6 T-8
PWLNR1616H08 WNLJ[10804[]1[] Swa42 Lv4 VHX0821 SP4 L3.0 SCACR1212K06 CC [JJ06020][] M2.5 x 6 T-8
PWLNL1616H08 WNLJ[10804[]1[] Swa42 Lv4 VHX0821 SP4 L3.0 SCACL1212K06 CC 0106020107 M2.5 x 6 T-8
PWLNR2020K08 WNLI[10804[1(] Swa42 Lv4 VHX0821 SP4 L3.0 SCACR1212K09 CC (110931 M3.5x9 T-15
PWLNL2020K08 WNLI[10804] ] Swa42 Lv4 VHX0821 SP4 L3.0 SCACL1212K09 CC [09T30] M3.5x9 T-15
PWLNR2525M08 WNLJ[10804[](] Swa42 Lv4 VHX0821 SP4 L3.0
PWLNL2525M08 WNIJ08041 ] Swa42 Lv4 VHX0821 SP4 L3.0

i MEfE AR T FWNMG060404, WNMG080408
TEBEGEBERECERZ N

N3

7. MEEAKIE T B CCMT060204,CCMT09T304

TEFE G ERERTSERZ R

ol



<> BEEHA INAEREY] 5B ZE 7] % 5 <> BEEH

[/NAS HMCT GROUP Turning Tool Holder Turning Tool Holder LNVAS HMCT GROUP
— ————
SCBCR/L SCFCR/L
4 N [ ) N N
75° Ld s (1@7 = m 2| 91°7] ‘ ;I
~ ®
75° ’
L L
| - F
- 5 4 i
/2ANG J
940.0328.146 SCBCR1212F06
941.0328.146 SCBCL1212F06 12 12 80 13 12 12
941.0329.146 SCBCL1616H06 16 16 100 13 16 14 940.0338.146 SCFCR1010F06
940.0330.146 SCBCR1212F09 12 12 80 13 12 12 941.0338.146 SCFCL1010F06 10 10 80 14 10 12
941.0330.146 SCBCL1212F09 12 12 80 13 12 12 940.0339.146 SCFCR1212F06 12 12 80 14 12 16
940.0331.146 SCBCR1616H09 16 16 100 20 16 14 941.0339.146 SCFCL1212F06 12 12 80 14 12 16
941.0331.146 SCBCL1616H09 16 16 100 20 16 14 940.0340.146 SCFCR1616H09 16 16 100 16 16 20
940.0332.146 SCBCR2020K09 20 20 125 20 20 17 941.0340.146 SCFCL1616H09 16 16 100 16 16 20
941.0332.146 SCBCL2020K09 20 20 125 20 20 17 940.0341.146 SCFCR2020K09 20 20 125 16 20 25
940.0333.146 SCBCR2525M09 25 25 150 20 25 22 941.0341.146 SCFCL2020K09 20 20 125 16 20 25
941.0333.146 SCBCL2525M09 25 25 150 20 25 22 940.0342.146 SCFCR2525M09 25 25 150 16 25 32
940.0334.146 SCBCR2020K12 20 20 125 20 20 17 941.0342.146 SCFCL2525M09 25 25 150 16 25 32
941.0334.146 SCBCL2020K12 20 20 125 20 20 17
940.0335.146 SCBCR2525M12 25 25 150 20 25 22
941.0335.146 SCBCL2525M12 25 25 150 20 25 22

7./) -_

7./
SCBCR1212F06 Ccc Jjoso201] M2.5 x 6 T-8 SCFCR1010F06 CC [JJoeo201] M2.5x 6 T-8
SCBCL1212F06 Cc JJose02[1] M2.5x 6 T-8 SCFCL1010F06 CcC JJos0201] M2.5x 6 T-8
SCBCR1616H06 CC J[o06021 M2.5 x 6 T-8 SCFCR1212F06 CC [J[o06021 M2.5 x 6 T-8
SCBCL1616H06 CC [JJo602[1] M2.5x 6 T-8 SCFCL1212F06 CC [JJoe0201] M2.5x 6 T-8
SCBCR1212F09 CC J1o9T31td M3.5x 9 T-15 SCFCR1616H09 CC Jo9T3itd M2.5 x 6 T-8
SCBCL1212F09 CC JJo9Tal] M3.5x9 T-15 SCFCL1616H09 CC JJo9oTalM] M2.5 x 6 T-8
SCBCR1616H09 CC J[109T31] M3.5x9 T-15 SCFCR2020K09 CC [J[109T31d M3.5x9 T-15
SCBCL1616H09 CC [J109T31 M3.5%x9 T-15 SCFCL2020K09 CC [[109T31 M3.5%x9 T-15
SCBCR2020K09 CcC oottt M3.5x 9 T-15 SCFCR2525M09 CC J[109T31d M3.5x 9 T-15
SCBCL2020K09 CC [IJo9T3I] M3.5x9 T-15 SCFCL2525M09 CC [OJ[o09T3 M3.5%x 9 T-15
SCBCR2525M09 CC J[o09T131d M3.5x 9 T-15

SCBCL2525M09 CC 109131 M3.5x 9 T-15 . ESEE#KIS 71 B CCMT060204,CCMT09T304

SCBCR2020K12 CC 12040 M5 x 12 T-20 TR GEEEHEEET R

SCBCL2020K12 CC 112040101 M5 x 12 T-20

SCBCR2525M12 CC 120410 M5 x 12 T-20

SCBCL2525M12 CC J[1204010 M5 x 12 T-20

i MEfE AR 7] FCCMT060204,CCMT09T304,CCMT120408
TG EEERECERZ N

_J]lle7 3|/ En



> BEEH

LNVAS HVCT GROUP

@ BEEH

LINAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

SCKCRI/L SCLCRI/L
4 N ) e )
75° s 2 95° 5 "

95°

F! !
--------

940.0351.146 SCLCR1010F06
941.0351.146 SCLCL1010F06 10 10 80 12 10 12
940.0345.146 SCKCR2020K09 941.0352.146 SCLCL1212F09 12 12 80 16 12 16
941.0345.146 SCKCL2020K09 20 20 125 23 20 25 940.0353.146 SCLCR1616H09 16 16 100 16 16 20
940.0346.146 SCKCR2525M09 25 25 150 23 25 32 941.0353.146 SCLCL1616H09 16 16 100 16 16 20
941.0346.146 SCKCL2525M09 25 25 150 23 25 32 940.0354.146 SCLCR2020K09 20 20 125 16 20 25
940.0347.146 SCKCR2020K12 20 20 125 28 20 25 941.0354.146 SCLCL2020K09 20 20 125 16 20 25
941.0347.146 SCKCL2020K12 20 20 {25 28 20 25 940.0355.146 SCLCR2525M09 25 25 150 16 25 32
940.0348.146 SCKCR2525M12 25 25 150 28 25 32 941.0355.146 SCLCL2525M09 25 25 150 16 25 32
941.0348.146 SCKCL2525M12 25 25 150 28 25 32 940.0356.146 SCLCR2020K12 20 20 125 20 20 25
941.0356.146 SCLCL2020K12 20 20 125 20 20 25
940.0357.146 SCLCR2525M12 25 25 150 20 25 32
941.0357.146 SCLCL2525M12 25 25 150 20 25 32
940.0358.146 SCLCR3232P12 32 32 170 20 32 40
941.0358.146 SCLCL3232P12 32 32 170 20 32 40

TMEMEGEREHRTEREZN

i : MEEFAKRL T CCMT060204,CCMT09T304, CCMT120408

SCKCR2020K09 ccagdoeTsd T-15 SCLCR1010F06 Ccc 0JOoeo2010 T-8
SCKCL2020K09 CC J09T30O M3.5x 9 T-15 SCLCL1010F06 CC J060200 T-8
SCKCR2525M09 CC [O[109T30 M3.5x 9 T-15 SCLCR1212F09 CC [109T300 T-15
SCKCL2525M09 CC [O[109T300 M3.5 x 9 T-15 SCLCL1212F09 CC 09T300 T-15
SCKCR2020K12 CC O120400 M5 x 12 T-20 SCLCR1616H09 CcC 09T300 T-15
SCKCL2020K12 CC OO120400 M5 x 12 T-20 SCLCL1616H09 cc OJmo9eT3dd T-15
SCKCR2525M12 CC O120400 M5 x 12 T-20 SCLCR2020K09 ccomoeT3d T-15
SCKCL2525M12 CC OO120400 M5 x 12 T-20 SCLCL2020K09 ccomoeT3nO T-15
SCLCR2525M09 ccomoeT3nd T-15
SCLCL2525M09 CcC 009300 T-15
i MEE A 7] FCCMT09T304,CCMT120408 SCLCR2020K12 CC 0112040100 20
TR GEEEERSEREZR
SCLCL2020K12 CC O0O120400 T-20
SCLCR2525M12 CcC OO120400 T-20
SCLCL2525M12 CC O0120400 T-20
SCLCR3232P12 cc OOdt120400 T-20
SCLCL3232P12 CC O0120400 T-20

o lif]J




@ BEEH

LNVAS HVCT GROUP

@ BREEHA

/VAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

SCMCN SCMCN-100
~ N ) ~ N ~
50° D] H ®> ) [D i @>> z
S 40 L J
N = ol R
_ JAN " _ A 5

940.0361.146 SCMCN1010F06 940.0370.146 SCMCN1010F06-100

940.0362.146 SCMCN1212F09 12 12 80 15 12 940.0371.146 SCMCN1212F09-100 12 12 80 18 12

940.0363.146 SCMCN1616H09 16 16 100 15 16 940.0372.146 SCMCN1616H09-100 16 16 100 18 16

940.0364.146 SCMCN2020K09 20 20 125 15 20 10 940.0373.146 SCMCN2020K09-100 20 20 125 18 20 10

940.0365.146 SCMCN2525M09 25 25 150 15 25 125 940.0374.146 SCMCN2525M09-100 25 25 150 18 25 12.5

940.0366.146 SCMCN2020K12 20 20 125 20 20 10 940.0375.146 SCMCN2020K12-100 20 20 125 23 20 10

940.0367.146 SCMCN2525M12 25 25 150 20 25 12.5 940.0376.146 SCMCN2525M12-100 25 25 150 23 25 12.5
SCMCN1010F06 CC [J[Jose02[10] M2.5 x 6 T-8 SCMCN1010F06-100 cc dJaoeo20dd T-8
SCMCN1212F09 CC o913 M3.5x 9 T-15 SCMCN1212F09-100 CC o913 M3.5x 9 T-15
SCMCN1616H09 CC 1009130 M3.5x9 T-15 SCMCN1616H09-100 cC Jmo9T3d M3.5x 9 T-15
SCMCN2020K09 CC 09131 M3.5%x 9 T-15 SCMCN2020K09-100 CC 091301 M3.5x 9 T-15
SCMCN2525M09 CC ao9eTadid M3.5x9 T-15 SCMCN2525M09-100 CC OJo9eTadd M3.5x 9 T-15
SCMCN2020K12 CC 12040 M5 x 12 T-20 SCMCN2020K12-100 CC [O[120400 M5 x 12 T-20
SCMCN2525M12 CC Od120400 M5 x 12 T-20 SCMCN2525M12-100 CC d120400 M5 x 12 T-20

i MEEARY T CCMT060204,CCMT09T304,CCMT120408
TEFE G EEERITSERZ A

i MEEFKRY Ty CCMT060204,CCMT09T304,CCMT120408
THEME G ERERITERZ R

2]



< BEEHA NAESEY] 5N ZE 7] % 5 <> KBEEH

[/NAS HMCT GROUP Turning Tool Holder Turning Tool Holder LNVAS HMCT GROUP
— —
SDACR/L SDJCR/L
4 N [ N [ -
- N N a 93] - "
90° 1 4 ] Ll 7 L
| o7 )
- | @NX L h H
: \‘:f !
- S o . --------
940.0397.146 SDJCR1010F07
N O O O O O Saiommoso bbb
940.0398.146 SDJCR1212F07 12 12 80 14 12 16
940.0383.146 SDACRO0808F07 941.0398.146 SDJCL1212F07 12 12 80 14 12 16
SRICUBEIED SRl AV g 2 20 L2 2 i 940.0399.146 SDJCR1616H07 16 16 100 14 16 20
940.0384.146 SDACR1010F07 10 10 80 15 10 10 941.0399.146 SDJCL1616H07 16 16 100 14 16 20
941.0384.146 SDACL1010F07 10 10 80 15 10 10 040,040,146 SDJCR 12125 0 . o0 0 0 6
940.0385.146 SDACR1212F07 12 12 80 15 12 12 041.0400.146 SDJCL1D12E 1 . - o0 20 0 6
941.0385.146 SDACL1212F07 12 12 80 15 12 12 040.0401 146 SDJCR1616H1 1 6 6 100 ”0 6 0
940.0386.146 SDACR1212K11 12 12 125 22 12 12 941.0401.146 SDJCL1616H11 16 16 100 20 16 20
941.0386.146 SDACL1212K11 12 12 125 22 12 12 040.0402.146 SDJCRIO20K 11 20 20 1o 0 20 0s
940.0387.146 SDACR1616H11 16 16 125 22 16 16 041 0402145 SDJCLIOROKI 20 ” 125 ” I »s
941.0387.146 SDACL1616H11 16 16 125 22 16 16 040.0403.146 SDJCROS2EM1 1 05 0s 150 o 05 o
940.0388.146 SDACR2020K1 1 20 20 125 22 20 20 041.0405.146 SDJCLOEREN i »5 150 » »s w
941.0388.146 SDACL2020K1 1 20 20 125 22 20 20 040.0404.146 SDJCRE25OP 11 I i 170 »s o 40
940.0389.146 SDACR2525M11 25 25 150 22 25 25 041 0404145 SDJCLa2a2P1 ] o o 7 »s w »
941.0389.146 SDACL2525M1 1 25 25 150 22 25 25 040.0405.145 DJCRA04OR 40 40 200 o 40 0
941.0405.146 SDJCL4040R11 40 40 200 25 40 50
SDACRO808F07 DC [I10702010] M2.5x 8 T-8 SDJCR1010F07 DC 1107020100 T-8
SDACLO0808FO07 DC 000702000 M2.5x 8 T-8 SDJCL1010F07 DC 007020000 T-8
SDACR1010F07 DC (1107020100 M2.5x8 T-8 SDJCR1212F07 DC (11070201070 T-8
SDACL1010F07 DC 07020000 M2.5x 8 T-8 SDJCL1212F07 DC C0702010] M2.5x 8 T-8
SDACR1212F07 DC (1107020100 M2.5x 8 T-8 SDJCR1616H07 DC (1107020100 M2.5x 8 T-8
SDACL1212F07 DC 107020107 M2.5x 8 T-8 SDJCL1616HO7 DC 0107020107 M2.5x 8 T-8
SDACR1212K11 DC OI11T30100 M3.5x9 T-15 SDJCR1212F11 DC 111730100 M3.5x9 T-15
SDACL1212K11 DC OO11T3000 M3.5x9 T-15 SDJCL1212F11 DC 011730000 M3.5x 9 T-15
SDACR1616H11 DC OI11T30100 M3.5x9 T-15 SDJCR1616H11 DC 111730100 M3.5x9 T-15
SDACL1616H11 DC OO11T30I0 M3.5x9 T-15 SDJCL1616H11 DC O11T300 M3.5x 9 T-15
SDACR2020K1 1 DC 111730100 M3.5x9 T-15 SDJCR2020K1 1 DC 1111730100 M3.5x 9 T-15
SDACL2020K11 DC OO11T3010 M3.5x 9 T-15 SDJCL2020K1 1 DC 11730000 M3.5x9 T-15
SDACR2525M1 1 DC CII11T3000 M3.5x9 T-15 SDJCR2525M1 1 DC 11730100 M3.5x 9 T-15
SDACL2525M11 DC OO11T300 M3.5x9 T-15 SDJCL2525M1 1 DC OO11T3000 M3.5x 9 T-15
SDJCR3232P1 1 DC 111730100 M3.5x 9 T-15
i MEEALE T K DCMT070204,DCMT11T304 SDJCL3232P11 DC CIC14T300 M3.5x9 T-15
NEHEHEREHICEEZ R SDJCR4040R11 DC OO11T300] M3.5x9 T-15
SDJCL4040R1 1 DC 11730000 M3.5x9 T-15

III i MEfE AR T FDCMT070204,DCMT11T304 |II
TG B ERECER Z N



@ BREEHA

/VAS HMCT GROUP

@ BEEH

LNVAS HVCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

SDFCR/L SDNCN
e N ) e N )
1B g : w
$ 7 | t
® @\ ™~ =
B S &
i ] h :
NS AN J NS 2ANE \E! _J

940.0392.146 SDFCR1212H07 100 940.0412.146 SDNCNO0808F07 4
941.0392.146 SDFCL1212H07 12 12 100 8 12 16 940.0413.146 SDNCN1010F07 10 10 80 14 10 5
940.0393.146 SDFCR1212H11 12 12 100 14 12 18 940.0414.146 SDNCN1212F07 12 12 80 14 12 6
941.0393.146 SDFCL1212H11 12 12 100 14 12 18 940.0415.146 SDNCN1212H11 12 12 100 21 12 6
940.0394.146 SDFCR1616K11 16 16 125 14 16 20 940.0416.146 SDNCN1616H11 16 16 100 21 16 8
941.0394.146 SDFCL1616K11 16 16 125 14 16 20 940.0417.146 SDNCN2020K11 20 20 125 21 20 10
940.0418.146 SDNCN2525M11 25 25 150 21 25 125

> =

SDFCR1212H07 DC 107020 M2.5x8 T-8 SDNCNO0808F07 DC o702 M2.5x 8 T-8
SDFCL1212H07 DC [JJo7o210] M2.5x 8 T-8 SDNCN1010F07 DC [IJo7o20 M2.5x8 T-8
SDFCR1212H11 DC OO T30 M3.5x9 T-15 SDNCN1212F07 DC 111300 M3.5x9 T-15
SDFCL1212H11 DC O11 T30 M3.5x 9 T-15 SDNCN1212H11 DC 11130 M3.5x9 T-15
SDFCR1616K11 DC L1113 M3.5x9 T-15 SDNCN1616H11 DC L1113 M3.5x9 T-15
SDFCL1616K11 DC L1130 M3.5x9 =18 SDNCN2020K11 DC L1111 1300 M3.5x9 =il
SDNCN2525M11 DC L1130 M3.5x9 T-15

. MEfEAKRE T FDCMT070204,DCMT11T304
T FE G EAEERETER Z W

i ME{EA®RLE T FDCMT070204,DCMT11T304

TEFE R ERESERZ A

ol



s o @ BREEHA

SNEIZE T & T

Turning Tool Holder

SNEIZE T & T

Turning Tool Holder

LNVAS HVCT GROUP

/VAS HMCT GROUP

SDQCRIL oo
4 N . . o :
107.5 ]. m J—Eé_z E * + S;_@[ - W

* |
b )L " N ) = )

E: MEE KT FDCMT070204,DCMT11T304

TIEFNEL IR TR

_ Il

LESERZ A

940.0421.146 SDQCR1010F07 940.0436.146 SRDCN1616H08
941.0421.146 SDQCL1010F07 10 10 80 5 10 12 940.0437.146 SRDCN2020K08 20 20 125 16 20 10
940.0422.146 SDQCR1212F07 12 12 80 13 12 16 940.0438.146 SRDCN2525M08 25 25 150 16 25 12,5
941.0422.146 SDQCL1212F07 12 12 80 13 12 16
940.0423.146 SDQCR1212F11 12 12 80 14 12 16
941.0423.146 SDQCL1212F11 12 12 80 14 12 16
940.0424.146 SDQCR1616H11 16 16 100 14 16 20
941.0424.146 SDQCL1616H11 16 16 100 14 16 20
940.0425.146 SDQCR2020K11 20 20 125 16 20 25
941.0425.146 SDQCL2020K11 20 20 125 16 20 25)
940.0426.146 SDQCR2525M11 25 25 150 22 25 32
941.0426.146 SDQCL2525M11 25 25 150 22 25 32
SDQCR1010F07 DC 107020 M2.5x8 T-8 SRDCN1616H08 RC [JJos031 T-8
SDQCL1010F07 DC [JJo7o210] M2.5x 8 T-8 SRDCN2020K08 RC [JJo803[[] T-8
SDQCR1212F07 DC [J[Jo70210 M2.5x8 T-8 SRDCN2525M08 RC [JJos03 T-8
SDQCL1212F07 DC [1[Jo7o02(]] M2.5x 8 T-
SDQCR1212F11 DC L1113 M3.5x9 T-15
SDQCL1212F11 DC L1130 M3.5x9 T-15 i SRR AR T RCMX0803MO
SDQCR1616H11 DC L1130 M3.5x9 T-15 TR ERERTERZR
SDQCL1616H11 DC 111300 M3.5 x 9 T-15
SDQCR2020K 11 DC 111300 M3.5x9 T-15
SDQCL2020K11 DC OO11T3000 M3.5x 9 T-15
SDQCR2525M11 DC IO T30 M3.5x9 T-15
SDQCL2525M11 DC 111300 M3.5x9 T-15

sl



e =5 HF

HNVAS HVCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

@ BEEHA

/VAS HVCT GROUP

SSBCR/L
4 N
BOL s|
— ®
\_ L

75°

SSDCN
) 4 N )
" 45° "
~ o )
J NS J J

940.0450.146 SSBCR1212F09
941.0450.146 SSBCL1212F09

940.0451.146 SSBCR1616H09
941.0451.146 SSBCL1616H09
940.0452.146 SSBCR2020K09
941.0452.146 SSBCL2020K09

940.0453.146 SSBCR2020K12
941.0453.146 SSBCL2020K12

940.0454.146 SSBCR2525M12
941.0454.146 SSBCL2525M12

SSBCR1212F09 SC o913
SSBCL1212F09 scofjooTsi
SSBCR1616H09 sCmooTs3
SSBCL1616H09 sc oot
SSBCR2020K09 Sc o993
SSBCL2020K09 sc ofjooTs
SSBCR2020K12 SC 12040
SSBCL2020K12 Sc 12040101
SSBCR2525M12 SC[I[11204010]
SSBCL2525M12 SC LI1204010]

iE: MEMEAKRLE T FSCMT09T304,SCMT120408
T EEERECERZ N

I}l

12
16
16
20
20
20
20
25
25

12
16
16
20
20
20
20
25
25)

80
100
100
125
125
125
125
150
150

M3.5%x9
M3.5x9
M3.5x9
M3.5x9
M3.5x9
M3.5%x9
M5 x 12
M5 x 12
M5 x 12
M5 x 12

18 12 015 940.0458.146
18 16 12 940.0459.146
18 16 12 940.0460.146
18 20 17
18 20 17
22 20 17
22 20 17
22 25 22
22 25 22

940.0457.146

SSDCN1212F09

SSDCN1616H09 16 16 100 16 16 8
SSDCN2020K09 20 20 125 16 20 10
SSDCN2525M09 25 25] 150 16 25 125

T-15 SSDCN1212F09 SC 097300 M3.5x 9 T-15
T-15 SSDCN1616H09 SC 097300 M3.5x 9 T-15
T-15 SSDCN2020K09 SC 097300 M3.5x9 T-15
T-15 SSDCN2525M09 SC 1097300 M3.5x 9 T-15
T-15

T-15

T-20

T-20 i MEEAKRL T FSCMT09T304

T-20 NEMEGaFEEHISEEZR

T-20

ol



@ BEEHA

/VAS HVCT GROUP

@ BEEH

LNVAS HVCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

SSKCRIL SSSCRIL

~ N B s N

75° syay 45 1 s @& [ w]
® !—L 6 -45|'

x YN y, x YRR L ] g

7 E/E AL 7] FSCMT09T304,SCMT 120408

TEFER S EEERISERZR

_ Il

i MEEFAKRL 7] FSCMT09T304,SCMT120408

TEFESEEERISERZA

940.0463.146 SSKCR1212F09 940.0470.146 SSSCR1212F09
941.0463.146 SSKCL1212F09 12 12 80 16 12 16 941.0470.146 SSSCL1212F09 12 12 80 16 12 16
940.0464.146 SSKCR1616H09 16 16 100 16 16 20 940.0471.146 SSSCR1616H09 16 16 100 16 16 20
941.0464.146 SSKCL1616H09 16 16 100 16 16 20 941.0471.146 SSSCL1616H09 16 16 100 16 16 20
940.0465.146 SSKCR2020K09 20 20 125 18 20 25 940.0472.146 SSSCR2020K09 20 20 125 18 20 25
941.0465.146 SSKCL2020K09 20 20 125 18 20 25 941.0472.146 SSSCL2020K09 20 20 125 18 20 25
940.0466.146 SSKCR2525M09 25 25 150 25 25 32 940.0473.146 SSSCR2525M09 25 25 150 25 25 32
941.0466.146 SSKCL2525M09 25 25 150 25 25 32 941.0473.146 SSSCL2525M09 25 25 150 25 25 32
940.0467.146 SSKCR2525M12 25 25 150 25 25 32 940.0474.146 SSSCR2525M12 25 25 150 25 25 32
941.0467.146 SSKCL2525M12 25 25 150 25 25 32 941.0474.146 SSSCL2525M12 25 25 150 25 25 32
Z Z
SSKCR1212F09 SC o9t M3.5%x9 T-15 SSSCR1212F09 sCOOo9T3dM M3.5x9 T-15
SSKCL1212F09 SC JJo9T3[] M3.5x 9 T-15 SSSCL1212F09 SC JJ09T31] M3.5x 9 T-15
SSKCR1616H09 SCc o913 M3.5x9 T-15 SSSCR1616H09 SCc Odo9T30O M3.5x 9 T-15
SSKCL1616H09 SC 09 T3[ M3.5%x9 T-15 SSSCL1616H09 SC J[09T31 [ M3.5x 9 T-15
SSKCR2020K09 SC IJ09T3] M3.5x9 T-15 SSSCR2020K09 SC J09T3I M3.5x 9 T-15
SSKCL2020K09 SC Jo09T3[ M3.5x9 T-15 SSSCL2020K09 SC J[09T31 M3.5x9 T-15
SSKCR2525M09 SCOo9T3H M3.5%x9 T-15 SSSCR2525M09 Sc Odo9T3d M3.5x9 T-15
SSKCL2525M09 SC [J[109T3I] M3.5x 9 T-15 SSSCL2525M09 SC [J[J09T31[] M3.5x 9 T-15
SSKCR2525M12 SC 1204 M5 x 12 T-20 SSSCR2525M12 SC 12040 M5 x 12 T-20
SSKCL2525M12 SC 1204101 M5 x 12 T-20 SSSCL2525M12 Sc 12040101 M5 x 12 T-20

s2 il



@ BREEHA

/VAS HMCT GROUP

@ BEEH

LNVAS HVCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

STFCR/L

STGCR/L

940.0477.146 STGCR1616H11 100 940.0483.146 STFCR1212F09
941.0477.146 STGCL1616H11 16 16 100 14 16 20 941.0483.146 STFCL1212F09 12 12 80 14 12 16
940.0478.146 STGCR1616H16 16 16 100 14 16 20 940.0484.146 STFCR1212F11 12 12 80 14 12 16
941.0478.146 STGCL1616H16 16 16 100 14 16 20 941.0484.146 STFCL1212F11 12 12 80 14 12 16
940.0479.146 STGCR2020K16 20 20 125 20 20 25 940.0485.146 STFCR1616H11 16 16 100 14 16 20
941.0479.146 STGCL2020K16 20 20 125 20 20 25 941.0485.146 STFCL1616H11 16 16 100 14 16 20
940.0480.146 STGCR2525M16 25 25 150 20 25 32 940.0486.146 STFCR2020K16 20 20 125 22 20 25
941.0480.146 STGCL2525M16 25 25 150 20 25 32 941.0486.146 STFCL2020K16 20 20 125 22 20 25
940.0487.146 STFCR2525M16 25 25 150 22 25 32
941.0487.146 STFCL2525M16 25 25 150 22 25 32
940.0488.146 STFCR3232P16 32 32 170 22 32 40
941.0488.146 STFCL3232P16 32 32 170 22 32 40
Z Z
STGCR1616H11 TC OO110200 M2.5x 8 T-8 STFCR1212F09 TC [O[Jo9020 M2.2x 6 T-6
STGCL1616H11 TC 11020 M2.5x 8 T-8 STFCL1212F09 TC [JJo902[1] M2.2 x 6 T-6
STGCR1616H16 TCOO16T30 M3.5x9 T-15 STFCR1212F 11 TCOOi1102003 M2.5x 8 T-8
STGCL1616H16 TC OMeT3 O M3.5%x 9 T-15 STFCL1212F11 TC 11020 M2.5x 8 T-8
STGCR2020K16 TC IO16T310L] M3.5x9 T-15 STFCR1616H11 TC U102 M2.5x 8 T-8
STGCL2020K16 TC O[eT3 M3.5x9 T-15 STFCL1616H11 TC OO11020 M2.5x 8 T-8
STGCR2525M16 TCOO16T30 M3.5%x9 T-15 STFCR2020K16 TCOMO1eT3 M3.5x9 T-15
STGCL2525M16 TC I16T3I M3.5x 9 T-15 STFCL2020K16 TC I16T3] M3.5x 9 T-15
STFCR2525M16 TCOO1eT31 M3.5x 9 T-15
STFCL2525M16 TC OO16T3010] M3.5x 9 T-15
STFCR3232P16 TCOO1eT3 M3.5x 9 T-15
STFCL3232P16 TC OI16T3 M3.5x9 T-15

i MEEAKIETIFTCMT110204, TCMT16T304

TEFE S EEERISERZA
i MEEARIET]FTCMT090204,TCMT110204,TCMT16T304

THEME 4 ERERITERZ R

NI sl



@

e =5 F

LNVAS HVCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

@

e =5

/VAS HMCT GROUP

STJCR/L

-

93°

s 0
1 €)

93°
|

e H

940.0491.146
941.0491.146
940.0492.146
941.0492.146

STJCR1212F11
’ STJCL1212F11
STJCR1616H11

STJCL1616H11

STJCR1212F11

STJCL1212F11 12 12 80 18 12 16
STJCR1616H11 16 16 100 18 16 20
STJCL1616H11 16 16 100 18 16 20

Z
TC OO110200O M2.5x8 T-8
TC 1102000 M2.5x 8 T-8
TC OO1102010 M2.5x8 T-8
TC 110200 M2.5x 8 T-8

i MEERKE T FTCMT110204
T AE A EAEERESER Z W

STWCR/L

-

60°

S 60%
i ®

>

N\

n

=

J

J

N\

J

940.0495.146 STWCR1616H11
941.0495.146 STWCL1616H11
940.0496.146 STWCR2020K11
941.0496.146 STWCL2020K11
940.0497.146 STWCR2525M11
941.0497.146 STWCL2525M11
940.0498.146 STWCR1616H16
941.0498.146 STWCL1616H16
940.0499.146 STWCR2020K16
941.0499.146 STWCL2020K16
940.0500.146 STWCR2525M16
941.0500.146 STWCL2525M16
940.0501.146 STWCR3232P16
941.0501.146 STWCL3232P16

STWCR1616H11 TCOOt11020O
STWCL1616H11 TC LJO110200
STWCR2020K11 TCOO110200
STWCL2020K11 TC JO11020
STWCR2525M11 TC UU110200
STWCL2525M11 TC 11020001
STWCR1616H16 TCOO16T3
STWCL1616H16 TC OO16T3LI
STWCR2020K16 TC U613
STWCL2020K16 TC OO16T3LI
STWCR2525M16 TCOO16T3I
STWCL2525M16 TCOO16T3LI
STWCR3232P16 TC U613
STWCL3232P16 TC OO1e6T3LI

i MEEAKIETIFTCMT110204, TCMT16T304
TEME4SRERECERZ A

16
20
20
25
25
16
16
20
20
25
25
32
32

16
20
20
25
25
16
16
20
20
25
25
32
32

100
100
125
125
150
150
100
100
125
125
150
150
170
170

M2.5x8
M2.5x%x 8
M2.5x 8
M2.5x 8
M2.5x 8
M2.5x 8
M3.5x9
M3.5x9
M3.5x9
M3.5x9
M3.5x9
M3.5x 9
M3.5x9
M3.5x9

16
20
20
25
25
16
16
20
20
25
25
32
32

T-8

T-8

T-15
T-15
T-15
T-15
T-15
=13
T-15
T-15

19.3
19.3
23.3
23.3
28.3
28.3
21
21
26
26
31
31
38
38

ol



@ BREEKHA

LNVAS HMCT GROUP

> BEEH

LNVAS HMCT GROUP

SMEIZETI R T

Turning Tool Holder

SMEIZETI R T

Turning Tool Holder

SVJBR/L SVJCR/L

(" N )
ey | [0 L |

4 N )
ey | [0 e |

N EN

940.0512.146 SVJBR1212F11 940.0522.146 SVJCR1212F11

941.0512.146 SVJBL1212F11 12 12 80 22 12 16 941.0522.146 SVJCL1212F11 12 12 80 22 12 16
940.0513.146 SVJBR1616H11 16 16 100 25 16 20 940.0523.146 SVJCR1616H11 16 16 100 25 16 20
941.0513.146 SVJBL1616H11 16 16 100 25 16 20 941.0523.146 SVJCL1616H11 16 16 100 25 16 20
940.0514.146 SVJBR2020K11 20 20 125 32 20 25 940.0524.146 SVJCR2020K11 20 20 125 32 20 25
941.0514.146 SVJBL2020K11 20 20 125 32 20 25 941.0524.146 SVJCL2020K11 20 20 125 32 20 25
940.0515.146 SVJBR2525M11 25 25 150 38 25 32 940.0525.146 SVJCR2525M11 25 25 150 38 25 32
941.0515.146 SVJBL2525M11 25 25 150 38 25 32 941.0525.146 SVJCL2525M11 25 25 150 38 25 32
940.0516.146 SVJBR1616H16 16 16 100 30 16 20 940.0526.146 SVJCR1616H16 16 16 100 30 16 20
941.0516.146 SVJBL1616H16 16 16 100 30 16 20 941.0526.146 SVJCL1616H16 16 16 100 30 16 20
940.0517.146 SVJBR2020K16 20 20 125 32 20 25 940.0527.146 SVJCR2020K16 20 20 125 32 20 25
941.0517.146 SVJBL2020K16 20 20 125 32 20 25 941.0527.146 SVJCL2020K16 20 20 125 32 20 25
940.0518.146 SVJBR2525M16 25 25 150 40 25 32 940.0528.146 SVJCR2525M16 25 25 150 40 25 32
941.0518.146 SVJBL2525M16 25 25 150 40 25 32 941.0528.146 SVJCL2525M16 25 25 150 40 25 32
940.0519.146 SVJBR3232P16 32 32 170 45 32 40 940.0529.146 SVJCR3232P16 32 32 170 45 32 40
941.0519.146 SVJBL3232P16 32 170 45 32 40 941.0529.146 SVJCL3232P16 32 32 170 45 32 40

iE:

SVJBR1212F11 VB [[J110300] M2.5x 8 T-8 SVJCR1212F11 vcoot1103010 M2.5 x 8 T-8
SVJBL1212F11 VB 110300 M2.5x 8 T-8 SVJCL1212F11 vc 1103010 M2.5x 8 T-8
SVJBR1616H11 VB 11030 M2.5x 8 T-8 SVJCR1616H11 vcmo110300 M2.5x 8 T-8
SVJBL1616H11 vB OO110300 M2.5 x 8 T- SVJCL1616H11 vcooi11o0300 M2.5 x 8 T-8
SVJBR2020K11 VB 110340 M2.5x 8 T-8 SVJCR2020K11 vc o103t M2.5x 8 T-8
SVJBL2020K11 VB 00110300 M2.5x 8 T-8 SVJCL2020K11 vc 1103000 M2.5x 8 T-8
SVJBR2525M11 vB 1103010 M2.5x 8 T-8 SVJCR2525M11 vc 11030 M2.5 x 8 T-8
SVJBL2525M11 vB 1103010 M2.5x 8 T-8 SVJCL2525M11 vcit1o0301d M2.5x 8 T-8
SVJBR1616H16 VB [[J1604 1] M3.5x 9 T-15 SVJCR1616H16 vC 16040 M3.5x9 T-15
SVJBL1616H16 VB 10160411 M3.5x 9 T-15 SVJCL1616H16 vC 160401 M3.5x 9 T-15
SVJBR2020K16 VB [J[J1604 010 M3.5x9 T-15 SVJCR2020K16 vC 160400 M3.5x9 T-15
SVJBL2020K16 VB [I[J1604[][] M3.5x 9 T-15 SVJCL2020K16 vC 1604101 M3.5x 9 T=i5
SVJBR2525M16 VB [JJ1604 0101 M3.5x 9 T-15 SVJCR2525M16 vC 16040101 M3.5x 9 T-15
SVJBL2525M16 VB [1[J1604 1] M3.5x9 T-15 SVJCL2525M16 vC 16040101 M3.5x9 T-15
SVJBR3232P16 VB 16040101 M3.5x9 T-15 SVJCR3232P16 vC 1604010 M3.5x9 T-15
SVJBL3232P16 VB [JJ1604 0101 M3.5x 9 T-15 SVJCL3232P16 vc 16040101 M3.5x 9 T-15

ME1EAKIE 7] FVBMT110304, VBMT160404

TEFE G EEERISERZ A

_ Il 57

. MEBEAKIETIEVCMT110304, VCMT160404

TEFE R ERESERZ A

E1l1En



@ BEEH

MNAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

D IE

2

5@

LNVAS HVMCT GROUP

SVQBR/L SVQCRIL
- N N A - D
107.5° l ‘[‘ S% v 107.5°

J

h H h
- AN AN J NG AN
940.0532.146 SVQBR1616H11 100 940.0541.146 SVQCR1616H11
941.0532.146 SVQBL1616H11 16 16 100 35 16 20 941.0541.146 SVQCL1616H11
940.0533.146 SVQBR2020K 11 20 20 125 35 20 25 940.0542.146 SVQCR2020K11
941.0533.146 SVQBL2020K11 20 20 125 35 20 25 941.0542.146 SVQCL2020K 11
940.0534.146 SVQBR2525M11 25 25 150 35 25 32 940.0543.146 SVQCR2525M11
941.0534.146 SVQBL2525M11 25} 23 150 35 25 32 941.0543.146 SVQCL2525M11
940.0535.146 SVQBR1616H16 16 16 100 35 16 20 940.0544.146 SVQCR1616H16
941.0535.146 SVQBL1616H16 16 16 100 35 16 20 941.0544.146 SVQCL1616H16
940.0536.146 SVQBR2020K16 20 20 125 35 20 25 940.0545.146 SVQCR2020K16
941.0536.146 SVQBL2020K16 20 20 125 35 20 25 941.0545.146 SVQCL2020K16
940.0537.146 SVQBR2525M16 25 25 150 35 25 32 940.0546.146 SVQCR2525M16
941.0537.146 SVQBL2525M16 25 23 150 35 25 32 941.0546.146 SVQCL2525M16
940.0538.146 SVQBR3232P16 32 32 170 35 32 40 940.0547.146 SVQCR3232P16
941.0538.146 SVQBL3232P16 32 32 170 35 32 40 941.0547.146 SVQCL3232P16

SVQBR1616H11 VB 1110300 M2.5x8 T-8 SVQCR1616H11 vcoot1o0300d
SVQBL1616H11 VB 110300 M2.5x 8 T-8 SVQCL1616H11 vc 11030
SVQBR2020K11 VB 110300 M2.5x8 T-8 SVQCR2020K11 vc o113
SVQBL2020K11 vB 1103 M2.5x 8 T- SVQCL2020K11 vc 110300
SVQBR2525M11 vB 110340 M2.5x8 T-8 SVQCR2525M11 vcot1t1o3d
SVQBL2525M11 VB [IJ110300] M2.5x 8 T-8 SVQCL2525M11 vc 110300
SVQBR1616H16 VB 1604101 M3.5x9 T-15 SVQCR1616H16 vc 1604010
SVQBL1616H16 VB 1604101 M3.5x9 T-15 SVQCL1616H16 vC 1604 1]
SVQBR2020K16 VB [[]1604 1] M3.5x9 T-15 SVQCR2020K16 vC 1604010
SVQBL2020K16 VB [I[J1604 0] M3.5x 9 T-15 SVQCL2020K16 vC 160407
SVQBR2525M16 VB [[]160410] M3.5x9 T-15 SVQCR2525M16 vC 16040101
SVQBL2525M16 VB 160411 M3.5x9 =1 SVQCL2525M16 VC O[1604[1]
SVQBR3232P16 VB 16040101 M3.5x9 T-15 SVQCR3232P16 vc 1604010
SVQBL3232P16 VB 1604101 M3.5x9 T-15 SVQCL3232P16 VC [J1604[1]
i MEERAKK T FVBMT110304, VBMT160404 i MEEAKRIET]FVCMT110304,VCMT160404

TEMEGEEEREERZN TEMEGEEERIERZR

N2

16
20
20
25
23
16
16
20
20
25
23
32
32

7

16
20
20
25
25
16
16
20
20
25
25
32
32

100
125
125
150
150
100
100
125
125
150
150
170
170

M2.5x8
M2.5x%x 8
M2.5x 8
M2.5x8
M2.5x 8
M2.5x8
M3.5x9
M3.5x9
M3.5x9
M3.5x9
M3.5x9
M3.5x 9
M3.5x9
M3.5x9

35
35
35
35
35
35
35
35
35
35
35
35
35

-

16
20
20
25
25
16
16
20
20
25
25
32
32

T-8

T-15
T-15
T-15
T-15
T-15
=il
T-15
T-15

20
25
25
32
32
20
20
25
25
32
32
40
40

J

ol



@ BEEH

LNVAS HVCT GROUP

@ BREEHA

/VAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

SVVBN SVVCN

4 N I 4 N [~ )
myL J -1 L W 72.5° J {ifg W
\_ L J \_ 2N H J

940.0550.146 SVVBN1212F11 940.0560.146 SVVCN1212F11

940.0551.146 SVVBN1616H11 16 16 100 24 16 940.0561.146 SVVCN1616H11 16 16 100 24 16 8
940.0552.146 SVVBN2020K11 20 20 125 24 20 10 940.0562.146 SVVCN2020K11 20 20 125 24 20 10
940.0553.146 SVVBN2525M11 25 25 150 24 25] 125 940.0563.146 SVVCN2525M11 25 25 150 24 25 12,5
940.0554.146 SVVBN1616H16 16 16 100 34 16 8 940.0564.146 SVVCN1616H16 16 16 100 34 16 8
940.0555.146 SVVBN2020K16 20 20 125 34 20 10 940.0565.146 SVVCN2020K16 20 20 125 34 20 10
940.0556.146 SVVBN2525M16 25 25 150 34 25 125 940.0566.146 SVVCN2525M16 25 25 150 34 25 12,5
940.0557.146 SVVBN3232P16 32 32 170 34 32 16 940.0567.146 SVVCN3232P16 32 32 170 34 32 16

7

TEEHEEERSERZR

TMEMEGERERITERZ R

Z

SVVBN1212F11 VB 1110300 M2.5x8 T-8 SVVCN1212F11 vcoott1o0300d M2.5x 8 T-8

J SVVBN1616H11 vB 110301 M2.5x 8 T-8 SVVCN1616H11 vc 11030 M2.5x 8 T-8
SVVBN2020K11 VB 110300 M2.5x8 T-8 SVVCN2020K11 vc o113 M2.5x 8 T-8
SVVBN2525M11 vB 1103 M2.5x 8 T- SVVCN2525M11 vc 110300 M2.5x 8 T-8
SVVBN1616H16 VB 1604010 M3.5x9 T-15 SVVCN1616H16 vC 1e04010] M3.5x9 T-15
SVVBN2020K16 VB [I[J1604 ] M3.5x9 =18 SVVCN2020K16 vC 116040101 M3.5x 9 =il
SVVBN2525M16 VB 160411 M3.5x9 T-15 SVVCN2525M16 vc 1604010 M3.5x 9 T-15
SVVBN3232P16 VB 1604101 M3.5x9 T-15 SVVCN3232P16 vC 16040101 M3.5x 9 T-15

i MEEAKRITIFVBMT110304, VBMT160404 i MEEAKIETIFVCMT110304, VCMT160404

i}



@ BEEH

LNVAS HVCT GROUP

@ BREEHA

/VAS HMCT GROUP

SNEIZETI R T

Turning Tool Holder

SNEIZETI R T

Turning Tool Holder

SVUBR/L SVUCR/L
4 N I 4 N [ )
95° s| osh w 95° S 4 w
* Lﬁ ' | L * Lﬁ { ﬂ }
B ﬂ%”‘ n ﬂ%“
h H h H
\_ L J \_ L J

E:

TEEHEEERSERZR

M ={E AR T FVBMT110304, VBMT160404

TEFE M EEERSERZA

iE: MEERAKKTIFVCMT110304, VCMT160404

940.0575.146 SVUBR1616H11 100 4 940.0575.146 SVUCR1616H11 4
941.0575.146 SVUBL1616H11 16 16 100 4 16 20 941.0575.146 SVUCL1616H11 16 16 100 4 16 20
940.0576.146 SVUBR2020K16 20 20 125 8 20 30 940.0576.146 SVUCR2020K16 20 20 125 8 20 30
941.0576.146 SVUBL2020K16 20 20 125 8 20 30 941.0576.146 SVUCL2020K16 20 20 125 8 20 30
940.0577.146 SVUBR2525M16 25 25 150 8 25 35 940.0577.146 SVUCR2525M16 25 25 150 8 25 35
941.0577.146 SVUBL2525M16 25 25 150 8 25 35 941.0577.146 SVUCL2525M16 25 25 150 8 25 35
SVUBR1616H11 VB 1110300 M2.5x8 T-8 SVUCR1616H11 vcmoit1o0300d M2.5x 8 T-8
J SVUBL1616H11 vB 110301 M2.5x 8 T-8 SVUCL1616H11 vc 1103000 M2.5x8 T-8
SVUBR2020K16 VB [J[J1604]0] M3.5x9 T-15 SVUCR2020K16 vCc 160400 M3.5x9 T-15
SVUBL2020K16 VB 1604101 M3.5x 9 T-15 SVUCL2020K16 vC 160411 M3.5x9 T-15
SVUBR2525M16 VB 1604010 M3.5x9 T-15 SVUCR2525M16 vC1e040] M3.5x9 T-15
SVUBL2525M16 VB [I[J1604 ] M3.5x9 =18 SVUCL2525M16 vC 16040101 M3.5x9 T-15

111 5N



J

@

=5 F

MNAS HMCT GROUP

RNFLETIZET

BoringBar

NFLETIRT

@

e =5 M

MCKNR/L

dmin

e e am

.

940.0604.146
941.0604.146
940.0605.146
941.0605.146
940.0606.146
941.0606.146
940.0607.146
941.0607.146
940.0608.146
941.0608.146

S20Q-MCKNR12
S20Q-MCKNL12
S25R-MCKNR12
S25R-MCKNL12
S32S-MCKNR12
S32S-MCKNL12

S40T-MCKNR12
S40T-MCKNL12

S50U-MCKNR12
S50U-MCKNL12

S20Q-MCKNR12 CNOO120400
S20Q-MCKNL12 CNLOI[O120400
S25R-MCKNR12 CNOO1204001
S25R-MCKNL12 CNO[120400
S32S-MCKNR12 CNIJ1204010]
S32S-MCKNL12 CNLI[O120400
S40T-MCKNR12 CNIJ1204010
S40T-MCKNL12 CNIJ1204010
S50U-MCKNR12 CNOIJ1204010
S50U-MCKNL12 CNIJ1204010
ME{E AL T FCNMG120408

TEFEGERERISEEZR

__J]|lles

24
®30
30
®38
38
47
47
®60
®60

X

X

X

X
MC1204
MC1204
MC1204
MC1204

MC1204
MC1204

20
25
25
32
32
25
25
32
32

225
22.5

CTM613
CTM613
CTM613
CTM613
CTM617
CTM617
CTM617
CTM617
CTM617
CTM617

14
17
17

27
27
35
35

180
180
200
200
250
250
300
300
350
350

HL1812
HL1812
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814

45
45
45
50
50
55
55
70
70

ML0622
ML0622
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625

18
23
23
30
30
38
38
48
48

15°
15°
13°
13°
17°
17°
15°
15°
12°
12°

L2.5,.3.0
L2.5,L3.0
L2.5L3.0
L2.5,L3.0
L2.5L3.0
L2.5,L3.0
L2.5,.3.0
L2.5,L3.0
L2.53.0
L2.5,L3.0

940.0611.146
941.0611.146
940.0612.146
941.0612.146
940.0613.146
941.0613.146
940.0614.146
941.0614.146
940.0615.146
941.0615.146
940.0616.146
941.0616.146
940.0617.146
941.0617.146
940.0618.146
941.0618.146
940.0619.146
941.0619.146
940.0620.146
941.0620.146

S20Q-MCLCRO09
S20Q-MCLCL09
S20Q-MCLNR12
S20Q-MCLNL12
S25R-MCLNR12
S25R-MCLNL12
S32S-MCLNR12
S32S-MCLNL12

S40T-MCLNR12
S40T-MCLNL12

S50U-MCLNR12
S50U-MCLNL12
S60V-MCLNR12
S60V-MCLNL12

S32S-MCLNR16
S32S-MCLNL16

S40T-MCLNR16
S40T-MCLNL16

S50U-MCLNR19
S50U-MCLNL19

®23
®23
®23
®23
®30
®30
®38
®38
47
47
®60
®60
®70
®70
®38
®38
47
47
®60
®60

20
20
20
25
25
32
32
40
40
50
50
60
60
32
32
40
40
50
50

13
13
13
17
17
22.5
22.5
27
27
31
31
36
36
22.5
225
27
27
31
31

180
180
180
180
200
200
250
250
300
300
350
350
400
400
250
250
300
300
350
350

BoringBar LNVAS HMCT GROUP
MCLNR/L
4 4
95° dmin &d
yau--»:
\_ \_

33
45
45
45
45
50
50
55
55
70
70
70
70
50
50
55
55
75
75

18
18
18
23
23
30
30
38
38
48
48
58
58
30
30
38
38
48
48

15°
15°
15°
15°
12°
12°
17°
17°
15°
15°
12°
12°
10°
10°
17°
17°
15°
152
12°
12°

ool



O KBEEH CEEDEST EEDIEY] <> BEEHA

i*: ME{EAKL T FCNMG090304,CNMG 120408, CNMG160612,CNMG190612

TEFE G ERERTSERZR

e e am

LINAS HUCT GROUP BoringBar BoringBar //NVAS HMICT GROUP
I I—
MCWNR/L
4 N )
S$20Q-MCLCR09 CN[[090301] X CTM613 HL1812 MLO622 L2.5,L3.0 T
S20Q-MCLCL09 ~ CNLI[1090301C] X CTM613 HL1812 ML0622 L2.5,3.0 Soﬁ : BA L
$20Q-MCLNR12 CNOO 120400 X CTM613 HL1814 ML0625 L2.5,L3.0
S20Q-MCLNL12 CNOO120400 X CTM613 HL1814 ML0625 12.5,L3.0 @
S25R-MCLNR12 CNOO 120400 X CTM613 HL1814 MLO625 L2.5,L3.0
S25R-MCLNL12 CNOO 12040 X CTM613 HL1814 ML0625 L2.53.0 - J
$32S-MCLNR12 CNOO 120400 MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
S32S-MCLNL12 CNOO 120400 MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
S40T-MCLNR12 CNOO 120400 MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
S40T-MCLNL12 CNII 12040000 MC1204 CTM617 HL1814 ML0625 L2.5,L3.0
S50U-MCLNL12 CNI[12040007 MC1204 CTM617 HL1812 ML0622 L2.53.0 940.0623.146 S$20Q-MCWNR12 ®27 20 14 180 40 18 15°
S60V-MCLNR12 CNOO 120400 MC1204 CTM617 HL1814 MLO625 L2.5,L3.0 941.0623.146 S20Q-MCWNL12 ©27 20 14 180 40 18 15°
S60V-MCLNL12 CNOO 12040 MC1204 CTM617 HL1814 MLO0625 L2.5L3.0 940.0624.146 S25R-MCWNR12 ©31 25 17 200 45 23 12°
S32S-MCLNR16 CN[I[J1e0610] MC1604 CTM822 HL2217 ML0830 L4.0 941.0624.146 S25R-MCWNL12 ®31 25 17 200 45 23 120
S32S-MCLNL16 CNOO160600 MC1604 CTm822 HL2217 ML0830 L4.0 940.0625.146 S32S-MCWNR12 ®39 32 225 250 50 30 17°
S40T-MCLNR16 CNO 16060 MC1604 CTM822 HL2217 MLO0830 L4.0 941.0625.146 $32S-MCWNL12 39 32 22,5 250 50 30 17°
S40T-MCLNL16 CNJI 16060100 MC1604 CTM822 HL2217 ML0830 L4.0
S50U-MCLNR19 CNI1906010] MC1904 CTM1022 HL2217 ML0830 L4.0
S50U-MCLNL19 CNJ 190601 MC1904 CTM1022 HL2217 ML0830 L4.0

S20Q-MCWNR12 CNOO1204001 X CTM613 HL1812 ML0622 L2.5,L3.0
S20Q-MCWNL12 CNOI[O120400 X CTM613 HL1812 ML0622 L2.5,L3.0
S25R-MCWNR12 CNOO1204001 X CTM613 HL1814 ML0625 L2.5L3.0 J
S25R-MCWNL12 CNO[O12040 X CTM613 HL1814 ML0625 L2.5,L3.0
S32S-MCWNR12 CNLI[11204000] MC1204 CTM617 HL1814 ML0625 L2.5,L.3.0
S32S-MCWNL12 CNLII1204010] MC1204 CTM617 HL1814 ML0625 L2.5,L3.0

i MELEAKIE 7] FCNMG120408

TEFEGEEERETERZR

s lil]o



O KBEEH CEEDEST EEDIEY] <> BEEHA

[/NAS HMCT GROUP BoringBar BoringBar LNAS HUCT GROUP
MDQNR/L MDU NR/L
4 ) ) 4 )
107.5° N N 2
\ L J \ J

e e n an

940.0628.146

S25R-MDQNR15

940.0634.146

S25R-MDUNR11

941.0628.146 S25R-MDQNL15 32 25 17 200 45 23 12° 941.0634.146 S25R-MDUNL11 30 25 17 180 45 23 12°
940.0629.146 S32S-MDQNR15 42 32 225 250 50 30 17° 940.0635.146 S25R-MDUNR15 38 25 17 200 45 23 12°
941.0629.146 S32S-MDQNL15 42 32 22,5 250 50 30 17° 941.0635.146 S25R-MDUNL15 38 25 17 200 45 23 12°
940.0630.146 S40T-MDQNR15 ®50 40 27 300 60 38 15° 940.0636.146 S32S-MDUNR15 047 32 22 250 50 30 17°
941.0630.146 S40T-MDQNL15 50 40 27 300 60 38 15° 941.0636.146 S32S-MDUNL15 047 32 22 250 50 30 17°
940.0631.146 S50U-MDQNR15 63 50 33 350 70 48 12° 940.0637.146 S40T-MDUNR15 50 40 27 300 60 38 15°
941.0631.146 S50U-MDQNL15 063 50 33 350 70 48 12° 941.0637.146 S40T-MDUNL15 50 40 27 300 60 38 15°

e

QL))

S25R-MDQNR15 DN[[115041] CTM613 HL2114 ML0625 L2.5,.3.0 S25R-MDUNR11 DNOI[11040] X CTM510 HL2114 ML0625 L2.5,3.0
S25R-MDQNL15 DN[JI1504000] X CTM613 HL2114 ML0625 L2.5,L3.0 S25R-MDUNL11 DNOOI1104000 X CTM510 HL2114 ML0625 L2.5,L3.0
J S32S-MDQNR15 DN [I[J15040]0] MD1504 CTM617 HL2114 ML0625 L2.53.0 S25R-MDUNR15 DN [1[11504[1[] X CTM613 HL2114 ML0625 L2.5L3.0 J
S32S-MDQNL15 DN[J1504000] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0 S25R-MDUNL15 DNLI[1150410C] X CTM613 HL2114 ML0625 L2.5,L3.0
S40T-MDQNR15 DNLOI[115040]0] MD1504 CTM617 HL2114 ML0625 L2.5L3.0 S32S-MDUNR15 DNLI[1150410] MD1504 CTM617 HL2114 ML0625 L2.53.0
S40T-MDQNL15 DN[I[1150410] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0 S32S-MDUNL15 DNLI1150410] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0
S50U-MDQNR15 DN[J[J15040] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0 S40T-MDUNR15 DN[J[J15040]0] MD1504 CTM617 HL2114 ML0625 L2.53.0
S50U-MDQNL15 DN[I[11504]0] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0 S40T-MDUNL15 DN[I[11504C] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0

7 M8 AL 7] 5 DNMG110404,DNMG150408
THEFELHEFREREERZ RN

i MEME ALK T FFDNMG150408
TG EBERECERZ RN

]|l o lil]o



O KBEEH CEEDEST EEDIEY] <> BEEHA

[/NAS HMCT GROUP BoringBar BoringBar LNAS HUCT GROUP
MDZNR/L MDWNR/L
4 ) C ) ) 4
93°[
\ L J

940.0641.146 S25R-MDZNR15 13° 940.0647.146 S25R-MDWNR15

941.0641.146 S25R-MDZNL15 ®30 25 18 200 45 23 5 13° 941.0647.146 S25R-MDWNL15 34 25 22 200 45 23 13°
940.0642.146 S32S-MDZNR15 38 32 22 250 50 30 5.5 17° 940.0648.146 S32S-MDWNR15 D41 32 25 250 50 30 8.5 17°
941.0642.146 S32S-MDZNL15 ®38 32 22 250 50 30 55 17° 941.0648.146 S32S-MDWNL15 D41 32 25 250 50 30 8.5 17°
940.0643.146 S40T-MDZNR15 47 40 27 300 55 38 6.5 13° 940.0649.146 S40T-MDWNR15 D47 40 29 300 55 38 8.5 13°
941.0643.146 S40T-MDZNL15 47 40 27 300 55 38 6.5 13° 941.0649.146 S40T-MDWNL15 47 40 29 300 55! 38 8.5 13°
940.0644.146 S50U-MDZNR15 »60 50 33 350 70 48 7.5 12° 940.0650.146 S50U-MDWNR15 60 50 32 350 70 48 6.5 12°
941.0644.146 S50U-MDZNL15 ®60 50 33 350 70 48 7.5 12° 941.0650.146 S50U-MDWNL15 ®60 50 32 350 70 48 6.5 12°

TEFEGEEERISERZN

_ Il 7

e e nam

TMEME G ERERTERZ N

e e n am

S25R-MDZNR15 DN [[115041[] CTM613 HL2112 ML0622 L2.5L3.0 S25R-MDWNR15 DN 1150411 CTM613 HL2114 ML0625 L2.5,.3.0
S25R-MDZNL15 DN 15040001 X CTM613 HL2112 ML0622 L2.5,3.0 S25R-MDWNL15 DNII1504010] X CTM613 HL2114 ML0625 L2.5,L3.0
J S32S-MDZNR15 DN[J[J1504]0] MV1504 CTM617 HL2114 ML0625 L2.5,L3.0 S32S-MDWNR15 DN[J[J15040]0] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0 J
S32S-MDZNL15 DN[J1504000 MV1504 CTM617 HL2114 ML0625 L2.5,L3.0 S32S-MDWNL15 DN[[J15041[] MD1504 CTM617 HL2114 ML0625 L2.5,.3.0
S40T-MDZNR15 DNLI[115040]0] MV1504 CTM617 HL2114 ML0625 L2.5,3.0 S40T-MDWNR15 DN[J[J15040]0] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0
S40T-MDZNL15 DN[J1504000] MV1504 CTM617 HL2114 ML0625 L2.5,L3.0 S40T-MDWNL15 DNLI[11504010] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0
S50U-MDZNR15 DN[J[J15040] MV1504 CTM617 HL2114 ML0625 L2.5,L3.0 S50U-MDWNR15 DN [J[11504[1[] MD1504 CTM617 HL2114 ML0625 L2.5,3.0
S50U-MDZNL15 DN[I[11504]0] MV1504 CTM617 HL2114 ML0625 L2.5,3.0 S50U-MDWNL15 DN[I[11504]10C] MD1504 CTM617 HL2114 ML0625 L2.5,L3.0
i WEE AR T FDNMG150408 i MEEAKIE 7 FDNMG150408

720l




O KBEEH CEEDEST EEDIEY] <> BEEHA

[/NAS HMCT GROUP BoringBar BoringBar LNVAS HMCT GROUP
MSKNR/L MTFNR/L
4 N [ I 4 I N [ -\
750 dmin | o4 91 . dmln N o
% | @ Vai- -
- oI kODJ DL ) . H
\ J J \ \_ J J

940.0669.146 S20Q-MTFNR16 180
040.0653.146 S20Q-MSKNR12 180 940.0670.146 S25R-MTFNR16 ®30 25 17 200 45 23 120
Y —— S20Q-MSKNLA12 Py - = i e = = 941.0670.146 S25R-MTFNL16 30 25 17 200 45 23 12°
940.0654.146 S25R-MSKNR12 30 25 17 200 45 23 12° 940.0662.146 S32S-MTFNR16 @38 32 22 250 54 30 17°
941.0654.146 S25R-MSKNL12 30 25 17 200 45 23 12° 941.0662.146 S325-MTFNL16 38 32 22 250 54 30 17°
940.0655.146 S32S-MSKNR12 ©38 32 0 050 50 20 179 940.0663.146 S40T-MTFNR16 047 40 27 300 60 38 15°
e S35 iaRNLS ©38 - - - = - p— 941.0663.146 S40T-MTFNL16 047 40 27 300 60 38 15°
940.0656.146 SA0T_MSKNR12 047 40 o7 300 55 38 150 940.0664.146 S50U-MTFNR16 60 50 31 350 65 48 120
PV —— S40T_MSKNL12 047 s o G - - = 941.0664.146 S50U-MTFNL16 60 50 31 350 65 48 120
940.0657 146 S50U—MSKNR12 ©60 50 a1 350 20 48 100 940.0665.146 S40T-MTFNR22 50 40 27 300 55 38 15°
041.0657 146 S50U—MSKNL12 ©60 55 34 350 0 48 12 941.0665.146 S40T-MTFNL22 50 40 27 300 55 38 15°

940.0666.146 S50U-MTFNR22 60 50 31 350 70 48 120

941.0666.146 S50U-MTFNL22 ©60 50 31 350 70 48 12°

e e am

Il 7

TEE G ERERISEREZR

i MEEAKRKTIFTNMG160404, TNMG220408

S20Q-MSKNR12 SN [1[11204[1[] X CTM613 HL1812 MLO0622 L2.5.3.0 S20Q-MTFNR16 TN 116040107 X CTM510 HL1812 MLO622 L2.0,L3.0
S20Q-MSKNL12 SNOO120400 X CTM613 HL1812 MLO0622 L2.5L3.0 S20Q-MTFNL16 TN 0160400 X CTM510 HL1812 MLO0622 L2.0,L3.0

J S25R-MSKNR12 SN [J[1120401(] X CTM613 HL1814 MLO0625 L2.5.3.0 S25R-MTFNR16 TN O1160400 X CTM510 HL1814 MLO625 L2.0,L3.0 J
S25R-MSKNL12 SNOO120400 X CTM613 HL1814 MLO0625 L2.5L3.0 S25R-MTFNL16 TN OO160400 X CTM510 HL1814 MLO0625 L2.0,L3.0
S32S-MSKNR12 SNOO120400 MS1204 CTM617 HL1814 MLO0625 L2.5L3.0 S32S-MTFNR16 TN O11604 00 MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
S32S-MSKNL12 SNOO120400 MS1204 CTM617 HL1814 MLO0625 L2.5L3.0 S32S-MTENL16 TN OC1604000 MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
S40T-MSKNR12 SN J1120400070 MS1204 CTM617 HL1814 MLO0625 L2.5L3.0 S40T-MTFNR16 TN OO1604000 MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
S40T-MSKNL12 SN I112040000 MS1204 CTM617 HL1814 MLO0625 L2.5L3.0 S40T-MTFNL16 TN OO160400 MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
S50U-MSKNR12  SN[J[]1204010] MS1204 CTM617 HL1814 MLO0625 L2.53.0 S50U-MTFNR16 TN 01160400 MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
S50U-MSKNL12 SNOO120400 MS1204 CTM617 HL1814 MLO0625 L2.5.3.0 S50U-MTFNL16 TN OO160400 MT1603 CTM513 HL1814 MLO0625 L2.0,L3.0
S40T-MTFNR22 TN 01220400 MT2204 CTM617 HL1917 MLO0830 L2.5,L4.0
S40T-MTFNL22 TN 00220400 MT2204 CTM617 HL1917 MLO0830 L2.5.L4.0
E: S AR FSNMG120408 S50U-MTFNR22 TN 00220400 MT2204 CTM617 HL1917 MLO0830 L2.5.L4.0
NEFRGEEEREEREZR S50U-MTFNL22 TN (102204107 MT2204 CTM617 HL1917 ML0830 L2.5,L4.0

K111 En



@ BEEH

RNFLETIZET

LNVAS HVCT GROUP BoringBar
MTJNR/L
( N ~N
117°! |_ dnin o
,,,,,,,,,,,,,, + 1 {
Lé ] Q 4 L

940.0675.146
941.0675.146
940.0676.146
941.0676.146

S25R-MTJNR16

S25R-MTJNL16 30 25 17 200 45 23 12°
S32S-MTJNR16 38 32 22 250 54 30 17°
S32S-MTJUNL16 38 32 22 250 54 30 17°

L e e n an

S25R-MTJNR16
S25R-MTJNL16
S32S-MTJNR16

S32S-MTJNL16

TN 160401 CTM510 HL1814 ML0625 L2.0,L3.0
TN 016040001 X CTM510 HL1814 ML0625 L2.0,L3.0
TN I[11604 1] MT1603 CTM513 HL1814 ML0625 L2.0,L3.0
TN 1604001 MT1603 CTM513 HL1814 ML0625 L2.0,L3.0

i MEFERAKRL TR TNMG160404

TG EEERISEREZN

NFLETIZT

@ BREEHA

BoringBar LNVAS HMCT GROUP
MTUNRY/L
4 N )
95° O}
q : L
ma—
\ L J

940.0680.146

S20Q-MTUNR16

941.0680.146 S20Q-MTUNL16 25 20
940.0681.146 S25R-MTUNR16 30 25
941.0681.146 S25R-MTUNL16 30 25]
940.0682.146 S32S-MTUNR16 38 32
941.0682.146 S32S-MTUNL16 38 32
940.0683.146 S40T-MTUNR16 47 40
941.0683.146 S40T-MTUNL16 47 40
940.0684.146 S50U-MTUNR16 60 50
941.0684.146 S50U-MTUNL16 60 50
940.0685.146 S40T-MTUNR22 47 40
941.0685.146 S40T-MTUNL22 47 40
940.0686.146 S50U-MTUNR22 ®60 50
941.0686.146 S50U-MTUNL22 ®60 50

L e e

S20Q-MTUNR16 TN 160401 X CTM510
S20Q-MTUNL16 TN 01604001 X CTM510
S25R-MTUNR16 TN 16040101 X CTM510
S25R-MTUNL16 TN 160407 X CTM510
S32S-MTUNR16 TN 16040101 MT1603 CTM513
S32S-MTUNL16 TN 016040101 MT1603 CTM513
S40T-MTUNR16 TN OO160400 MT1603 CTM513
S40T-MTUNL16 TN 1604001 MT1603 CTM513
S50U-MTUNR16 TN 16040101 MT1603 CTM513
S50U-MTUNL16 TN 16040101 MT1603 CTM513
S40T-MTUNR22 TN 2204000 MT2204 CTM617
S40T-MTUNL22 TN 022040001 MT2204 CTM617
S50U-MTUNR22 TN [J[J220401 MT2204 CTM617
S50U-MTUNL22 TN 22040001 MT2204 CTM617

_ Il s

i MEE AR T HFTNMG160404, TNMG220408
TR GEEERISEREZR

13
17
17
22
22
27
27
31
31
27
27
31
31

180
200
200
250
250
300
300
350
350
300
300
350
350

HL1812
HL1812
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1917
HL1917
HL1917
HL1917

15°
42 18 15°
45 23 12°
45 23 12°
54 30 17°
54 30 17°
60 38 15°
60 38 15°
65 48 12°
65 48 12°
55 38 15°
55 38 15°
70 48 12°
70 48 12°

ML0622 L2.0,L3.0
ML0622 L2.0,L3.0
ML0625 L2.0,L3.0 J
ML0625 L2.0,L3.0
ML0625 L2.0,L3.0
ML0625 L2.0,L3.0
ML0625 L2.0,L3.0
ML0625 L2.0,L3.0
ML0625 L2.0,L3.0
ML0625 L2.0,L3.0
MLO0830 L2.54.0
ML0830 L2.5,L4.0
ML0830 L2.5,L4.0
MLO0830 L2.5,4.0

o lll]o



O KBEEH CEEDEST EEDIEY] <> BEEHA

LNVAS HMCT GROUP BoringBar BoringBar INKS HMCT GROUP

MTUNR/L-R MTWNR/L
- 0 (. A s N ~
05° dmin Zq

7777777777777 D 4,_1

A : .

il ——

- AN Yy,

J

e e am

E:

940.0689.146
941.0689.146
940.0690.146
941.0690.146
940.0691.146
941.0691.146
940.0692.146
941.0692.146
940.0693.146
941.0693.146

S20Q-MTUNR16R

S20Q-MTUNR16R
S20Q-MTUNL16R
S25R-MTUNR16R
S25R-MTUNL16R
S32S-MTUNR16R
S32S-MTUNL16R

S40T-MTUNR16R
S40T-MTUNL16R

S50U-MTUNR16R
S50U-MTUNL16R

TN 160401

S20Q-MTUNL16R TN CIJ1604 107
S25R-MTUNR16R TN [J[J16040]0]
S25R-MTUNL16R TN 160407
S32S-MTUNR16R TN 1604101
S32S-MTUNL16R TN 1604001
S40T-MTUNR16R TN 1604000
S40T-MTUNL16R TN 16040101
S50U-MTUNR16R TN 1604101
S50U-MTUNL16R TN OJ160407
ME1E AL 7] F TNMG 160404

TG EEERISEREZN

_ Il

®25
®30
®30
38
®38
47
47
®60
®60

X X X

X
MT1603
MT1603
MT1603
MT1603
MT1603
MT1603

20
25
25
32
32
40
40
50
50

13
17
17
22
22
27
27
31
31

CTM510
CTM510
CTM510
CTM510
CTM513
CTM513
CTM513
CTM513
CTM513
CTM513

180
200
200
250
250
300
300
350
350

HL1812
HL1812
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814

40
45
45
54
54
60
60
65
65

ML0622
ML0622
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625

18
23
23
30
30
38
38
48
48

15°
12°
12°
17°
17°
15°
15°
12°
12°

L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0

L e e

E

940.0696.146
941.0696.146
940.0697.146
941.0697.146
940.0698.146
941.0698.146
940.0699.146
941.0699.146
940.0700.146
941.0700.146

S20Q-MTWNR16
S20Q-MTWNL16
S25R-MTWNR16
S25R-MTWNL16
S32S-MTWNR16
S32S-MTWNL16

S40T-MTWNR16
S40T-MTWNL16

S50U-MTWNR16
S50U-MTWNL16

S20Q-MTWNR16 TN 160401
S20Q-MTWNL16 TN CJJ1604 0]
S25R-MTWNR16 TN 16040101
S25R-MTWNL16 TN 160407
S32S-MTWNR16 TN 16040101
S32S-MTWNL16 TN CIJ160410]
S40T-MTWNR16 TN OO160400
S40T-MTWNL16 TN 1604001
S50U-MTWNR16 TN 16040101
S50U-MTWNL16 TN 16040101
ME1E AR 7] F TNMG160404

TR EEERESEREZR

®25
®30
®30
38
®38
47
47
®60
®60

X X X

X
MT1603
MT1603
MT1603
MT1603
MT1603
MT1603

20
25
25
32
32
40
40
50
50

CTM510
CTM510
CTM510
CTM510
CTM513
CTM513
CTM513
CTM513
CTM513
CTM513

14
17
17
22
22
27
27
31
31

180
200
200
250
250
300
300
350
350

HL1812
HL1812
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814

40
45
45
54
54
60
60
65
65

ML0622
ML0622
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625

18
23
23
30
30
38
38
48
48

15°
iS58
12°
12°
17°
17°
15°
iS58
12°
12°

L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0

sl

J




<O BEEH EEDIEY] CEESIEY] <> BEEHA

LA’S HMCT GROUP BoringBar BoringBar LA’S HMCT GROUP
MVQNR/L MVUNR/L
[ ) f‘ ) [ N )
117.5 47% s 95 ﬁ T
NS NS = J - NS &= J

940.0703.146

S25R-MVQNR16

940.0709.146

S25R-MVUNR16

941.0703.146 S25R-MVQNL16 ®30 25 17 200 45 23 12° 941.0709.146 S25R-MVUNL16 ®32 25) 20 200 45 23 12°
940.0704.146 S32S-MVQNR16 ®38 32 23 250 50 30 17° 940.0710.146 S32S-MVUNR16 38 32 22 250 50 30 55 17°
941.0704.146 S32S-MVQNL16 ®38 32 23 250 50 30 17° 941.0710.146 S32S-MVUNL16 38 32 22 250 50 30 5.5 17°
940.0705.146 S40T-MVQNR16 47 40 27 300 55 38 15° 940.0711.146 S40T-MVUNR16 47 40 27 300 55 38 6.5 15°
941.0705.146 S40T-MVQNL16 47 40 27 300 55 38 15° 941.0711.146 S40T-MVUNL16 47 40 27 300 55! 38 6.5 15°
940.0706.146 S50U-MVQNR16 ®60 50 31 350 70 48 12° 940.0712.146 S50U-MVUNR16 ®60 50 31 350 70 48 5.5 12°
941.0706.146 S50U-MVQNL16 ®60 50 31 350 70 48 12° 941.0712.146 S50U-MVUNL16 ®60 50 31 350 70 48 BI5 12°

L e e am

L e e n am

S25R-MVQNR16 VN [I[J160410C] CTM510 HL2114 ML0625 L2.0,L3.0 S25R-MVUNR16 VN [I[J160410] CTM510 HL2114 ML0625 L2.0,L3.0
S25R-MVQNL16 VN [J[01604[] X CTM510 HL2114 ML0625 L2.0,L3.0 S25R-MVUNL16 VN O[J1604 L0101 X CTM510 HL2114 ML0625 L2.0,L3.0
J S32S-MVQNR16 VN [J[J16040]0] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0 S32S-MVUNR16 VN [J[J16040]0] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0 J
S32S-MVQNL16 VN [J[J1604[][] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0 S32S-MVUNL16 VN I[J1604]] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0
S40T-MVQNR16 VN [J[11604[10] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0 S40T-MVUNR16 VN [I[J1604010] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0
S40T-MVQNL16 VN 16040101 MV1603 CTM513 HL2114 ML0625 L2.0,L3.0 S40T-MVUNL16 VN J[J16040101 MV1603 CTM513 HL2114 ML0625 L2.0,L3.0
S50U-MVQNR16 VN J[J1604[1[0] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0 S50U-MVUNR16 VNO[J160401] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0
S50U-MVQNL16 VN [1[J1604C1[] MV1603 CTM513 HL2114 ML0625 L2.0,L3.0 S50U-MVUNL16 VN [[J160401[01 MV1603 CTM513 HL2114 ML0625 L2.0,L3.0
i MEFEAKLE TR VNMG160404 i MEERKRL TR VNMG160404

TMEMEGERERTEREZN TEFE G ERERICEEZR

1 o lif]u




<O BEEH EEDIEY] CEESIEY] <> BEEHA

[/IVAS HMCT GROUP BoringBar BoringBar LNVAS HMCT GROUP
MVXNR/L MTQNR/L
( N (s v ( A
139° 105° N
T | s
\ L J \ J

J

940.0715.146 S20Q-MVXNR16 180 940.0726.146 S20Q-MTQNR16 15°
941.0715.146 S20Q-MVXNL16 24 20 14 180 45 18 15° 941.0726.146 S20Q-MTQNL16 25 20 13 180 42 18 15°
940.0716.146 S25R-MVXNR16 ®30 25 17 200 50 23 12° 940.0727.146 S25R-MTQNR16 ®30 25 17 200 45 23 12°
941.0716.146 S25R-MVXNL16 ®30 25 17 200 50 23 12° 941.0727.146 S25R-MTQNL16 ®30 23 17 200 45 23 12°
940.0717.146 S32S-MVXNR16 38 32 22 250 55 30 17° 940.0728.146 S32S-MTQNR16 ®38 32 22 250 54 30 17°
941.0717.146 S32S-MVXNL16 ®38 32 22 250 55 30 17° 941.0728.146 S32S-MTQNL16 38 32 22 250 54 30 17°
940.0718.146 S40T-MVXNR16 47 40 27 300 60 38 15° 940.0729.146 S40T-MTQNR16 47 40 27 300 60 38 15°
941.0718.146 S40T-MVXNL16 47 40 27 300 60 38 15° 941.0729.146 S40T-MTQNL16 47 40 27 300 60 38 15°
940.0719.146 S50U-MVXNR16 ®60 50 31 350 65 48 12° 940.0730.146 S50U-MTQNR16 ®60 50 31 350 65 48 12°
941.0719.146 S50U-MVXNL16 ®60 50 31 350 65 48 12° 941.0730.146 S50U-MTQNL16 ®60 50 31 350 65 48 12°

S20Q-MVXNR16
S20Q-MVXNL16
S25R-MVXNR16
S25R-MVXNL16

S32S-MVXNR16
S32S-MVXNL16

S40T-MVXNR16
S40T-MVXNL16

S50U-MVXNR16
S50U-MVXNL16

VN [I[J160410C]
VN J[J16040]
VN [J[J16040]0]
VN [[J1604[1]
VN [J[J1604010]
VN 16040101
VNO[J1604010]
VN [1[J1604C1[]
VN [I[J160410]
VN [I[J160401[0]

i MEFEAKLE TR VNMG160404

TMEMEGERERTEREZN

)]l e

X

X

X

X
MV1603
MV1603
MV1603
MV1603

MV1603
MV1603

CTM510
CTM510
CTM510
CTM510
CTM513
CTM513
CTM513
CTM513
CTM513
CTM513

HL2412
HL2412
HL2414
HL2414
HL2414
HL2414
HL2414
HL2414
HL2414
HL2414

ML0622
ML0622
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625

e e am

L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0

e e

.

S20Q-MTQNR16
S20Q-MTQNL16
S25R-MTQNR16
S25R-MTQNL16
S32S5-MTQNR16
S32S-MTQNL16

S40T-MTQNR16
S40T-MTQNL16

S50U-MTQNR16
S50U-MTQNL16

TN [J[J1604010]
TN OO1604 0101
TN 1604001
TN 16040101
TN 1604001
TN 00160400
TN 1604101
TN 16040101
TN [J[J1604001
TN 16040101

M= {E RIS T FTNMG160404

TEFE G EREERITSERZR

X X X

X
MT1603
MT1603
MT1603
MT1603
MT1603
MT1603

CTM510
CTM510
CTM510
CTM510
CTM513
CTM513
CTM513
CTM513
CTM513
CTM513

HL1812
HL1812
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814

ML0622
ML0622
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625

L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0
L2.0,L3.0

&1l 5

J



<O BEEH EEDIEY] CEESIEY] <> BEEHA

[/IVAS HMCT GROUP BoringBar BoringBar LNVAS HMCT GROUP
MWLNR/L SCKCR/L
g N (. - 4 N [ N
950 j 950(/1 “ )—: :)_ 750 dmin _ @ad
= i < BN < = @ B0
i e b L
\ 2N J C J

940.0733.146 S16Q-MWLNRO06 ®19 180 18°
941.0733.146 S16Q-MWLNLO6 19 16 11 180 28 15 18°

940.0743.146 S08K-SCKCR06 ®10 125 7 13°
940.0734.146 S20Q-MWLNRO06 ®23 20 13 180 42 18 15°

941.0743.146 S08K-SCKCL06 ®10 8 55 125 21 7 13°
941.0734.146 S20Q-MWLNLO6 23 20 13 180 42 18 15°

940.0744.146 S10K-SCKCR06 11 10 6 125 25 9 12°
940.0735.146 S25R-MWLNRO06 ®30 25 17 200 45 23 12°

941.0744.146 S10K-SCKCL06 11 10 6 125 25] 9 12°
941.0735.146 S25R-MWLNLO6 30 25 17 200 45 23 12°

940.0745.146 S12M-SCKCRO06 ®13 12 7 150 25 11 10°
940.0736.146 S20Q-MWLNRO08 ®23 20 13 180 40 18 15°

941.0745.146 S12M-SCKCL06 13 12 7 150 25 11 10°
941.0736.146 S20Q-MWLNLO8 23 20 13 180 40 18 15°

940.0746.146 S12M-SCKCR09 14 12 8 150 30 11 12°
940.0737.146 S25R-MWLNRO08 ®30 25 17 200 45 23 12°

941.0746.146 S12M-SCKCL09 14 12 8 150 30 11 12°
941.0737.146 S25R-MWLNLO8 ®30 25 17 200 45 23 12°

940.0747.146 S16Q-SCKCR09 D17 16 9.5 180 36 15 10°
940.0738.146 S32S-MWLNRO08 ®38 32 22 250 50 30 17°

941.0747.146 S16Q-SCKCL09 D17 16 €5 180 36 15, 10°
941.0738.146 S32S-MWLNLO08 38 32 22 250 50 30 17°

940.0748.146 S20Q-SCKCR09 21 20 115 180 38 18 8°
940.0739.146 S40T-MWLNRO8 47 40 27 300 55 38 15°

941.0748.146 S20Q-SCKCL09 D21 20 11.5 180 38 18 8°
941.0739.146 S40T-MWLNLO8 47 40 27 300 55 38 15°

940.0749.146 S25R-SCKCR12 27 26 15 200 42 23 6°
940.0740.146 S50U-MWLNRO8 ®60 50 31 350 70 48 12°

941.0749.146 S25R-SCKCL12 ®27 26 15 200 42 23 6°
941.0740.146 S50U-MWLNLO8 60 50 31 350 70 48 12°

J

E:

S16Q-MWLNRO06
S16Q-MWLNLO06
S20Q-MWLNRO06
S20Q-MWLNLO06
S25R-MWLNRO06
S25R-MWLNLO6
S20Q-MWLNRO08
S20Q-MWLNLO08
S25R-MWLNRO08
S25R-MWLNLO08
S32S-MWLNRO08
S32S-MWLNLO08

S40T-MWLNRO08
S40T-MWLNLO8

S50U-MWLNRO08
S50U-MWLNLO8

WN[I[J0604 ][]
WNLI[J0604 1]
WNLI[] 0604]0]
WNLI[] 0604101
WNLI[] 060410
WNLI[] 060411
WNLCI[] 0804011
WNLI[] 080411
WNLCI[] 0804011
WNLI[] 080411
WNLCI[J 0804011
WNLI[] 080411
WNLI[] 0804101
WNLI[] 0804L1[]
WNLI[] 0804101
WNLCI[] 080411

L ESERZ A

X X X X X X X X X

X
MWO0804
MWO0804
MW0804
MWO0804
MWO0804
MWwW0804

MEEBHIE 7] FWNMG060404, WNMG080408
TIRFNEL G EFETEH

=

CTM510
CTM510
CTM510
CTM510
CTM510
CTM510
CTM613
CTM613
CTM613
CTM613
CTM617
CTM617
CTM617
CTM617
CTM617
CTM617

HL1511
HL1511
HL1511
HL1511
HL1814
HL1814
HL1812
HL1812
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814
HL1814

ML0519
MLO519
MLO519
ML0519
ML0625
ML0625
ML0622
ML0622
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625
ML0625

L2.0,L2.5
L2.0,L2.5
L2.0,L.2.5
L2.0,L.2.5
L2.0,L3.0
L2.0,L3.0
L2.5,3.0
L2.5,L3.0
L2.5,L3.0
L2.5,L3.0
L2.5,L3.0
L2.5,L3.0
L2.5,3.0
L2.5,L3.0
L2.5,L3.0
L2.5,.3.0

iE:

S08K-SCKCR06
S08K-SCKCL06

S10K-SCKCR06
S10K-SCKCL06

S12M-SCKCRO06
S12M-SCKCL06
S12M-SCKCR09
S12M-SCKCL09
S16Q-SCKCR09
S16Q-SCKCL09
S20Q-SCKCR09
S20Q-SCKCL09
S25R-SCKCR12
S25R-SCKCL12

T FEL SRR ETE

CC Joeo21
CC JJoeo2]0]
CC Joeo21]
CC [JJoeo2[1[]
CC JJoeo21]
CC [[Joe02[][]
cc jooTa
CC Jo9eT3
Ccc tjooTa3]
CC [JJo9T3ll
cc oot
CC JooT3I]
CC 12040
CC 1204010

Ml =4E #1871 F CCMT060204, CCMT090304, CCMT120408
EElZ M

M2.5x 6
M2.5 x 6
M2.5x 6
M2.5 x 6
M2.5x 6
M2.5 x 6
M3.5x9
M3.5x9
M3.5x9
M3.5x9
M3.5x9
M3.5x9
M5 x 12
M5 x 12

T-8

T-8

T-8

T-8

T-15
T-15
T-15
T-15
T-15
T-15
T-20
T-20

1|1 B



<> BEEH EEDIEY] CEESIEY] <> BEEHA

I I

[/NMAS HMCT GROUP BoringBar BoringBar [NAS HMCT GROUP
— ———
SCLCR/L
4 N [ N [ -
95° dmin 24
o5 ) S07K-SCLCR06 cC 00060200 M2.5x 5 T-8
} [l (6] W ‘/ S07K-SCLCLO6 cc 0060200 M2.5x 5 T-8
@ . . S08K-SCLCRO06 CC 060200 M2.5 x 5 T-8
F, 7 / S08K-SCLCLO6 cC 0060200 M2.5x5 T-8
\_ \_ PN ) S08K-SCLCR06-A16 cC 11060200 M2.5 x 6 T-8
S08K-SCLCL06-A16 cc 00060200 M2.5 x 6 T-8
S10K-SCLCR06 cC 000602007 M2.5 x 6 T-8
S10K-SCLCLO6 cc 00060200 M2.5 x 6 T-8
940.0752.146  S07K-SCLCRO06 08 8 4.2 125 18 7 15° S10K-SCLCLO6-A16 cc ttioeoz] M2.5x 6 T-8
941.0752.146  SO7K-SCLCLO6 08 8 4.2 125 18 7 15° S12M-SCLCR06 cc hioso2U1 M2.5x6 T-8
940.0753.146  S08K-SCLCRO6 09 8 5 125 18 7 13° $12M-SCLCLO6 cc Doe02010] M2.5x6 T-8
941.0753.146  S08K-SCLCL06 o9 8 5 125 18 7 13° $12M-SCLCR09 CC LIL109T30I] M3.5x 9 T-15
940.0754.146  S08K-SCLCR06-A16  ®9 16 5 125 24 15 13° $12M-SCLCL09 cc onosT3ti M3.5x9 T-15
941.0754.146  S08K-SCLCL06-A16 9 16 5 125 24 15 13° $14M-SCLCR09 CC LIL109T30I] M3.5x 9 T-15
940.0755.146  S10K-SCLCRO6 11 10 6 125 22 9 12° S14M-SCLCL09 CcC joeT3I M3.5x9 T-15
941.0755.146  S10K-SCLCLO6 11 10 6 125 22 9 e $16Q-SCLCR09 Cc Ono9eT3til M3.5x9 T-15
940.0756.146  S10K-SCLCR06-A16 11 16 6 125 30 15 12° $16Q-SCLCLO09 CC no9T3in] M3.5x 9 T-15
941.0756.146  S10K-SCLCLO6-A16  ®11 16 6 125 30 15 12° $20Q-SCLCR09 CC L1to9T3l M3.5x 9 T-15
940.0757.146  S12M-SCLCRO06 13 12 7 150 25 11 10° $20Q-SCLCLO09 cC O0oeT3lIM M3.5x 9 T-15
941.0757.146  S12M-SCLCLO6 ®13 12 7 150 25 11 10° S25R-SCLCR09 CC LILJo9T3lI] M3.5x 9 T-15
940.0758.146  S12M-SCLCR09 16 14 8 150 27 13 10° S25R-SCLCL09 cc ool M3.5x 9 T-15
941.0758.146  S12M-SCLCL09 16 14 8 150 27 13 10° $325-SCLCR09 CC L0930 M3.5 x 9 T-15
940.0759.146  S14M-SCLCR09 ®15 12 8 150 27 11 12°0 $328-SCLCL09 cc oot M3.5x9 T-15
941.0759.146  S14M-SCLCL09 15 12 8 150 27 11 o8 S20Q-SCLCR12 Ccc 204010 M5 x 12 T-20
940.0760.146  S16Q-SCLCR09 17 16 95 180 34 15 10° $20Q-SCLCL12 CC 1204010 M5 x 12 T-20
941.0760.146  S16Q-SCLCL09 17 16 9.5 180 34 15 10° S25R-SCLCR12 CC 1204010 M5 x 12 T-20
940.0761.146  S20Q-SCLCR09 21 20 115 180 38 18 8° S25R-SCLCL12 CC 1204010 M5 x 12 T-20
941.0761.146  S20Q-SCLCLO9 21 20 115 180 38 18 8° S32S-SCLCR12 CC 01204010 M5 x 12 T-20
940.0762.146  S25R-SCLCR09 26 25 14 200 45 23 6° §328-SCLCL12 CC 112040101 M5 x 12 T-20
941.0762.146  S25R-SCLCL09 26 25 14 200 45 23 6° S40T-SCLCR12 CC 01204010 M5 x 12 T-20
940.0763.146  S32S-SCLCRO09 33 32 18 250 45 30 4° S40T-SCLCL12 CC L1204 00 M5 x 12 T-20
941.0763.146  S32S-SCLCL09 33 32 18 250 45 30 4°
940.0764.146  S20Q-SCLCR12 ®21 20 12 180 42 18 8° . JUEE AR T CCMT060204,CCMTO09T304,CCMT120408
941.0764.146 S20Q-SCLCL12 21 20 12 180 42 18 8° TR e TS E
940.0765.146  S25R-SCLCR12 26 25 145 200 45 23 8°
941.0765.146  S25R-SCLCL12 26 25 145 200 45 23 8°
940.0766.146  S32S-SCLCR12 33 32 18 250 45 30 6°
941.0766.146  S32S-SCLCL12 33 32 18 250 45 30 6°
940.0767.146  S40T-SCLCR12 41 40 22 300 48 38 4e
941.0767.146  S40T-SCLCL12 41 40 22 300 48 38 4°

o lif]J



<O BEEH EEDIEY] CEESIEY] <> BEEHA

[/IVAS HMCT GROUP BoringBar BoringBar LNVAS HMCT GROUP
SCZCR/L SDQCR/L
4 I N [ =) 4 I d . N [ .
93° & 107.5° 1075
| H T | r—
L T — = k5 £ ‘ L :
A
S——
\ J J J \ J VRN J

i MEMEAKL T FCCMT060204,CCMT09T304

TEME G ERERTERZ N

I 112

TEFEGEEERISEREZN

. ME{EARKTIADCMT070204,DCMT11T304

940.0770.146 S08K-SCZCR06 ~ ®10 7 13° 940.0779.146 S08K-SDQCR0O7 @10 6. 7
941.0770.146 S0BK-SCZCLO6 @10 8 6.5 125 25 7 22 13 941.0779.146 S08K-SDQCLO7 @10 6 125 18 7 17 12
940.0771.146 S10K-SCZCR06 @12 10 7.5 125 27 9 22 12 940.0780.146 S10K-SDQCR0O7 @11 10 7 125 24 9 17 100
941.0771.146 S10K-SCZCLO6 @12 10 7.5 125 27 9 22 12 941.0780.146 S10K-SDQCLO7 ~ ©11 10 7 125 24 9 17 10°
940.0772.146 S12M-SCZCR06 ~ ©14 12 8.5 150 32 11 22 10° 940.0781.146 $12M-SDQCR07 @15 12 9 150 30 11 2.7 8
941.0772.146 S12M-SCZCLO6 @14 12 8.5 150 32 11 22 10° 941.0781.146 S12M-sDQCLO7 @15 12 9 150 30 11 2.7 8°
940.0773.146 S16Q-SCZCRO6 @18 16 105 180 30 15 2.2 8° 940.0782.146 S16Q-SDQCRO7 @17 16 11 180 30 15 2.7 6°
941.0773.146 $16Q-SCZCLO6 ~ ®18 16 105 180 30 15 2.2 8° 941.0782.146 §16Q-SDQCLO7 @17 16 11 180 30 15 2.7 6°
940.0774.146 $16Q-SCZCR09 @21 16 15 180 35 15 45  10° 940.0783.146 S20Q-SDQCR11 @23 20 13 180 42 18 2.7 5°
941.0774.146 §16Q-SCZCLO9  ©21 16 15 180 35 15 45  10° 941.0783.146 $20Q-SDQCL1T  ©23 20 13 180 42 18 2.7 5
940.0775.146 S20Q-SCZCR09  ©25 20 135 180 40 18 45 8° 940.0784.146 S25R-SDQCR11  ©29 25 17 200 425 23 4 4°
941.0775.146 $20Q-SCZCLO9 @25 20 135 180 40 18 45 8° 941.0784.146 S25R-SDQCL11 @29 25 17 200 425 23 4 4
940.0776.146 S25R-SCZCR09 ~ ©32 26 17 200 42 23 5 6° 940.0785.146 S325-SDQCR11 @40 32 22 250 45 30 55 4
941.0776.146 S25R-SCZCLO9 032 26 17 200 42 23 5 6° 941.0785.146 $325-SDQCL11T @40 32 22 250 45 30 5.5 4°
S08K-SCZCRO6 CC [J[10602[(J T-8 S08K-SDQCRO7 DC 0[0702000) T-8
S08K-SCZCLO6 cc 000602000 T-8 S08K-SDQCLO7 DC 0007020100 T-8
S10K-SCZCR06 CC J10602J0J T-8 S10K-SDQCRO7 DC [J0702030J T-8
S10K-SCZCLO6 CC 00602001 M2.5x 6 T-8 S10K-SDQCLO7 DC OO070200) M2.5 x 6 T-8
$12M-SCZCR06 CC 0006020101 M2.5x 8 T-8 $12M-SDQCRO07 DC 0702001 M2.5 x 6 T-8
$12M-SCZCLO06 CC 00602001 M2.5x 8 T-8 $12M-SDQCLO7 DC 0007020100 M2.5 x 6 T-8
$16Q-SCZCRO06 CC 000602010 M2.5x8 T-8 $16Q-SDQCRO7 DC 0070200 M2.5 x 8 T-8
$16Q-SCZCLO6 CC 0060200 M2.5x 8 T-8 $16Q-SDQCLO7 DC Omo702010 M2.5x 8 T-8
$16Q-SCZCR09 cc 0O09T30 M3.5x9 T-15 $20Q-SDQCRH11 DC OCH1T300 M3.5x 9 T-15
$16Q-SCZCLO09 cc 00097300 M3.5x9 T-15 $20Q-SDQCL11 DC OO11T300 M3.5 x 9 T-15
$20Q-SCZCR09 CC J09T3I[J M3.5x9 T-15 S25R-SDQCR11 DC OCM1T300 M3.5x 9 T-15
$20Q-SCZCLO09 CC DO09T300 M3.5x9 T-15 S25R-SDQCL11 DC OO11T300 M3.5 x 9 T-15
S25R-SCZCR09 cC 09T M3.5x9 T-15 S$325-SDQCRA1 1 DC OCH1T300 M3.5x 9 T-15
S25R-SCZCLO9 cc 0Oo9T30 M3.5x9 T-15 $325-SDQCL11 DC OO11T300 M3.5x9 T-15

115N



<O BEEH EEDIEY] CEESIEY] <> BEEHA

[/IVAS HMCT GROUP BoringBar BoringBar LNVAS HMCT GROUP
SDUCR/L SDWCR/L
4 N I
95° o _ S 4 N [ I
o % } 62.5° S
R A@ﬁ@bf N} —4_’__\>J (%’9 S AN D
©) a L é o 62 m, ) il
\ L J

940.0788.146 S10K-SDUCRO07 o015 8 10°

941.0788.146 S10K-SDUCL07 ®15 10 8 125 25 9 2.7 10°

T . e e m e
941.0789.146 S12M-SDUCL07 17 12 9 150 25 11 2.7 8°

940.0790.146 S16Q-SDUCR07 ~ ®22 16 11 180 30 15 2.7 6° 940.0799.146 S12M-SDWCR07 @16 10.5

941.0790.146 S16Q-SDUCLO7 22 16 11 180 30 15 27 6° 941.0799.146 S12M-SDWCLO07 16 12 10.5 150 25 11 4.2 10°
940.0792.146 S20Q-SDUCR11 23 20 13 180 40 18 27 6° 940.0800.146 S16Q-SDWCR07 ®20 16 12.5 180 34.5 15 4.2 8°
941.0792.146 S20Q-SDUCL11 23 20 13 180 40 18 27 6° 941.0800.146 S16Q-SDWCL07 ®20 16 12.5 180 345 15 4.2 8°
940.0793.146 S25R-SDUCR11 29 25 17 200 42 23 5° 940.0801.146 S20Q-SDWCR07 27 20 14.5 180 30 18 4.2 6°
941.0793.146 S25R-SDUCL11 29 25 17 200 42 23 4 5° 941.0801.146 S20Q-SDWCL07 27 20 14.5 180 30 18 4.2 6°
940.0794.146 S32S-SDUCR11 »38 32 22 250 45 30 55 4° 940.0802.146 S$20Q-SDWCR11 24 20 14.5 180 40 18 4.2 6°
941.0794.146 S$32S-SDUCL11 ®38 32 20 250 45 30 55 4° 941.0802.146 S20Q-SDWCL11 24 20 14.5 180 40 18 4.2 6°
940.0795.146 S40T-SDUCR11 45 40 25 300 50 38 45 4° 940.0803.146 S25R-SDWCR11 ©29 25 17 200 45 23 4.2 5°
941.0795.146 S40T-SDUCL11 45 40 25 300 50 38 45 4° 941.0803.146 S25R-SDWCL11 ®29 25 17 200 45 23 4.2 5°
940.0796.146 S50U-SDUCR11 ©60 50 31 350 55 48 5.5 0° 940.0804.146 $325-SDWCR11 40 32 22 250 45 30 55 2°
941.0796.146 S50U-SDUCL 11 ®60 50 31 350 55 48 55 0° 941.0804.146 S$325-SDWCL11 ®40 32 22 250 45 30 5.5 2°

&7

E: WEME KBTS DCMT070204,DCMT11T304

TEFEHEEERISERZA

=

>
S10K-SDUCRO07 DC (1107020 M2.5x 6 ~
S10K-SDUCLO7 DC 0070200 M2.5 x 6 T-8 S12M-SDWCRO7 DC LILJ0702010] M2.5x6 8

J S12M-SDUCR07 DC [(J[10702]0] M2.5x 6 T-8 S12M-SbWCLO7 be L0702 M2.5x6 =8
S12M-SDUCL07 DC 070200 M2.5 % 6 T-8 S16Q-SDWCRO7 DC LIEJ0702010] M2.5 6 8
S16Q-SDUCRO07 DC 070210 M2.5x 6 T-8 S16Q-SDWCLO7 Do LIt M2.5x6 =8
S$16Q-SDUCL07 DC 00070200 M2.5 % 6 T-8 S20Q-SDWCRO7 bC LH07020]H M2.5x 6 8
S20Q-SDUCR11 DC OO11T300 M3.5%9 T-15 S20Q-SDWCLO7 Di[Rm 02 HE M2.5x6 -8
$200-SDUGLA1 bC L1300 S . S20Q-SDWCR11 DC O11T300 M3.5x 9 T-15
S25R-SDUCR11 DC OO1T300 M3.5x9 T-15 S20Q-SDWCLI DL M3.59 =15
SPER_SDUGLA1 bC LT3 V5.5 %9 . S25R-SDWCR11 DC O11T300 M3.5%9 T-15
S39S-SDUCR1 1 DG L1 17800 V3.5 9 o1 S25R-SDWCL11 DC OO11T300 M3.5x 9 T-15
5398 SDUCLA e L1400 V5.5 %0 s S32S-SDWCR11 DC OO11T300 M3.5x 9 T-15
S40T-SDUCR11 DC OO11T300 M3.5%9 T-15 S32S-SDWCLT1 CE NS M3.59 =15
S40T-SDUCL11 DC OO11T300 M3.5%9 T-15
S50U-SDUCR11 DC O11T300 M3.5x9 T-15 . JE{EFAKE T DCMT070204,DCMT11T304
S50U-SDUCL11 DC OO11T300 M3.5 x 9 T-15 TEMEGEFEEREEEZRN

oo lif]J




<O BEEH EEDIEY] CEESIEY] <> BEEHA

[/IVAS HMCT GROUP BoringBar BoringBar LNAS HMCT GROUP
SDZCR/L SSKCR/L
[ \ Cmin ad \ [ \ f ad \
93° D | Pa=—
= @ rigpm—
" R
\ 2N JC J \ J

iF: MEEAKLK T FDCMT070204,DCMT11T304

TEEGERERITSEREZR

1

940.0807.146 S10K-SDZCRO7 @13 12°
940.0808.146 S12M-SDZCRO7 ~ ®16 12 10 150 31 11 35  10° 040.0816.146 S12M-SSKCR09 016 150
941.0808.146 S12M-SDZCLO7 @16 12 10 150 31 11 35  10° 041.0816.145 S12M_SSKCLOS @16 = G pre - » e
940.0809.146 516Q-SDZCR07 021 16 13 180 37 15 4.5 6° 940.0817.146 S16Q-SSKCR09 ~ ®18 16 10.5 180 32.6 15 10°
SN T 1S 1= ED £ 12 e ol 941.0817.146 S16Q-SSKCL09 ®18 16 10.5 180 326 15 10°
940.0810.146 S20Q-SDZCRO7 ~ ®24 20 145 180 47 18 4.2 6° 040.0818.145 S20Q-SSKCRO9 023 20 13 180 40 18 g°
941.0810.146 $20Q-SDZCLO7 ~ ®24 20 145 180 47 18 4.2 6° 9410818145 s200.8sKkcLos | azs 20 . Py . . -
940.0811.146 S20Q-SDZCR11  ®25 20 15 180 50 18 45 8° 040.0819.146 Go5R_SSKCRO9  ©31 o5 17 200 40 03 60
941.0811.146 S20Q-SDZCL11 ~ ®25 20 15 180 50 18 45 8° 041.0819.146 S25R-SSKCLO9 ©31 25 17 = 40 - =
940.0812.146 S25R-SDZCR11  ©29 25 17 200 45 23 4.2 6°
941.0812.146 S25R-SDZCL11 ®29 25 17 200 45 23 4.2 6°
940.0813.146 S325-SDZCR11 38 32 22 250 56 30 55 4
941.0813.146 $325-SDZCL11 ©38 32 22 250 56 30 55 4°
$10K-SDZCRO7 DC [1(10702[1(] M2.5x 8 T-8 S12M-SSKCR09 SC D09T30I0) M3.5x 9 T-15
S10K-SDZCLO7 DC 0007